PUMPEN & ZUBEHOR

Hebbelstrafle 22
94315 Straubing
Tel.: 09421 1887797
Fax: 09421 1887799
E-Mail: info@hymatec-gmbh.de

www.hymatec-gmbh.de




Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

Baugrofe O

010-010-01000

XVOP/0,17D-@22-Cl1.001-1/4-1/4

XOP0O102ABBA

010-010-01100

XVOP/0,25D-@22-Cl1.001-1/4-1/4

XOP0202ABBA

010-010-01200

XVOP/0,45D-@22-C1.001-1/4-1/4

XO0P0402ABBA

010-010-01300

XVOP/0,57D-@22-C1.001-1/4-1/4

XO0P0502ABBA

010-010-01400

XVOP/0,76D-@22-C1.001-1/4-1/4

XO0P0O602ABBA

010-010-01500

XVOP/0,98D-@22-C1.001-1/4-1/4

XO0P0702ABBA

010-010-01600

XVOP/1,27D-@22-C1.001-1/4-1/4

XOP0902ABBA

010-010-01700

XVOP/1,52D-@22-Cl1.001-1/4-1/4

XOP1102ABBA

010-010-01800

XVOP/2,30D-@22-Cl1.001-1/4-1/4

XOP1302ABBA

S = linksdrehend

010-010-01050

XVOP/0,17S-@22-CI1.001-1/4-1/4

XO0P0101ABBA

010-010-01150

XVOP/0,25S-@22-CI1.001-1/4-1/4

XO0P0201ABBA

010-010-01250

XVOP/0,45S-@22-CI1.001-1/4-1/4

XO0P0O401ABBA

010-010-01350

XVOP/0,57S-@22-CI1.001-1/4-1/4

XOPO501ABBA

010-010-01450

XVOP/0,76S-@22-CI1.001-1/4-1/4

XOPO601ABBA

010-010-01550

XVOP/0,98S-@22-CI1.001-1/4-1/4

XOPO701ABBA

010-010-01650

XVOP/1,275-@22-CI1.001-1/4-1/4

XOPO901ABBA

010-010-01750

XVOP/1,52S-@22-Cl1.001-1/4-1/4

XO0P1101ABBA

010-010-01850

XVOP/2,30S-@22-C1.001-1/4-1/4

XOP1301ABBA

2-Loch-Flansch- Bohrungsabstand = 66 mm / Rezess = @ 22 mm / Welle -Cl.001 -d = @ 7 mm -M 7x1 -Passfeder = 2,0 mm
max. zulassiges Wellendrehmoment = 2,1 Nm / Olanschliisse = IG 1/4 seitlich

010-010




einseitig drehende Pumpe - Serie XV XV-0P

PUMPE STANDARD MIT ANSAUGUNG UND DRUCK AM GEHAUSE
FLANSCH 222 - ZYLINDERWELLE

% [X|o[p|os[02]A[B|B]|A]

n

| [serie X | Serie XV

= Gruppe 0 | Gruppe0

1 Kategorie P einseitig drehende Pumpe

< Hubraum 06 0.76

2| [Flansch 02 @22 Drehrichtung rechts

g Welle A  CI001 - Zylindrisch 7 - M7x1 - Scheibenfeder Dicke 2
. IN B  Ansaugung - 1/4" GAS

| (CENAUSE ToUr B Drucksete - 114" GAS

E Deckel | A | standard

Technische Datentabelle
TYP Hubraum Maximaldruck {'1) CODE C}%
Em3/Umdrehund P1bar | P3bar CODE CODE
XV-0P/0.17 0,16 220 260 X OPO0101ABB A|IX 0P0102ABB A
XV-0P/0.25 0,24 220 260 [ X 0OP0201ABB AJX 0P0202ABB A
XV-0P/0.45 0,45 220 280 [ X OPO0401ABB AJX 0OP0402ABB A
XV-0P/0.57 0,56 220 280 [ X OPO501ABB AJX 0OP0502ABB A
XV-0P/0.76 0,75 220 280 [ X OPO0601ABB AJX 0 P0602ABB A
XV-0P/0.98 0,92 220 280 (X 0OP0701ABB AJX 0P0702ABB A
XV-0P/1.27 1,26 220 280 X OPO0901ABB AlX 0P0902ABB A
XV-0P/1.52 1,48 220 280 (X 0OP1101ABB AjX 0P1102ABB A
XV-0P/2.30 2,28 190 210 (X 0P1301ABB AJX 0P1302ABB A
P1) Max. Betriebsdruck - P3) Max. Druckspitze
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zulassigen Wellendrehmoments T3 @ 22 7 (56%)
\ M7 X1
T2 N
4 O\ o
@0 «~
Dimensionstabelle
TYP Gewicht A B c D D 0 31
m
kg mm mm mm IN out (
XV-0P/0.17 0,400 55,8 26,2 46,8 1/4" BSPP 1/4" BSPP < © @ D[
XV-0P/0.25 0,410 56,4 26,5 47,4 1/4" BSPP 1/4" BSPP
XV-0P/0.45 0,420 58,0 27,3 49,0 1/4" BSPP 1/4" BSPP
XV-0P/0.57 0,430 59,0 27,8 50,0 1/4" BSPP 1/4" BSPP L
XV-0P/0.76 0,440 60,5 28,5 51,5 1/4" BSPP 1/4" BSPP 75 T1
XV-0P/0.98 0,460 62,0 29,3 53,0 1/4" BSPP 1/4" BSPP
XV-0P/1.27 0,480 64,5 30,5 55,5 1/4" BSPP 1/4" BSPP
XV-0P/1.52 0,500 66,5 31,5 57,5 1/4" BSPP 1/4" BSPP
XV-0P/2.30 0,560 72,5 34,5 63,5 1/4" BSPP 1/4" BSPP ‘ a
[ONE:
3 i
255 40,5
66
0712104 XOP0602ABBAdft
T.1=11.7+13.7 [Nm] - Anzugsmoment - Schrauben M6 T.3 =11.5 [Nm] - Anzugsmoment - Schlissel 11

T.2 = 2.1 [Nm] - zuléssiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zulassige Drehmoment priifen).

010-010



einseitig drehende Pumpe - Serie XV

PUMPE STANDARD MIT ANSAUGUNG UND DRUCK AM GEHAUSE
FLANSCH 222 - ZYLINDERWELLE

x|0o|/P|l0o6/02 A B B|A|
Serie X Serie XV
Gruppe 0 | Gruppe0
Kategorie P | einseitig drehende Pumpe
Hubraum 06 @ 0.76
Flansch 02 @22 Drehrichtung rechts
Welle A CI001 - Zylindrisch @7 - M7x1 - Scheibenfeder Dicke 2
Gehiuse IN B Ansauggng - 1/4" GAS
OUT | B  Druckseite - 1/4" GAS
Deckel A | Standard
Bezug XP001
Technische Datentabelle
TYP Hubraum Maximaldruck ;:C) CODE C}%
tm3/Umdrehund P1bar | P3bar CODE CODE
XV-0P/0.17 0,16 220 260 X OPO101ABB A|X 0P0102ABB A 3
XV-0P/0.25 0,24 220 260 X O0OP0201ABB AJX 0P0202ABB A
XV-0P/0.45 0,45 220 280 X OPO0401ABB AJX 0PO0402ABB A
XV-0P/0.57 0,56 220 280 X OPO501ABB AJX 0PO0502ABB A
XV-0P/0.76 0,75 220 280 X OPO601ABB AJX 0P0602ABB A
XV-0P/0.98 0,92 220 280 X OPO701ABB AJX 0P0702ABB A
XV-0P/1.27 1,26 220 280 X OPO0901ABB A|X 0 P0902ABB A
XV-0P/1.52 1,48 220 280 X OP1101ABB AJX0P1102ABB A
XV-0P/2.30 2,28 190 210 |[X 0P1301ABB A|X 0P1302ABB A
P1) Max. Betriebsdruck - P3) Max. Druckspitze
Fur schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments T3 @ 22 f7 (35%)
\ M 7 X1
T2 N
T\ 3
= ol N
Dimensionstabelle
TYP Gewicht A B c D D 0 31
m
kg mm mm mm IN out
XV-0P/0.17 0,400 55,8 26,2 46,8 1/4" BSPP 1/4" BSPP < © @ D[
XV-0P/0.25 0,410 56,4 26,5 47,4 1/4" BSPP 1/4" BSPP
XV-0P/0.45 0,420 58,0 27,3 49,0 1/4" BSPP 1/4" BSPP
XV-0P/0.57 0,430 59,0 27,8 50,0 1/4" BSPP 1/4" BSPP —
XV-0P/0.76 0,440 60,5 28,5 51,5 1/4" BSPP 1/4" BSPP 75 T1
XV-0P/0.98 0,460 62,0 29,3 53,0 1/4" BSPP 1/4" BSPP
XV-0P/1.27 0,480 64,5 30,5 55,5 1/4" BSPP 1/4" BSPP
XV-0P/1.52 0,500 66,5 31,5 57,5 1/4" BSPP 1/4" BSPP
XV-0P/2.30 0,560 72,5 34,5 63,5 1/4" BSPP 1/4" BSPP
8

T.1=11.7+13.7 [Nm] - Anzugsmoment - Schrauben M6

T.3=11.5[Nm] - Anzugsmoment - Schlissel 11
T.2 = 2.1 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zuldssige Drehnmoment priifen).

0712104

XOP0602ABBAdft

010-010



Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

Baugrofie 1

010-060-01000

XV1P/0,9D-3/8-3/8

X1P1602FBBA

010-060-01100

XV1P/1,2D-3/8-3/8

X1P1702FBBA

010-060-01200

XV1P/1,7D-3/8-3/8

X1P1802FBBA

010-060-01300

XV1P/2,2D-3/8-3/8

X1P2002FBBA

010-060-01400

XV1P/2,6D-3/8-3/8

X1P2102FBBA

010-060-01500

XV1P/3,2D-3/8-3/8

X1P2302FBBA

010-060-01600

XV1P/3,8D-3/8-3/8

X1P2502FBBA

010-060-01700

XV1P/4,3D-3/8-3/8

X1P2702FBBA

010-060-01800

XV1P/4,9D-3/8-3/8

X1P2902FBBA

010-060-01900

XV1P/5,9D-3/8-3/8

X1P3102FBBA

010-060-02000

XV1P/6,5D-3/8-3/8

X1P3202FBBA

010-060-02100

XV1P/7,8D-3/8-3/8

X1P3402FBBA

010-060-02200

XV1P/9,8D-3/8-3/8

X1P3602FBBA

S = linksdrehend

010-060-01050

XV1P/0,9S-3/8-3/8

X1P1601FBBA

010-060-01150

XV1P/1,2S-3/8-3/8

X1P1701FBBA

010-060-01250

XV1P/1,7S-3/8-3/8

X1P1801FBBA

010-060-01350

XV1P/2,2S-3/8-3/8

X1P2001FBBA

010-060-01450

XV1P/2,6S-3/8-3/8

X1P2101FBBA

010-060-01550

XV1P/3,25-3/8-3/8

X1P2301FBBA

010-060-01650

XV1P/3,85-3/8-3/8

X1P2501FBBA

010-060-01750

XV1P/4,3S-3/8-3/8

X1P2701FBBA

010-060-01850

XV1P/4,9S-3/8-3/8

X1P2901FBBA

010-060-01950

XV1P/5,9S-3/8-3/8

X1P3101FBBA

010-060-02050

XV1P/6,5S-3/8-3/8

X1P3201FBBA

010-060-02150

XV1P/7,85-3/8-3/8

X1P3401FBBA

010-060-02250

XV1P/9,85-3/8-3/8

X1P3601FBBA

Europaischer Standard-4-Loch-Flansch- Bohrungsabstand = 71,9 x 52,4 mm / Rezess = @ 25,4 mm / Welle -C0O.001 1:8 -d = @ 10 mm
-M 7x1 -Passfeder = 2,4 mm / max. zulassiges Wellendrehmoment = 43 Nm / Olanschlisse = I1G 3/8 seitlich

010-060



einseitig drehende Pumpe - Serie XV

EUROPAISCHE STANDARDPUMPE
FLANSCH 225.4 - KEGELWELLE

x| 1|P|25/02 F|B|B A|

Serie | X Seriexv
Gruppe 1  Gruppe 1
Kategorie P einseitig drehende Pumpe
Hubraum 25 38
Flansch 02  925.4 EUROPAISCHER STANDARD Drehrichtung rechts
Welle F  CO001 - Konisch 1:8 - 810 - M7x1 - Scheibenfeder Dicke 2.4
RIS B Ansauglfng - 3/8" GAS
OUT B  Druckseite -3/8" GAS
Deckel A Standard
XP105
Technische Datentabelle
TYP Hubraum Maximaldruck ;(5 CODE (5”5
cm3/u P1bar | P3bar Drehung links Drehung rechts
XV-1P/0.9 0,01 240 | 280 (X LP160LFBB A|X 1P1602FBB A & &
XV-1P/1.2 1,17 250 290 (X 1P1701FBB AJX 1P1702F BB A
XV-1P/1.7 1,56 250 290 [X 1P1801FBB A|X 1P1802F BB A
XV-1P/2.2 2,08 250 290 X 1P2001FBB AJX 1P2002F BB A
XV-1P/2.6 2,60 250 300 [ X 1P2101FBBAIX 1P2102FBB A
XV-1P/3.2 3,12 250 300 [ X 1P2301FBBAIX 1P2302FBB A
XV-1P/3.8 3,64 250 300 X 1P2501FBBAIX 1P2502FBB A
XV-1P/4.3 4,16 250 300 (X 1P2701FBBAJX 1P2702FBB A
XV-1P/4.9 4,94 250 300 (X 1P2901FBBAJX 1P2902F BB A
XV-1P/5.9 5,85 250 300 [ X 1P3101FBBAIX 1P3102FBB A
XV-1P/6.5 6,50 250 300 [ X 1P3201FBB AIX 1P3202FBB A
XV-1P/7.8 7,54 220 260 |[X 1P3401FBB A|X 1P3402FBB A
XV-1P/9.8 9,88 190 230 X 1P3601FBB A|X 1P3602F BB A m\
P1) Max. Betriebsdruck - P3) Max. Druckspitze <113
Fur schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments T2 4\@
N < o
Dimensionstabelle ¥ : bl
TYP Gewicht A B C D D ‘ H H ‘
kg mm mm mm IN out m| 2 ©
XV-1P/0.9 0,950 78,1 37,3 66,1 3/8" BSPP 3/8" BSPP Vi
XV-1P/1.2 0,970 79,0 37,8 67,0 3/8" BSPP 3/8" BSPP < © E OI
XV-1P/1.7 1,010 80,5 38,5 68,5 3/8" BSPP 3/8" BSPP
XV-1P/2.2 1,030 82,5 39,5 70,5 3/8" BSPP 3/8" BSPP ‘ =]
XV-1P/2.6 1,060 84,5 40,5 72,5 3/8" BSPP 3/8" BSPP
XV-1P/3.2 1,090 86,5 41,5 74,5 3/8" BSPP 3/8" BSPP
XV-1P/3.8 1,120 885 | 425 | 765 3/8" BSPP 3/8" BSPP 108 TA
XV-1P/4.3 1,170 90,5 43,5 78,5 3/8" BSPP 3/8" BSPP 719
XV-1P/4.9 1,200 93,5 45,0 81,5 3/8" BSPP 3/8" BSPP 9,925 22625 457 845
XV-1P/5.9 1,260 97,0 46,8 85,0 3/8" BSPP 3/8" BSPP ~
XV-1P/6.5 1,300 98,5 48,0 86,5 3/8" BSPP 3/8" BSPP @Q
XV-1P/7.8 1,360 103,5 | 50,0 91,5 3/8" BSPP 3/8" BSPP ¢:o
XV-1P/9.8 1,500 112,5 | 54,5 | 1005 3/8" BSPP 3/8" BSPP by 0
o CRIT 2
® O
@)
26108/04 X1PZ502FBBA T

T.1 = 24.5+29.4 [Nm] - Anzugsmoment - Schrauben M8
T.2 = 43 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zulassige Drehmoment priifen).

T.3=11.5 [Nm] - Anzugsmoment - Schliussel 11

010-060



Tabelle der Varianten

Deckel

Drehung links Drehung rechts

FLANSCH 225.4
FLANSCH 25.4 Tabelle der Varianten
Drehung links ‘ Drehung rechts
[] [ | CO001 - Konisch [ 002 - mit gefréastem Endstu
T.2=43[Nm T.2=13.8[Nm
02 <11:8 < rhml F ]
= 2,4 o 9 5=
5 3 ]
T
s1.) | |85 b o5l |65
|| 144 .
SCF04 - genutet SCFO2 - genutet
04 T.2=22.6 [Nm] T.2=42.8[Nm]
m=16 Z=8 = m=0,75 2=15
DIN 5482 - 12x8 £
ng
45 175 i 4.5 175
| SCFO1 - genutet SCFO3 - genutet
06 T.2=428[Nm] T.2=42.8[Nm]
m=0,75 Z=15 m=0,75 Z=15
75 @15 9| 25
07 08
Hubraum Gehéause Standard
TYP CODE Hubraum cm3/u Standardgewinde
XV-1P/0.9 16 0.9 I-1 |1B-B - B-2z/z2-Z G-F
XV-1P/1.2 17 1.2 I-1 |B-B - B-2Z2-Z2|G-F
XV-1P/1.7 18 1.7 -1 |B-B - B-2/2-2 G-F
XV-1P/2.2 20 2.2 I-1 |1B-B - B-2/z2-Z2 G-F
XV-1P/2.6 21 2.6 I-1 |B-B - B-2/2-Z2 G-F
XV-1P/3.2 23 3.2 I-1 |1B-B - B-2/z2-2 G-F
XV-1P/3.8 25 3.8 I-1 |B-B - B-2/z2-Z2 G-F
XV-1P/4.3 27 4.3 I-1 |B-B - B-2,2-Z|G-F
XV-1P/4.9 29 4.9 I-1 |1B-B - B-2/z2-Z G-F
XV-1P/5.9 31 59 I-1 |B-B - B-2/z2-Z G-F
XV-1P/6.5 32 6.5 I-1 |B-B - B-Z22-Z G-F
XV-1P/7.8 34 7.8 -1 |B-B - B-2/2-2 G-F
XV-1P/9.8 36 9.8 I-1 |B-B - B-2Z2-Z2|G-F

Kombinationstabelle der lagerméssig vorréatigen

Standardgewinde und Anflanschungen

Gehause (Gewinde und Anflanschungen)

Drainage aussen

9116 3/4
/4 BSP 3/8 BSP . 1/2 BSP L M14x1.5 o Misx15 18 UNF-28 16 UNF-28
A B| L c D F G

a 4
U

o 5%0.8 o MBx1 X M6x1

S H ﬂ | s D g/ﬁ;;\ J Gehéuse z

q ﬁ = Geschlossen
26 30 30

010-060



Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

Baugrofie 1

010-070-01000

XV1P/0,9D-@30-C0O.002

X1P1612GIA

010-070-01100

XV1P/1,2D-@30-C0.002

X1P1712GIA

010-070-01200

XV1P/1,7D-@30-C0.002

X1P1812GIHA

010-070-01300

XV1P/2,2D-@30-C0.002

X1P2012GIHA

010-070-01400

XV1P/2,6D-@30-C0O.002

X1P2112GIIA

010-070-01500

XV1P/3,2D-@30-C0.002

X1P2312GIIA

010-070-01600

XV1P/3,8D-@30-C0.002

X1P2512GIIA

010-070-01700

XV1P/4,3D-@30-C0O.002

X1P2712GIIA

010-070-01800

XV1P/4,9D-@30-C0.002

X1P2912GIA

010-070-01900

XV1P/5,9D-@30-C0.002

X1P3112GIIA

010-070-02000

XV1P/6,5D-@30-C0O.002

X1P3212GIIA

010-070-02100

XV1P/7,8D-@30-C0O.002

X1P3412GIIA

010-070-02200

XV1P/9,8D-@30-C0O.002

X1P3612GIIA

S = linksdrehend

010-070-01050

XV1P/0,9S-@30-C0O.002

X1P1611GIIA

010-070-01150

XV1P/1,25-@30-C0O.002

X1P1711GIIA

010-070-01250

XV1P/1,7S-@30-C0O.002

X1P1811GIIA

010-070-01350

XV1P/2,25-@30-C0.002

X1P2011GIIA

010-070-01450

XV1P/2,65-@30-C0.002

X1P2111GIIA

010-070-01550

XV1P/3,25-@30-C0.002

X1P2311GIIA

010-070-01650

XV1P/3,85-@30-C0.002

X1P2511GIIA

010-070-01750

XV1P/4,35-@30-C0O.002

X1P2711GIIA

010-070-01850

XV1P/4,9S-@30-C0O.002

X1P2911GIIA

010-070-01950

XV1P/5,9S-@30-C0.002

X1P3111GIIA

010-070-02050

XV1P/6,5S-@30-C0.002

X1P3211GIIA

010-070-02150

XV1P/7,8S-@30-C0.002

X1P3411GIIA

010-070-02250

XV1P/9,8S-@30-C0.002

X1P3611GIIA

4-Loch-Flansch- Bohrungsabstand = 73 x 56 mm / Rezess = @ 30 mm / Welle -C0.002 1:8 -d = @ 14 mm
-M 10x1 -Passfeder = 3,0 mm / max. zulassiges Wellendrehmoment = 119,8 Nm / Olanschliisse = Flansch LK 30 seitlich

010-070




einseitig drehende Pumpe - Serie XV

STANDARDPUMPE

FLANSCH 230 - KEGELWELLE

X|1|P|25[12 G| 1|1 A|

Serie X Serie XV
Gruppe 1 Gruppe 1
Kategorie P einseitig drehende Pumpe
Hubraum 25 38
Flansch 12 @30 STANDARD Drehrichtung rechts
Welle G  C0002 - Konisch 1:8 - @14 - M10x1- Scheibenfeder Dicke 3
Gehsuse IN | Ansaugtfng - @30 @12 M6
ouT | | Druckseite - @30 @12 M6
Deckel A Standard
Technische Datentabelle
TYP Hubraum Maximaldruck %@ CODE C}%
cm3/u P1bar | P3bar Drehung links Drehung rechts

XV-1P/0.9 0,91 240 280 X 1P1611G 1| | AjJX 1 P1612G | | A
XV-1P/1.2 1,17 250 290 X 1P1711G | | AIX 1P1712G | | A
XV-1P/1.7 1,56 250 290 X 1P1811G | | AIX 1P1812G | | A
XV-1P/2.2 2,08 250 290 X 1P2011G | | AIX 1P2012G | | A
XV-1P/2.6 2,60 250 300 X 1P2111G | | AIX 1P2112G | | A
XV-1P/3.2 3,12 250 300 X 1P2311G 1| | AJX 1P2312G | | A
XV-1P/3.8 3,64 250 300 X 1P2511G 1| | AJX 1P2512G | | A
XV-1P/4.3 4,16 250 300 X 1P2711G | | AJX 1 P2712G | | A
XV-1P/4.9 4,94 250 300 X 1P2911G 1 | AJX 1P2912G | | A
XV-1P/5.9 5,85 250 300 X1P3111G 1| | AJX 1P3112G | | A
XV-1P/6.5 6,50 250 300 [X 1P3211G | | AJX 1 P3212G | | A
XV-1P/7.8 7,54 220 260 X 1P3411G 1 | AjJX 1P3412G | | A
XV-1P/9.8 9,88 190 230 X 1P3611G | | AIX 1P3612G | | A

XP113

68
66

P1) Max. Betriebsdruck - P3) Max. Druckspitze
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments T2 4\@ & )
0| td
\ Dimensionstabelle N @r - 28
TYP Gewicht A B C D E F D E F
] 1.
kg mm mm mm IN ouT ® ]
XV-1P/0.9 0,950 78,1 | 37,3 | 66,1 212 30 M6x1 | 212 30 M6x1 o =4
XV-1P/1.2 0,970 79,0 | 37,8 | 67,0 | @12 30 M6x1 | @12 30 M6x1 < O Tip) D olw
XV-1P/1.7 1,010 80,5 | 38,5 | 68,5 | @12 30 | M6x1 | @12 30 | Méx1
XV-1P/2.2 1,030 82,5 | 395 | 70,5 | @12 30 M6x1 | @12 30 M6x1
XV-1P/2.6 = 1,060 | 84,5 | 40,5 | 725 | @12 | 30 | Méx1| @12 | 30 | Méx1 = ] v
XV-1P/3.2 1,090 86,5 | 415 | 745 | 012 30 M6x1 | 212 30 M6x1 M J“‘—L“"JI
XV-1P/3.8 1,120 88,5 | 425 | 76,5 | @912 30 Méx1 | 212 30 M6x1 10,8 \ T
XV-1P/4.3 1,170 90,5 | 435 | 785 | @12 30 M6x1 | 212 30 M6x1 73 '
XV-1P/4.9 | 1200 | 935 | 450 | 815 | @12 | 30 |Méx1 | @12 | 30 | Méxi 805 . | 245 485 565
XV-1P/5.9 1,260 97,0 | 46,8 | 850 | @12 30 M6x1 | @12 30 M6x1
XV-1P/6.5 1,300 98,5 | 48,0 | 86,5 | @12 30 M6x1 | @12 30 M6x1
XV-1P/7.8 1,360 103,5| 50,0 | 91,5 | @12 30 M6éx1 | 212 30 M6x1 2
XV-1P/9.8 1,500 112,5| 54,5 | 100,5 | @12 30 M6x1 | @12 30 M6x1 Q "
) [{s]
N IS

T.1=24.5+29.4 [Nm] - Anzugsmoment - Schrauben M8
T.2 =119.8 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zuldssige Drehmoment prifen).

26/08/04

T.3 =13 [Nm] - Anzugsmoment - Schlissel 17

XP2S12GIAdR

010-070



Tabelle der Varianten

FLANSCH 230

FLANSCH 230

Tabelle der Varianten

Deckel

Drehung links Drehung rechts ‘ ‘
] Cl001 - Zylindrisch | | CO002 - Konisch |
12 T2= Es.f INm] 5| T2=1198[Nm] . o
5 a3 <18, & <
23 17 EL 2§ 13
[ =
85 15 85 R 15
| 11,6 155
[ Cl001+HK - Zylindrisch CO0002+HK - Konisch
T.2=258[N T.2=119.8 [N
14 HK14-12 | 'E[ m] P HK14-12 _| [ m] O
8, o L;m By .3
£ @ s %
:;?nj i l11s 851 1115
11, 155 =
16
18
OUT @ 9,25 IN & 9,25
Hubraum Gehause Standard
TYP CODE Hubraum cm3/u Standardgewinde
XV-1P/0.9 16 0.9 I-1 |\B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/1.2 17 1.2 I-1 |\B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/1.7 18 1.7 I-1 \B-B|J-J |B-Z2|Z-Z|G-F
XV-1P/2.2 20 2.2 I-1 |\B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/2.6 21 2.6 -1 |\B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/3.2 23 3.2 I-1 |B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/3.8 25 3.8 I-1 |B-B|J-J |B-Z2|Z2-Z|G-F
XV-1P/4.3 27 4.3 I-1 |\B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/4.9 29 4.9 I-1 |\B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/5.9 31 5.9 I-1 |B-B|J-J |B-Z2|Z2-Z2|G-F
XV-1P/6.5 32 6.5 I-1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/7.8 34 7.8 I-1 |\B-B|J-J |B-Z2|Z-Z|G-F
XV-1P/9.8 36 9.8 -1 \B-B|J-J |B-Z2|Z-Z|G-F

Kombinationstabelle der lagermdissig vorrdtigen

Standardgewinde und Anflanschungen

Gehause (Gewinde und Anflanschungen)

Drehung links

Drainage aussen

Drehung rechts ‘

14 BSP
W e

1/2 BSP

:

M14x1.5

M18x1,5

916

3/4

18 UNF-2B

16 UNF-2B

5x0.8

P12

B12
=
ik

4
&
o

Gehéuse
Geschlossen

010-070



Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

BaugroiRe 1

010-160-01000

XV1P/0,9D-BH-@32-CF.001-3/8-3/8

X1P1632CBBA

010-160-01100

XV1P/1,2D-BH-@32-CF.001-3/8-3/8

X1P1732CBBA

010-160-01200

XV1P/1,7D-BH-@32-CF.001-3/8-3/8

X1P1832CBBA

010-160-01300

XV1P/2,2D-BH-@32-CF.001-3/8-3/8

X1P2032CBBA

010-160-01400

XV1P/2,6D-BH-@32-CF.001-3/8-3/8

X1P2132CBBA

010-160-01500

XV1P/3,2D-BH-@32-CF.001-3/8-3/8

X1P2332CBBA

010-160-01600

XV1P/3,8D-BH-@32-CF.001-3/8-3/8

X1P2532CBBA

010-160-01700

XV1P/4,3D-BH-@32-CF.001-3/8-3/8

X1P2732CBBA

010-160-01800

XV1P/4,9D-BH-@32-CF.001-3/8-3/8

X1P2932CBBA

010-160-01900

XV1P/5,9D-BH-@32-CF.001-3/8-3/8

X1P3132CBBA

010-160-02000

XV1P/6,5D-BH-@32-CF.001-3/8-3/8

X1P3232CBBA

010-160-02100

XV1P/7,8D-BH-@32-CF.001-3/8-3/8

X1P3432CBBA

010-160-02200

XV1P/9,8D-BH-@32-CF.001-3/8-3/8

X1P3632CBBA

S = linksdrehend

010-160-01050

XV1P/0,9S-BH-@32-CF.001-3/8-3/8

X1P1631CBBA

010-160-01150

XV1P/1,2S-BH-@32-CF.001-3/8-3/8

X1P1731CBBA

010-160-01250

XV1P/1,7S-BH-@32-CF.001-3/8-3/8

X1P1831CBBA

010-160-01350

XV1P/2,2S-BH-@32-CF.001-3/8-3/8

X1P2031CBBA

010-160-01450

XV1P/2,6S-BH-@32-CF.001-3/8-3/8

X1P2131CBBA

010-160-01550

XV1P/3,2S-BH-@32-CF.001-3/8-3/8

X1P2331CBBA

010-160-01650

XV1P/3,8S-BH-@32-CF.001-3/8-3/8

X1P2531CBBA

010-160-01750

XV1P/4,3S-BH-@32-CF.001-3/8-3/8

X1P2731CBBA

010-160-01850

XV1P/4,9S-BH-@32-CF.001-3/8-3/8

X1P2931CBBA

010-160-01950

XV1P/5,9S-BH-@32-CF.001-3/8-3/8

X1P3131CBBA

010-160-02050

XV1P/6,5S-BH-@32-CF.001-3/8-3/8

X1P3231CBBA

010-160-02150

XV1P/7,8S-BH-@32-CF.001-3/8-3/8

X1P3431CBBA

010-160-02250

XV1P/9,8S-BH-@32-CF.001-3/8-3/8

X1P3631CBBA

4-Loch-Flansch-BH-Durchschraubausfiihrung -Bohrungsabstand = 40 x 40 mm / Rezess = @ 32 mm / Zungenwelle versenkt -CF.001

-max. zulassiges Wellendrehmoment = 13,8 Nm / Olanschliisse = |G 3/8 seitlich

010-160




einseitig drehende Pumpe - Serie XV

DEUTSCHE STANDARDPUMPE TYP "BH"
FLANSCH 232 GEFORMT - WELLE MIT GEFRASTEM ENDSTUCK

X|1|P|25/32 C/B/B A|

( A"
)

™~

Serie X Serie XV

Gruppe 1 Gruppe 1

Kategorie P einseitig drehende Pumpe

Hubraum 25 38

Flansch 32 @32 BH DEUTSCHE NORM Drehrichtung rechts

Welle C  CF001 - mit gefrastem Endstiick ¢10 - Dicke 5 ("BH" deutscher Standard)

Gehsuse IN B Ansaunglng - 3/8" GAS

OUT B  Druckseite - 3/8" GAS
Deckel A Standard
XP161
Technische Datentabelle
TYP Hubraum Maximaldruck %@ CODE C}%
cm3/u P1bar | P3bar Drehung links Drehung rechts

XV-1P/0.9 0,91 240 280 X 1P1631CBB AJX 1P1632CBB A

XV-1P/1.2 1,17 250 290 X 1P1731CBB AJX 1P1732CBB A

XV-1P/1.7 1,56 250 290 X 1P1831CBB AjJX 1P1832CBB A

XV-1P/2.2 2,08 250 290 |[X 1P2031CBB AfX 1 P2032CBB A

XV-1P/2.6 2,60 250 300 X 1P2131CBB AJX 1P2132CBB A

XV-1P/3.2 3,12 250 300 X 1P2331CBB AJX 1P2332CBB A

XV-1P/3.8 3,64 250 300 X 1P2531CBB AJX 1P2532CBB A

XV-1P/4.3 4,16 250 300 X 1P2731CBB AjX 1P2732CBB A I

XV-1P/4.9 4,94 250 300 X 1P2931CBB AJX 1P2932CBB A s

XV-1P/5.9 5,85 250 300 X 1P3131CBB AJX 1P3132CBB A

XV-1P/6.5 6,50 250 300 X 1P3231CBBAJX 1P3232CBB A T2 24, OR2830X178

XV-1P/7.8 7,54 220 260 (X 1P3431CBB AJX 1P3432CBB A 0| w0 \ 10,

XV-1P/9.8 | 9,88 190 | 230 X 1P3681CBBA|X 1P36B82cBBA & ™ 2 82
P1) Max. Betriebsdruck - P3) Max. Druckspitze P A < s ld
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments H 8. 3

-0.025

\ Dimensionstabelle 82 o050
TYP Gewicht A B c D D ~|
kg mm mm mm IN out o

XV-1P/0.9 0,950 771 36,3 65,1 3/8" BSPP 3/8" BSPP

XV-1P/1.2 0,970 780 | 368 | 66,0 3/8" BSPP 3/8" BSPP 9) @ D]

XV-1P/1.7 1,010 79,5 37,5 67,5 3/8" BSPP 3/8" BSPP < N

XV-1P/2.2 1,030 81,5 38,5 69,5 3/8" BSPP 3/8" BSPP

XV-1P/2.6 1,060 83,5 39,5 71,5 3/8" BSPP 3/8" BSPP [

XV-1P/3.2 1,090 85,5 40,5 73,5 3/8" BSPP 3/8" BSPP || J

XV-1P/3.8 1,120 87,5 41,5 75,5 3/8" BSPP 3/8" BSPP 10,8

XV-1P/4.3 1,170 89,5 42,5 77,5 3/8" BSPP 3/8" BSPP TA

XV-1P/4.9 1,200 92,5 44,0 80,5 3/8" BSPP 3/8" BSPP

XV-1P/5.9 1,260 96,0 45,8 84,0 3/8" BSPP 3/8" BSPP / N\

XV-1P/6.5 1,300 97,5 47,0 85,5 3/8" BSPP 3/8" BSPP o O @

XV-1P/7.8 1,360 102,5 49,0 90,5 3/8" BSPP 3/8" BSPP N %@%\\ @ ':01

XV-1P/9.8 1,500 111,5 53,5 99,5 3/8" BSPP 3/8" BSPP g =X o &

N

T.1=24.5+29.4 [Nm] - Anzugsmoment - Schrauben M8
T.2 =13.8 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zuldssige Drehmoment prtfen).

10,35

29,65

26/08/04 XIPZ5320BBAdft

010-160




Tabelle der Varianten XV-1P

FLANSCH 232 Deutsche Standardpumpe "BH"

FLANSCH @32 Deutsche Standardpumpe "BH" Tabelle der Varianten Deckel
Drehung links Drehung rechts l ‘ Drehung links Drehung rechts ‘
001 - mit gefrastem Endstu SCFO01 - genutet
31 32 T.2=13.8 [Nm] c T.2=4238 [Nm]F Q A
m=0,75 Z=15 <
a 513 z
il
51408 9 45
[ | [ SCFO03 - genutet [
T.2=42.8[Nm] R
m=0,75 Z=15 =
. =
Hubraum Gehéuse Standard
TYP CODE Hubraum cm3/u Standardgewinde

XV-1P/0.9 16 0.9 -1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/1.2 17 1.2 -1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/1.7 18 1.7 I-1 |B-B|J-J|B-2|Z2-Z|G-F
XV-1P/2.2 20 2.2 -1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/2.6 21 2.6 I-1 |1B-B|J-J|B-2|Z2-Z|G-F
XV-1P/3.2 23 3.2 -1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/3.8 25 3.8 -1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/4.3 27 4.3 -1 \B-B|J-J|B-Z2|Z-Z|G-F

XV-1P/4.9 29 4.9 -1 \B-B|J-J|B-Z2|Z-Z|G-F Drainage aussen
XV-1P/5.9 31 5.9 -1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/6.5 32 6.5 I-1 |B-B|J-J|B-2|Z2-Z|G-F
XV-1P/7.8 34 7.8 -1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/9.8 36 9.8 I-1 |B-B|J-J|B-2|Z2-Z|G-F

Kombinationstabelle der lagermdissig vorrdtigen

Standardgewinde und Anflanschungen

Gehause (Gewinde und Anflanschungen)

916 3/4

M14x1.5 M18x1,5 18 UNF-2B 16 UNF-2B
D ;; E F G

1/2 BSP

:

14 BSP 3/8 BSP
A B

o 5%0.8 o M6x1 ~ M6x1
© H S u | S D RA\%‘ J Gehéuse -
1 f Geschlossen
26 30 1 @30

010-160



Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

BaugroiRe 1

010-180-01000

XV1P/0,9D-BH-@32-CF.002-3/8-3/8

X1P1642DBBA

010-180-01100

XV1P/1,2D-BH-@32-CF.002-3/8-3/8

X1P1742DBBA

010-180-01250

XV1P/1,7D-BH-@32-CF.002-3/8-3/8

X1P1842DBBA

010-180-01300

XV1P/2,2D-BH-@32-CF.002-3/8-3/8

X1P2042DBBA

010-180-01400

XV1P/2,6D-BH-@32-CF.002-3/8-3/8

X1P2142DBBA

010-180-01500

XV1P/3,2D-BH-@32-CF.002-3/8-3/8

X1P2342DBBA

010-180-01600

XV1P/3,8D-BH-@32-CF.002-3/8-3/8

X1P2542DBBA

010-180-01700

XV1P/4,3D-BH-@32-CF.002-3/8-3/8

X1P2742DBBA

010-180-01800

XV1P/4,9D-BH-@32-CF.002-3/8-3/8

X1P2942DBBA

010-180-01900

XV1P/5,9D-BH-@32-CF.002-3/8-3/8

X1P3142DBBA

010-180-02000

XV1P/6,5D-BH-@32-CF.002-3/8-3/8

X1P3242DBBA

010-180-02100

XV1P/7,8D-BH-@32-CF.002-3/8-3/8

X1P3442DBBA

010-180-02200

XV1P/9,8D-BH-@32-CF.002-3/8-3/8

X1P3642DBBA

S = linksdrehend

010-180-01050

XV1P/0,9S-BH-@32-CF.002-3/8-3/8

X1P1641DBBA

010-180-01150

XV1P/1,2S-BH-@32-CF.002-3/8-3/8

X1P1741DBBA

010-180-01200

XV1P/1,7S-BH-@32-CF.002-3/8-3/8

X1P1841DBBA

010-180-01350

XV1P/2,2S-BH-@32-CF.002-3/8-3/8

X1P2041DBBA

010-180-01450

XV1P/2,6S-BH-@32-CF.002-3/8-3/8

X1P2141DBBA

010-180-01550

XV1P/3,2S-BH-@32-CF.002-3/8-3/8

X1P2341DBBA

010-180-01650

XV1P/3,8S-BH-@32-CF.002-3/8-3/8

X1P2541DBBA

010-180-01750

XV1P/4,3S-BH-@32-CF.002-3/8-3/8

X1P2741DBBA

010-180-01850

XV1P/4,9S-BH-@32-CF.002-3/8-3/8

X1P2941DBBA

010-180-01950

XV1P/5,9S-BH-@32-CF.002-3/8-3/8

X1P3141DBBA

010-180-02050

XV1P/6,5S-BH-@32-CF.002-3/8-3/8

X1P3241DBBA

010-180-02150

XV1P/7,8S-BH-@32-CF.002-3/8-3/8

X1P3441DBBA

010-180-02250

XV1P/9,8S-BH-@32-CF.002-3/8-3/8

X1P3641DBBA

4-Loch-Flansch-BH-Durchschraubausfiihrung -Bohrungsabstand = 40 x 40 mm / Rezess = @ 32 mm / Zungenwelle vorstehend -CF.002

-max. zulassiges Wellendrehmoment = 13,8 Nm / Olanschliisse = IG 3/8 seitlich

010-180




einseitig drehende Pumpe - Serie XV

PUMPE TYP "BH"
FLANSCH 232 GEFORMT - WELLE MIT GEFRASTEM ENDSTUCK

X|1|P|25/42 D/B/B A|

Serie X Serie XV
Gruppe 1 Gruppe 1
Kategorie P einseitig drehende Pumpe
Hubraum 25 38
Flansch 42 | (32 BH Drehrichtung rechts
Welle D  CF002 - mit gefrastem Endstlick 810 - Dicke 5
Gehsuse IN B Ansaunglng - 3/8" GAS
OUT B  Druckseite - 3/8" GAS
Deckel A Standard
XP119
Technische Datentabelle
TYP Hubraum Maximaldruck %@ CODE C}%
cm3/u P1bar | P3bar Drehung links Drehung rechts
XV-1P/0.9 0,91 240 280 X 1P1641DBB AJX 1P1642D BB A
XV-1P/1.2 1,17 250 290 X 1P1741DBB AJX 1P1742DBB A
XV-1P/1.7 1,56 250 290 X 1P1841DBB AJX 1P1842DBB A
XV-1P/2.2 2,08 250 290 |[X 1P2041DBB AJX 1P2042DBB A
XV-1P/2.6 2,60 250 300 X 1P2141DBB AJX 1P2142DBB A
XV-1P/3.2 3,12 250 300 X 1P2341DBB AJX 1P2342DBB A
XV-1P/3.8 3,64 250 300 X 1P2541DBB AJX 1P2542DBB A 0l
XV-1P/4.3 4,16 250 300 |[X 1P2741DBB AJX 1P2742DBB A S g0 OR28.30x 1.78
XV-1P/4.9 4,94 250 300 X 1P2941DBB AJX 1P2942DBB A ! » ' '
XV-1P/5.9 5,85 250 300 X 1P3141DBB A|JX 1P3142DBB A o /)@ g};z
XV-1P/6.5 6,50 250 300 |X 1P3241DBB AJX 1P3242DBB A 10
XV-1P/7.8 7,54 220 260 X 1P3441DBB AJX 1P3442DBB A T2 @ 3217 (38)
XV-1P/9.8 9,88 190 230 |[X 1P3641DBB A]JX 1P3642DBB A ~ ’
P1) Max. Betriebsdruck - P3) Max. Druckspitze 1 _
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments ‘ ‘ o
\ Dimensionstabelle o
TYP Gewicht A B c D D 7
kg mm mm mm IN ouT <° \O DI
XV-1P/0.9 0,950 77,1 36,3 65,1 3/8" BSPP 3/8" BSPP
XV-1P/1.2 0,970 78,0 36,8 66,0 3/8" BSPP 3/8" BSPP [
XV-1P/1.7 1,010 79,5 37,5 67,5 3/8" BSPP 3/8" BSPP
XV-1P/2.2 1,030 81,5 38,5 69,5 3/8" BSPP 3/8" BSPP 108
XV-1P/2.6 1,060 83,5 39,5 71,5 3/8" BSPP 3/8" BSPP T4 '
XV-1P/3.2 1,090 85,5 40,5 73,5 3/8" BSPP 3/8" BSPP
XV-1P/3.8 1,120 87,5 41,5 75,5 3/8" BSPP 3/8" BSPP
XV-1P/4.3 1,170 89,5 42,5 77,5 3/8" BSPP 3/8" BSPP
XV-1P/4.9 1,200 92,5 44,0 80,5 3/8" BSPP 3/8" BSPP
XV-1P/5.9 1,260 96,0 45,8 84,0 3/8" BSPP 3/8" BSPP
XV-1P/6.5 1,300 97,5 47,0 85,5 3/8" BSPP 3/8" BSPP 1)
XV-1P/7.8 1,360 102,5 49,0 90,5 3/8" BSPP 3/8" BSPP ;
XV-1P/9.8 1,500 111,5 53,5 99,5 3/8" BSPP 3/8" BSPP

T.1=24.5+29.4 [Nm] - Anzugsmoment - Schrauben M8
T.2 =13.8 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zuldssige Drehmoment prtfen).

26/08/04

X1P2S4Z0BBAdT

010-180




Tabelle der Varianten XV-1P

FLANSCH 232 "BH" - Geformt

FLANSCH @32 "BH" — Geformt Tabelle der Varianten Deckel
Drehung links Drehung rechts ‘ ‘ Drehung links Drehung rechts ‘
[ t002-mitgefrastem Endstif |  CO001 - Konisch | [
41 42 T2=138Nm] . p T.2=43Nm] F A
2 55 = g s
<Q>‘ 5 SR
E}\L
6.1 r 95 g
) a4
SCF02 - genutet SCF04 - genutet |
T.2=42.8[Nm] L T.2=22.6[Nm] J B
m=0,75 Z=15 m=1,6 Z=6 hal
DIN 5482 - 12x9 i
§
55 175 55 175 }
SCFO1 - genutet SCF03 - genutet ]
T.2=42.8[Nm] T.2=42.8 [Nm]
m=0,75 Z=15 Q m=0,75 Z=15 = R C
g
6,5 25 9 15
Hubraum Gehéuse Standard
TYP CODE Hubraum cm3/u Standardgewinde
XV-1P/0.9 16 0.9 -1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/1.2 17 1.2 I-1 |B-B|J-J |B-Z2|Z2-Z2|G-F
XV-1P/1.7 18 1.7 I-1 \B-B|J-J |B-Z2|Z-Z|G-F
XV-1P/2.2 20 2.2 I-1|B-B|J-J |B-Z2|Z2-Z|G-F
XV-1P/2.6 21 2.6 -1 |\B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/3.2 23 3.2 I-1|B-B|J-J |B-Z2|Z2-Z|G-F
XV-1P/3.8 25 3.8 -1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/4.3 27 4.3 I-1 |B-B|J-J |B-Z2|Z2-Z2|G-F
XV-1P/4.9 29 4.9 I-1 |B-B|J-J |B-Z2|Z2-Z2|G-F Drainage aussen
XV-1P/5.9 31 5.9 -1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/6.5 32 6.5 I-1 \B-B|J-J|B-Z2|Z-Z|G-F
XV-1P/7.8 34 7.8 I-1|B-B|J-J |B-Z2|Z2-Z|G-F
XV-1P/9.8 36 9.8 -1 \B-B|J-J |B-Z2|Z-Z|G-F

Kombinationstabelle der lagermdissig vorrdtigen

Standardgewinde und Anflanschungen

Gehause (Gewinde und Anflanschungen)

916 3/4

M14x1.5 M18x1,5 18 UNF-2B 16 UNF-2B
D ;; E F G

1/2 BSP

:

14 BSP 3/8 BSP
A B

o 5%0.8 o M6x1 ~ M6x1
© H S u | S D RA\%‘ J Gehéuse -
1 f Geschlossen
26 30 1 @30

010-180



Zahnradpumpen

Bestellnr. Typ Code
D =rechtsdrehend
010-240-01000 XV2P/4D X2P4102EOOQA
010-240-01100 XV2P/6D X2P4302EOOA
010-240-01200 XV2P/9D X2P4502EOOA
010-240-01300 XV2P/11D X2P4702EOOA
010-240-01400 XV2P/14D X2P4902EPOA
010-240-01500 XV2P/17D X2P5102EPOA
010-240-01600 XV2P/19D X2P5302EPOA
010-240-01700 XV2P/22D X2P5502EPOA
010-240-01800 XV2P/26D X2P5702EQPA
010-240-01900 XV2P/30D X2P5902EQPA
N 010-240-02000 XV2P/34D X2P6102EQPA
2 010-240-02100 XV2P/40D X2P6302EQPA
=9 S = linksdrehend
g 010-240-01050 XV2P/4S X2P4101EOOA
g 010-240-01150 XV2P/6S X2P4301EOOA
010-240-01250 XV2P/9S X2P4501EOOA
010-240-01350 XV2P/11S X2P4701EOOA
010-240-01450 XV2P/14S X2P4901EPOA
010-240-01550 XV2P/17S X2P5101EPOA
010-240-01650 XV2P/19S X2P5301EPOA
010-240-01750 XV2P/22S X2P5501EPOA
010-240-01850 XV2P/26S X2P5701EQPA
010-240-01950 XV2P/30S X2P5901EQPA
010-240-02050 XV2P/34S X2P6101EQPA
010-240-02150 XV2P/40S X2P6301EQPA

Europaischer Standard-4-Loch-Flansch- Bohrungsabstand = 96,2 x 71,5 mm / Rezess = @ 36,5 mm / Welle -C0O.001 1:8 -d = @ 17,4 mm
-M 12x1,5 -Passfeder = 4,0 mm / max. zuldssiges Wellendrehmoment = 233,2 Nm / Olanschliisse = Flansch LK 30/40 seitlich

010-240




einseitig drehende Pumpe - Serie XV

EUROPAISCHE STANDARDPUMPE
FLANSCH 236.5 - KEGELWELLE

i

'X|2|P|51/02 E/P O A|

Serie X Serie XV
Gruppe 2 Gruppe 2
Kategorie P einseitig drehende Pumpe
Hubraum 51 17
Flansch 02 36,5 EUROPAISCHER STANDARD Drehrichtung rechts
Welle E  CO001 - Konisch 1:8 - 17.4 - M12x1.5 - Scheibenfeder Dicke 4
Gehsuse IN B Ansauggng - @40 @20 M8
OUT| O  Druckseite - @30 @13.5 M6
Deckel A Standard
XP201
Technische Datentabelle
TYP Hubraum Maximaldruck 5”@ CODE @’5
cm3/u P1bar | P3bar Drehung links Drehung rechts
XV-2P/04 4,20 260 300 X 2P4101EOO AjJX 2P4102EOO A 3 8
XV-2P/06 6,00 260 300 X 2P4301EOO AJX 2P4302EOO A
XV-2P/09 8,40 260 300 X 2P4501EOQOO AJX 2P4502EOQ0QO A
XV-2P/11 10,80 260 300 X 2P4701EOO AJX 2 P4702EOQO A
XV-2P/14 14,40 250 290 X 2P4901EPO AJX 2P4902EPO A
XV-2P/17 16,80 230 270 | X 2P5101EPOAIX 2P5102EPO A
XV-2P/19 19,20 210 250 (X 2P5301EPO AJX 2P5302EPO A
XV-2P/22 22,80 200 240 X 2P5501EPO AJX 2P5502EPO A @ 174
XV-2P/26 26,20 170 210 (X 2P5701EQP AjJX 2P5702EQP A /. M12x15
XV-2P/30 30,00 160 200 X 2P5901EQP AjJX 2P5902EQP A ﬁ
XV-2P/34 34,20 150 190 X 2P6101EQP AIX 2P6102EQP A [
XV2P/40 | 3960 | 140 | 180 |X 2P6301EQP A|X 2 P6302EQP A -7
P1) Max. Betriebsdruck - P3) Max. Druckspitze T3 36,5 f7 (26%)
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments ’ \ o
<11:8 -
\ Dimensionstabelle T2 \i@
. w0
TP | Gewicht | A | B | C D |E F D [E F m\jq >
kg mm | mm | mm IN ouT \ \ \ | &
XV-2P/04 | 2,200 | 872 | 41,7 | 77,2 |9135/30] Méx1 | 013530 Mexi oS S b
XV-2P/06 2,300 90,2 | 43,2 | 80,2 | 913,530 Me6x1 213,530 M6x1 - s
XV-2P/09 2,400 94,2 | 452 | 84,2 | 813,530 M6x1 213,530 M6x1 (@) o) ¢ DI w
XV-2P/11 2,500 98,2 | 47,2 | 88,2 | 13,5 /30| Me6x1 213,530 M6x1
XV-2P/14 2,700 104,2 | 50,2 | 94,2 | 220 40| M8X1,25 | 13,530, Me6x1
XV-2P/17 2,800 108,2 | 52,2 | 98,2 | 920 40| M8X1,25 | 13,530, M6x1 ‘ T yam| ‘ w
XV-2P/19 2,900 112,2 | 54,2 | 102,2 | 220 40| M8X1,25 | 13,530, Me6x1 15‘7‘\
XV-2P/22 3,050 118,2 | 57,2 | 108,2 | 220 40| M8X1,25 | 13,530, Mé6x1 TA
XV-2P/26 3,150 122,2 | 59,2 | 112,2 | 23,5 |40 | M8X1,25 | 220 |40 M8X1,25
XV-2P/30 3,400 130,2 | 63,2 | 120,2 | 23,5 |40 | M8X1,25 | 220 |40| M8X1,25 8.75 875
XV-2P/34 3,600 137,2 | 66,7 | 127,2 | 23,5 |40 | M8X1,25 | 220 |40 M8X1,25 N
XV-2P/40 3,800 146,2 | 71,2 | 136,2 | 23,5 |40 | M8X1,25 | 220 |40 M8X1,25 0 @
o B £
~ 10 ERIT o
Q

T.1 = 54+58.9 [Nm] - Anzugsmoment - Schrauben M10

T.3 =40 [Nm] - Anzugsmoment - Schlissel 19

T.2 = 233.2 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zulassige Drehmoment prifen).

26/08/04

X2PS102EPOAdft

010-240



Tabelle der Varianten

FLANSCH 236.5

FLANSCH 236.5

Welle

Deckel

Drehung links

Drehung rech

ts

l

Drehung links

Drehung rechts

|| CI001 - Zylindrisch Cl002 - Zylindrisch |
T2=441[Nm] |5 T2= E7.f Nml g
s R
g9 e oo 4
< =] 3|
[&= | % ‘M@::: <
| |13 | 13 o
545§ 3 8, 7' v2 8
B CO001-Konisch | |  CO002-Konisch | |
T2=2332Nm] g T.2=2332[Nm] .|g
S <18, 9 g o 1)
= N NERE -
S| J 93 4 gj g 3
messit=d0 N %
6.45, 125 8,65 '13 *
2",5 18‘,8 I
| SCF02-genutet | |  SCFO03-genutet
gipeim o Tacmin oy
DIN 5482 - 17x14 = DIN 5482 - 17x14 =
6,55, 13 6.55, 188
[~ SCF04 - genutet SCFO01 - genutet
T.2=67.1 [Nm] | T2=862Nm] ||
SAE J 498 m=16 Z=9
9T 16/32 DP. ] DIN 5482 - 17x14
OouT @ 12 IN@ 12 s s
L 10 225 92| 418
Hubraum Gehéause Standard N
TYP CODE Hubraum cm3/u Standardgewinde
XV-2P/04 41 4 0-0|S-R|B-B|L-M| z-Z
XV-2P/06 43 6 0-0|S-R|B-B|L-M| z-Z
XV-2P/09 45 9 0O-0 S-R|B-B | L-M| Z-Z L |
XV-2P/11 47 11 O0-0 | S-R|B-B | L-M| Z-Z
XV-2P/14 49 14 P-O| S-R|C-B|L-M| zZz-Z (0]
XV-2P/17 51 17 P-O| S-R|C-B|L-M| zZz-Z
XV-2P/19 53 19 P-O | S-R|C-B|L-M| Z2-Z
XV-2P/22 55 22 P-O| S-R|C-B|L-M| zZz-Z
XV-2P/26 57 26 Q-P|S-R|D-C|L-M| Z2-Z Drainage aussen |
XV-2P/30 59 30 Q-P| S-S | D-C|L-M| Z2-Z
XV-2P/34 61 34 Q-P | S-S | D-C|L-M | Z-Z
XV-2P/40 63 40 Q-P| S-S | D-C|L-M| Z2-Z
Kombinationstabelle der lagermdissig vorrdtigen
Standardgewinde und Anflanschungen
Gehéause (Gewinde und Anflanschungen)
_3/8"BSP _1/2'BSP _3/4"BSP 1"BSP M14x1,5 M16x1.5 _M18x1,5
A «@» B (o} D E G
M20x1,5 M22x1,5 7/8"-14UNF 1-5/16"-12UNF M6x1 Méx1.25
w0, o
H ]@ M N| 2 S P
@30 @40
M8x1.25 M6x1 M6x1 ‘M8x1.25 M6x1
0 u > | "
s o 5, Q S © @ w |w 0 Gehause
s Q& (& ﬁ(\' SO T 5 ,C o [=YIS C = |Vl Geschlossen £
#40 ‘ 4@35 48 38 38

010-240



Zahnradpumpen

Bestellnr. Typ Code
D =rechtsdrehend
010-250-01000 XV2P/4D-1/2-1/2 X2P4102EBBA
010-250-01100 XV2P/6D-1/2-1/2 X2P4302EBBA
010-250-01200 XV2P/9D-1/2-1/2 X2P4502EBBA
010-250-01300 XV2P/11D-1/2-1/2 X2P4702EBBA
010-250-01400 XV2P/14D-3/4-1/2 X2P4902ECBA
010-250-01500 XV2P/17D-3/4-1/2 X2P5102ECBA
010-250-01600 XV2P/19D-3/4-1/2 X2P5302ECBA
010-250-01700 XV2P/22D-3/4-1/2 X2P5502ECBA
010-250-01800 XV2P/26D-1-3/4 X2P5702EDCA
010-250-01900 XV2P/30D-1-3/4 X2P5902EDCA
N 010-250-02000 XV2P/34D-1-3/4 X2P6102EDCA
2 010-250-02100 XV2P/40D-1-3/4 X2P6302EDCA
=9 S = linksdrehend
g 010-250-01050 XV2P/4S-1/2-1/2 X2P4101EBBA
g 010-250-01150 XV2P/6S-1/2-1/2 X2P4301EBBA
010-250-01250 XV2P/9S-1/2-1/2 X2P4501EBBA
010-250-01350 XV2P/11S-1/2-1/2 X2P4701EBBA
010-250-01450 XV2P/14S-3/4-1/2 X2P4901ECBA
010-250-01550 XV2P/17S-3/4-1/2 X2P5101ECBA
010-250-01650 XV2P/19S-3/4-1/2 X2P5301ECBA
010-250-01750 XV2P/22S-3/4-1/2 X2P5501ECBA
010-250-01850 XV2P/26S-1-3/4 X2P5701EDCA
010-250-01950 XV2P/30S-1-3/4 X2P5901EDCA
010-250-02050 XV2P/34S-1-3/4 X2P6101EDCA
010-250-02150 XV2P/40S-1-3/4 X2P6301EDCA

Europaischer Standard-4-Loch-Flansch- Bohrungsabstand = 96,2 x 71,5 mm / Rezess = @ 36,5 mm / Welle -C0O.001 1:8 -d = @ 17,4 mm
-M 12x1,5 -Passfeder = 4,0 mm / max. zuldssiges Wellendrehmoment = 233,2 Nm / Olanschlisse = IG 1/2-3/4-1 seitlich

010-250



einseitig drehende Pumpe - Serie XV

EUROPAISCHE STANDARDPUMPE .r
FLANSCH 236.5 - KEGELWELLE ‘ - >

'X|2|P|51/02 E/C/B A|
Serie X Serie XV
Gruppe 2 Gruppe 2
Kategorie P einseitig drehende Pumpe
Hubraum 51 17
Flansch 02 36,5 EUROPAISCHER STANDARD Drehrichtung rechts
Welle E  CO001 - Konisch 1:8 - 17.4 - M12x1.5 - Scheibenfeder Dicke 4
Gehsuse IN C Ansauggng - 3/4" GAS
OUT B  Druckseite - 1/2" GAS
Deckel A Standard
XP207
113,7
Technische Datentabelle 98
TYP Hubraum Maximaldruck 5”@ CODE @’5
cm3/u P1bar | P3bar Drehung links Drehung rechts
XV-2P/04 4,20 260 300 X 2P4101EBBA|X 2P4102EBB A 3 8
XV-2P/06 6,00 260 300 X 2P4301EBB AJX 2P4302EBB A
XV-2P/09 8,40 260 300 X 2P4501EBB AJX 2P4502EBB A
XV-2P/11 10,80 260 300 X 2P4701EBB AJX 2P4702EBB A
XV-2P/14 14,40 250 290 X 2P4901ECB AJX 2P4902ECB A
XV-2P/17 16,80 230 270 | X 2P5101ECB A|X 2P5102ECB A
XV-2P/19 19,20 210 250 (X 2P5301ECB AJX 2P5302ECB A
XV-2P/22 22,80 200 240 (X 2P5501ECB AJX 2P5502ECB A @ 174
XV-2P/26 26,20 170 210 (X 2P5701EDC AjJX 2P5702EDC A L M12x1.5
XV-2P/30 30,00 160 200 X 2P5901EDC AjX 2P5902EDC A ﬁ
XV-2P/34 34,20 150 190 X 2P6101EDC AJX 2P6102EDC A [
XV-2P/40 | 3960 | 140 | 180 X 2 P6301EDC A|X 2 P6302EDC A 77
P1) Max. Betriebsdruck - P3) Max. Druckspitze T3 36,5 f7 (50%0)
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments ’ \ ¥
<11:8 <
\ Dimensionstabelle T2 4\@
TP Gewicht A B c D D “’\F o
kg mm mm mm IN ouT \ 7\ _ ©
XV-2P/04 2,200 87,2 41,7 77,2 1/2" BSPP 1/2" BSPP . g }
XV-2P/06 2,300 90,2 43,2 80,2 1/2" BSPP 1/2" BSPP -
XV-2P/09 2,400 94,2 45,2 84,2 1/2" BSPP 1/2" BSPP «© @} o
XV-2P/11 2,500 98,2 47,2 88,2 1/2" BSPP 1/2" BSPP ™
XV-2P/14 2,700 104,2 50,2 94,2 3/4" BSPP 1/2" BSPP
XV-2P/17 2,800 108,2 52,2 98,2 3/4" BSPP 1/2" BSPP :J‘,:LXJ A
XV-2P/19 2,900 112,2 54,2 102,2 3/4" BSPP 1/2" BSPP 15 7‘:”“
XV-2P/22 3,050 118,2 57,2 108,2 3/4" BSPP 1/2" BSPP * TA
XV-2P/26 3,150 122,2 59,2 112,2 1" BSPP 3/4" BSPP 9.2
XV-2P/30 3,400 130,2 63,2 120,2 1" BSPP 3/4" BSPP 8.75 324 * 638 8.75
XV-2P/34 3,600 137,2 66,7 127,2 1" BSPP 3/4" BSPP @ @
XV-2P/40 3,800 146,2 71,2 136,2 1" BSPP 3/4" BSPP 0
5 JERY)) '
a0l
(3o}
o 0

26/08/04 X2PS102ECBAdft

T.1 = 54+58.9 [Nm] - Anzugsmoment - Schrauben M10 T.3 =40 [Nm] - Anzugsmoment - Schlissel 19
T.2 = 233.2 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zulassige Drehmoment prifen).

010-250



Tabelle der Varianten

FLANSCH 236.5

FLANSCH 236.5

Welle

Deckel

Drehung links

Drehung rech

ts

l

Drehung links

Drehung rechts

|| CI001 - Zylindrisch Cl002 - Zylindrisch |
T2=441[Nm] |5 T2= E7.f Nml g
s R
g9 e oo 4
< =] 3|
[&= | % ‘M@::: <
| |13 | 13 o
545§ 3 8, 7' v2 8
B CO001-Konisch | |  CO002-Konisch | |
T2=2332Nm] g T.2=2332[Nm] .|g
S <18, 9 g o 1)
= N NERE -
S| J 93 4 gj g 3
messit=d0 N %
6.45, 125 8,65 '13 *
2",5 18‘,8 I
| SCF02-genutet | |  SCFO03-genutet
gipeim o Tacmin oy
DIN 5482 - 17x14 = DIN 5482 - 17x14 =
6,55, 13 6.55, 188
[~ SCF04 - genutet SCFO01 - genutet
T.2=67.1 [Nm] | T2=862Nm] ||
SAE J 498 m=16 Z=9
9T 16/32 DP. ] DIN 5482 - 17x14
OouT @ 12 IN@ 12 s s
L 10 225 92| 418
Hubraum Gehéause Standard N
TYP CODE Hubraum cm3/u Standardgewinde
XV-2P/04 41 4 0-0|S-R|B-B|L-M| z-Z
XV-2P/06 43 6 0-0|S-R|B-B|L-M| z-Z
XV-2P/09 45 9 0O-0 S-R|B-B | L-M| Z-Z L |
XV-2P/11 47 11 O0-0 | S-R|B-B | L-M| Z-Z
XV-2P/14 49 14 P-O| S-R|C-B|L-M| zZz-Z (0]
XV-2P/17 51 17 P-O| S-R|C-B|L-M| zZz-Z
XV-2P/19 53 19 P-O | S-R|C-B|L-M| Z2-Z
XV-2P/22 55 22 P-O| S-R|C-B|L-M| zZz-Z
XV-2P/26 57 26 Q-P|S-R|D-C|L-M| Z2-Z Drainage aussen |
XV-2P/30 59 30 Q-P| S-S | D-C|L-M| Z2-Z
XV-2P/34 61 34 Q-P | S-S | D-C|L-M | Z-Z
XV-2P/40 63 40 Q-P| S-S | D-C|L-M| Z2-Z
Kombinationstabelle der lagermdissig vorrdtigen
Standardgewinde und Anflanschungen
Gehéause (Gewinde und Anflanschungen)
_3/8"BSP _1/2'BSP _3/4"BSP 1"BSP M14x1,5 M16x1.5 _M18x1,5
A «@» B (o} D E G
M20x1,5 M22x1,5 7/8"-14UNF 1-5/16"-12UNF M6x1 Méx1.25
w0, o
H ]@ M N| 2 S P
@30 @40
M8x1.25 M6x1 M6x1 ‘M8x1.25 M6x1
0 u > | "
s o 5, Q S © @ w |w 0 Gehause
s Q& (& ﬁ(\' SO T 5 ,C o [=YIS C = |Vl Geschlossen £
#40 ‘ 4@35 48 38 38

010-250



Zahnradpumpen

Bestellnr. Typ Code
D =rechtsdrehend
010-050-01000 XV1P/0,9D X1P1602FIIA
010-050-01100 XV1P/1,2D X1P1702FIIA
010-050-01200 XV1P/1,7D X1P1802FIIA
010-050-01300 XV1P/2,2D X1P2002FIA
010-050-01400 XV1P/2,6D X1P2102FIIA
010-050-01500 XV1P/3,2D X1P2302FIIA
010-050-01600 XV1P/3,8D X1P2502FIIA
010-050-01700 XV1P/4,3D X1P2702FIA
010-050-01800 XV1P/4,9D X1P2902FIIA
010-050-01900 XV1P/5,9D X1P3102FIA
010-050-02000 XV1P/6,5D X1P3202FIIA
"' 010-050-02100 XV1P/7,8D X1P3402FIIA
3 010-050-02200 XV1P/9,8D X1P3602FIIA
= S = linksdrehend
g’ 010-050-01050 XV1P/0,9S X1P1601FIIA
S 010-050-01150 XV1P/1,2S X1P1701FlIA
010-050-01250 XV1P/1,7S X1P1801FIA
010-050-01350 XV1P/2,2S X1P2001FIIA
010-050-01450 XV1P/2,6S X1P2101FIIA
010-050-01550 XV1P/3,2S X1P2301FIIA
010-050-01650 XV1P/3,8S X1P2501FIIA
010-050-01750 XV1P/4,3S X1P2701FIIA
010-050-01850 XV1P/4,9S X1P2901FIA
010-050-01950 XV1P/5,9S X1P3101FHA
010-050-02050 XV1P/6,5S X1P3201FIA
010-050-02150 XV1P/7,8S X1P3401FIIA
010-050-02250 XV1P/9,8S X1P3601FIA

Européischer Standard-4-Loch-Flansch- Bohrungsabstand = 71,9 x 52,4 mm / Rezess = @ 25,4 mm / Welle -C0O.001 1:8 -d = @ 10 mm
-M 7x1 -Passfeder = 2,4 mm / max. zulassiges Wellendrehmoment = 43 Nm / Olanschliisse = Flansch LK 30 seitlich

010-050



einseitig drehende Pumpe - Serie XV

EUROPAISCHE STANDARDPUMPE
FLANSCH 225.4 - KEGELWELLE

(x|1|p|25f02|F|1]1]A]

Serie X Serie XV

Gruppe 1  Gruppe1

Kategorie P einseitig drehende Pumpe

Hubraum 25 38

Flansch 02 | (25.4 EUROPAISCHER STANDARD Drehrichtung rechts

XP101

Welle F  CO001 - Konisch 1:8 - 810 - M7x1 - Scheibenfeder Dicke 2.4
Gehiuse N | Ansaugt'mg - @30 @12 M6
ouT| | Druckseite - @30 @12 M6
Deckel A Standard
Technische Datentabelle
TYP Hubraum Maximaldruck ;(5 CODE (ﬁ){
cm3/u P1bar | P3bar Drehung links Drehung rechts

XV-1P/0.9 0,91 240 280 (X 1P1601F | | AJX 1 P1602F I | A
XV-1P/1.2 1,17 250 290 (X 1 P1701F I | AJX 1 P1702F I | A
XV-1P/1.7 1,56 250 290 X 1P1801F | | AJX 1P1802F I | A
XV-1P/2.2 2,08 250 290 (X 1P2001F I | AJX 1 P2002F I | A
XV-1P/2.6 2,60 250 300 X 1P2l01F | | AfX 1 P2102F | | A
XV-1P/3.2 3,12 250 300 X 1P2301F | | AfX 1 P2302F | | A
XV-1P/3.8 3,64 250 300 X 1P2501F | | AfX 1 P2502F | | A
XV-1P/4.3 4,16 250 300 (X 1P2701F I | AIX 1P2702F I | A
XV-1P/4.9 4,94 250 300 (X 1P2901F I | AIX 1 P2902F I | A
XV-1P/5.9 5,85 250 300 [ X 1P3101F I | AIX1P3102F I | A
XV-1P/6.5 6,50 250 300 X 1P3201F | | AfX 1 P3202F | | A
XV-1P/7.8 7,54 220 260 (X 1P3401F I | AJX 1 P3402F I | A
XV-1P/9.8 9,88 190 230 X 1P3601F 1 | A | X 1 P36 02F 1 1 A

P1) Max. Betriebsdruck - P3) Max. Druckspi&

Fir schwere Anwendungen empfiehlt sich eine Priifung des zuléssigen Wellendrehmoments

Dimensionstabelle

TYP Gewicht A B c D E F D E F
kg mm mm mm IN ouT
XV-1P/0.9 0,950 78,1 | 37,3 | 66,1 | @912 30 | M6x1 | @12 30 | M6x1
XV-1P/1.2 0,970 79,0 | 37,8 | 67,0 | @12 30 | M6x1 | @12 30 | M6x1
XV-1P/1.7 1,010 80,5 | 38,5 | 68,5 | @12 30 | M6x1 | @12 30 | M6x1
XV-1P/2.2 1,030 82,5 | 395 | 70,5 | @12 30 | M6x1 | @12 30 | M6x1
XV-1P/2.6 1,060 84,5 | 405 | 725 | 912 30 | M6x1 | @12 30 | M6x1
XV-1P/3.2 1,090 86,5 | 415 | 745 | g12 30 | M6x1 | @12 30 | M6x1
XV-1P/3.8 1,120 88,5 | 425 | 76,5 | @912 30 | M6x1 | @12 30 | M6x1
XV-1P/4.3 1,170 90,5 | 435 | 785 | @12 30 | M6x1 | @12 30 | M6x1
XV-1P/4.9 1,200 93,5 | 45,0 | 815 | @12 30 | M6x1 | @12 30 | M6x1
XV-1P/5.9 1,260 97,0 | 46,8 | 85,0 | @12 30 | M6x1 | @12 30 | M6x1
XV-1P/6.5 1,300 98,5 | 48,0 | 86,5 | @12 30 | M6x1 | @12 30 | M6x1
XV-1P/7.8 1,360 103,5| 50,0 | 91,5 | @12 30 | M6x1 | @12 30 | M6x1
XV-1P/9.8 1,500 112,5| 54,5 | 100,5 | @12 30 | M6x1 | @12 30 | M6x1

T.1=24.5+29.4 [Nm] - Anzugsmoment - Schrauben M8
T.2 = 43 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zuléssige Drehmoment priifen).

T.3 =11.5[Nm] - Anzugsmoment - Schlussel 11

® 16|
|~
/'V\
o Lo @ O w
[ [
10,8 TA
71,9
9,925 22,625 457 8,45
'\
o5
N
&
W 2=
5 —ie
N N
©
: Os
Q

26/08/04

XIP2S02F1IAdH

010-050



Tabelle der Varianten

FLANSCH 225.4
A H abe e er arianten \ Decke
Drehun inks ‘ Drehun rechts Drehun inks Drehun rechts
nisch mit er stem n st |
m m
D
=18 o 24 o o 5
5 3 [ b}
0|
51 T 85 0 45/] |65
L || 14,4 .
enutet enutet
m m
m=16 2=6 I m=0,75 z=15 =
DIN 5482 - 12x9 = =
[ -]
g b
45 175 a5 175
| | enutet | | enutet
m m
m=0,75 Z=15 bt m=0,75 Z=15 L=
= <
@) (]
75| 15 g@l@

Hubraum

Geh use tan ar

TYP

CODE

Hubraum cm3/u Standardgewinde

16

17

18

20

21

23

25

27

29

31

32

34

36

DOOOOOOOOOOOO

Kombinationstabelle der lagermassig vorrétigen
Standardgewinde und Anflanschungen

Draina e aussen

Geh use Ge in eun An anschun en

9/16 3/4
/4 BSP 3/8 BSP | o 1/2 BSP M14x1.5 - M18x15 18 UNF-2B 16 UNF-2B
A B ; C D F 1 G
:E; J A
o M5x0.8 M6x1 g M6x1
S H ﬂ | s D B J Gehause -
T { Geschlossen
26 30 © 1 a0

010-050



Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

Baugroie 2

012-020-01000

XV2P/4D-BH-@50-C0O.002

X2P4112FSRA

012-020-01100

XV2P/6D-BH-@50-C0O.002

X2P4312FSRA

012-020-01200

XV2P/9D-BH-@50-C0.002

X2P4512FSRA

012-020-01300

XV2P/11D-BH-@50-C0.002

X2P4712FSRA

012-020-01400

XV2P/14D-BH-@50-C0.002

X2P4912FSRA

012-020-01500

XV2P/17D-BH-@50-C0O.002

X2P5112FSRA

012-020-01600

XV2P/19D-BH-@50-C0.002

X2P5312FSRA

012-020-01700

XV2P/22D-BH-@50-C0.002

X2P5512FSRA

012-020-01800

XV2P/26D-BH-@50-C0.002

X2P5712FSRA

012-020-01900

XV2P/30D-BH-@50-C0.002

X2P5912FSSA

012-020-02000

XV2P/34D-BH-@50-C0.002

X2P6112FSSA

012-020-02100

XV2P/40D-BH-@50-C0.002

X2P6312FSSA

S =linksdrehend

012-020-01050

XV2P/4S-BH-@50-C0.002

X2P4111FSRA

012-020-01150

XV2P/6S-BH-@50-C0.002

X2P4311FSRA

012-020-01250

XV2P/9S-BH-@50-C0.002

X2P4511FSRA

012-020-01350

XV2P/11S-BH-@50-C0.002

X2P4711FSRA

012-020-01450

XV2P/14S-BH-@50-C0.002

X2P4911FSRA

012-020-01550

XV2P/17S-BH-@50-C0.002

X2P5111FSRA

012-020-01650

XV2P/19S-BH-@50-C0.002

X2P5311FSRA

012-020-01750

XV2P/22S-BH-@50-C0.002

X2P5511FSRA

012-020-01850

XV2P/26S-BH-@50-C0.002

X2P5711FSRA

012-020-01950

XV2P/30S-BH-@50-C0.002

X2P5911FSSA

012-020-02050

XV2P/34S-BH-@50-C0.002

X2P6111FSSA

012-020-02150

XV2P/40S-BH-@50-C0.002

X2P6311FSSA

4-Loch-Flansch-BH-Durchschraubausfiihrung -Bohrungsabstand = 60 x 60 mm / Rezess = @ 50 mm / Welle -C0O.002 1:5 -d = @ 17,4 mm

-M 12x1,5 -Passfeder = 3,0 mm / max. zuléssiges Wellendrehmoment = 233,2 Nm / Olanschliisse = Flansch LK 35/40 seitlich

012-020




einseitig drehende Pumpe - Serie XV

PUMPE TYP "BH"

FLANSCH 250 GEFORMT - KEGEL

X/ 2|P|51/12 F|S/R A|

wie

Serie X Serie XV
Gruppe 2 Gruppe 2
Kategorie P einseitig drehende Pumpe
Hubraum 51 17
Flansch 12 | @50 DEUTSCHE NORM BH Drehrichtung rechts
Welle F  C0002 - Konisch 1:5 - @17.4 - M12x1.5 - Scheibenfeder Dicke 3
Gehiuse IN S Ansauggng - @40 a 45° @20 M6
OUT R  Druckseite - @35 a 45° @15 M6
Deckel A Standard
Technische Datentabelle
TYP Hubraum Maximaldruck 5‘@ CODE C}%
cm3/u P1bar | P3bar Drehung links Drehung rechts

XV-2P/04 4,20 260 300 X2P4111FSRA|X 2P4112F SR A
XV-2P/06 6,00 260 300 X 2P4311F SR A|X 2P4312F SR A
XV-2P/09 8,40 260 300 X 2P4511F SR A|X 2P4512F SR A
XV-2P/11 10,80 260 300 X 2P4711F SR A|X 2P4712F SR A
XV-2P/14 14,40 250 290 (X 2P4911FSRA|X 2P4912F SR A
XV-2P/17 16,80 230 270 (X 2P5111MFSRA|X 2P5112F SR A
XV-2P/19 19,20 210 250 X 2P5311FSRA|X 2P5312F SR A
XV-2P/22 22,80 200 240 X 2P5511FSRA|X 2P5512F SR A
XV-2P/26 26,20 170 210 [ X 2P5711F SR AIX 2P5712F SR A
XV-2P/30 30,00 160 200 (X 2P5911FSS A|X 2P5912F SS A
XV-2P/34 34,20 150 190 (X 2P6111FSS A[X 2P6112FSS A
XV-2P/40 39,60 140 180 |[X 2P6311FSS A|X 2P6312FSS A

P1) Max. Betriebsdruck - P3) Max. Druckspitze
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments

Dimensionstabelle

XP210

M12x1.5

22

TYP Gewicht A B c D E F D E F
kg mm mm mm IN ouT
XV-2P/04 2,100 87,2 | 386 | 77,2 | 220 (40| M6x1 215 |35| M6x1
XV-2P/06 2,200 90,2 | 38,6 | 80,2 | @20 |40| M6x2 215 35| M6x1
XV-2P/09 2,300 94,2 | 40,6 | 84,2 | 220 (40| M6x3 215 |35| M6x1
XV-2P/11 2,400 98,2 | 45,0 | 88,2 | @20 |40| M6x4 215 |35 M6x1
XV-2P/14 2,600 |104,2| 45,0 | 94,2 | 220 |40| M6x5 215 |35| M6x1
XV-2P/17 2,700 |108,2| 45,0 | 98,2 | 220 |40| M6x6 215 |35| M6x1
XV-2P/19 2,800 | 112,2| 45,0 | 102,2 | @20 |40| M6x7 215 |35 M6x1
XV-2P/22 2,950 |118,2| 52,5 | 108,2| 220 |40| M6x8 215 |35 M6x1
XV-2P/26 3,060 |122,2| 52,5 | 112,2| 220 |40| M6x9 215 |35| M6x1
XV-2P/30 3,300 |130,2| 60,7 | 120,2 | @20 [40| M6x10 220 40| Mé6x1
XV-2P/34 3,500 |137,2| 60,7 | 127,2 | @20 |40 M6x11 220 40| Me6x1
XV-2P/40 3,700 | 146,2 | 60,7 | 136,2 | @20 [40| M6x12 220 40| Mé6x1

T.1=54+58.9 [Nm]

- Anzugsmoment - Schrauben M10

T-3\ 50 7 (26%%)
. [se]
<11'5\ ®
T2 o
N\ oo}
N N ©
g
o 0
" __Q
o
o ) s
o [ O
i w
IEEBN )/ —)
15,7
TA

T.3 =40 [Nm] - Anzugsmoment - Schlissel 19
T.2 = 233.2 [Nm] - zuléssiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zulédssige Drehmoment priifen).

26/08/04

X2PST2FSRAdIt

012-020



Tabelle der Varianten /U l' | xvep

e | B

=
FLANSCH 250 "BH" - Geformt - ’ [ / i
\

FLANSCH @50 "BH" — Geformt Welle Deckel
Drehung links Drehung rechts Drehung links I Drehung rechts
C1001 - Zylindrisch Cl002 - Zylindrisch | |
1 12 T2=441[Nm] || T2=675[Nm] .|p A
.- g <18 99
g o L4 s J AN 4
o] @zis ] 3§ %
13 ” = E
‘ || | 545{ 0 6.45 SF 125 L
[ [ ] C0001 - Konisch CO002 - Konisch
o
T.2=233.2[Nm] T.2=233.2[Nm] @
14 4 <re g E 9 <15 9y 7 S B
S| J &Y 4 S a5 s
& ASY)
n ga% — ﬁ o
5457’215 125 8,65 13
\ [ (—r L

SCFO03 - genutet

T2=86.1Nm] |

m=16 Z=9
DIN 5482 - 17x14

s

‘ 655 188

|

\ Hubraum Gehause Standard

CODE Hubraum cm3/u Standardgewinde

XV-2P/04 Y| 4 O0-0 S-R | B-B | L-M| Z-Z
XV-2P/06 43 6 0-0 S-R|B-B | L-M| zZ-Z
XV-2P/09 45 9 O0-0| S-R|B-B | L-M | Z2-Z
XV-2P/11 47 11 O0-0 | S-R | B-B | L-M | Z-Z
XV-2P/14 49 14 P-O| S-R | C-B|L-M| zZz-Z
XV-2P/17 51 17 P-O| S-R|C-B|L-M| Z-Z
XV-2P/19 53 19 P-O | S-R | C-B|L-M | Z-Z
XV-2P/22 55 22 P-O | S-R | C-B|L-M | Z-Z
XV-2P/26 57 26 Q-P S-R D-C L-M zZ-7Z Drainage aussen
XV-2P/30 59 30 Q-P | S-S | D-C|L-M| zZ2-Z
XV-2P/34 61 34 Q-P| S-S |D-C | L-M| Z-Z
XV-2P/40 63 40 Q-P | S-S |D-C | L-M| Zz-Z

Kombinationstabelle der lagermdissig vorrdtigen

Standardgewinde und Anflanschungen

Gehéuse (Gewinde und Anflanschungen)

3/8"BSP 1/2'BSP 3/4"BSP 1"BSP M14x1,5 M16x1.5 M18x1,5

AN EN EN N

M20x1,5 M22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 M8x1.25
4 o
H @ | Ky L @ M N £ o| & P
@30 @40
M8x1.25 M6x1 M6x1 M6x1 . M8x1.25 . M6x1
= = J x
© © Q (N o | 3, = A 0 e i) 0 | © Gehause
s Q S, {a s\/\' R S Sis T C)f AR VC o= Us C =V Geschlossen z
@40 \ 4@35 t 2l @40 48 38 38

012-020



Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

BaugrofRe 2

012-040-01000

XV2P/4D-HY-@50-C0O.002

X2P4122FSRA

012-040-01100

XV2P/6D-HY-@50-C0.002

X2P4322FSRA

012-040-01200

XV2P/9D-HY-@50-C0.002

X2P4522FSRA

012-040-01300

XV2P/11D-HY-@50-C0O.002

X2P4722FSRA

012-040-01400

XV2P/14D-HY-@50-C0O.002

X2P4922FSRA

012-040-01500

XV2P/17D-HY-@50-C0O.002

X2P5122FSRA

012-040-01600

XV2P/19D-HY-@50-C0.002

X2P5322FSRA

012-040-01700

XV2P/22D-HY-@50-C0.002

X2P5522FSRA

012-040-01800

XV2P/26D-HY-@50-C0O.002

X2P5722FSRA

012-040-01900

XV2P/30D-HY-@50-C0O.002

X2P5922FSSA

012-040-02000

XV2P/34D-HY-@50-C0O.002

X2P6122FSSA

012-040-02100

XV2P/40D-HY-@50-C0O.002

X2P6322FSSA

S =linksdrehend

012-040-01050

XV2P/4S-HY-@50-C0O.002

X2P4121FSRA

012-040-01150

XV2P/6S-HY-@50-C0.002

X2P4321FSRA

012-040-01250

XV2P/9S-HY-@50-C0.002

X2P4521FSRA

012-040-01350

XV2P/11S-HY-@50-C0.002

X2P4721FSRA

012-040-01450

XV2P/14S-HY-@50-C0O.002

X2P4921FSRA

012-040-01550

XV2P/17S-HY-@50-C0O.002

X2P5121FSRA

012-040-01650

XV2P/19S-HY-@50-C0O.002

X2P5321FSRA

012-040-01750

XV2P/22S-HY-@50-C0O.002

X2P5521FSRA

012-040-01850

XV2P/26S-HY-@50-C0.002

X2P5721FSRA

012-040-01950

XV2P/30S-HY-@50-C0.002

X2P5921FSSA

012-040-02050

XV2P/34S-HY-@50-C0.002

X2P6121FSSA

012-040-02150

XV2P/40S-HY-@50-C0.002

X2P6321FSSA

4-Loch-Flansch-HY-Durchschraubausfiihrung -Bohrungsabstand = 60 x 60 mm / Rezess = @ 50 mm / Welle -CO.002 1:5 -d = @ 17,4 mm

-M 12x1,5 -Passfeder = 3,0 mm / max. zuldssiges Wellendrehmoment = 233,2 Nm / Olanschliisse = Flansch LK 35/40 seitlich

012-040




einseitig drehende Pumpe - Serie XV

PUMPE TYP "HY"

X 2|P|51/22 F|S/R A

wie

FLANSCH 250 GEFORMT - KEGELl

Serie X Serie XV
Gruppe 2 Gruppe 2
Kategorie P einseitig drehende Pumpe
Hubraum 51 17
Flansch 22 (50 DEUTSCHE NORM HY Drehrichtung rechts
Welle F  C0002 - Konisch 1:5 - @17.4 - M12x1.5 - Scheibenfeder Dicke 3
Gehiuse IN S Ansauggng - @40 a 45° @20 M6
OUT R  Druckseite - @35 a 45° @15 M6
Deckel A Standard
Technische Datentabelle
TYP Hubraum Maximaldruck 5‘@ CODE C}%
cm3/u P1bar | P3bar Drehung links Drehung rechts

XV-2P/04 4,20 260 300 X 2P4121FSRA|X 2P4122F SR A
XV-2P/06 6,00 260 300 X 2P4321F SR A|X 2P4322F SR A
XV-2P/09 8,40 260 300 X 2P4521F SR A|X 2P4522F SR A
XV-2P/11 10,80 260 300 X 2P4721F SR A|X 2P4722F SR A
XV-2P/14 14,40 250 290 |[X 2P4921F SR A|X 2P4922F SR A
XV-2P/17 16,80 230 270 [ X 2P5121FSRA|X 2P5122F SR A
XV-2P/19 19,20 210 250 |X 2P5321FSRA|X 2P5322F SR A
XV-2P/22 22,80 200 240 X 2P5521F SR A|X 2P5522F SR A
XV-2P/26 26,20 170 210 [ X 2P5721F SR A|X 2P5722F SR A
XV-2P/30 30,00 160 200 [X 2P5921FSS A|X 2P5922F SS A
XV-2P/34 34,20 150 190 (X 2P6121FSS A|X 2P6122FSS A
XV-2P/40 39,60 140 180 |[X 2P6321FSS A|X 2P6322FSS A

P1) Max. Betriebsdruck - P3) Max. Druckspitze
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments

Dimensionstabelle

| 1] xvap

gy | |

XP213

86

™ %79,
| @ 17,4
/D\ M12x1.5
7 -7
T3 50 7 (56%)
<115 @
AN
o N B
Y
m [ee]
o I
) DI""'
o [ ©

TYP Gewicht A B c D E F D E F
kg mm mm mm IN ouT
XV-2P/04 2,100 87,2 | 386 | 77,2 | 220 (40| M6x1 215 |35| M6x1
XV-2P/06 2,200 90,2 | 38,6 | 80,2 | @20 |40| M6x2 215 35| M6x1
XV-2P/09 2,300 94,2 | 40,6 | 84,2 | 220 (40| M6x3 215 |35| M6x1
XV-2P/11 2,400 98,2 | 45,0 | 88,2 | @20 |40| M6x4 215 |35 M6x1
XV-2P/14 2,600 |104,2| 45,0 | 94,2 | 220 |40| M6x5 215 |35| M6x1
XV-2P/17 2,700 |108,2| 45,0 | 98,2 | 220 |40| M6x6 215 |35| M6x1
XV-2P/19 2,800 | 112,2| 45,0 | 102,2 | @20 |40| M6x7 215 |35 M6x1
XV-2P/22 2,950 |118,2| 52,5 | 108,2| 220 |40| M6x8 215 |35 M6x1
XV-2P/26 3,060 |122,2| 52,5 | 112,2| 220 |40| M6x9 215 |35| M6x1
XV-2P/30 3,300 |130,2| 60,7 | 120,2 | @20 [40| M6x10 220 40| Mé6x1
XV-2P/34 3,500 |137,2| 60,7 | 127,2 | @20 |40 M6x11 220 40| Me6x1
XV-2P/40 3,700 | 146,2 | 60,7 | 136,2 | @20 [40| M6x12 220 40| Mé6x1

T.1 = 54+58.9 [Nm] - Anzugsmoment - Schrauben M10
T.2 = 233.2 [Nm] - zuléssiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zulédssige Drehmoment priifen).

T.3 =40 [Nm] - Anzugsmoment - Schlissel 19

26/08/04

X2PS122FSRAdfE

012-040



Tabelle der Varianten /U l' | xvep

e | B

=
FLANSCH 250 "HY" - Geformt - ’ [ / i
\

FLANSCH @50 "HY" — Geformt Welle Deckel
Drehung links Drehung rechts Drehung links I Drehung rechts
C1001 - Zylindrisch Cl002 - Zylindrisch | |
21 22 T2=441[Nm] || T2=675[Nm] .|p A
.- g <18 99
g o L4 s J AN 4
o] @zis ] 3§ %
13 ” = E
‘ || | 545{ 0 6.45 SF 125 L
[ [ ] C0001 - Konisch CO002 - Konisch
o
T.2=233.2[Nm] T.2=233.2[Nm] @
24 4 <re g E 9 <15 9y 7 S B
S| J &Y 4 S a5 s
& ASY)
n ga% — ﬁ o
5457’215 125 8,65 13
\ [ (—r L

SCFO03 - genutet

T2=86.1Nm] |

m=16 Z=9
DIN 5482 - 17x14

s

‘ 655 188

|

\ Hubraum Gehause Standard

CODE Hubraum cm3/u Standardgewinde

XV-2P/04 Y| 4 O0-0 S-R | B-B | L-M| Z-Z
XV-2P/06 43 6 0-0 S-R|B-B | L-M| zZ-Z
XV-2P/09 45 9 O0-0| S-R|B-B | L-M | Z2-Z
XV-2P/11 47 11 O0-0 | S-R | B-B | L-M | Z-Z
XV-2P/14 49 14 P-O| S-R | C-B|L-M| zZz-Z
XV-2P/17 51 17 P-O| S-R|C-B|L-M| Z-Z
XV-2P/19 53 19 P-O | S-R | C-B|L-M | Z-Z
XV-2P/22 55 22 P-O | S-R | C-B|L-M | Z-Z
XV-2P/26 57 26 Q-P S-R D-C L-M zZ-7Z Drainage aussen
XV-2P/30 59 30 Q-P | S-S | D-C|L-M| zZ2-Z
XV-2P/34 61 34 Q-P| S-S |D-C | L-M| Z-Z
XV-2P/40 63 40 Q-P | S-S |D-C | L-M| Zz-Z

Kombinationstabelle der lagermdissig vorrdtigen

Standardgewinde und Anflanschungen

Gehéuse (Gewinde und Anflanschungen)

3/8"BSP 1/2'BSP 3/4"BSP 1"BSP M14x1,5 M16x1.5 M18x1,5

AN EN EN N

M20x1,5 M22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 M8x1.25
4 o
H @ | Ky L @ M N £ o| & P
@30 @40
M8x1.25 M6x1 M6x1 M6x1 . M8x1.25 . M6x1
= = J x
© © Q (N o | 3, = A 0 e i) 0 | © Gehause
s Q S, {a s\/\' R S Sis T C)f AR VC o= Us C =V Geschlossen z
@40 \ 4@35 t 2l @40 48 38 38

012-040



Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

BaugrofRe 2

012-060-01000

XV2P/4D-BH-@52-CF.001

X2P4132CSRA

012-060-01100

XV2P/6D-BH-@52-CF.001

X2P4332CSRA

012-060-01200

XV2P/9D-BH-@52-CF.001

X2P4532CSRA

012-060-01300

XV2P/11D-BH-@52-CF.001

X2P4732CSRA

012-060-01400

XV2P/14D-BH-@52-CF.001

X2P4932CSRA

012-060-01500

XV2P/17D-BH-@52-CF.001

X2P5132CSRA

012-060-01600

XV2P/19D-BH-@52-CF.001

X2P5332CSRA

012-060-01700

XV2P/22D-BH-@52-CF.001

X2P5532CSRA

012-060-01800

XV2P/26D-BH-@52-CF.001

X2P5732CSRA

012-060-01900

XV2P/30D-BH-@52-CF.001

X2P5932CSSA

012-060-02000

XV2P/34D-BH-@52-CF.001

X2P6132CSSA

012-060-02100

XV2P/40D-BH-@52-CF.001

X2P6332CSSA

S =linksdrehend

012-060-01050

XV2P/4S-BH-@52-CF.001

X2P4131CSRA

012-060-01150

XV2P/6S-BH-@52-CF.001

X2P4331CSRA

012-060-01250

XV2P/9S-BH-@52-CF.001

X2P4531CSRA

012-060-01350

XV2P/11S-BH-@52-CF.001

X2P4731CSRA

012-060-01450

XV2P/14S-BH-@52-CF.001

X2P4931CSRA

012-060-01550

XV2P/17S-BH-@52-CF.001

X2P5131CSRA

012-060-01650

XV2P/19S-BH-@52-CF.001

X2P5331CSRA

012-060-01750

XV2P/22S-BH-@52-CF.001

X2P5531CSRA

012-060-01850

XV2P/26S-BH-@52-CF.001

X2P5731CSRA

012-060-01950

XV2P/30S-BH-@52-CF.001

X2P5931CSSA

012-060-02050

XV2P/34S-BH-@52-CF.001

X2P6131CSSA

012-060-02150

XV2P/40S-BH-@52-CF.001

X2P6331CSSA

4-Loch-Flansch-BH-Durchschraubausfiihrung -Bohrungsabstand = 60 x 60 mm / Rezess = @ 52 mm mit O-Ring
Zungenwelle versenkt -CF.001 / max. zulassiges Wellendrehmoment = 60,5 Nm / Olanschliisse = Flansch LK 35/40 seitlich

012-060




einseitig drehende Pumpe - Serie XV

DEUTSCHE STANDARDPUMPE TYP
FLANSCH 252 GEFORMT - WELLEL

-mmxfﬂﬁ

X/ 2|P|51/32 C/S/R A

Serie X Serie XV
Gruppe 2 Gruppe 2
Kategorie P einseitig drehende Pumpe
Hubraum 51 17
Flansch 32 (52 DEUTSCHE NORM BH Drehrichtung rechts (mit OR)
Welle C  CFO001 - mit gefrastem Endstiick @15 - Dicke 8 ("BH" deutscher Standard)
Gehiuse IN S Ansauggng - @40 a 45° @20 M6
OUT R  Druckseite - @35 a 45° @15 M6
Deckel A Standard
Technische Datentabelle
TYP Hubraum Maximaldruck 5‘@ CODE C}%
cm3/u P1bar | P3bar Drehung links Drehung rechts

XV-2P/04 4,20 260 300 X 2P4131CSRAJX 2P4132CSRA
XV-2P/06 6,00 260 300 X 2P4331CSRA|X 2P4332CSRA
XV-2P/09 8,40 260 300 X 2P4531CSRA|X 2P4532CSR A
XV-2P/11 10,80 260 300 X 2P4731CSRA|X 2P4732CSR A
XV-2P/14 14,40 250 290 X 2P4931CSRA|X 2P4932CSR A
XV-2P/17 16,80 230 270 [ X 2P5131CSRA|X 2P5132CSR A
XV-2P/19 19,20 210 250 |[X 2P5331CSRA|X 2P5332CSR A
XV-2P/22 22,80 200 240 X 2P5531CSRA|X 2P5532CSRA
XV-2P/26 26,20 170 210 [ X 2P5731CSR AIX 2P5732CSR A
XV-2P/30 30,00 160 200 [X 2P5931CSS A|X 2P5932CSS A
XV-2P/34 34,20 150 190 X 2P6131CSS AIX2P6132CSS A
XV-2P/40 39,60 140 180 |[X 2P6331CSS A|X 2P6332CSS A

P1) Max. Betriebsdruck - P3) Max. Druckspitze
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments

Dimensionstabelle

-

| 1] xvap

e |

XP216

TYP Gewicht A B c D E F D E F
kg mm mm mm IN ouT
XV-2P/04 2,100 87,2 | 386 | 77,2 | 220 (40| M6x1 215 |35| M6x1
XV-2P/06 2,200 90,2 | 38,6 | 80,2 | @20 |40| M6x2 215 35| M6x1
XV-2P/09 2,300 94,2 | 40,6 | 84,2 | 220 (40| M6x3 215 |35| M6x1
XV-2P/11 2,400 98,2 | 45,0 | 88,2 | @20 |40| M6x4 215 |35 M6x1
XV-2P/14 2,600 |104,2| 45,0 | 94,2 | 220 |40| M6x5 215 |35| M6x1
XV-2P/17 2,700 |108,2| 45,0 | 98,2 | 220 |40| M6x6 215 |35| M6x1
XV-2P/19 2,800 | 112,2| 45,0 | 102,2 | @20 |40| M6x7 215 |35 M6x1
XV-2P/22 2,950 |118,2| 52,5 | 108,2| 220 |40| M6x8 215 |35 M6x1
XV-2P/26 3,060 |122,2| 52,5 | 112,2| @20 (40| M6x9 215 |35| M6x1
XV-2P/30 3,300 |130,2| 60,7 | 120,2 | @20 [40| M6x10 220 40| Mé6x1
XV-2P/34 3,500 |137,2| 60,7 | 127,2 | @20 |40 M6x11 220 40| Me6x1
XV-2P/40 3,700 | 146,2 | 60,7 | 136,2 | @20 [40| M6x12 220 40| Mé6x1

T.1 = 54+58.9 [Nm] - Anzugsmoment - Schrauben M10
T.2 =60.5 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zuldssige Drehmoment priifen).

o) §§ @ 19
a o m @ 8 5o
&
o
@ 30 I
@ 42
T2 @ 168
\ o D
= 4 1
o~ a/ e
o ©)
-~ ©
52 17 (56%)
N
~ _~OR47,30X 2,62
@ 5 Q
o 1L et
Q
[T
T
TA
o
[sp)

@ 10,5

26/08/04

X2PS1320SRAf

012-060



Tabelle der Varianten

FLANSCH 252 Deutsche Standardp-

FLANSCH @52 Deutsche Standardpumpe "BH"

Welle

Deckel

Drehung links

Drehung rechts

Drehung links I Drehung rechts

001 - mit gefrastem Endstit SCFO5 - genutet
31 32 T2=605[Nm] | ¢ T".E; 862[Nm] |y A
z 8233 DIN 5482 - 17x14
'y
‘ 65 3 11 29
SCFO1 - genutet |
T2=862[Nm] . | 3 =
m=16 Z=9 o
DIN 5482 - 17x14 N
4
‘ 92| |18
\ Hubraum Gehéause Standard
TYP CODE Hubraum cm3/u Standardgewinde
XV-2P/04 Y| 4 0O-0| S-R | B-B | L-M | Z2-Z
XV-2P/06 43 6 0-0|S-R | B-B | L-M | Z-Z
XV-2P/09 45 9 O0-0| S-R|B-B | L-M | Z2-Z
XV-2P/11 47 11 O0-0 | S-R | B-B | L-M | Z-Z
XV-2P/14 49 14 P-O0| S-R | C-B | L-M | Z-Z
XV-2P/17 51 17 P-O| S-R | C-B | L-M | Z-Z
XV-2P/19 53 19 P-O | S-R | C-B|L-M | Z-Z
XV-2P/22 55 22 P-O | S-R | C-B|L-M | Z-Z
XV-2P/26 57 26 Q-P S-R D-C L-M zZ-7Z Drainage aussen
XV-2P/30 59 30 Q-P | S-S | D-C|L-M | Z-Z o
XV-2P/34 61 34 Q-P| S-S |D-C | L-M| Z-Z
XV-2P/40 63 40 Q-P | S-S |D-C | L-M| Zz-Z
Kombinationstabelle der lagermdissig vorrdtigen
Standardgewinde und Anflanschungen
‘ Gehéuse (Gewinde und Anflanschungen)
3/8"BSP 1/2'BSP 3/4'BSP 1"BSP M14x1.5 M16x1.5 M18x1,5
A J@L B J@ﬁ c D F G
_M20x1,5 M22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 M8x1.25
4 o
H @ [ Ky L M ° o g P
@30 @40
M8x1.25 M6x1 M6x1 T M6x1 M8x1.25 M6x1
> b P
s © Q > . | 3, o S © e i) 0 | © Gehause
s Qg {a s\/\' Rg Sis ‘C)fN T s VC =7 C ';VGeschIossenZ
340 ‘ 'Zﬂ 235 1 @ %40 48 38 38

012-060



Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

BaugrofRe 2

012-070-01000

XV2P/4D-@80-C0.002

X2P4142FSRA

012-070-01100

XV2P/6D-@80-C0O.002

X2P4342FSRA

012-070-01200

XV2P/9D-@80-C0O.002

X2P4542FSRA

012-070-01300

XV2P/11D-@80-C0.002

X2P4742FSRA

012-070-01400

XV2P/14D-@80-C0.002

X2P4942FSRA

012-070-01500

XV2P/17D-@80-C0O.002

X2P5142FSRA

012-070-01600

XV2P/19D-@80-C0O.002

X2P5342FSRA

012-070-01700

XV2P/22D-@80-C0O.002

X2P5542FSRA

012-070-01800

XV2P/26D-@80-C0O.002

X2P5742FSRA

012-070-01900

XV2P/30D-@80-C0.002

X2P5942FSSA

012-070-02000

XV2P/34D-@80-C0.002

X2P6142FSSA

012-070-02100

XV2P/40D-@80-C0.002

X2P6342FSSA

S =linksdrehend

012-070-01050

XV2P/4S-@80-C0.002

X2P4141FSRA

012-070-01150

XV2P/6S-@80-C0.002

X2P4341FSRA

012-070-01250

XV2P/9S-@80-C0.002

X2P4541FSRA

012-070-01350

XV2P/11S-@80-C0.002

X2P4741FSRA

012-070-01450

XV2P/14S-@80-C0O.002

X2P4941FSRA

012-070-01550

XV2P/17S-@80-C0.002

X2P5141FSRA

012-070-01650

XV2P/19S-@80-C0O.002

X2P5341FSRA

012-070-01750

XV2P/22S-@80-C0O.002

X2P5541FSRA

012-070-01850

XV2P/26S-@80-C0O.002

X2P5741FSRA

012-070-01950

XV2P/30S-@80-C0O.002

X2P5941FSSA

012-070-02050

XV2P/34S-@80-C0O.002

X2P6141FSSA

012-070-02150

XV2P/40S-@80-C0O.002

X2P6341FSSA

4-Loch-Flansch- Bohrungsabstand = 100 x 72 mm / Rezess = @ 80 mm / Welle -C0O.002 1.5 -d = @ 17,4 mm
-M 12x1,5 -Passfeder = 3,0 mm / max. zuléssiges Wellendrehmoment = 233,2 Nm / Olanschliisse = Flansch LK 35/40 seitlich

012-070




einseitig drehende Pumpe - Serie XV

DEUTSCHE STANDARDPUMPE nr
FLANSCH 280 - KEGELWELLE ‘ - >

X/ 2|P|51/42 F|S/R A|
Serie X Serie XV
Gruppe 2 Gruppe 2
Kategorie P einseitig drehende Pumpe
Hubraum 51 17
Flansch 42 | (80 DEUTSCHE NORM Drehrichtung rechts (mit OR)
Welle F  C0002 - Konisch 1:5 - @17.4 - M12x1.5 - Scheibenfeder Dicke 3
Gehiuse IN S Ansauggng - @40 a 45° @20 M6
OUT R  Druckseite - @35 a 45° @15 M6
Deckel A Standard
XP217
117
Technische Datentabelle 08
TYP Hubraum Maximaldruck 5‘@ CODE C}% _
cm3/u P1bar | P3bar Drehung links Drehung rechts
XV-2P/04 4,20 260 300 X 2P4141FSRA|JX 2P4142FSR A S8
XV-2P/06 6,00 260 300 (X 2P4341F SR A|X 2P4342F SR A
XV-2P/09 8,40 260 300 X 2P4541F SR A|X 2P4542F SR A
XV-2P/11 10,80 260 300 (X 2P4741F SR AJX 2P4742F SR A
XV-2P/14 14,40 250 290 |[X 2P4941F SR AJX 2P 4942F SR A 92
XV-2P/17 16,80 230 270 (X 2P5141FSRAJX 2P5142F SR A « OR7582 X 178
XV-2P/19 19,20 210 250 X 2P5341FSRAJX 2P5342FSRA 1 ' '
XV-2P/22 22,80 200 240 (X 2P5541F SR AJX 2P5542F SR A @ 174 \ ®
XV-2P/26 26,20 170 210 [ X 2P5741F SR A|X 2P5742F SR A M12x1.5 [T \
XV-2P/30 | 30,00 160 | 200 X 2P5941FSS A|X 2P5942F SS A =) o
XV-2P/34 34,20 150 190 X 2P6141FSS A|X 2P6142FSS A =
XV-2P/40 39,60 140 180 X 2P6341FSS A|X 2P6342FSS A % @/ "‘3:
P1) Max. Betriebsdruck - P3) Max. Druckspitze T3 & 80 o7 (3%2) ©
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments <11:5— \ —
. - T2
Dimensionstabelle 0
TYP Gewicht A B c D E F D E F : ﬁ ;'
kg mm mm mm IN out ‘ ‘
XV-2P/04 2,330 89,7 | 41,1 | 79,7 | 220 |40 M6x1 215 |35 M6x1 om : 9
XV-2P/06 2,430 92,7 | 41,1 | 82,7 | 220 |40 M6x2 215 |35 M6x1 T > Dt
XV-2P/09 2,530 96,7 | 43,1 | 86,7 | 820 |40 M6Xx3 215 |35 M6x1 «© N w
XV-2P/11 2,630 100,7 | 47,5 | 90,7 | 220 (40| M6x4 215 |35| M6x1
XV-2P/14 2,730 | 106,7 | 47,5 | 96,7 | 20 |40 M6x5 215 |35 M6x1 w
XV-2P/17 2,830 110,7 | 47,5 | 100,7 | 220 (40| M6x6 215 |35 M6x1 ‘u o T U‘/
XV-2P/19 2,930 114,7 | 47,5 | 104,7 | 220 (40| M6X7 215 |35 M6x1 15,7 \
XV-2P/22 3,180 120,7 | 55,0 | 110,7 | @20 (40| M6X8 215 |35 M6x1 T4
XV-2P/26 3,280 124,7 | 55,0 | 114,7 | 220 (40| M6X9 215 |35 Mé6x1
XV-2P/30 3,530 132,7 | 63,2 | 122,7 | 920 40| M6x10 220 |40, Mé6x1 8,7
XV-2P/34 3,730 139,7 | 63,2 | 129,7 | 920 (40| Me6x11 220 |40, Meé6x1
XV-2P/40 3,930 148,7 | 63,2 | 138,7 | 920 40| M6x12 220 |40, Meé6x1
[e2]
IS

26/08/06 X2PS5142FSRAdft

T.1 = 54+58.9 [Nm] - Anzugsmoment - Schrauben M10 T.3 =40 [Nm] - Anzugsmoment - Schlissel 19
T.2 = 233.2 [Nm] - zuléssiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zulédssige Drehmoment priifen).

012-070



Tabelle der Varianten

FLANSCH 280 Deutsche Standardp‘ _

FLANSCH 280 Deutsche Standardpumpe \

Welle

Deckel

Drehung links Drehung rechts

Drehung links

Drehung rechts

C1001 - Zylindrisch Cl002 - Zylindrisch | |
1 42 |y T2° 411.1 INm] || T2=675Nm] |g A
& 3 4 4
SR
9§ R F
395[. 30 62|28 Kipy
o ©0001 - Konisch C0002 - Konisch 1
o
T.2=233.2[Nm T.2=233.2[Nm 1
g = 1[8 ]4 E gj /< 1;[5 ]3 F g B
el Rl hE
3,95 £21 5] 125£ 6,15 'rwas ‘13§
SCFO03 - genutet ] o |
T.2 :=§(§.2=LNm] H
DIN 5482 - 17x14
s
Hubraum Gehéause Standard
TYP CODE Hubraum cm3/u Standardgewinde
XV-2P/04 41 4 O0-0|S-R | B-B | L-M | Z-Z
XV-2P/06 43 6 O0-0| S-R | B-B | L-M | Zz-Z
XV-2P/09 45 9 O0-0| S-R | B-B | L-M | Zz-Z
XV-2P/11 47 11 O0-0| S-R | B-B | L-M | Zz-Z
XV-2P/14 49 14 P-O| S-R | C-B | L-M | Z-Z
XV-2P/17 51 17 P-O| S-R|C-B | L-M | Z-Z
XV-2P/19 53 19 P-O | S-R | C-B | L-M | z2-Z
XV-2P/22 55 22 P-O | S-R|C-B | L-M | zZ-Z
XV-2P/26 57 26 Q-P | S-R | D-C|L-M | Z-Z
XV-2P/30 59 30 Q-P | S-S | D-C|L-M | Z-Z Drainage aussen |
XV-2P/34 61 34 Q-P | S-S |D-C|L-M | Z-Z
XV-2P/40 63 40 Q-P | S-S |D-C | L-M | Z-Z
Kombinationstabelle der lagermdissig vorrdtigen
Standardgewinde und Anflanschungen
Gehéuse (Gewinde und Anflanschungen) \
3/8"BSP 1/2'BSP 3/4"BSP 1"BSP M14x1,5 M16x1.5 M18x1,5
A J@L B J@ﬁ c D G
M20x1,5 M22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF Méx1 Mé&x1.25
4 o
H @ [ j@§‘ L M e S P
@30 @40
M8x1.25 M6x1 M6x1 M6x1 M8x1.25 M6x1
> > p "
s © u > o | 3, o L © o0 0 | © Gehause
S| Qé {a E\/\' RIS S| ‘C)fw LRS! VC =7 C = |V|Geschlossen |£
B40 ‘ 'Zﬂ 235 1 9 %40 48 38 38

012-070



Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

BaugrofRe 2

012-100-01000

XV2P/4D-@82,5-SAEA-SCF.04

X2P4152ISRA

012-100-01100

XV2P/6D-@82,5-SAEA-SCF.04

X2P4352ISRA

012-100-01200

XV2P/9D-@82,5-SAEA-SCF.04

X2P4552ISRA

012-100-01300

XV2P/11D-@82,5-SAEA-SCF.04

X2P4752ISRA

012-100-01400

XV2P/14D-@82,5-SAEA-SCF.04

X2P4952ISRA

012-100-01500

XV2P/17D-@82,5-SAEA-SCF.04

X2P5152ISRA

012-100-01600

XV2P/19D-@82,5-SAEA-SCF.04

X2P5352ISRA

012-100-01700

XV2P/22D-@82,5-SAEA-SCF.04

X2P5552ISRA

012-100-01800

XV2P/26D-382,5-SAEA-SCF.04

X2P5752ISRA

012-100-01900

XV2P/30D-@82,5-SAEA-SCF.04

X2P5952ISSA

012-100-02000

XV2P/34D-@82,5-SAEA-SCF.04

X2P6152ISSA

012-100-02100

XV2P/40D-@82,5-SAEA-SCF.04

X2P6352ISSA

S =linksdrehend

012-100-01050

XV2P/4S-@82,5-SAEA-SCF.04

X2P4151ISRA

012-100-01150

XV2P/6S-382,5-SAEA-SCF.04

X2P4351ISRA

012-100-01250

XV2P/9S-@82,5-SAEA-SCF.04

X2P4551ISRA

012-100-01350

XV2P/11S-@82,5-SAEA-SCF.04

X2P4751ISRA

012-100-01450

XV2P/14S-@82,5-SAEA-SCF.04

X2P4951ISRA

012-100-01550

XV2P/17S-@82,5-SAEA-SCF.04

X2P5151ISRA

012-100-01650

XV2P/19S-@82,5-SAEA-SCF.04

X2P5351ISRA

012-100-01750

XV2P/22S-@82,5-SAEA-SCF.04

X2P5551ISRA

012-100-01850

XV2P/26S-@82,5-SAEA-SCF.04

X2P5751ISRA

012-100-01950

XV2P/30S-@82,5-SAEA-SCF.04

X2P5951ISSA

012-100-02050

XV2P/34S-@82,5-SAEA-SCF.04

X2P6151ISSA

012-100-02150

XV2P/40S-@82,5-SAEA-SCF.04

X2P6351ISSA

2-Loch-SAE-A-Flansch- Bohrungsabstand = 106,4 mm / Rezess = @ 82,5 mm mit O-Ring / Welle -SCF.04 -SAEJ498 -d = @ 15,45 mm z =9
max. zulassiges Wellendrehmoment = 67,1 Nm / Olanschliisse = Flansch LK 35/40 seitlich

012-100



einseitig drehende Pumpe - Serie XV

FLANSCH 282.5 - KEILWELLE " _‘

PUMPE TYP "SAE A"

X 2|P|51/52 1 |S/R A

Serie X Serie XV
Gruppe 2 Gruppe 2
Kategorie P einseitig drehende Pumpe
Hubraum 51 17
Flansch 52  (82.5 SAE A Drehrichtung rechts (mit OR)
Welle | SCF04 - genutet 915.456 z=9, H=22.5 - SAE J498 9T 16/32DP
Gehiuse IN S Ansauggng - @40 a 45° @20 M6
OUT R  Druckseite - @35 a 45° @15 M6
Deckel A Standard
Technische Datentabelle
TYP Hubraum Maximaldruck 5‘@ CODE C}%
cm3/u P1bar | P3bar Drehung links Drehung rechts

XV-2P/04 4,20 260 300 X 2P41511 SRAIX 2P41521 SR A
XV-2P/06 6,00 260 300 (X 2P4351 1 SRA|X 2P43521 SR A
XV-2P/09 8,40 260 300 X 2P4551 1 SRA|X 2P4552 | SR A
XV-2P/11 10,80 260 300 X 2P47511 SRA|X 2P475621 SR A
XV-2P/14 14,40 250 290 |[X 2P49511 SRA|X 2P4952 | SR A
XV-2P/17 16,80 230 270 [X 2P51511 SRA|X 2P51521 SR A
XV-2P/19 19,20 210 250 |X 2P53511 SRA|X 2P53521 SR A
XV-2P/22 22,80 200 240 |[X 2P55511 SRA|X 2P5552 1 SR A
XV-2P/26 26,20 170 210 [ X 2P5751 1 SRAIX2P57521 SR A
XV-2P/30 30,00 160 200 [X 2P59511SS A|IX 2P59521 SS A
XV-2P/34 34,20 150 190 X 2P61611 SS AIX2P61521 SS A
XV-2P/40 39,60 140 180 |[X 2P63511SS A|X 2P63521SS A

P1) Max. Betriebsdruck - P3) Max. Druckspitze
Fiir schwere Anwendungen empfiehlt sich eine Priifung des zuldssigen Wellendrehmoments

i (J

XV-2P

gy | |

XP219

86

SAE J 498
o 9T 16/32 DP
@ 15,456 00127

OR 82,72 X 1,78

Dimensionstabelle

TYP Gewicht A B c D E F D E F
kg mm mm mm IN ouT
XV-2P/04 2,280 88,0 | 39,4 | 78,0 | @20 (40| M6x1 215 |35| M6x1
XV-2P/06 2,380 91,0 | 39,4 | 81,0 | 820 |40| M6x2 215 35| M6x1
XV-2P/09 2,480 95,0 | 41,4 | 85,0 | @20 (40| M6x3 215 |35| M6x1
XV-2P/11 2,580 99,0 | 458 | 89,0 | @20 |40| M6x4 215 |35 M6x1
XV-2P/14 2,780 | 105,0| 458 | 950 | @20 (40| M6x5 215 35| M6x1
XV-2P/17 2,880 |109,0| 45,8 | 99,0 | 220 |40| M6x6 215 |35| M6x1
XV-2P/19 2,980 |113,0| 458 | 103,0| 220 (40| M6x7 215 |35 M6x1
XV-2P/22 3,130 | 119,0 | 53,3 | 109,0 | @20 (40| M6x8 215 |35 M6x1
XV-2P/26 3,230 | 123,0| 53,3 | 113,0 | 220 |40| M6x9 215 |35| M6x1
XV-2P/30 3,480 |131,0| 61,5 | 121,0| @20 |40 M6x10 220 40| Mé6x1
XV-2P/34 3,680 |138,0| 61,5 | 128,0| @20 [40| M6x11 220 40| Me6x1
XV-2P/40 3,880 | 147,0| 61,5 | 137,0| 220 [40| M6x12 220 40| Mé6x1

T.1 = 54+58.9 [Nm] - Anzugsmoment - Schrauben M10
T.2 =67.1 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zuldssige Drehmoment priifen).

1304

26/08/04 X2PS1521SRAdft

012-100



Tabelle der Varianten

FLANSCH 282.5

FLANSCH 282.5

Welle

Deckel

Drehung links

Drehung rechts

Cl001 - Zylindrisch
T.2=44.1[Nm]

52

&

5651’ 30

CO0001

4

Méx1
@15h7

CI002 - Zylindrisch
T.2=67.5[Nm]

4

(

=

23,8

9.76

1/4"-28-UNF
$15.875h7]

78
T

B

- Konisch

CO002 - Konisch

gl T2=2332Nm]

0]

i

12x
@17.42]

Drehung links l

Drehung rechts

/2 BSP

Ohne OR Ohne OR lﬂ ]
7.85 13
L T 1é,8 [
SCF04 - genutet
resgra |
9T 16/32 DP. B
8
s
Hubraum Gehéause Standard
TYP CODE Hubraum cm3/u Standardgewinde
XV-2P/04 4 4 0O-0| S-R | B-B | L-M | Z2-Z
XV-2P/06 43 6 O0-0| S-R | B-B | L-M | Zz-Z
XV-2P/09 45 9 O0-0| S-R | B-B | L-M | Zz-Z
XV-2P/11 47 11 O0-0| S-R | B-B | L-M | Zz-Z
XV-2P/14 49 14 P-O | S-R | C-B|L-M | Z-Z
XV-2P/17 51 17 P-O| S-R|C-B | L-M | Z-Z
XV-2P/19 53 19 P-O | S-R | C-B | L-M | z2-Z
XV-2P/22 55 22 P-O | S-R|C-B | L-M | zZ-Z
XV-2P/26 57 26 Q-P | S-R | D-C|L-M | Z-Z
XV-2P/30 59 30 Q-P | S-S | D-C|L-M | Z-Z Drainage aussen |
XV-2P/34 61 34 Q-P | S-S |D-C|L-M | Z-Z
XV-2P/40 63 40 Q-P | S-S |D-C | L-M | Z-Z
Kombinationstabelle der lagermdissig vorrdtigen
Standardgewinde und Anflanschungen
Gehéuse (Gewinde und Anflanschungen)
_3/8"BSP _1/2'BSP 3/4"BSP 1"BSP M14x1.5 M16x1.5 M18x1.5
A 4%5, B J@BL c D F G
M20x1,5 M22x1,5 1-16"12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 M8x1.25
4 o
H kﬂ;ﬁ |‘ak§§§ti L M e ol s P
@30 @40
M8x1.25 M6x1 M6x1 M6x1 . M8x1.25 M6x1
> > p "
-ERAERY ERarvy RIS Y. Elieral ERioiat] " Wi
B40 "& 'Zﬂ 235 1 9 %40 48 38 38

012-100



Zahnradpumpen

Bestellnr.

Typ

Code

D =rechtsdrehend

Baugrofe 3

014-020-03150

XV3P/32D-@101,6-SAE B-SCF.04-LK51/51

X3P7432IBBA

014-020-03250

XV3P/38D-@101,6-SAE B-SCF.04-LK51/51

X3P7832IBBA

014-020-03350

XV3P/43D-@101,6-SAE B-SCF.04-LK51/51

X3P7932IBBA

014-020-03450

XV3P/54D-@101,6-SAE B-SCF.04-LK51/51

X3P8232IBBA

S = linksdrehend

014-020-03100

XV3P/325-@101,6-SAE B-SCF.04-LK51/51

X3P7431IBBA

014-020-03200

XV3P/38S-@101,6-SAE B-SCF.04-LK51/51

X3P7831IBBA

014-020-03300

XV3P/43S-@101,6-SAE B-SCF.04-LK51/51

X3P7931IBBA

014-020-03400

XV3P/54S-@101,6-SAE B-SCF.04-LK51/51

X3P8231IBBA

2-Loch-SAE-B-Flansch- Bohrungsabstand = 146 mm / Rezess = @ 101,6 mm / Welle Z13 -CF.004 -d = @ 21,81 mm
max. zulassiges Wellendrehmoment = 264 Nm / Olanschliisse = Flansch LK 40/51/62 seitlich

014-020




AA

AA

AA

AA

BB

BB

BB

BB

BB

BB

cc

cc

cc

cc

cc

IN- OUT

@ 20 40 M8
@20 40 M8
@20 40 M8
@20 40 M8
@27 51 M10
@27 51 M10
@27 51 M10
@27 51 M10
@27 51 M10
@27 51 M10
@36 62 M10
@36 62 M10
@36 62 M10
@36 62 M10
@36 62 M10

T.1 = 60+65 [Nm] - Anzugsmoment - Schrauben M10

T.2 = 264 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zuldssige Drehmoment priifen).

AA
AA
AA
AA
BB
BB
BB
BB
BB
BB
cc
ccC
ccC
ccC
ccC

014-020



Tabelle der Varianten

FLANSCH 2101.6 ""SAE B""

FLANSCH 2101.6 ""SAE B™ Tabelle der Varianten Deckel
Drehung links ‘ Drehung rechts Drehung links ‘ Drehung rechts ‘
CO001 - Konisch Cl001 - Zylindrisch [ ]
31 32 o 1-2,= 482 [Nm] A T2= L§1 [Nm] B A
3 X
: 4h8 2 She
H =g
o g [ T j E
s 5
<18 et @ ] L
SCFO03 - genutet o Cl004 - Zylindrisch
T.2=223[Nm] y T2 = 1Eso [Nm] H B
m=1,6 Z=13 o E ﬁ
DIN 5482 - 22x18 @
3| & sasny
hallh]
@::
AERENE
SCF04 - genutet 26,5 - o 265
T.2 =264 [Nm] G 9 @ g © 9 c
i
b i ranu Y B
- -]
o B
L ouT ouT
0_265 6,5 o ol 265 265 4
a a 8 @ J & p
| < 3 3
+®&H— +@)—
k] %
IN OouT out IN
Hubraum Gehause Standard
TYP CODE Hubraum cm3/u Standardgewinde
XV-3P/15 66 14 A-A D-D H-H
XV-3P/18 68 17 A-A D-D H-H
XV-3P/21 70 21 A-A D-D H-H
XV-3P/27 72 26 A-A E-E H-H
XV-3P/32 74 32 B-B E-E H-H
XV-3P/38 78 38 B-B E-E H-H
XV-3P/43 79 43 B-B E-E H-H
XV-3P/47 80 47 B-B E-E H-H
XV-3P/51 81 51 B-B E-E H-H
XV-3P/54 82 54 B-B E-E H-H
XV-3P/61 83 61 Cc-C F-F
XV-3P/64 85 64 Cc-C F-F
XV-3P/70 86 70 c-C F-F
XV-3P/74 87 74 c-C F-F
XV-3P/90 89 90 Cc-C F-F
Kombinationstabelle der lagermdissig vorrdtigen
Standardgewinde und Anflanschungen
Gehéause (Gewinde und Anflanschungen)
MBx1. . 10x1.5 1"BSP u o Mgx1,25
. 7 18x1.25 i M10x1.5 o *EJLX /4 BSP 1" 114 BSP o x .
% A | g B | C D E F : G
@40 2 55
MB8x1,25 3/8 BSP
&,
9 H | L M N o P
I % g5
Gehéuse

Geschlossen

014-020



Zahnradpumpen

Bestellnr. Typ Code
D =rechtsdrehend
014-030-01000 XV3P/15D X3P6602AAAA
014-030-01100 XV3P/18D X3P6802AAAA
014-030-01200 XV3P/21D X3P7002AAAA
014-030-01300 XV3P/27D X3P7202AAAA
014-030-01400 XV3P/32D X3P7402ABBA
014-030-01500 XV3P/38D X3P7802ABBA
014-030-01600 XV3P/43D X3P7902ABBA
014-030-01700 XV3P/47D X3P8002ABBA
014-030-01800 XV3P/51D X3P8102ABBA
014-030-01900 XV3P/54D X3P8202ABBA
014-030-02000 XV3P/61D X3P8302ACCA
014-030-02100 XV3P/64D X3P8502ACCA
014-030-02200 XV3P/70D X3P8602ACCA
™ 014-030-02300 XV3P/74D X3P8702ACCA
g 014-030-02400 XV3P/90D X3P8902ACCA
S S = linksdrehend
g’ 014-030-01050 XV3P/15S X3P6601AAAA
S 014-030-01150 XV3P/18S X3P6801AAAA
014-030-01250 XV3P/21S X3P7001AAAA
014-030-01350 XV3P/27S X3P7201AAAA
014-030-01450 XV3P/32S X3P7401ABBA
014-030-01550 XV3P/38S X3P7801ABBA
014-030-01650 XV3P/43S X3P7901ABBA
014-030-01750 XV3P/47S X3P8001ABBA
014-030-01850 XV3P/51S X3P8101ABBA
014-030-01950 XV3P/54S X3P8201ABBA
014-030-02050 XV3P/61S X3P8301ACCA
014-030-02150 XV3P/64S X3P8501ACCA
014-030-02250 XV3P/70S X3P8601ACCA
014-030-02350 XV3P/74S X3P8701ACCA
014-030-02450 XV3P/90S X3P8901ACCA

4-Loch-Flansch- Bohrungsabstand = 137 x 98,4 mm / Rezess = @ 50,8 mm / Welle -C0.001 1:8 -d = @ 22 mm
-M 14x1,5 -Passfeder = 4,0 mm / max. zulassiges Wellendrehmoment = 482 Nm / Olanschliisse = Flansch LK 40/51/62 seitlich

014-030




einseitig drehende Pumpe - Serie XV

EUROPAISCHE STANDARDPUMPE
FLANSCH 950.8 - KEGELWELLE

s |X|3|p|78[02|A|B|B|A|
o
| [serie X | Serie XV
l: Gruppe 3 | Gruppe 3
1 Kategorie P | einseitig drehende Pumpe
< Hubraum 78 38
2 Flansch 02 | @50.8 Drehrichtung rechts
w Welle A | CO001 - Konisch 1:8 - 822 - Scheibenfeder Dicke 4
Q EelEEs IN B Ansaugung - @51 @27 M10
w OUT B | Druckseite - @51 @27 M10
E Deckel A | Standard
Bezug XP301
Technische Datentabelle
TYP Hubraum Maximaldruck 5’@ CODE @”5
m3/Umdrehund P1bar | P3bar CODE CODE
XV-3P/15 14,89 300 320 (X 3P6601AAAA|IX3P6602AAA A 3 3
XV-3P/18 17,37 300 320 X 3P6BO0LAAA AIX 3P6B02AAA A
XV-3P/21 21,10 280 300 [X 3P7001AAA A[X 3P7002AAA A
XV-3P/27 26,97 250 270 X 3 P7201AAA AIX 3P7202AAA A h
XV-3P/32 32,27 250 270 (X 3P7401ABB A|X 3P7402ABB A 115 T1
XV-3P/38 38,47 250 270 |[X 3P7801ABB A|X 3P7802ABB A %
XV-3P/43 43,44 250 270 | X 3P7901ABB A|X 3P7902ABB A 2 @ 2
XV-3P/47 47,16 230 250 | X 3P8001ABB A|X 3P802ABB A N L m1axas
XV-3P/51 50,88 230 250 X 3P8l101ABB AJX 3P8102ABB A
XV-3P/54 54,60 230 250 |[X 3P8201ABB A|X 3P8202ABB A %
XV-3P/61 60,81 230 250 | X 3P830LACC A|X 3P8302ACC A —
XV-3P/64 64,53 210 230 (X 3P8501ACC A|X 3P8502ACC A @ 2493
XV-3P/70 70,74 200 220 |X 3P860LACC A[X 3P8602ACC A T3 @ 50,8 8 (26%)
XV-3P/74 74,46 180 200 X 3P870LACC AIX 3 P8702ACC A < 1/84\ <
XV-3P/90 86,87 150 170 (X 3 P8901ACC A|X 3P8902ACC A T2 4\\ i
P1) Max. Betriebsdruck - P3) Max. Druckspitze \ﬁ @
Fir schwere Anwendungen empfiehlt sich eine Prifung des zuléassigen Wellendrehmoments N =
[ee)
\ Dimensionstabelle o |
TYP Gewicht A B D E F D E F @ N e
kg mm | mm N out < {@ 2 of
XV-3P/15 7,010 |124,0| 61,0 | 820 | 40 M8 220 | 40 M8 || []
XV-3P/18 7,070 |126,0| 62,0 | 20 | 40 M8 220 | 40 M8 L — w
XV-3P/21 7,150 |129,0| 63,5 | 820 | 40 M8 @20 | 40 M8 -
XV-3P/27 7,250 |133,0| 655 | 20 | 40 M8 @20 | 40 M8
XV-3P/32 7,390 |138,0| 68,0 | @27 | 51 M10 @27 | 51 M10
XV-3P/38 7,520 |143,0| 70,5 | @27 | 51 M10 @27 | 51 M10 b
XV-3P/43 7,630 |147,0| 725 | @27 | 51 M10 227 | 51 M10
XV-3P/47 7,710 |150,0| 74,0 | @27 | 51 M10 @27 | 51 M10 o
XV-3P/51 7,790 153,0 | 75,5 | @27 51 M10 227 51 M10 ;_ s
XV-3P/54 7,870 |156,0| 77,0 | 27 | 51 M10 @27 | 51 M10 o o
XV-3P/61 8,010 161,0 | 79,5 | 236 62 M10 236 62 M10 2
XV-3P/64 8,090 |164,0 81,0 | #36 | 62 M10 236 | 62 M10 ,1
XV-3P/70 8,220 |169,0| 83,5 | #36 | 62 M10 236 | 62 M10 :
XV-3P/74 8,300 |172,0| 850 | @36 | 62 M10 236 | 62 M10
XV-3P/90 8,570 182,0 90,0 236 62 M10 236 62 M10 20/01/05 X3P7802ABBAft

T.1 = 60+65 [Nm] - Anzugsmoment - Schrauben M10
T.2 = 310 [Nm] - zulassiges Wellendrehmoment (N.B. Zur Auswahl der Welle stets das zulassige Drehmoment priifen).

T.3 =75 [Nm] - Anzugsmoment - Schlussel 22

014-030



einseitig drehende Pumpe - Serie XV XV-3P

& "EUROPAISCHE STANDARDPUMPE
BOLOGNA - ITALY | FLANSCH ¢50.8 - KEGELWELLE

' Bezug | XP301
Beispiel Bestellcode

X3P7802ABBA XV3P/38 - @50,8 /D - CO001 - @51 M10 - @51 M10 - .

Basistabelle
Pos. | Artikelbeschreibung Artikel Mass Menge
1 | MUTTER M14x1.5 H=8 UNI 5589 WEISSVERZINKT 540.0070.A 0 1
2 | UNTERLEGSCHEIBE MIT NASE XV3 CO001 300.0023.A 0 1
3 | KEILSCHUTZ XV3 590.0030.A 0 1
4 | SEEGERRING 235 INNNEN DIN 472 560.0025.A 0 1
5 | WELLENDICHTRING 25x35x 6 TCV (BAB SL) 690.0090.A 0 1
6 | SCHRAUBE TCCE M10x30 UNI 5931 8.8 WEISSVERZINKT 521.0010.A L030 16
7 | SCHNORR UNTERLEGSCHEIBE g10x215.8 H=1 BRUNIERT 550.0015.A 0 16
8 | FLANSCH XV3 250.8 300.0032.A 0 1
9 | SPRITZGIESSDICHTUNG XV3 (NBR 740/70) 300.0005.C 0 2
10 | AUSGLEICHSSTUTZPROFIL XV3 300.0003.A 0 2
11 | AUSSERER STUTZRING XV3 300.0004.A 0 2
12 | BUCHSE XV3 H=27 300.0009.A 0 2
13 | ZENTRIERSTIFT 26x18 570.0044.A 0 4
14 | GEFLANSCHTES GEHAUSE STANDARD - cc=38 300.0044.A H85 1
15 | PLASTIKVERSCHLUSS 228 580.0001.A D28 2
16 | COPO1 - PRIMARKEGELRAD 222 1+8 300.0016.A CC38 1
17 | WOODRUFF-FEDER 919x4 H=7,5 - XV3 300.0013.A 0 1
18 | COND2 - ANGETRIEBENES RAD DURCHBOHRT 300.0010.A CC38 1
19 | DECKEL XV3 STANDARD 300.0034.A 0 1

014-030



Edition: 01/10.2003

PLO1TE

Hydraulic gear pumps and motors

DISPLACEMENTS through bore aluminum body

From  0.07 in%rev
(1.07 cm3/rev)

To 5.56 in’/rev
(91.10 cm®frev)

PRESSURE
Max. Continuous 3770 psi
(260 bar)
Max. Intermittent 4060 psi MAX. SPEED
(280 bar)
Max. Peak 4350 psi 4000 min™
(300 bar)

® Group 1, 2 and 3 with displacements from 0.07 in*rev (1,07 cm®/rev) to 5.56 in*/rev (91.10 cm®/rev).
® Drive shafts, mounting flanges and ports according to the international standards.

® Combination of multiple pumps in standard version, common inlet and separated stages.

® |Integrated outboard bearings for heavy duty application.

® Many types of built-in valves.

“POLARIS” more than fifty years of Casappa experience in design and production of hydraulic components, characterized by lar-
ge investments in research and development in order to propose new and personalized solutions to the market. Our use of CAD
3D in the developement of this generation permit us the 3D modelling and the virtual simulation of the behaviour of the compo-
nents inserted in the hydraulic circuit. This means that the process will take less time and the quality of the products is better.
Polaris pumps and motors are basically composed of a gear housing in aluminium alloy, two gear wheels supported by sleeve
bearings and two end plates, the front and the rear cover, either in aluminium or in cast iron with excellent mechanical characteri-
stics. Our success is based largely on the quality of our product. This guaranties the consistencies of the efficiencies and low le-
vel of noise emission during the life of our products.




01/10.03

Polaris

FEATURES

Construction

External gear type pumps and motors

Mounting

EUROPEAN - SAE - GERMAN standard flanges

Line connection

Screw and flange

Direction of rotation
(looking on drive shaft)

Anti-clock (S) - clockwise (D) - reversible external drain (L - R)
reversible internal drain (B)

Inlet pressure range for pumps

10 + 44 psi [0,7 + 3 bar (abs.)]

Max back pressure for single rotation motors and
reversible internal drain motors

p1 (continuous) max 73 psi (5 bar)

p2 (for 20 s) max 116 psi (8 bar)

ps (for 8 s) max 218 psi (15 bar)

Max drain line pressure on the reversible rotation motors

73 psi (5 bar)

Max back pressure on the series motors
(reversible motors external drain)

< ps (max continuous pressure) < 2175 psi (<150 bar)

Fluid temperature range

See table (1)

Fluid

Mineral oil based hydraulic fluids to ISO/DIN.
For other fluids please consult our technical sales department.

Viscosity range

From 60 to 456 SSU [12 to 100 mm?/s (cSt)] recommended

Up to 3410 SSU [750 mm?/s (cSt)] permitted

Filtering requirement

See table (2) page 4

Tab. 1
. . Max pressure| Max speed Temperature Special shaft
Type Fluid composition psi - (bar) [min"] °F - (°C) Seals (@) el ()
-13 + +176
Mineral oil based (-25 = +80) N D-H-C
ISO/DIN hydraulic fluid to See page 5 See page 5 -
ISO/DIN -13 + +230 v D
(-25 + +110)
(®) N= Buna N (standard) - V= Viton
(®) Shaft seals max pressure and mounting scheme
D H C

Standard shaft seal
with wiper seal

High pressure
special shaft seal

High pressure special shaft
seal with wiper seal

Max 44 psi
(3 bar)
'IIII’.
Single rotation II ,,- ,,,/
pumps ‘

Max
(3

Single rotation
motors

\)I)IN///

)

\\\!/‘ I’

Reversible rotation
pumps and motors

DCAT_033.038 & & |DCAT_033_037

Max 363 psi
(25 bar)

Max 363 psi

# (25 bar)

#

V2

IIIIII

\
gﬁ

DCAT_033.039
DCAT_033_036

# Pressure could change in connection with shaft speed rotation.
For more information please consult our technical sales department.




Polaris

FEATURES
Filtration
Casappa recommends to
Tab. 2 use its own production
Working pressure Ap > 2900 psi - (200 bar) | Ap < 2900 psi - (200 bar) | filters:
Contamination class NAS 1638 8 10
Contamination class ISO 4406 19/17/14 21/19/16
Achieved with filter Bx>75 10 um 25 um

General notes

Available with different inlet and outlet ports.
For more information please consult our technical sales department.

Definition of rotation direction looking on the drive shaft

Anti-clock rotation

Pressure definition

A p3 ps Max. continuous pressure

p [bar] - [(psi)l
T —
j—
T —
| |
]
|
L
| |
L
ool
— N

t[s]
Mox. 20 s Mox. 8 s

p2 Max. intermittent pressure

\_/ \_/ ps Max. peak pressure

Reversible rotation

01/10.03



01/10.03

Polaris

GENERAL DATA PUMPS AND MOTORS

Pump type PLP
Motor type PLM

Series

PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.

10-1
101,5
10-2
10-2,5
103,15
10-4
105
10+5,8
106,3
10-8
1010
20-4
20+6,3
20-7,2
20-8
20-9
20-10,5
20-11,2
2014
20-16
20-19
20-20

PL 20-24,5

PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.

ps= Max. continuous pressure

20+25
20-27,8
20-31,5
3022
30-27
30-34
3038
3043
3051
30-61
30-73
3082
3090

Max. pressure
Displacement Max. speed | Min. speed
P4 ‘ p2 ‘ K]
in*/rev (cm®/rev) psi (bar) min !
0.07 (1,07) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.10 (1,60) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.13 (2,13) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.16 (2,67) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.20 (3,34) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.26 (4,27) 3625 (250) 3915 (270) 4060 (280) 4000 650
0.33 (5,34) 3625 (250) 3915 (270) 4060 (280) 4000 650
0.38 (6,20) 3335 (230) 3625 (250) 3770 (260) 3500 650
0.41 (6,67) 3335 (230) 3625 (250) 3770 (260) 3500 650
0.52 (8,51) 2610 (180) 2900 (200) 3045 (210) 3500 650
0.65 (10,67) 2030 (140) 2320 (160) 2465 (170) 3500 650
0.30 (4,95) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.40 (6,61) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.44 (7,29) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.50 (8,26) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.56 (9,17) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.66 (10,9) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.69 (11,23) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.89 (14,53) 3625 (250) 4060 (280) 4350 (300) 3500 500
1.03 (16,85) 3625 (250) 4060 (280) 4350 (300) 3000 500
1.16 (19,09) 2900 (200) 3190 (220) 3480 (240) 3000 500
1.29 (21,14) 2900 (200) 3190 (220) 3480 (240) 3000 500
1.52 (24,84) 2465 (170) 2755 (190) 3045 (210) 2500 500
1.61 (26,42) 2465 (170) 2755 (190) 3045 (210) 2500 500
1.72 (28,21) 1885 (130) 2175 (150) 2465 (170) 2000 500
2.01 (33,03) 1885 (130) 2175 (150) 2465 (170) 2000 500
1.34 (21,99) 3625 (250) 3915 (270) 4060 (280) 3000 350
1.63 (26,70) 3625 (250) 3915 (270) 4060 (280) 3000 350
2.11 (34,55) 3480 (240) 3770 (260) 3915 (270) 3000 350
2.40 (39,27) 3480 (240) 3770 (260) 3915 (270) 3000 350
2.68 (43,98) 3335 (230) 3625 (250) 3770 (260) 3000 350
3.16 (51,83) 3045 (210) 3335 (230) 3480 (240) 2500 350
3.74 (61,26) 2755 (190) 3045 (210) 3190 (220) 2500 350
4.50 (73,82) 2465 (170) 2755 (190) 2900 (200) 2500 350
4.98 (81,68) 2320 (160) 2465 (170) 2610 (180) 2200 350
5.56 (91,10) 2175 (150) 2320 (160) 2465 (170) 2200 350

p2= Max. intermittent pressure

The values in the table refer to unidirectional pumps and motors.
Reversible pump and motors max pressures are 15% lower than those shown in table.
For different working conditions please consult our sales department.

ps= Max. peak pressure




Polaris

GENERAL DATA PUMPS AND MOTORS

Q US gpm (I/min) Flow

M Ibf in (Nm) Torque

P HP (kW) Power

v in*rev (cm*/rev) Displacement

n min ' Speed

Ap psi (bar) Pressure

Efficiencies
Pumps Motors

nv=nv (V,Ap, n) Volumetric efficiency (= 0,97) (~ 0,96)
Nm=Nm (V,Ap, n) Mechanical efficiency (= 0,88) (~ 0,85)
Nt =My ® Nm Overall efficiency (~ 0,85) (~0,82)

DESIGN CALCULATIONS FOR PUMP

Q= V(cm®rev)en,ene107

Ap (bar) * V (cm®/rev)

62,83 * Nm

Ap (bar) « V (cm®rev) « n

P=
600 « 1000° 1

[I/min]

[Nm]

(kW]

DESIGN CALCULATIONS FOR MOTOR

V (cm®/rev) e n+ 1073 _
Q= [1/min]
Nv

Ap (bar) « V (cm®/rev) «
M = p (bar) « V ( ) * Mm (N
62,83

Ap (bar) * V (cm®/rev) « ne
p- p (bar) * V ( ) ult kW]
600 « 1000

Note: Diagrams providing approximate selection data will be found on subsequent pages.

01/10.03



01/10.03

Polaris

POLARIS 10 GEAR PUMPS PERFORMANCE CURVES

0 [1/min] - [IUS gom]]

D033-137/0603

0 [I/min] - [1US gom)]

D033-138/0603

40
(10.6)
35
9.2)
30
(7.9)
25
(6.6)
20
(5.3)
15
(4.0)
10
(2.6)

5
(1.32)

40
(10.6)
35
9.2)

30
(7.9)

25
(6.6)

20
(5.3)

15
(4.0)
0

1
(2.6)

5
(1.32)

PLP 10

// PLP 10-1.....

AV PLP 10-2. . ...

/ o/ PLP 10+3,15 ..

N

/// PLP 104.....

/- PLP 10+5. . ...
J oy PLP 106,3 . .

. 290-3335 psi (20-230 bar

Ay Ay f °4 PLP 10+8. . ...
//,//// A{ PLP 10+10. ..
V /&4 A
/ ,// yl //,,/ ks
///// //// ///
g7
——
1000 2000 3000 4000
n [min-1]
PLP 10415 . .
PLP 10:2,5 . .
PLP 1058 . .
S
P4
7
g =
/
// s .
Y = —
/, ///%
P
1000 2000 3000 4000

n [min-1]

Each curve has been obtained at 122 °F (50°C),
using oil with viscosity 168 SSU (36 cSt) at 104 °F
\Q// (40°C) and at these pressures.

. 290-2030 psi (20-140 bar

. 290-3770 psi (20-260 bar)
. 290-3770 psi (20-260 bar)
. 290-3335 psi (20-230 bar)

290-3770 psi (20-260 bar)
290-3770 psi (20-260 bar)
290-3770 psi (20-260 bar)
290-3625 psi (20-250 bar)
290-3625 psi (20-250 bar)
)
)
)

290-2610 psi (20-180 bar




Polaris

POLARIS 10 GEAR PUMPS PERFORMANCE CURVES PLP 10

P kW - [(HP)]

DO33-126/0603

P kW - [(HP)]

D0O33-128/0603

PLP 10-1 PLP 10-1,5

6 8
(8.0) j (71)
bor— 1450 psil -

TOU—OuUr
—

6
0| bor (1450 psi)_ __ | /— — 63)
- g /

4 3
(5.4) S0por T2 e — A ) s
6.7)

|

3 7 4.5 10
(4-0) ®2) — — (6.0) 6 —
= = — S
i) -6 _ = 3770 psi) _ —| =
\3—”0 pStT = (53) =2 ; 4 260) bar \ | — — 8 =
2 s = N, T = e = b2) =
’ - — = ) - .
(3.4) 20d vor 12900 ps\\’ = 7‘/ (44) E o 35 _Z_QO_U_O"_(_ZQBE sV — | s E
2000 T |— ¢ = 7 : — 62 =
150 bor (2175]8s!) ’f e T | 150 o ET-S'BSL -1 T
2 e e / 3 3 - . A 4
e 104 bor (1450|psi) ___/(_ —/ en | .0 100 bor (M0 A 7_ &) |
= ] (18) 2.5 50-bor—(725-psi} 2
s 50 oar (725 p$i) A=A (3.4) == — - (18)
2.0) - / / / ©) B /
3 2 s/
5 -\/ 0 2.7) C/QQ 0
SIS s N
Q AY
') s/ 7 4 A 20 ‘6’@4; AP Y4
. $ N
NAYES N ~ Vs s &
/S U o
///Qos‘ (1.3) / 5>
Shl g e : o)
s 8 wor_Y
7 e N s
7 7 o
o
0 e 0
0 1000 2000 3000 4000 0 1000 2000 3000 4000
n [min-1] n [min-"]
PLP 102 PLP 102,5
6 15 8 16
(8.0) (13 = — (0.7) , — 42 —
2 = F por (3710 p8) . —— €
b GO —=—"—""" (06) & . === , =
260 bOF 2= [— — = I 1 =
5 o par 12900 Jpsi) — 9 ' = 0.4 par (2000 fpst! __ —— (061
(6.7) W= = = ) = = M= / £
150 bor (2179]051) = —/'—] = = 150 bor (2175ps1) | — — — =
= | 2= =
I I
I I

—/ A
(4?0) 9 \/’ (5‘_‘4) : /// 0
Uy ;
//
/|
Q%
7

s/ S/ &/s/
g
o
3/

0 30 por (125 pal

N

(%%

25

0

éﬂr
&

$ 3 )
<\“3/ i (4.0) $

b

O
\éﬁ
>

<\")

/\b«

2
(2.7

850

S

8
)
R
n
4
L
P
“
X
\
<00
7
%

s 2
/ 27
1 //// g 5) 2 o / s )/QQV )
A e NN/ PR <
é 50/ g (1.3) %/ yr
7 T
0 1000 2000 3000 4000 0 1000 2000 3000 4000

n [min-1] n [min=!]

01/10.03



01/10.03

POLARIS 10 GEAR PUMPS PERFORMANCE CURVES

P kW - [(HP)]

D033-130/0603

P kW - [(HP)]

D033-132/0603

9
(12.1)

7.5
(10.1)

6
(8.0)

3
(4.0)

1,5
(2.0)

12
(16.1)

10
(13.4)
8
(10.7)
6
(8.0)

4
(5.4)

2
2.7

PLP 10-3,15

psi) __ —

260 bor_ET(O

200| bor (2900 i)

150 bor (2175 sl

—

=)

0 bar (1452_953_ —

i)

o
)
=

_/.7 —

/.
<€

Q
e \\)
\/QQ

2
o[

S A

V)~

2

Qe

N
AN

-

1000

2000

20
(177)
16
(142)
12
(106)

8
(71)

/4
(35)

0

3000 4000

n min-"]

PLP 10-5

har

=7

~

RV
[

lN \
>

(3629
—_—

por_(2900 gs_ﬂ

|

e

_ -,

150 bor (2175 psil_

100 bar (1450 psi

50 bar (725 psli)

S

%
s

¢
N

}\6350
o,%
Qg
\Z

/A
//“Qb
{b <

AN

0

1000

2000

30
(266)
25
(221)
20
(177)
15
(133)
10
(89)
5
(44)

0

3000 4000

n [min-1]

— — M [Nm] - [(lbf in)]

— — M INm] - [{lof in)]

— P [kW] - [(HPI]

D033-131/0603

— P [kW] - [(HPI]

D0O33-133/0603

10
(13.4)

8
(10.7)

6
(8.0)

4
(5.4)

2
2.7

12
(16.1)

10
(13.4)
8
(10.7)
6
(8.0)

4
(5.4)

2
2.1

PLP 10-4

24
212)
-

13629 pS\\ - - - 20
=== ]
500 bar (2900 psi) . —— 16
= / / (142)
150 bor (2173 st — "
- / (106)
100 bar (1450 jpsi) /L — s
o / (71)
50 bar (725 ps'l) /___ — 4

SN (35)
A
A S J
.:’,\\ S, /\««:Q
SIS &
Y O &
(’)QV/ R
T
N K\ ~
/s s
7 s
//
/
0 1000 2000 3000 4000
n [min!]
PLP 10+5,8
30
266)
230/ bor (3335 fpsi) ”
(221)
20
150 bor 2175 Jpsil _..7l (177)
- 15
100| bor (1450 psi). _7[__ (133)
el 10
(89)
50 bor (725 psi)__ /__ _ 5
/ / (44)
ég:/ / 0
S S
Y o
&
@é/o;\/bé\\/
\, (‘)Q’Q y
N\ Y{§
/ S
/ / \Q/ Qc,'\\
a?
/// o
////
‘,—‘
0 1000 2000 3000 4000
n [min-1]

Polaris

— — M INm] - [{lbf in]

— — M INm] - [{lof in)]




POLARIS 10 GEAR PUMPS PERFORMANCE CURVES

P [kWl - [(HP)]

D033-134/0603

P kW] - [(HP)]

D033-136/0603

12
(16.1)

10
(13.4)

8
(10.7)

6
(8.0)

4
(5.4)

2
2.7)

12
(16.1)

10
(13.4)
8
(10.7)
6
(8.0)

4
(5.4)

2
2.7

PLP 10+6,3

o —

_LS_O

Ig

=

l;“

‘_

1

1 |
1IN

4
100] bor (1450 Jpsi). __/L

50 bor 1725 ps

N N\

S
)
<
&
VRS
N
AR
S
O

_/
P

Yu;-
-~

i
/
./
K2
o
Q
\\‘@
a2
W\

cy

30
(266)
25
(221)
20
(177)

15
(133)

3

(89)
5
(44)

0

1000 2000 3000 4000

n [min=1]

PLP 10-10

12030 P51 — T~

10 oo =
It

\g

=
E
\
|

) )
S L
/ \@/

/

/

0

1000

32
(283)
28
(248)
24
(212)
20
(177)
16
(142)
12
(106)
8
(71)
4
(35)

0

2000 3000 4000

n [min=]

— — M [Nm] - [(Ibf in)]

— — M [Nm] - [{lbf in)]

P (kW] - [(HP)]

D033-135/0603

12
(16.1)

10
(13.4)

8
(10.7)

6
(8.0)

4
(5.4)

2
(2.7

PLP 10-8

73
1 (283)
g por 2610PS — T 7/ | 5
== / (248)
24
/ (212)
/ 20
—‘/ (177)
w00 bar 11450 st £ — — 16
—_— (142)
12
(106)
50 bor 12505/ __ £ 8
~ / (71)
N / 4
N N (35)
|
S ? 0
<
S, §
A
AR 4
\QQ‘
, ”j/”’jz:”'
2
0 1000 2000 3000 4000

n [min=']

Polaris

— — M [Nm] - [(Ibf in)]

01/10.03



01/10.03

Polaris

POLARIS 20 GEAR PUMPS PERFORMANCE CURVES

[US gpm)]

0 [I/min] -

167/0603

D033~

[(US gpm)]

0 [I/min] -

D0O33-168/0603

70
(18.5)
60
(15.9)
50
(13.2)
40
(10.6)
30
(7.9
20
(5.3)

10
(2.6)

70
(18.5)
60
(15.9)
50
(13.2)
40
(10.6)

30
(7.9)

20
(5.3)

10
(2.6)

PLP 20

/

/

-

/

7

yA
/

N

/)
1/

N

7

s

N
N
Xy

)

Sy
o2

AR

AN NA\RNI

I, -
W/ =
Y Z
z =

1000

2000

3000

4000

n [min-']

AR
W J 7
ny 7 A
/ // A/ A/

Vs

A

1000

2000

3000

4000

n [min-']

Each curve has been obtained at 122 °F (50°C),
using oil with viscosity 168 SSU (36 cSt) at 104 °F
(40°C) and at these pressures.

PLP 20+4.. ... 290-3625 psi (20-250 bar)
PLP 20+6,3 . .. 290-3625 psi (20-250 bar)
PLP 20-8.. ... 290-3625 psi (20-250 bar)
PLP 20-9. . ... 290-3625 psi (20-250 bar)
PLP 20-11,2 . . 290-3625 psi (20-250 bar)
PLP 20+14. .. .290-3625 psi (20-250 bar)
PLP 20+16. . . . 290-3625 psi (20-250 bar)
PLP 20+20. . .. 290-2900 psi (20-200 bar)
PLP 20+25. . ..290-2465 psi (20-170 bar)
PLP 20+31,5 . . 290-1885 psi (20-130 bar)
PLP 20+7,2 . ..290-3625 psi (20-250 bar)
PLP 20+10,5 . . 290-3625 psi (20-250 bar)
PLP 20+19. . ..290-2900 psi (20-200 bar)
PLP 20-24,5 . . 290-2465 psi (20-170 bar)
PLP 20-27,8 . . 290-1885 psi (20-130 bar)




POLARIS 20 GEAR PUMPS PERFORMANCE CURVES

P kW] - [(HP)]

D033-152/0603

P (kW] - [(HP)]

D033-154/0603

14
(18.8)
12
(16.1)
10
(13.4)
8
(10.7)
6
(8.0)
4
(5.4)

2
2.7

20
(26.8)

18
(24.1)
16
(21.4)
14
(18.8)
12
(16.1)
10
(13.4)
8
(10.7)
6
(8.0)
4
(5.4)

2
2.7

PLP 20-4

e (3625 psi)
=

\

—_—

20

(2000_psi)

—_ 7

200 bar 299>

150 [bor_(Z 115, Pt —

100 [bor (1450 psil__

/
7

N

50 par (725 psi

T

/

/) /
S/
&

/
2
S /S @/ y
'\Q/),(\Q/ & \Q"

>

s \)g\\

1000

2000

28
(248)

24
(212)
20

(177)

16
(142)

12
(106)
8
(71)

4
(35)

3000 4000

n [min=]

PLP 20-7,2

Ay

por 13625 51
—

200 hor_LZ_Q 00

150 or 2

175 psil _

100 [bor (14_5_0_ 3_‘_) —_ 7—

50 par (725 ) ps

O |2
05‘// ‘

7

"&X

Qr
0 /
N 0{3 J
A
W,
¢,
>
s,
L N
K\

S
/

\80
\/¢
(%4
\90 \%.‘
L.

N
N

0

1000

2000

42
(372)

35
(310)

28
(248)
—]

21
(186)
14
(124)

1
(62)

3000 4000

n [min=1]

— — M [Nm] - [(Ibf in)]

— — M [Nm] - [{Ibf in)]

— P kW] - [[HP)]

D033-153/0603

— P kW] - [(HP]]

D033-155/0603

18
(24.1)
16
(21.4)
14
(18.8)

12
(16.1)

10
(13.4)

8
(10.7)
6
(8.0)
4
(5.4)

2
(2.7

16
(21.4)

14
(18.8)
12
(16.1)
10
(13.4)
8
(10.7)
6
(8.0)
4
(5.4)

2
(2.7

PLP 20+6,3

35
250 or (3623 B — —| ="
- T A 28
200 bor ‘zgﬂ S’l\ - (248)
T 1 21
150 bor_LZ_‘ﬂi‘l-—’:/ (186)
100  bor_(1450 psi) =7
P // (124)
50 or (725 psi) ,,Z—— - 1
—_— = / 62)
N
AN .
/6
549% Q‘;’\/
\;Q%/\ A\S\(’) A} /
@'VQQ Y \ﬁy
[y O
\? 0‘5‘/
7 S )
/ o OB
g a2
//
/
0 1000 2000 3000 4000
n [min-']
PLP 20-8
40
- 354
250/ bor (3625 psil . __ - — (o)
i) 30
Zoo]por {2990 b — == 7‘ (266)
(2175 psil _— Lf—
iy A 3
oo 0 ps) e —
A / / 10
50 bor ‘.‘_3_‘-‘——/—— == (69)
/1,
o y /
Q&rb\’ S \\/
) o
S/ \V\«“/ r
S/ < o
Y SQ Q‘Q"/\t&)“//
/ b/my
) v;\
/ / A NS
oS
/
7 ~
ﬁ//
0 1000 2000 3000 4000
n [min1]

Polaris

— — M [Nm] - [(Ib in)]

— — M Nm] - [{Ibf in)]

01/10.03



01/10.03

POLARIS 20 GEAR PUMPS PERFORMANCE CURVES

P kW] - [(HP)]

D033-156/0603

P kW] - [(HP)]

D033-158/0603

16
(21.4)

14
(18.8)
12
(16.1)
10
(13.4)
8
(10.7)
6
(8.0)
4
(5.4)

2
(2.7

20
(26.8)
18
(24.1)
16
(21.4)
14
(18.8)
12
(16.1)
10
(13.4)
8
(10.7)
6
(8.0)
4
(5.4)

2
2.7

PLP 20-9

N

250 bor 13625 psil

T\

200 bor 12900 P51 __

N

1501 bor (2\72)_)5'1] [/ -

o —

100 bor (\452)51‘7/__ 7L —
50-bar—725 os'[_ / L
- VAR //

Q g

7
N
&

e
Lo
\\

// y pa“é o

N
AN
\\
&
N

n [min-1]

45
(398)
40
(354)

30
(266)

20
(117)

10
(89)

—T
0 1000 2000 3000 4000
n [min~]
PLP 20+11,2
60
(531)
(226 hei) Z 50
750 [par 13625 P == / (443)
200 oo (29003 =1 3%
150lbar (2175 psi) Z——/ 30
—_— / (266
100 oor (1450 psi) ——/- - 20
- / / (117)
50 gor 129 0f_/— —— 10
VAN (89)
SR
é" iR / 0
3/ (y QQ/
Sy ANY (S 2}
S/ T \\\y
3 N S
77 \Qmﬁ Qe,'\\
/ < N
W
é//
T
0 1000 2000 3000 4000

— — M INm] - [{lbf in]]

— — M [Nm] - [(IbT in)]

P kW] - [HP)]

D033-157/0603

P kW] - [(HP)]

D033-159/0603

20
(26.8)
18
(24.1)
16
(21.4)
14
(18.8)

12
(16. 1)

10
(13.4)
8
(10.7)
6
(8.0)
4
(5.4)

2
2.7

27
(36.2)
24
(32.2)
21
(28.1)
18
(24.1)
15
(20.1)
12
(16.1)
9
(12.1)

6
(8.0)

3
(4.0)

PLP 20-10,5

n [min-'|

50
. VYK
—_—— TR ST bol)
250 [bor (3625 ps! /
) 40
200 [bor 12900 b5t = (354)
150 lbor_(2175 psi) — 30
D == (266)
10 lbor (1250 psi) [ A 20
- = (117)
50 por (725 psll_/— A= — 10
(89)
N
& 5 0
o
<&, caQ NS
\TESTAIRY
FUA7 f) B
N y )
/S S y
AY, N
o 4S
/ ) )
N
/1 Wy
//7 L) S
’%//
/
0 1000 2000 3000 4000
n [min-1|
PLP 2014
75
(664)
250 k_r__(§6_22 g-l-)—— _T 7 60
(531)
200 gor_(2900 p3i)__ — ——f—
T 45
150 or (2175 ppil __ o — (398)
. / 30
i00_bor_(1450 g3 7— 7 (266)
50 g (725 psi) S 15
—_ = 3 (133)
IS
ST
by @’/S’Q
S
IS/
/)
N ‘§
/ © &
4 \'\Ly
/ iy oS
L
—
0 1000 2000 3000 4000

Polaris

— — M [Nm] - [(Ibf in)]

— — M [Nm] - [(IbT in)]




POLARIS 20 GEAR PUMPS PERFORMANCE CURVES

PLP 20-16

25 75
— (33.5) . — I ——]664)
5 - 250 bar (362D psi)
- ol 19000 psi 60
' 200 oo e = (531)
= .
= 20 150_bar_(2175 psi) —_ — 45
o (26.8) —_—— (398)
100 bor (1450 psi) | ——/Z 30
- / (266)
15 50 bor | (128 psil __ £ —/—— 5
(20.1) / / (133)
~/ 4
s/ 0
AN
10 Ss) ¢ y
(13.4) s/ 6
“j \;§§ §§3
s
’,/,\\ (>‘§§ /’,
5 /” <§ N Dé&
m 4 LJ
g 6.7) y// b(’y
o fp
© 0
0 1000 2000 3000
n [min=1]
PLP 20+20
(355) (66)
g — = 7007oor 12900 ¢
= I 60
' 150 bl _\_":_*”;"- = (531)
=
=20 45
a- (26.8) 100 bo (1450 psi) i _—7 (398)
; 30
) Z (266)
50 bar (72535_1 _ —_— -
15 - 7 15
(20.1) / (133)
BN
%) < 4’// 0
s/ €
10 Y ,‘(\[‘) Q
(13.4) v/
s/
VS “o‘/
/\QQ >
5 /| [
§ 6 7) // //\)“/
o
74
g
0 1000 2000 3000

n [min-]

— — M [Nm] - [{Ibf in)]

— — M [Nm] - [(Ibf in)]

— P [kw] - [(HP)]

D0O33-161/0603

— P kW] - [(HP)]

DO33-163/0603

PLP 20-19

25 75
(33.5) ) (664)
200 bor (2900 psi) | — —
- 60
] (531)
150 bof (2172 psi) . — "’7
20 - 45
(26.8) . (398)
100 ot (1450 psil_ - — —~ =]
— 30
(266)
5 psi) I —
15 50 bor (125 psil Z —7 5
(20.1) / / (133)
~ 0
B
S '\\/
S/ . <
( ;0 ) G «“3/ N /
13 4 S Q Y
QQQ é\ &'QQ
Voo ‘\\/
y \QD
/ / $ o
s Q
5 / d aL
6.7) %//Qb"/
-
0
0 1000 2000 3000
n [min=1]
PLP 20+24,5

24 80

(32.2) I p—— (708)
0 Bof 12465 p5!

21 60

(28.1) (531)
100 bat (1450 psil__| —

18 - 40

(24.1) / (354)
(725 psi)_ 7! -

5 30— 20
(20.1) (177)
(61) 5 / 0

. Q
% N /
< 5/
( 29 ) ‘(?Q
12.1 3, S
o

6 < e

(8.0) V"
/ /%\
/ D

3
(4-0) ///

0

1000 2000 3000

n [min-]

Polaris

— — M [Nm] - [(Ibf in)]

— — M INm] - [(lbf in)]

01/10.03



01/10.03

POLARIS 20 GEAR PUMPS PERFORMANCE CURVES

P kW - [(HP)]

D0O33-164/0603

P (kW] - [(HP)]

D033-166/0603

24
(32.2)
21
(28.1)
18
(24.1)

15
(20.1)

12
(16.1)

9
(12.1)
6
(8.0)

3
(4.0)

18
(24.1)

16
(21.4)
14
(18.8)
12
(16.1)
10
(13.4)
8
(10.7)
6
(8.0)

4
(5.4)

2
(2.7

PLP 20-25

100
(885)
oot t2465 psi) [ — -Z 80
0ol T == (708)
60
/ (531)
100 bor (1450 95'7[— -
- 40
(354)
50 bor | (725 P4 —/
—1 4 G
PN !
<
& o
g, $" 0
</
<;° t) )
VA :)y
/// 7
T
1000 2000 3000

n [min-!]

PLP 20-31,5

100

(885)

~ ,Z 80
——y (708)
'__/ — ~] 60

(531)

40

- — (354)
50 bar L‘{_Z)_BSI]/__ f—
— = 20
N
¢

(177)

“’)Q
Q
N
AR
S/ S
S/ &
Q/ ﬁg
&7
N
vs““

1000

2000
n [min-1]

— —M INm] - [(Ibf in)]

— — M [Nm] - [{Ibf in)]

P kW - [(HP)]

D033-165/0603

16
(21.4)

14
(18.8)
12
(16.1)
10
(13.4)
8
(10.7)
6
(8.0)

4
(5.4)

2
(2.7

PLP 20-27,8

80
(708)
or (1885 psi) __ [ —
A0 2= 7 60
/| 1831

100_bor_(1450 psi)__|—

40
/ (354
—~

20

/ (177)

S d
S ¢§>
N
7 Yy
1000 2000

n [min-!]

Polaris

— — M Nm] - [{Ibf in]]




Polaris

0 [1/min] - [(US gom]]

D033-220/0803

P (kW] - [(HP)]

D033-210/0803

POLARIS 30 GEAR PUMPS PERFORMANCE CURVES PLP 30
PLP 30
220
(58. 1)
200 Each curve has been obtained at 122 °F (50°C),
(52.8) / . using oil with viscosity 168 SSU (36 cSt) at 104 °F
180 c?,/q’:\/ //\ (40°C) and at these pressures.
(47.6) 4
/ / / PLP 30+22. . .. 290-3625 psi (20-250 bar)
e // /’ / N PLP 30+27. . .. 290-3625 psi (20-250 bar)
Q . - i -
o // / PLP 30-34.. ... 290-3480 psi (20-240 bar)
(37.0) y / N PLP 30+38. . .. 290-3480 psi (20-240 bar)
N
120 A /4% PLP 30+43. . .. 290-3335 psi (20-230 bar)
G117 ////7 //// "2 PLP 30¢51. . . . 290-3045 psi (20-210 bar)
100 / // N o . - i -
0 / Y // 7 PLP 30-61.. ... 290-2775 psi (20-190 bar)
y 7, / PLP 30+73. . .. 290-2465 psi (20-170 bar)
o /V / VA VA 7 PLP 30+82. . . . 290-2320 psi (20-160 bar)
PLP 30+90. . . . 290-2175 psi (20-1
o //f/ %/ é/// 7 3090. . . . 290-2175 psi (20-150 bar)
N/,  S=d
40 é / A
(10.6) g =
//
20 =
(5.3) 1
0
0 1000 2000 3000
n Imin~'l
PLP 30-22 PLP 30-27
42 140 50 150
56.3) (1239) —  — (67.0) , — —(1328) —
) A, o E 250 por {3623 P — =~ / 2 -
3625 5l __ = — " s — _- -
4821\ 00 por (2900 psll — —--‘7 = = w0 - o — w0 =
oo (2175 051 =& = o (s36)[ 50 bor ORI~ (197 =
150 or 212 — T/ = - =
= / | | 100-ber—{1450_psi) — (56??” |
| |

~
o

J

30 Z
(40.2) 100 bor 145_0_p_$i_)_ _ ! %__ A A0 Po—= -/
. (354) 725 psi)
) 30 50 bor (725 p _ — 30
50 bor (7125051 /[ 7/— (40.2) / / (266)
0

18 '
(24.1) fy/m‘ & 20 '
< N O > R
\Q @/é / (26.8) W@ 55‘\/
N Y . %
12 (/ @/“‘Q D TS
(16.1) > o/ LS
’ ’VQQQQQ/@Q
Sl 1

24
(32.2)

0

\\Né‘n
NN
AN

i N
N

1
2 (13.4) 7@“’ /
6 17 8 N\ r,\\
(4.0) ,///:yv § é////ﬁ - °
0 = : 0 =

0 1000 2000 3000 0 1000 2000 3000
n [min-!] n [min-1]

01/10.03



01/10.03

POLARIS 30 GEAR PUMPS PERFORMANCE CURVES

P kW] - [HP)]

D033-212/0803

P kW] - [(HP)]

D033-214/0803

60
(80.4)

50
(67.0)

40
(53.6)

30
(40.2)

20
(26.8)

10
(13.4)

70
(93.8)

60
(80.4)
50
(67.0)
40
(53.6)
30
(40.2)
20
(26.8)

10
(13.4)

PLP 30-34

240 bor 348_0_92\- -

180
(1593)

200 bor (2900 Pt =

150
_ (1328)
120

150 bor 2173 Pl —

— —211062)
90

100 bor (1450 psil _

/_ 7/__ (797)

50 bar (12551 _

60
(531)

— 7] %
//g/ (266)
VAN

cu/\ 0
;;
AQ\Q .

/b4

p

\

1000

2000

3000
n [min-]

PLP 3043

240

//(2124)

230 bgr__Z_Oéﬁ_Pﬂ!_ —

180
(1593)

150 bor_(2175 psil

/]
7

100 bor (1450 psi) __

,Z( __l7‘(lgg;l
/.

50 bor 5_5__5"__/L —

60
— — (531)

Q«S/// o

&
65
\//’/,
\l

rEA\4f”’

o

2000

3000
n [min-']

— =M INm] - [(Ib] in)]

— — M [Nm] - [(Ibf in)]

— P (kW] - [(HP)]

D033-213/0803

— P [kW] - [(HP]]

D033-215/0803

70
(93.8)
60
(80.4)
50
(67.0)
40
(53.6)
30
(40.2)

20
(26.8)

10
(13.4)

60
(80.4)

50
(67.0)

40
(53.6)

30
(40.2)

20
(26.8)

10
(13.4)

PLP 30-38

210

240-bor 3480 psi), —

] (1859)

200 bor (2000 P2l —

4 180
_ __7L(1593)

__——/’ 120

150 bar (2175 psi) __

_—

‘/// ,//,(1062)

oo por {0 e —

50 bor (125 psil_

L/ 531)
/ /|

N .
\a
2
N

/// // Q;UW

/s
i

1000 2000 3000
n [min-1]
PLP 30+51
240

210 bar 30{_5_95_”_ —

(2124)
200

150 bor 4

/ (1770)
// — 160

(1416)
120

/
100 bar (1450 psil_ 71

——-;;7 (1062)

50 or (125 g5/

80
:7z/ (708)

40
(354)

yauh

2000

3000
n [min-]

Polaris

— — M [Nm] - [(IbT in)]

— — M INm] - [{lbf in)]




Polaris

POLARIS 30 GEAR PUMPS PERFORMANCE CURVES

PLP 30+61 PLP 30-73

P kW] - [(HP)]

D033-216/0803

P [kw] - [(HP)]

D033-218/0803

70 280 70 280
(93.8) (2478) —  — (93.8) (2478) —
, £ i doap® noi) ) ‘ll €
100 bor 2735 P —|— 7 s 7 o E—— / ]
(ago ) =T (Zsls%) = (sgo J (Zalsog) o
4 f — 1 ' 4 | '
s A £ = / E
= a- 50 pSn //L__ — =
14 N —y
50 . / Z 4o = 50 100 20 == 140 =
67.0) 100_bor {190 P 77 (1239) | (67.0) / (1239 |
- / | , |
si) e —
40 5o boe (5 psil /A — 70 40 50 bor 2> B2 7[ 7L 70
(53.6) [ == = 4= —-7'7 ) (620) (53.6) / (620)
b/ A
o 2) S 0 40 2) AR 0
. Y o . WY Q/
AN f 3
e/ £ Q/é\ o
20 g’Q/ (S /& 20 5, ;&V 0c;\\/
26.8) //@ S & (26.8) / S R
$ o N\ / <
10 //// % IS // g
(3.4 7 2 13.4) 7 /
/o ; pd
/ 2 7
0 g o
1000 2000 3000 0 1000 2000 3000
n [min-!] n [min-]
PLP 3082 PLP 3090
(9%03) (22487%) (10870 2) (23;32?2)
' ve0 bor (2320 psL - = T ' R 1\2\75’05” - =
—_ T s = D - =
= | 70 / 240 =
60 20 = =
(80.4) L/ lgse) + = 1938 A 24y
11450 Dﬂ —/ £ a \ O_Er_‘\,.:’i"’ — £
100 0% "= = 60 - / 160 =
50 140 = (80 4] / (1416) =
67.0) (1239) | , |
I 50 bor (725 _eglL_/L— — I
bor (725 psil / — 50 80
© 50 bor (725 3 7 70 (67.0] / / (708)
(53.6) / / (620) /
- §0 E;// // 0
30 f/ a,\\/ o @7 "9/
- 0 ]
40.2 S v
(4021 Vi ;9/ 30 &
S/—S (40.2) N \/
20 '3/ é/ s V2, S
(26.8) S7AEN 4 2 /@Q 4
/ < (26.8) / / s
///// qp " va
o
13%4) 7 7 ° 0l //
e I
e o 7
1000 2000 3000 1000 2000 3000

n [min=1]

n [min=']

01/10.03



Polaris

MULTIPLE PUMPS

POLARIS series pumps can be coupled together in combination. Where the input power re-
quirements of each section varies, that with the greater requirement must be at the drive shaft
end, and progressively smaller to the rear.

Features and performances are the same as the corresponding single pumps, but pressures
must be limited by the transmissible torque of the drive and connecting shafts. To have appro-
priate data, use the formula below.

The maximum rotational speed is that of the lowest rated speed of the single units incorporated.

Available with common inlet and separated stages. For more information please consult our
technical sales department.

Ibf in (Nm) Torque
in*frev (cm*/rev) Displacement
Ap psi (bar) Pressure

Nm=Nm (V,Ap, n) (= 0,88) Mechanical efficiency

Ap (bar) « V (cm®/rev
M = p (bar) * V ( ) (N
62,83 * 1

DRIVE SHAFT SELECTION

The torque absorbed from the shaft of the first pump results from the sum of the torques due to
all single stages. The achieved value must not exceed the maximum torque limit given for the
shaft of the first pump. Diagrams providing approximate selection data will be found on page 37.

Example

Let us consider a double pump PLP20+14 + PLP20-4. If we suppose that we have to work with
the first pump at a pressure of 2900 psi (200 bar) and the second pump at a pressure of 2175 psi
(150 bar), the graph 2 shows that the torque absorbed by PLP20+14 is 469 Ibfin (53 Nm) and the
PLP20+4 absorbs 115 Ibfin (13 Nm) (acceptable value because it doesn’t exceed the maximum
drive shaft torque that is 973 Ibfin (110 Nm), see page 39). The torque to be transmitted by the
first drive shaft will thus be 469+115= 584 Ibfin (53+13= 66 Nm), this value must not exceed the
shaft's maximum rated value.

01/10.03



Polaris

- {(Ibf in)]

M [Nm]

M [Nm] - [(Ibf in)] D033-235/0803

01/10.03

D033-234/0803

ABSORBED TORQUE
1 2
250 90
(2213) Sf & (797)
/° 80
By (708) o )

- {(Ibf in)]

R

RN rie
/4

W s
i // 7 e //
774 s,
Z

10
(620)

M [Nm]

™\

Q
)

60
// (531)

\
\\

AN

\\\\\\ b
O

N
N
N //

AN

~
N\

N

N
\

50 '/
(443) / 7 o y /
7 e
v < |
Z =
0 2 | :
0 50 100 150 200 250 300 0 50 100 150 200 250 300
(725)  (1450) (2175) (2900) (3625) (4350] (725)  (1450) (2175) (2900) (3625) (4350]
p lbar] - [(psi)] p lbor] - [lpsi)]
PLP 20 3 PLP 10 4
9 30
(797) ¢ (266)
80 e = o/ o
(708) 3 < 2% 9/ 7!@
70 LM /
(620) S / / o
© £
f'\?// =
60
(531) /
v/

7
/
/7 /?/
(4303) / / - ‘ 11353) // )
N4 /%
-
7

NI

(354) / " /
2 /é// 7 /¥4

9 e
(80) ////
20 ~
(177 /// 6 // / / pd
/ % (53) / // //
10 e N 3 / /
(89) // $ 27) //V
0 g 0 é/
0 50 100 150 200 250 300 0 50 100 150 200 250 300
(725)  (1450) (2175) (2900} (3625)  (4350) (725)  (1450) (2175) (2900} (3625)  (4350)

p lbor] - [fpsil] p lbor] - [(psil]




Edition: 01/10.2003

PLO1TE

Hydraulic gear pumps and motors

DISPLACEMENTS through bore aluminum body

From  0.07 in%rev
(1.07 cm3/rev)

To 5.56 in’/rev
(91.10 cm®frev)

PRESSURE
Max. Continuous 3770 psi
(260 bar)
Max. Intermittent 4060 psi MAX. SPEED
(280 bar)
Max. Peak 4350 psi 4000 min™
(300 bar)

® Group 1, 2 and 3 with displacements from 0.07 in*rev (1,07 cm®/rev) to 5.56 in*/rev (91.10 cm®/rev).
® Drive shafts, mounting flanges and ports according to the international standards.

® Combination of multiple pumps in standard version, common inlet and separated stages.

® |Integrated outboard bearings for heavy duty application.

® Many types of built-in valves.

“POLARIS” more than fifty years of Casappa experience in design and production of hydraulic components, characterized by lar-
ge investments in research and development in order to propose new and personalized solutions to the market. Our use of CAD
3D in the developement of this generation permit us the 3D modelling and the virtual simulation of the behaviour of the compo-
nents inserted in the hydraulic circuit. This means that the process will take less time and the quality of the products is better.
Polaris pumps and motors are basically composed of a gear housing in aluminium alloy, two gear wheels supported by sleeve
bearings and two end plates, the front and the rear cover, either in aluminium or in cast iron with excellent mechanical characteri-
stics. Our success is based largely on the quality of our product. This guaranties the consistencies of the efficiencies and low le-
vel of noise emission during the life of our products.




01/10.03

Polaris

INSTRUCTIONS

INSTALLATION

Pump
The direction of rotation of single-rotation pumps must be the same as that of the drive shaft. Check that
the coupling flange correctly aligns the transmission shaft and the pump shaft. Flexible couplings should
be used (never rigid fittings) which will not generate an axial or radial load on the pump shaft.

Motor
The direction of rotation of single-rotation motors must match circuit connections. Check that the coupling
flange correctly aligns the transmission shaft and the motor shaft. Flexible couplings should be used
(never rigid fittings) wich will not generate an axial or radial load on the motor shaft.

TANK

Tank capacity must be sufficient for the system’s operating conditions ( ~ 3 times the amount of oil in circu-
lation) to avoid overheating of the fluid. A heat exchanger should be installed if necessary. The intake and
return lines in the tank must be spaced apart (by inserting a vertical divider) to prevent the return-line oil
from being taken up again immediately.

LINES

The lines must have a major diameter which is at least as large as the diameter of pump or motor ports, and
must be perfectly sealed. To reduce loss of power, the lines should be as short as possible, reducing the
sources of hydraulic resistance (elbow, throttling, gate valves, etc.) to a minimum. A length of flexible tub-
ing is recommended to reduce the transmission of vibrations. All return lines must end below the minimum
oil level, to prevent foaming. Before connecting the lines, remove any plugs and make sure that the lines
are perfectly clean.

FILTERS

We recommend filtering the entire system flow. Filters should be fitted as indicated in the first pages of the
catalogue. Only coarse filters are recommended for pump intake. Casappa recommends to use its own
production filters:

HYDRAULIC FLUID

Use hydraulic fluid conforming to ISO/DIN standards, having viscosity as specified in the first pages of the
catalogue. Avoid using mixtures of different oils which could result in decomposition and reduction of the
oil’s lubricating power.

STARTING UP

Check that all circuit connections are tight and that the entire system is completely clean. Insert the oil in
the tank, using a filter. Bleed the circuit to assist in filling. Set the pressure relief valves to the lowest possi-
ble setting. Turn on the system for a few moments at minimum speed, then bleed the circuit again and
check the level of oil in the tank. In the difference between pump or motor temperature and fluid tempera-
ture exceeds 50 °F (10 °C), rapidly switch the system on and off to heat it up gradually. Then gradually in-
crease the pressure and speed of rotation until the pre-set operating levels as specified in the catalogue
are attained.

PERIODICAL CHECKS - MAINTENANCE

Keep the outside surface clean especially in the area of the drive shaft seal. In fact, abrasive powder can
accelerate wear on the seal and cause leakage. Replace filters regularly to keep the fluid clean. The oil
level must be checked and oil replaced periodically depending on the system’s operating conditions.




Polaris

CHANGING ROTATION

Example of changing rotation: from PLP20 pump clockwise to counterclockwise
To change rotation of Polaris unidirectional pumps and motors itis necessary to operate in the following way:

1 - Clean the pump externally with care.
2 - Loosen, and remove, the clamp bolts

).

3 - Coat the sharp edges of the drive shaft
(4) with adhesive tape and smear a la-
yer of clean grease on the shaft end
extension to avoid damaging the lip of
the shaft seal when removing the mo-
unting flange.

4 - Remove the mounting flange (2), taking
care to keep the flange as straight as
possible during removal. If the flange
is stuck, tap around the edge with a fi-
bre or rubber mallet in order to break
away from the body. Ensure that while
removing the front mounting flange, the

DCA7_033_040

drive shaft and other components remain in position.

5 - Ease the drive gear (4) up to facilitate removal the front plate (3), taking care that the precision ground
surfaces do not become damaged, and remove the drive gear.

6 - Remove the driven gear (5) without overturning. The rear plate has not to be removed.

7 - Re-locate the driven gear (5) in the po-
sition previously occupied by the drive
gear (4)

8 - Re-locate the drive gear (4) in the posi-
tion previously occupied by the driven
gear (5).

9 - Replace the front plate (3) in its original
position.

DCA7_033.029

10

Gently wipe the machined surface of
the mounting flange (2) and the body
with a flat hand stone.

1"

Refit the front mounting flange (2) tur-
ned 180° from its original position.

Refit the clamp bolts (1) with the wa-
shers and tighten in a crisscross pat-
tern with the following torque value:
70 ** Nm (620 + 664 Ibf in)

with cast iron cover.

45" Nm (398 + 443 Ibf in)

with one or both cover in aluminium.

12

13 - Check that the pump rotates freely
when the drive shaft (4) is turned by
hand. If not a pressure plate seal may

be pinched.
14 - The pump is ready for installation with the original rotation reversed.

DCA7_033_01

01/10.03



Edition: 01/10.2003

PLO1TE

Hydraulic gear pumps and motors

DISPLACEMENTS through bore aluminum body

From  0.07 in%rev
(1.07 cm3/rev)

To 5.56 in%/rev
(91.10 cm3/rev)

PRESSURE
Max. Continuous 3770 psi
(260 bar)
Max. Intermittent 4060 psi MAX. SPEED
(280 bar)
Max. Peak 4350 psi 4000 min’
(300 bar)

® Group 1, 2 and 3 with displacements from 0.07 in*/rev (1,07 cm®/rev) to 5.56 in%rev (91.10 cm®/rev).
® Drive shafts, mounting flanges and ports according to the international standards.

® Combination of multiple pumps in standard version, common inlet and separated stages.

® |ntegrated outboard bearings for heavy duty application.

® Many types of built-in valves.

“POLARIS” more than fifty years of Casappa experience in design and production of hydraulic components, characterized by lar-
ge investments in research and development in order to propose new and personalized solutions to the market. Our use of CAD
3D in the developement of this generation permit us the 3D modelling and the virtual simulation of the behaviour of the compo-
nents inserted in the hydraulic circuit. This means that the process will take less time and the quality of the products is better.
Polaris pumps and motors are basically composed of a gear housing in aluminium alloy, two gear wheels supported by sleeve
bearings and two end plates, the front and the rear cover, either in aluminium or in cast iron with excellent mechanical characteri-
stics. Our success is based largely on the quality of our product. This guaranties the consistencies of the efficiencies and low le-
vel of noise emission during the life of our products.




01/10.03

Polaris

GENERAL DATA PUMPS AND MOTORS

Pump type PLP
Motor type PLM

Series

PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.

101
101,5
102
102,5
103,15
10+4
105
10+5,8
106,3
108
1010
20-4
20+6,3
20-7,2
20-8
20-9
20-10,5
20-11,2
20-14
20-16
20-19
20-20

PL 20-24,5

PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.

ps= Max.

20-25
20-27,8
20-31,5
30-22
30-27
30-34
3038
3043
30-51
30-61
3073
3082
30-90

continuous pressure

Max. pressure
Displacement Max. speed | Min. speed
P ‘ p2 ‘ Ps
in®/rev (cm®/rev) psi (bar) min !
0.07 (1,07) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.10 (1,60) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.13 (2,13) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.16 (2,67) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.20 (3,34) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.26 (4,27) 3625 (250) 3915 (270) 4060 (280) 4000 650
0.33 (5,34) 3625 (250) 3915 (270) 4060 (280) 4000 650
0.38 (6,20) 3335 (230) 3625 (250) 3770 (260) 3500 650
0.41 (6,67) 3335 (230) 3625 (250) 3770 (260) 3500 650
0.52 (8,51) 2610 (180) 2900 (200) 3045 (210) 3500 650
0.65 (10,67) 2030 (140) 2320 (160) 2465 (170) 3500 650
0.30 (4,95) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.40 (6,61) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.44 (7,29) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.50 (8,26) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.56 (9,17) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.66 (10,9) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.69 (11,23) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.89 (14,53) 3625 (250) 4060 (280) 4350 (300) 3500 500
1.03 (16,85) 3625 (250) 4060 (280) 4350 (300) 3000 500
1.16 (19,09) 2900 (200) 3190 (220) 3480 (240) 3000 500
1.29 (21,14) 2900 (200) 3190 (220) 3480 (240) 3000 500
1.52 (24,84) 2465 (170) 2755 (190) 3045 (210) 2500 500
1.61 (26,42) 2465 (170) 2755 (190) 3045 (210) 2500 500
1.72 (28,21) 1885 (130) 2175 (150) 2465 (170) 2000 500
2.01 (33,03) 1885 (130) 2175 (150) 2465 (170) 2000 500
1.34 (21,99) 3625 (250) 3915 (270) 4060 (280) 3000 350
1.63 (26,70) 3625 (250) 3915 (270) 4060 (280) 3000 350
2.11 (34,55) 3480 (240) 3770 (260) 3915 (270) 3000 350
2.40 (39,27) 3480 (240) 3770 (260) 3915 (270) 3000 350
2.68 (43,98) 3335 (230) 3625 (250) 3770 (260) 3000 350
3.16 (51,83) 3045 (210) 3335 (230) 3480 (240) 2500 350
3.74 (61,26) 2755 (190) 3045 (210) 3190 (220) 2500 350
4.50 (73,82) 2465 (170) 2755 (190) 2900 (200) 2500 350
4.98 (81,68) 2320 (160) 2465 (170) 2610 (180) 2200 350
5.56 (91,10) 2175 (150) 2320 (160) 2465 (170) 2200 350

p2.= Max. intermittent pressure

The values in the table refer to unidirectional pumps and motors.
Reversible pump and motors max pressures are 15% lower than those shown in table.
For different working conditions please consult our sales department.

ps= Max. peak pressure




Polaris

01/10.03

POLARIS 20 SINGLE UNITS SIDE PORTS
A
[ 87 ‘ X B B 23.5
| (3.425) (0.925)
|
|
| + 5
| CATARE - =
\ [
L
O —— v f
2 Reversible R c
b X B__8B 35
2 (1.378)
Mounting X 1 —
flange type . ) JU A B E
version 0 mm (inch) = | - <
E2 18 (0.7087) ©|3 ‘
B2 18,8 (0.7402) (=] | :
B4 16 (0.6299)
B5 16 (0.6299) Reversible L 0
B6 17,7 (0.6969)
$1 20 (0.7874) DRAIN PORT POSITION: Mounting Vv
S2 20 (0.7874) L=Side * =Bottom flange Screws tightening torque
S9 20 (0.7874) DRIVE SHAFTS: material Nm (Ibf in)
S5 20 (0.7874) see page 52 + 54 Aluminum 45 "5 (398 + 403)
321 (1.2638) MOUNTING FLANGE: . e
ws , . see page 60 + 64 Cast iron 70 ™ (620 + 664)
Pump type A B c D
Motor type - - - :
mm (inch) mm (inch) mm (inch) mm (inch)
. 204 75 (2.9528) 25,75 (1.0138) 86,5 (3.4055) 43,25 (1.7028)
. 20+6,3 77,5 (3.0512) 27 (1.0630) 89 (3.5039) 44,5 (1.7520)
. 20+7,2 78,5 (3.0905) 27,5 (1.0826) 90 (3.5433) 45 (1.7716)
. 208 80 (3.1496) 28,25 (1.1122) 91,5 (3.6024) 45,75 (1.8012)
. 209 81,3 (3.2008) 28,9 (1.1378) 92,8 (3.6535) 46,4 (1.8268)
. 20+10,5 84 (3.3070) 30,25 (1.1909) 95,5 (3.7598) 47,75 (1.8799)
. 20+11,2 84,5 (3.3268) 30,5 (1.2008) 96 (3.7795) 48 (1.8898)
. 2014 89,5 (3.5236) 33 (1.2992) 101 (3.9764) 50,5 (1.9882)
. 2016 93 (3.6614) 34,75 (1.3681) 104,5 (4.1142) 52,25 (2.0571)
. 2019 96,4 (3.7952) 36,45 (1.4350) 107,9 (4.2480) 53,45 (2.1043)
. 2020 99,5 (3.9173) 38 (1.4961) 111 (4.3701) 55,5 (2.1850)
. 20°24,5 105,1 (4.1378) 40,8 (1.6063) 116,6 (4.5905) 58,3 (2.2953)
. 2025 107,5 (4.2323) 42 (1.6535) 119 (4.6850) 59,5 (2.3425)
. 20+27,8 110,2 (4.3386) 43,35 (1.7067) 121,7 (4.7913) 60,85 (2.3957)
. 20+31,5 117,5 (4.6260) 47 (1.8504) 129 (5.0787) 64,5 (2.5394)




Polaris

POLARIS 20 SINGLE UNITS REAR PORTS n
X A ‘
v f
e ©
rrrrr 183
— =
35
(1.378)
o
% Reversible R Single rotation S - D e Reversible B X A
b 87 35
o (1.378)
8
|
Mounting X - 5
flange type o [ SR BN
version 0 mm (inch) = L] - <
E2 18 (0.7087) ©e|o =
B2 18,8 (0.7402) e ;
B4 16 (0.6299) B
B5 16 (0.6299) (1.890) Reversible L
B6 17,7 (0.6969)
DRAIN PORT POSITION:
S1 20 (0.7874) RAT T Mounting Vv
S2 20 (0.7874) L =Side + =Bottom flange Screws tightening torque
S9 20 (0.7874) DRIVE SHAFTS: material Nm (Ibf in)
see page 52 + N 5
20 (0.7874 +
29 ( ) MOUNTING FLANGE: Aluminum 45 (398 - 403)
w8 32,1 (1.2638) see page 60 + 64 Cast iron 70 *° (620 + 664)
Pump type A B
Motor type - :
mm (inch) mm (inch)
. 204 86,5 (3.4055) 69 (2.71765)
. 206,3 89 (3.5039) 71,5 (2.8150)
. 20°7,2 90 (3.5433) 72,5 (2.8543)
. 208 91,5 (3.6024) 74 (2.9134)
. 209 92,8 (3.6535) 75,3 (2.9646)
. 20+10,5 95,5 (3.7598) 78 (3.0708)

. 20°11,2
. 2014
. 2016
. 20-19
. 2020
. 20°24,5
. 2025
. 20-27,8

. 20°31,5

96 (3.7795)

78,5 (3.0906)

101 (3.9764)

83,5 (3.2784)

104,5 (4.1142)

87 (3,4252)

107,9 (4.2480)

89,9 (3.5393)

111 (4.3701)

93,5 (3.6811)

116,6 (4.5905)

99,1 (3.9016)

119 (4.6850)

101,5 (3.9961)

121,7 (4.7913)

104,2 (4.1024)

129 (5.0787)

111,5 (4.3898)

01/10.03



Polaris

VERSIONS

For each version, the possible combination between drive shafts and mounting flanges are shown on

pages 57 + 67.
VERSION [
Available for group:
10 | 20 [ 30

D033-116/0603

Version for applications
without radial and axial load
on the drive shaft.

VERSION | 5 |

Available for group:
20

D033-191/0603

VERSION

Available for group:
20

‘S’Q&Q&N

*’//////hs
-r// /y

\ ‘\\\\\\ I

&mv’azﬁﬂp’
W/

D033-195/0603

D033-198/0603

VERSION [ ws |

Available for group:

20

Zooum

|\\\\\\|-/IIIIIIII

(NN
\e%zamzﬂy
L]

| —

VERSION

Available for group:

20

‘; .\\\\\\\\\1
X2

\\\\\\~

D033-193/0603

VERSION

Available for group:

20

\\’;\\\\\\\\
I ,//// D=

o

/ 1
L E]
oo
\\‘Q\\\\\\\ §

D003-196/0603

VERSION e

Available for group:

20

w\\.]l////

D003-192/0603

VERSION

Available for group:

20

/k\\\\\‘\ 1
Zi=

,ﬁ////

4 //.__
M/' >

\\\\\
\\\\\ N
/

I";‘

D033-194/0603

For the outboard bearing life expectancy, diagrams providing approximate selection data well be found on sub-
sequent pages. For particular applications please consult our technical sales department.

01/10.03



01/10.03

Polaris

POLARIS 20 VERSION WITH OUTBOARD BEARING m
r X= Distance of the radial load result from the
a mounting flange [mm (in)].
)74 [
/ Each curve has been obtained at:
) Lubricant oil ISO VG 46
| Temperature 60 °C (140 °F)
=| Without or with very low axial load
o N [
g s Example
< \-.-| 7 N IE
2 MAX T N ‘ / FrRadialload ........................ 560 N (126.0 Ibf)
@ 140 Nm \ X 20 mm (0.787 in)
S 1239 b in L Speed ... 2000 min™’
Rating fatigue life . .................... ~ 2000 h
Fr
4000 X= mm (in)
(900.0)
S /
(767 5) e 9///
. . W \\ 6\\
= 6150 e
= ' ~ 5
; // *\/\:\(y
= 20 — %////
- .
S — —p— — ——— — — — — —
I_ i (42503)00) /A////‘/I& /
| & /5w " .
=] (337.5) ~ [
= |
000
| 250 I
| 500 ]
| (112.5) [
| 0 |
0 100 200 300 400 500 600 700 800 900 1000
| (22.5) (45.0) (67.5) (90.0) (112.5) (135.0) (157.5) (180.0) (202.5) (225.0)
| Rodiol load Fr [N] - [(Iof)]
4000
| (900.0) \\\
3500 \
__ (787.5) \ \
= 3000 NN N
| = 6150 \Q N~
= (552.5) \&\\\\\\
2 (4250(? 0O) \Q\E \\\ ~———] 1000 min"!
= . | §§:\\\\ 1500 min-!
= 1500 , — ] 2000 min"
S (337.5) [ 2500 min-!
% | 3000 min-!
© = 1000
g ™ (225.0) '
g 500 !
o (112.5) [
«
3 0 |
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500 6000
Rating fatigue life Lhng [h]




Polaris

POLARIS 20 VERSION WITH OUTBOARD BEARING m
MAX. X= Distance of the radial load result from the
X 110 Nm mounting flange [mm (in)].
= 974 1bf in
Each curve has been obtained at:
Fr Lubricant oil ISO VG 46
Temperature 60 °C (140 °F)
fl Without or with very low axial load
9 DT Example
3 \ FrRadialload ........................ 1850 N (416.25 Ibf)
- X 20 mm (0.787 in)
P Speed ... 2000 min™
8 Rating fatigue life .. ................... ~ 2000 h
6000 X= mm (in)
(1350.0) é
\ Qi)(///
7T S\
5000 L0 /\%\\ //
= (1125.0) */\L/,'bc \‘\~m 0 /
= " ! | Q A\ \ /
5% s
= (900.0)¢— — ——ll — |— — — — — + — >
= el
o
l = 1675.0 A//// ——T
posed §_—aia
<
| 2 2000 // .
| - (450.0) — [
| |
1000 A
| (225.0) !
| |
| 0 |
0 500 1000 1500 2000 2500 3000
| (112.5) (225.0) (337.5) (450.0) (562.5) (675.0)
| Rodial load Fr [N] - [(Ibf)]
| 11380.0) \
EE\\A N
N
CETT NN
= (900.0)4— — B — S~ i —
B \ﬁg\t \\\ 1000 min-!
= % e —
= . —— T — 2000 min-!
b= [ T 7500 min-
3000 min-!
< 2000 . me
; = (450.0) [
o ()
o
N 1000 v
§ (225.0) ;
‘Q T
g 0 |
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500 6000

Rating fatigus life Lhng [h]

01/10.03



01/10.03

Polaris

POLARIS 20 VERSION WITH OUTBOARD BEARING
MAX . X= Distance of the radial load result from the
X 110 Nm mounting flange [mm (in)].
974 Ibf in

D033-115/0603

3500

Each curve has been obtained at:
Lubricant oil ISO VG 46
Temperature 60 °C (140 °F)
Without or with very low axial load

Example

725 N (163.13 Ibf)
20 mm (0.787 in)
2000 min™

~ 2000 h

X= mm (in)

(787.5)

3000

(675.0)

2500

(562.5)

— —

2000

— ———t —

(450.0)

1500

(337.5)

1000

Equivalent life load IN] - [(Ib)]

(225.0)
500

(112.5)

0

3500

(45.0)

400

(90.0)

600
(135.0)

800 1000
(180.0) (225.0)

Radial load Fr [N] - [(Ibf)]

1200
(270.0)

(787.5)

3000

(675.0)

2500

(562.5)

T T T T T T T T T T

2000

— —

s

(450.0)

1500

i
i

1000 min-!

1500 min-!

\
——
\
— 2000 min-!

(337.5)

1000

2500 min-!
3000 min-!

Equivalent life load IN] - [(Ibf)]

(225.0)
500

(112.5)

D033-264/1003

0

0 500 10

00 1500 2000 2500

3000 3500 4000 4500 5000 5500

Rating fatigue life Lhna [h]

6000




Polaris

POLARIS 20 VERSION WITH OUTBOARD BEARING
MAX . X= Distance of the radial load result from the
X 110 Nm mounting flange [mm (in)].
- 974 Ibf in
Each curve has been obtained at:
F Lubricant oil ISO VG 46
r Temperature 60 °C (140 °F)
Without or with very low axial load
o Example
S AN FrRadialload ........................ 2330 N (524.25 Ibf)
2 X o 20 mm (0.787 in)
o Speed ... 2000 min”
=t Rating fatigue life ..................... ~ 2000 h
7000 X= mm (in)
1575.0 >
( ) \q@ - ///
( ggoo ) 20 2 o)~ _—
— (1350.0 N >
= S
= 5000 gy *‘%@Lﬁ/
" (11250 RLPS>
=
| = 4000 g T /
8 (900.0) //7/’ I
P |
(<"}
Y = 3000 A://// |
| :_E (675.0) /A/ :
& I
| 1000 1
| (225.0) |
| 0 |
| 0 500 1000 1500 2000 2500 3000 3500
| (112.5) (225.0) (337.5) (450.0) (562.5) (675.0) (787.5)
Radial load Fr [N] - [{Ibf)]
L
1575.
| NN
6000 \
Y — (1350.0) \\ \\
=
= 5000 NN N T~
L esiof — o N~ — —
f 4000 o~ | 1000 min"
8 1900.0) e [————— 1500 min"!
&L o o — 2000 -
= 3000 I T
= (675.0) [ — ] 3000 min-!
@
g I
S 2000
9 5 1450.0) J,
S
S 1000 Y
N (225.0) |
P
g 0 |
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500 6000
Rating fatigue life Lhng [h]

01/10.03



Polaris

POLARIS 20

DRIVE SHAFTS

‘ EUROPEAN TAPERED 1:8

Not available with size:

‘ GERMAN TAPERED 1:5

Not available with size:

20+10,5 - 20+24,5 - 2027,8

20+7,2 - 20+10,5 - 2019 - 20-24,5 - 20-27,8 - 20+31,5

Mounting face refer to flange code E2

—— $16.6540.05
[0.65L - 0.657)

PIANO DI MONTAGGIO
MOUNTING FACE

1.8 TAPER
140 Nm
1239 bf in

[0.1245:0%%]

3580

ﬁ

DCAT_033.009_01999850

‘ 1240.35 9
M 12x1,5
UNI 5589 [0.4724+0.0137) [0.3543]
40 Nm- | 27.8 Key 3.15 x 6.5
354 Lbf in [1.0945]

| GERMAN TAPERED 1:5 | 55 |

Only for version 5, 9 and W8 with outboard bearing

Mounting face refer to flange code B2

¢200((]).01
[0.7874 - 0.7877]

15 TAPER
110 Nm
974 1bf in

[0.1575:8:86%]

PIANO DI MONTAGGIO o
MOUNTING FACE

-0.03

A

DCAT_043_018

\M 14x1,5

9.6 i

UNI 5589
40 N [0.378]  [0.4331]
354 Lbf in 29.6 Key 4 x 6.5
[1.1654]

| SAE “A” SPLINE | 03 |

Not available with size:

Mounting face refer to flanges code B4 and B5

1:5 TAPER —— $1740.05
140 Nm [0.667 - 0.671]
1239 Lbf in

PIANO DI MONTAGGIO
MOUNTING FACE . 29

=~
=

S

~ [aal
=

<

— —
<

o

1=

[0.1131:8;&83]

[0 3661]
\M 12x1.5 7.1
N 5569 (65635 20073
m
; 25 Key 3 x 6.5
356 (bfin ¢ (696537
| STRAIGHT | 46 |

Not available with size:
20¢7,2 - 20°10,5 - 20+19 - 20+24,5 - 2025 - 2027,8 - 20-31,5 ‘

Mounting face refer to flange code E2

PIANO DI MONTAGGIO
MOUNTING FACE

AoO.O‘\B

[0.1575:3:88%0]

70 Nm
520 Lbf in

N 36.5
S[-437

B -
15
[0.5906]

28.5
[1.122]

M6

¢/‘5 0.018

{‘ [0.59063:38%]
Key & x25
| SPLINE

Not available with size:

DCAT_033.012_02002899

[0.6496]

16.5

\ 20424,5 - 2027,8

\ 20¢6,3 - 20+9 - 20+10,5 - 20419 \

Mounting face refer to flange code S1

PIANO DI MONTAGGIO
MOUNTING FACE

31.5

[1.2407]

[0.6102:8-39%]

1553,

Ext. Involute Spline SAE J498B
- with major diameter modified
' 9 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 1

DCAT_033.005_27719828

100 Nm
885 Lbf in

Mounting face refer to flange code S1

with major diameter modified
10 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 1

oS5 130 Nm

oo 1151 Lbf in

| O

o [ O

RS 35.6

al [1.4016]  Ext. Involute Spline SAE J498B

IANO DI MONTAGGIO
MOUNTING FACE

DCAT_033-030

(1.098%]

01/10.03



01/10.03

Polaris

POLARIS 20

DRIVE SHAFTS

| SAE SPLINE

Not available with size:

‘ SAE “A” STRAIGHT

Not available with size:

\ 2047,2 - 20+10,5 - 20419 - 2024,5 - 20+27,8 \

\ 20410,5 - 20+19 - 2024,5 - 20+27,8 \

Mounting face refer to flange code $1

g PIANO DI MONTAGGIO

3 |2 MOUNTING FACE
g o5 315
£ % = [1.2602]
2 Ext. Involute Spline ANSI B92.1
g T _ _ with major diameter modified
g I 11 teeth - 16/32 Pitch - 30 deg
L ' Flat Root - Side fit - Class 5
< 23.8
e 170 Nm [0.937]

1505 Lbf in
| STRAIGHT | 49 |

Not available with size:

Mounting face refer to flange code S1

. B8 PIANO DI MONTAGGIO
L g MOUNTING FACE
e In|x
3 @e 31.5 3.97:891
o | O
s &~ ['11.2402] [ [0.1563:8:85%]
g ; ‘
o 1T
= 23.8 =
70 N 09371  S[3 Key 3.97 x 18
620 Lbf in =ls

Not available with size:

\ 207,2 - 20419 - 20+24,5 |

\ 2047,2 - 20+10,5 - 20419 - 2024,5 - 20+27,8 |

Mounting face refer to flange code $1

PIANO DI MONTAGGIO

- S MOUNTING FACE

2 Y 5.8 4.76 8 03

8 Slo  [M2.1187] ! [0.1874:5:98%]

8\ T

CRN B 5k T i

< 44.5 P19:85:8

g [/‘752] +0.0015

140 Nm 06 5 255 LTSS

1239 Lbf in ' '

| SAE “B” SPLINE

Not available with size:

Mounting face refer to flange code S1

100 Nm

885 (bf in PIANO DI MONTAGGIO

MOUNTING FACE

4.76:3%
[0.1874 §:85]

DCAT_033.004_019988LC

20.96
[0.8252]
o O
Ol=

S

>
Na)
B
=~
=t
5/16-18 UNC-2C

219:8:8
[0.748:5:95%]

| SAE “B” STRAIGHT

Not available with size:

\ 204 - 20-7,2 - 20+10,5 - 20-24,5 - 2027,8 \

20°4 - 20+7,2 - 208 - 20+10,5 - 20+11,2

Mounting face refer to flange code S5

2 s g PIANO D1 MONTAGGIO
§ o2 MOUNTING FACE
= @ | ©
N <o
o~ N f—s
S IS
m Ext. Involute Spline SAE J498B
a with major diameter modified
= 13 teeth - 16/32 Pitch - 30 deg
e Flat Root - Side fit - Class 1
33.3
280 Nm [1.311]
2478 Lbf in

20419 - 20+24,5 - 20-27,8

Mounting face refer to flange code S5

gs — PIANQ DI MONTAGGIO
e MOUNTING FACE
og| @
g ol 41.2
5ol (1622113 | Key 6.35 x 25.4
A Y T1.371
- =T
g —t-=r-
° / 23.9 5
200 Nm [0.909T S <
1770 1bf in < =4




Polaris

POLARIS 20

DRIVE SHAFTS

| DIN 5482 SPLINE

Not available with size:

\ 20410,5 - 20+19 - 20+24,5 - 20+27,8 |

| STRAIGHT

Only for version 6 with outboard bearing

Available in 0 version only with size:

Mounting face refer to flange code B2

3 % PIANO DI MONTAGGIO
& o9l 3 MOUNTING FACE
& TS 23.5
| O | O
g oy 1~ 10.9257]
= r : Ext. Involute Spine
»:(‘ - 75@ - B 17x14xe9 DIN 5482
° 16
110 Nm [0.6299]

974 Lbf in

STRAIGHT “

Only for version 8 and 5 with outboard bearing

Mounting face refer to flange code E2

110 Nm
974 Lbf in

[0.8661:3:8%¢]

¢22—8.0’B

20
[0.7874]
L8
[1.8898]

DCAT_033.032

IANO DI MONTAGGIO

MOUNTING FACE

6—8.03
[0.2362:386%]

M8

[0.9646]

Key 6x6x40\ =
~N

\ 20-20

Mounting face refer to flange code E2

g 10 Nm IANO DI MONTAGGIO

g3 974 Lof in MOUNT ING FACE

7S
55 S L6.6 6-8.03
©|o (1.8346] [0.2362:3:38%]
SN |

[—

8 16 5
A [0.6299] @
= 40 =
2 [1.5748]
| TANG

Not available with size:

\ 207,2 - 20+10,5 - 20+19 - 20+24,5 - 2027,8 \

Mounting face refer to flange code B6

19

[1.1871]
[0.7087:3:33%9]

@30

I
Al

I
|
|
|

0.00‘\0}
0.0032

0.315:3:35%8]

845
[0.315

128,

DCAT_033-013.02004680

6
[0.2362]

70 Nm
620 Lbf in

3.2

[0.4724:3:38%]

[0.126]

01/10.03



Polaris

POLARIS 20 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
55 a2 89.5
| EUROPEAN | 2 =3 [0.5906] (3.5736]
=i hg 9
n|D [0.1969] [0.4]
- SR
= f4- £ E
B | ‘ |
A 1.5
(2.875]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 o (i) 82 46 | B1 03 04 07 12 31 48 49 50 54
0 18 (0.7087) # # X X X X X X X X X
4 55,4 (2.1811) #
5 43,6 (1.7165) # X X X X X
6 55,4 (2.1811) #
7 59,4 (2.3386) #
8 59,4 (2.3386) #
# Standard combination
x Available combination
GERMAN g5
25| 9 [0.6702]
Ss|2 7
S| [0.2756]
S, |
g Y 72
[2.83L6]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 (i) 12 54 55 01 03 31 46 49 82
0 18,8 (0.7402) # X X X X
5 44,4 (1.7480) X
9 59,4 (1.7441)

# Standard combination
x Available combination

01/10.03



01/10.03

Polaris

POLARIS 20 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
| GERMAN 2 BOLTS | B4 | g, .
ol (3.437
35 % 7 1.5
2|= 0.2756] [0.4528::3855)
e | |
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
o i 54 03 12 31 49 54 82
0 16 (0.63 X X X X
5 41,6 (1.6378) X
# Standard combination
x Available combination
GERMAN 2 BOLTS | B5 | E o
by [3.4264]
g8 § 7 11.5°:25 =
2l= [0.2756] [0.4528:3:355%)] o2
S | D e
IEx A4
- | - |
s 60
[2.3622]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
Soe 6 i 54 03 12 31 49 54 82
0 16 (0.63) # X X X
5 41,6 (1.6378) X

# Standard combination
x Available combination




Polaris

POLARIS 20 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
| GERMAN 4 BOLTS | B6 | g, .
g N (3.4264]
23 7.2 1158
Al [0.2835] [0.4528:5 %52
S} \
i =1 =
S 60
(2.3622]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 mm (in) 95 07 12
0 17,7 (0.6968) # X X
5 43,3 (1.747)

# Standard combination
x Available combination

npn 13
SAE "A" 2 BOLTS m I r [0.5118]
6.4

‘[0.252]

wno
IS

[3.25:8:35%]

?#82.55:3:3

DCAT_033_014_21911256

M

DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 mm (in) 01 03 | 04 | 07 | 12 | 31 32 | 46 | 49 | 50 | 54 | 82
0 20 (0.787) # # X # X # X X
5 45,6 (1.7953) X

# Standard combination
x Available combination

01/10.03



Polaris

01/10.03

POLARIS 20 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
SAE "A" 2 BOLTS 3
‘ g TTTTT10.578]
X 130
T "[0.2521 (5.7195] —
02/S2 a FIR cle
g 3932 |FH ‘
5 =l - H =
& A I i
o S E
5 o— AL
A ]
S 0
= OR 2300 A
(4.1871]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 mm (in) 01 | 03 | 04 | 07 | 12 | 31 | 32 | 46 | 49 | 50 | 54 | 82
0 20 (0.7874) # # X # X # X X
5 45,6 (1.7953)

# Standard combination
x Available combination

SAE "A" 2 BOLTS m 5/%2 o 57
Al 6.4
N [0.252] =
o E S 5
= 4J_A 106.2
e (4.1871]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 (i) 01 | 03 | 04 | 07 | 12 | 31 | 32 | 46 | 49 | 50 | 54 | 82
0 20 (0.7874) # # X # X # X X
5 45,6 (1.7953)

# Standard combination
x Available combination




Polaris

POLARIS 20 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
14
| SAE "B" 2 BOLTS | s5 | —-
[0.5512]
9.7
‘[0.3819]
s Ll
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 mm (in) 04 32 49
0 20 (0.7874) # #
5 45,6 (1.7953)
# Standard combination
x Available combination
49.9 19.1 90
GERMAN m (1.9656] r[o.7521 W
15.9 9
‘ [0.626] 10.3543]
: E
5 %% N .
S | O T
= 8212 A 72
- Slm [2.8348]
S sl
DRIVE SHAFTS
See page 52 + 54
VERSIONS A 55
See page 46 mm (in)
w8 32,1 (1.2638) #

# Standard combination
x Available combination

01/10.03



Polaris

IN/OUT PORTS TYPE
SIDE PORTS REAR PORTS

P‘I%T:’-II-ES German | European | 3811 P BeFP ST BePP oDT

F;;,’g“ep IN |OUT| IN |OUT| IN |OUT| IN |OUT| IN |OUT| IN |OUT|] IN |OUT| IN |OUT

Motor OUT| IN |OUT| IN |OUT| IN |OUT| IN |OUT| IN |OUT| IN JOUT| IN |OUT| IN
. 101 BA GC | GC | OB | OA | GC | GC | OB | OA
.10+1,5 BA GC | GC | OB | OA | GC | GC | OB | OA
. 102 BA GC | GC | OB | OA | GC | GC | OB | OA
.102,5 BA GC | GC | OB | OA | GC | GC | OB | OA
. 103,15 BA GC | GC | OB | OA | GC | GC | OB | OA
. 104 BA GC | GC | OB | OA | GC | GC | OB | OA
. 105 BA GD | GD | OB | OA | GD | GD | OB | OA
. 105,8 BA GD | GD | OB | OA | GD | GD | OB | OA
. 106,3 BA GD | GD | OB | OA | GD | GD | OB | OA
. 108 BA GD | GD | OC | OB | GD | GD | OB | OB
. 1010 BA GD | GD | OC | OB | GD | GD | OB | OB
. 204 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 20+6,3 BC | EA | EA | MA | MA | SA | SA |GD | GD | OC | OC | GD | GD | OC | OC
. 20°7,2 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 208 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 209 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 20+10,5 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC |OC | GD | GD | OC | OC
. 20+11,2 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 2014 BC | EB | EA |MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 2016 BC | EB | EA | MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 2019 BC | EB | EA | MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 20°20 BC | EB | EA | MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 20°24,5 BC | EB | EA |MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 20+25 BC | EB | EA |MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 20+27,8 BC | EB | EA |MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 20+31,5 BC | EB | EA | MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 3022 BL | ED | EB | MB | MA | SB | SA | GF | GF | OF | OD
. 3027 BL | ED | EB | MC | MB | SC | SB | GF | GF | OF | OD
. 3034 BL | ED | EB | MC | MB | SC | SB | GF | GF | OF | OD
. 3038 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 30443 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 3046 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 3051 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 3061 BL | ED | EB | ME | MD | SE | SD | GG | GF | OH | OG
. 3073 BL | EF | ED | ME | MD | SE | SD | GG | GF | OH | OG
. 3082 BL | EF | ED | ME | MD | SE | SD | GH | GG | OH | OG
. 30°90 BL | EF | ED | MF | ME | SF | SE | GH | GG | OH | 0OG

01/10.03



Polaris

EXTERNAL DRAIN PORTS

NouT SIDE PORTS REAR PORTS
PORTSTYPE | German | European | 321 P BoPP ST BSPP oDT

GA - - - GA 03 GA 03

TA GB GB 03 GB 03 GB 03

GC GC GC OA GC OA - -

DRAIN PORTS SIZES

01/10.03

LjTightening torque for low pressure side port.

GAS STRAIGHT THREAD PORTS BSPP 8

British standard pipe parallel (55°) conforms to UNI - ISO 228

A
Nominal oB @c D E 6f E ! ﬂ
CODE size A mm mm mm mm Nm § é i % f o
(in) (in) (in) (in) (Ibf in) g‘ I
e |Gl 165 | 875 12 1 5 7028 - | 22z

(0.6496)((0.3444)|(0.4724)|(0.0394)| (44 + 46) a

1 s C
1/4" G 1/4 21,5 12 15 1,5 15 S

(0.8465)((0.4724)|(0.5906)|(0.0591)| (133 = 142)

METRIC STRAIGHT THREAD PORTS ISO 6149 METRIC B

Metric thread ISO 60° conforms to ISO/R 262 A
2B | @C D E 57 | § i
CODE A g = ? i
mm mm mm mm Nm o i [ o
(in) (in) (in) (in) (Ibf in) 3
M 10x1 22 9 13 0,5 10 *0° g ‘
(0.8661) | (0.3543) | (0.5118) | (0.0197) | (89 + 93) > c
SAE STRAIGHT THREAD PORTS J514 oDT

American straight thread UNC-UNF 60° conforms to ANSI B 1.1

@B | @C | D E 5f

mm mm mm mm Nm

(in) (in) (in) (in) (Ibf in)

21 9,5 14 1 124
(0.8267)/(0.3740)(0.5512)((0.0394)| (106 + 115)

CODE A

7/16"-20 UNF-2B

Other drain ports are shown on subsequent pages.




Polaris

PORTS SIZES

%Tightening torque for low pressure side port.

iTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ GERMAN FLANGED PORTS - 4 Bolts

Metric thread ISO 60° conforms to ISO/R 262

EUROPEAN

A B c 57 ~
CODE mm mm Thread Nm Nm 2
(in) (in) Depth mm (in) (Ibf in) (Ibf in) S
8 30 M6 8 +0,5 8 +0,5 “g‘
(0.3150) | (1.1811) 12 (0.4724) (71 = 75) (71 + 75) g
13 30 M6 g 0" 8 "0 -
(0.5118) | (1.1811) 12 (0.4724) (71 + 75) (71 = 75) 3
15 35 M 6 8 05 g *05 S
(0.5906) | (1.3780) 12 (0.4724) (71 + 75) (71 + 75)
20 40 M 6 15 1 15 "1
(0.7874) | (1.5748) 12 (0.4724) (133 = 142) | (133 = 142)
19 55 M8 20 " 20 '
(0.7480) | (2.1654) 18 (0.7087) (177 = 186) | (177 + 186)
27 55 M8 15 1 20"
(1.0630) | (2.1654) 18 (0.7087) (133 = 142) | (177 = 186)
EUROPEAN FLANGED PORTS - 4 Bolts
Metric thread ISO 60° conforms to ISO/R 262
A B c 57 ~
CODE mm mm Thread Nm Nm
(in) (in) Depth mm (in) (Ibf in) (Ibf in)
EA 13 30 M 6 g 0o 8 "0
(0.5118) (1.1811) 13 (0.5118) (71 + 75) (71 + 75)
M 8 15 *1 15 *1
19 40 14 (0.5512) (133 = 142) | (133 = 142)
EB (0.7480) (1.5748) M8 (#) 1577 (®) | 1577 (#)
18 (0.7087) (133 + 142) | (133 = 142)
ED 27 51 M 10 20" 30 *2°
(1.0630) (2.0079) 18 (0.7087) (177 + 186) | (266 = 288)
EF 33 62 M 12 25 1 50 *2°
(1.2992) (2.4409) 18 (0.7087) (221 + 230) | (443 = 465)

(#) For POLARIS 30

DCAT_006_024_21060533

01/10.03



Polaris

PORTS SIZES

01/10.03

dTightening torque for low pressure side port.
yTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ SAE FLANGED PORTS J518 - Standard pressure series 3000 PSI m
Metric thread 1SO 60° conforms to ISO/R 262
A B c D éf i D
CODE mm mm mm Thread Nm Nm I
(in) (in) (in) Depth mm (in) (Ibf in) (Ibf in) _ ,Q I
M 8 15 +1 15 +1 E ; i ]
12,5 38,1 17,5 14 (0.5512) (133 + 142) | (133 = 142) g . S
(0.4921) | (1.50)) | (0.6890) M8 (#) 20 "1 (®) 207 (@) | § E: |
22 (0.8661) | (177 = 186) | (177 = 186) | &
M 10 20 251 2 Q-0
19 47.6 222 14 (0.5512) | (177 = 186) | (266 + 288) | ~ ]
(0.7480) | (1.8740) | (0.8740) M 10 (&) 20" (®) | 35 (@) | B
22 (0.8661) | (177 + 186) | (310 = 332)
M 10 20" 25 "1
25.4 52,4 26,2 14 (0.5512) | (177 = 186) | (266 + 288)
(1.0000) | (2.0630) | (1.0315) M 10 (@) 20 1 (@) 35 25 (@)
22 (0.8661) | (177 + 186) | (310 = 332)
M 10 20 +1 30 +2,5
30,5 58.7 30,2 15 (0,5906) | (177 + 186) | (266 + 288)
(1.2008) | (2.3110) | (1.1890) M 10 (&) 20 T (@) | 35°2% (@)
22 (0.8661) | (177 + 186) | (310 = 332)
39,3 69,8 35,7 M 12 30 *2° 60 *°
(1.5472) | (2.7480) | (1.4055) | 22 (0.8661) | (266 = 288) | (531 + 575)
51 77,8 42,9 M 12 30 25 60 *°
(2.0079) | (3.0630) | (1.6890) | 22 (0.8661) | (266 = 288) | (531 + 575)

() For POLARIS 30

SAE FLANGED PORTS J518 - Standard pressure series 3000 PSI m
American straight thread UNC-UNF 60° conforms to ANSI B 1.1

A | B c D 5 :
CODE mm mm mm Thread Nm Nm !
(in) (in) (in) Depth mm (in) (Ibf in) (Ibf in) - ,Q,,
5/16-18 UNC-2B 15 *1 15 *1 g P '
12,5 38,1 17.5 14 (0.5512) (133 + 142)| (133 + 142) | 8 i o
(0.4921) | (1.50)) | (0.6890) |5/16-18 UNC-2B (#)| 20 ' (@) | 20 "' (&) |3 S i
22 (0.8661) (177 = 186) | (177 = 186) | S ,Q,Q,,
3/8 - 16 UNC-2B 20 "7 20 ** g T
19 47,6 22,2 14 (0.5512) (177 -+ 186) | (177 +~ 186) i C
(0.7480) |(1.8740)| (0.8740) [3/8 - 16 UNC-2B (#)| 30 2° (&) | 20" (@) | &
22 (0.8661) (266 + 288) | (177 = 186)
3/8 - 16 UNC-2B 20 " 25 *1
25.4 52,4 26,2 14 (0.5512) (177 = 186) | (221 + 230)
(1.0000) ((2.0630)| (1.0315) |3/8 - 16 UNC-2B (#)| 20 "' (#) | 30 **° ()
22 (0.8661) (177 = 186) | (266 + 288)
30,5 58,7 30,2 7/16 - 14 UNC-2B 20" 45 *25
(1.2008) |(2.3110)| (1.1890) 22 (0.8661) (177 = 186) | (398 + 420)
39,3 69,8 35,7 1/2 - 13 UNC-2B 30 "2 70 *°
(1.5472) |(2.7480)| (1.4055) 22 (0.8661) (266 = 288) | (620 + 664)
51 77,8 42,9 1/2 - 13 UNC-2B | 30 *2° (@) 70 *°
(2.0079) |(3.0630)| (1.6890) 22 (0.8661) (266 + 288) | (620 + 664)

(#) For POLARIS 30




Polaris

PORTS SIZES

JTightening torque for low pressure side port.

iTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ GAS STRAIGHT THREAD PORTS

British standard pipe parallel (55°) conforms to UNI - ISO 228

BSPP

DCAT_006-026_21064779

=2

Nominal oB oc D E 6f i
CODE size A mm mm mm mm Nm Nm
(in) (in) (in) (in) (Ibf in) (Ibf in)
25 2 (#) 15 "1 (#) _
. (0.9843) | 15 14 | (0.0787) | (133 = 142)
3/8 G3/8 ) (0.5906) | (0.5512) i} 15+ 25 1
(133 + 142) | (221 = 230)
14 20 ' 50 *2°
. 19 | (0.5512) - (177 + 186) | (443 + 465)
1/2 G172 - (0.7480) [ 17 () B 207 (&) | 5027 (@)
(0.6693) (177 + 186) | (443 + 465)
" 24,5 18 30 %9 90 *°
3/4 G 3/4 - (0.9646) | (0.7087) - (266 + 288) | (797 + 841)
qn G 1 B 30,5 18 _ 50 **° 130 *1°
(1.2008) | (0.7086) (443 + 465) |(1151 + 1239)
. 39 22 60 *° 170 *1°
e G114 - (1.5354) | (0.8661) - (531 + 575) |(1505 + 1593)
" 45 24 70 *° 210 *"°
iz G112 - (1.7716) | (0.9448) - (620 + 664) |(1859 + 1992)

(#) Drain port
(#) For POLARIS 20

01/10.03



01/10.03

Polaris

PORTS SIZES

gTightening torque for low pressure side port.
iTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ SAE STRAIGHT THREAD PORTS J514

opT | B

American straight thread UNC-UNF 60° conforms to ANSI B 1.1 A

DCAT_006_027_21060524
Do

1
LLJ
Nominal oB oc D E % i
CODE size A mm mm mm mm Nm Nm
(in) (in) (in) (in) (Ibf in) (Ibf in)
1 15 " 25!
\ . 26 13 15 |(0.03934)| (133 - 142) | (221 - 230)
3/8" | 9M6"-12UNF-2B | (4 0236) | (0.5118) | (0.5906) | 2 (%) 1577 (#) B
(0.0787) | (133 = 142)
" " 32 17,5 15 20 45 %2
12 3/4" - 16 UNF - 2B | (4 2508) | (0.690) | (0.5906) | (177 = 186) | (398 = 420)
15 (.) 2,5 5
" " 35 20,5 (0.5906) 0,5 30 70"
5/8 778" - 14 UNF-2B 1 (4 3780) | (0.8071) | 17 | (0.0197) | (266 - 288) | (620 + 664)
(0.6693)
" " 42 24,8 20 0,5 40 **° 120 *1°
/4 | 11M6"-12UNF-2B | (4 6535) | (0.9764) | (0.7874) | (0.0197) | (354 + 376) |(1062 = 1151)
" " 49 30,5 20 0,5 60 *° 170 *1°
! 15/16" - 12 UNF - 2B | (4 9591) | (1.2008) | (0.7874) | (0.0197) | (531 = 575) | (1505 + 1593)
" " 58 39,1 20 0,5 70 *° 200 *"°
114 15/8"- 12 UNF - 2B | ) 9835) | (1.5394) | (0.7874) | (0.0197) | (620 = 664) |(1770 = 1858)
" " 65 45 20 0,5 100 *° 270 *"°
127812 UNF - 2B | () 5591) | (1.7717) | (0.7874) | (0.0197) | (885 = 929) | (2389 + 2522)

(#) Drain port
(®) For POLARIS 10




Polaris

VALVE OPTIONS (#)

PRIORITY VALVE

Costant delivery and
internal recirculation of
excess flow.

Costant delivery at
controlled pressure.
Internal recirculation of
excess flow and drain
valve.

Costant delivery at
controlled pressure.
Excess flow and drain
valve must be connec-
ted to tank.

Costant delivery and
excess flow can both
be used under load.

Costant delivery at
controlled pressure with
drain valve connected
to tank. Excess flow
can be used under load.

Costant delivery.
Excess flow at control-
led pressure can be
used under load.
Internal recirculation of
drain valve.

Costant delivery at con-
trolled pressure.
Internal recirculation of
valve drain.

Excess flow can be
used under load.

ELECTRIC VALVE FOR MOTORS

By-pass valve normally
closed with max. pres-
sure relief valve and
anti-cavitation valve.

Proportional relief valve
and anti-cavitation val-
ve.

MAX PRESSURE RELIEF VALVE

Fixed setting with
external drain.

Fixed setting with
internal drain.

Adjustable setting
with external
drain.

Adjustable setting
with internal
drain.

LOAD SENSING VALVE

Static.

Dynamic.

Dynamic with re-
lief valve fitted on
the main line.

Dynamic with re-
lief valve fitted on
controlled line.

CHECK VALVE

Anti-cavitation
valve.

() For more information please consult our technical sales department.

01/10.03



Polaris

I BEOE O

PLP20+4 -

OO0 OD@E @

EA/EA -

PUMP
TYPE

MOTOR

in*frev (cm®frev) TYPE

0.30 (4,95) PLP 20-4 PLM 20-4
0.40 (6,61) PLP 20:6,3  PLM 20+6,3
0.44 (7,29) PLP 20:7,2  PLM 20+7,2
0.50 (8,26) PLP 20-8 PLM 208
0.56 (9,17) PLP 209 PLM 20-9
0.66 (10,9) PLP 20+10,5 PLM 20+10,5
0.69 (11,23) PLP 20+11,2 PLM 20+11,2
0.89 (14,53) PLP 2014  PLM 20+14
1.03 (16,85) PLP 2016  PLM 20+16
1.16 (19,09) PLP 2019  PLM 20+19
1.29 (21,14) PLP20:20  PLM 20-20
1.52 (24,84) PLP 20-24,5 PLM 20-24,5
1.61 (26,42) PLP 20-25  PLM 2025
1.72 (28,21) PLP 20-27,8 PLM 2027,8
2.01 (33,03) PLP 20+31,5 PLM 2031,5

Rotation
Left
Right
Reversible rear external drain
Reversible side external drain
Reversible internl drain

Version
Without outboard bearing
With outboard bearing

With outboard bearing

With outboard bearing

With outboard bearing

With outboard bearing

With outboard bearing

With outboard bearing

4 Drive shaft
European tapered 1:8
German tapered 1:5
German tapered 1:5
Straight

SAE “A” spline (9 teeth)
SAE spline (10 teeth)

SAE “A” spline (11 teeth)
SAE "A" straight

Straight

Straight

SAE "B" spline

SAE "B" straight

DIN 54 82 spline

Straight (only for version 6)
Straight (only for version 8)
Tang

Mounting flange

European
German
German 2 bolt
German 2 bolt
German 4 bolt
SAE "A" 2 bolt
SAE "A" 2 bolt
SAE "A" 2 bolt
SAE "B" 2 bolt
German

Ports position
Side
Rear

Ports IN/OUT 7
GERMAN FLANGED PORTS
Rear Type
PLP 20 | 4-6,3-7,2-8-9-10,5-11,2
14-16-19-20-24,5-25
PLM 20 27,8-31,5
EUROPEAN FLANGED PORTS
Rear Type
PLP 20
PLM 20 4-6,3-7,2-8-9-10,5-11,2
PLP 20 14-16-19-20-24,5-25
PLM 20 27,8-31,5
SAE FLANGED PORTS (SSM)
Rear Type
PLP 20
PLM 20 4-6,3-7,2-8-9-10,5-11,2
PLP 20
PLM 20 14-16-19-20
PLP 20
PLM 20 24,5-25-27,8-31,5
SAE FLANGED PORTS (SSS)
Rear Type
PLP 20
PLM 20 4-6,3-7,2-8-9-10,5-11,2
PLP 20
PLM 20 14-16-19-20
PLP 20
PLM 20 24,5-25-27,8-31,5

01/10.03



01/10.03

Polaris

HOW TO ORDER POLARIS 20 SINGLE UNITS

7 Ports IN/OUT
GAS STRAIGHT THREAD PORTS (BSPP)

CODE

Type

Rear

4-6,3-7,2-8-9-10,5-11,2

GD/GD GD/GD

14-16-19-20-24,5-25
27,8-31,5

GE/GD
GD/GE

GE/GD
GD/GE

SAE STRAIGHT THREAD PORTS (ODT)

Type

Rear

4-6,3-7,2-8-9-10,5-11,2

oc/oC

14-16-19-20-24,5-25
27,8-31,5

obD/oC
OC/0D

Buna (standard)

Seals (a)

Viton

(standard - no co

Cover options
Cast iron mountindg ;Iange and rear cover
e

rear cover

Aluminium mounting flange and cast iron

rear cover

Cast iron mounting flange and aluminium

Aluminium mounting flange and rear cover

Shaft seal options
High back pressure seal with wiper seal

Standard seal with wiper seal

High back pressure seal

CODE

Drain port position - Rev. rotation L 11
L Side drain with side port position
* Side drain with bottom port position

CODE Drain port

IN/OUT GERMAN FLANGED PORTS

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
PLM 20 24,5-25-27,8-31,5

IN/OUT EUROPEAN FLANGED PORTS

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
PLM 20 24,5-25-27,8-31,5

IN/OUT SAE FLANGED PORTS (SSM)

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
PLM 20 24,5-25-27,8-31,5

IN/OUT SAE FLANGED PORTS (SSS)

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
PLM 20 24,5-25-27,8-31,5

IN/OUT GAS STRAIGHT THREAD PORTS (BSPP)

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
B8 B PLM 20 24,5-25-27,8-31,5

IN/OUT SAE STRAIGHT THREAD PORTS (ODT)

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
PLM 20 24,5-25-27,8-31,5

CODE
FS

Shaft arrangement 13

Female spline

(a) Choose the seals according to the temperature
shown on page 3.



Edition: 01/10.2003

PLO1TE

Hydraulic gear pumps and motors

DISPLACEMENTS through bore aluminum body

From  0.07 in%rev
(1.07 cm3/rev)

To 5.56 in%/rev
(91.10 cm3/rev)

PRESSURE
Max. Continuous 3770 psi
(260 bar)
Max. Intermittent 4060 psi MAX. SPEED
(280 bar)
Max. Peak 4350 psi 4000 min’
(300 bar)

® Group 1, 2 and 3 with displacements from 0.07 in*/rev (1,07 cm®/rev) to 5.56 in%rev (91.10 cm®/rev).
® Drive shafts, mounting flanges and ports according to the international standards.

® Combination of multiple pumps in standard version, common inlet and separated stages.

® |ntegrated outboard bearings for heavy duty application.

® Many types of built-in valves.

“POLARIS” more than fifty years of Casappa experience in design and production of hydraulic components, characterized by lar-
ge investments in research and development in order to propose new and personalized solutions to the market. Our use of CAD
3D in the developement of this generation permit us the 3D modelling and the virtual simulation of the behaviour of the compo-
nents inserted in the hydraulic circuit. This means that the process will take less time and the quality of the products is better.
Polaris pumps and motors are basically composed of a gear housing in aluminium alloy, two gear wheels supported by sleeve
bearings and two end plates, the front and the rear cover, either in aluminium or in cast iron with excellent mechanical characteri-
stics. Our success is based largely on the quality of our product. This guaranties the consistencies of the efficiencies and low le-
vel of noise emission during the life of our products.




01/10.03

Polaris

GENERAL DATA PUMPS AND MOTORS

Pump type PLP
Motor type PLM

Series

PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.

101
101,5
102
102,5
103,15
10+4
105
10+5,8
106,3
108
1010
20-4
20+6,3
20-7,2
20-8
20-9
20-10,5
20-11,2
20-14
20-16
20-19
20-20

PL 20-24,5

PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.

ps= Max.

20-25
20-27,8
20-31,5
30-22
30-27
30-34
3038
3043
30-51
30-61
3073
3082
30-90

continuous pressure

Max. pressure
Displacement Max. speed | Min. speed
P ‘ p2 ‘ Ps
in®/rev (cm®/rev) psi (bar) min !
0.07 (1,07) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.10 (1,60) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.13 (2,13) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.16 (2,67) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.20 (3,34) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.26 (4,27) 3625 (250) 3915 (270) 4060 (280) 4000 650
0.33 (5,34) 3625 (250) 3915 (270) 4060 (280) 4000 650
0.38 (6,20) 3335 (230) 3625 (250) 3770 (260) 3500 650
0.41 (6,67) 3335 (230) 3625 (250) 3770 (260) 3500 650
0.52 (8,51) 2610 (180) 2900 (200) 3045 (210) 3500 650
0.65 (10,67) 2030 (140) 2320 (160) 2465 (170) 3500 650
0.30 (4,95) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.40 (6,61) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.44 (7,29) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.50 (8,26) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.56 (9,17) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.66 (10,9) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.69 (11,23) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.89 (14,53) 3625 (250) 4060 (280) 4350 (300) 3500 500
1.03 (16,85) 3625 (250) 4060 (280) 4350 (300) 3000 500
1.16 (19,09) 2900 (200) 3190 (220) 3480 (240) 3000 500
1.29 (21,14) 2900 (200) 3190 (220) 3480 (240) 3000 500
1.52 (24,84) 2465 (170) 2755 (190) 3045 (210) 2500 500
1.61 (26,42) 2465 (170) 2755 (190) 3045 (210) 2500 500
1.72 (28,21) 1885 (130) 2175 (150) 2465 (170) 2000 500
2.01 (33,03) 1885 (130) 2175 (150) 2465 (170) 2000 500
1.34 (21,99) 3625 (250) 3915 (270) 4060 (280) 3000 350
1.63 (26,70) 3625 (250) 3915 (270) 4060 (280) 3000 350
2.11 (34,55) 3480 (240) 3770 (260) 3915 (270) 3000 350
2.40 (39,27) 3480 (240) 3770 (260) 3915 (270) 3000 350
2.68 (43,98) 3335 (230) 3625 (250) 3770 (260) 3000 350
3.16 (51,83) 3045 (210) 3335 (230) 3480 (240) 2500 350
3.74 (61,26) 2755 (190) 3045 (210) 3190 (220) 2500 350
4.50 (73,82) 2465 (170) 2755 (190) 2900 (200) 2500 350
4.98 (81,68) 2320 (160) 2465 (170) 2610 (180) 2200 350
5.56 (91,10) 2175 (150) 2320 (160) 2465 (170) 2200 350

p2.= Max. intermittent pressure

The values in the table refer to unidirectional pumps and motors.
Reversible pump and motors max pressures are 15% lower than those shown in table.
For different working conditions please consult our sales department.

ps= Max. peak pressure




Polaris

01/10.03

POLARIS 20 SINGLE UNITS SIDE PORTS
A
[ 87 ‘ X B B 23.5
| (3.425) (0.925)
|
|
| + 5
| CATARE - =
\ [
L
O —— v f
2 Reversible R c
b X B__8B 35
2 (1.378)
Mounting X 1 —
flange type . ) JU A B E
version 0 mm (inch) = | - <
E2 18 (0.7087) ©|3 ‘
B2 18,8 (0.7402) (=] | :
B4 16 (0.6299)
B5 16 (0.6299) Reversible L 0
B6 17,7 (0.6969)
$1 20 (0.7874) DRAIN PORT POSITION: Mounting Vv
S2 20 (0.7874) L=Side * =Bottom flange Screws tightening torque
S9 20 (0.7874) DRIVE SHAFTS: material Nm (Ibf in)
S5 20 (0.7874) see page 52 + 54 Aluminum 45 "5 (398 + 403)
321 (1.2638) MOUNTING FLANGE: . e
ws , . see page 60 + 64 Cast iron 70 ™ (620 + 664)
Pump type A B c D
Motor type - - - :
mm (inch) mm (inch) mm (inch) mm (inch)
. 204 75 (2.9528) 25,75 (1.0138) 86,5 (3.4055) 43,25 (1.7028)
. 20+6,3 77,5 (3.0512) 27 (1.0630) 89 (3.5039) 44,5 (1.7520)
. 20+7,2 78,5 (3.0905) 27,5 (1.0826) 90 (3.5433) 45 (1.7716)
. 208 80 (3.1496) 28,25 (1.1122) 91,5 (3.6024) 45,75 (1.8012)
. 209 81,3 (3.2008) 28,9 (1.1378) 92,8 (3.6535) 46,4 (1.8268)
. 20+10,5 84 (3.3070) 30,25 (1.1909) 95,5 (3.7598) 47,75 (1.8799)
. 20+11,2 84,5 (3.3268) 30,5 (1.2008) 96 (3.7795) 48 (1.8898)
. 2014 89,5 (3.5236) 33 (1.2992) 101 (3.9764) 50,5 (1.9882)
. 2016 93 (3.6614) 34,75 (1.3681) 104,5 (4.1142) 52,25 (2.0571)
. 2019 96,4 (3.7952) 36,45 (1.4350) 107,9 (4.2480) 53,45 (2.1043)
. 2020 99,5 (3.9173) 38 (1.4961) 111 (4.3701) 55,5 (2.1850)
. 20°24,5 105,1 (4.1378) 40,8 (1.6063) 116,6 (4.5905) 58,3 (2.2953)
. 2025 107,5 (4.2323) 42 (1.6535) 119 (4.6850) 59,5 (2.3425)
. 20+27,8 110,2 (4.3386) 43,35 (1.7067) 121,7 (4.7913) 60,85 (2.3957)
. 20+31,5 117,5 (4.6260) 47 (1.8504) 129 (5.0787) 64,5 (2.5394)




Polaris

POLARIS 20 SINGLE UNITS REAR PORTS n
X A ‘
v f
e ©
rrrrr 183
— =
35
(1.378)
o
% Reversible R Single rotation S - D e Reversible B X A
b 87 35
o (1.378)
8
|
Mounting X - 5
flange type o [ SR BN
version 0 mm (inch) = L] - <
E2 18 (0.7087) ©e|o =
B2 18,8 (0.7402) e ;
B4 16 (0.6299) B
B5 16 (0.6299) (1.890) Reversible L
B6 17,7 (0.6969)
DRAIN PORT POSITION:
S1 20 (0.7874) RAT T Mounting Vv
S2 20 (0.7874) L =Side + =Bottom flange Screws tightening torque
S9 20 (0.7874) DRIVE SHAFTS: material Nm (Ibf in)
see page 52 + N 5
20 (0.7874 +
29 ( ) MOUNTING FLANGE: Aluminum 45 (398 - 403)
w8 32,1 (1.2638) see page 60 + 64 Cast iron 70 *° (620 + 664)
Pump type A B
Motor type - :
mm (inch) mm (inch)
. 204 86,5 (3.4055) 69 (2.71765)
. 206,3 89 (3.5039) 71,5 (2.8150)
. 20°7,2 90 (3.5433) 72,5 (2.8543)
. 208 91,5 (3.6024) 74 (2.9134)
. 209 92,8 (3.6535) 75,3 (2.9646)
. 20+10,5 95,5 (3.7598) 78 (3.0708)

. 20°11,2
. 2014
. 2016
. 20-19
. 2020
. 20°24,5
. 2025
. 20-27,8

. 20°31,5

96 (3.7795)

78,5 (3.0906)

101 (3.9764)

83,5 (3.2784)

104,5 (4.1142)

87 (3,4252)

107,9 (4.2480)

89,9 (3.5393)

111 (4.3701)

93,5 (3.6811)

116,6 (4.5905)

99,1 (3.9016)

119 (4.6850)

101,5 (3.9961)

121,7 (4.7913)

104,2 (4.1024)

129 (5.0787)

111,5 (4.3898)

01/10.03



Polaris

VERSIONS

For each version, the possible combination between drive shafts and mounting flanges are shown on

pages 57 + 67.
VERSION [
Available for group:
10 | 20 [ 30

D033-116/0603

Version for applications
without radial and axial load
on the drive shaft.

VERSION | 5 |

Available for group:
20

D033-191/0603

VERSION

Available for group:
20

‘S’Q&Q&N

*’//////hs
-r// /y

\ ‘\\\\\\ I

&mv’azﬁﬂp’
W/

D033-195/0603

D033-198/0603

VERSION [ ws |

Available for group:

20

Zooum

|\\\\\\|-/IIIIIIII

(NN
\e%zamzﬂy
L]

| —

VERSION

Available for group:

20

‘; .\\\\\\\\\1
X2

\\\\\\~

D033-193/0603

VERSION

Available for group:

20

\\’;\\\\\\\\
I ,//// D=

o

/ 1
L E]
oo
\\‘Q\\\\\\\ §

D003-196/0603

VERSION e

Available for group:

20

w\\.]l////

D003-192/0603

VERSION

Available for group:

20

/k\\\\\‘\ 1
Zi=

,ﬁ////

4 //.__
M/' >

\\\\\
\\\\\ N
/

I";‘

D033-194/0603

For the outboard bearing life expectancy, diagrams providing approximate selection data well be found on sub-
sequent pages. For particular applications please consult our technical sales department.

01/10.03



01/10.03

Polaris

POLARIS 20 VERSION WITH OUTBOARD BEARING m
r X= Distance of the radial load result from the
a mounting flange [mm (in)].
)74 [
/ Each curve has been obtained at:
) Lubricant oil ISO VG 46
| Temperature 60 °C (140 °F)
=| Without or with very low axial load
o N [
g s Example
< \-.-| 7 N IE
2 MAX T N ‘ / FrRadialload ........................ 560 N (126.0 Ibf)
@ 140 Nm \ X 20 mm (0.787 in)
S 1239 b in L Speed ... 2000 min™’
Rating fatigue life . .................... ~ 2000 h
Fr
4000 X= mm (in)
(900.0)
S /
(767 5) e 9///
. . W \\ 6\\
= 6150 e
= ' ~ 5
; // *\/\:\(y
= 20 — %////
- .
S — —p— — ——— — — — — —
I_ i (42503)00) /A////‘/I& /
| & /5w " .
=] (337.5) ~ [
= |
000
| 250 I
| 500 ]
| (112.5) [
| 0 |
0 100 200 300 400 500 600 700 800 900 1000
| (22.5) (45.0) (67.5) (90.0) (112.5) (135.0) (157.5) (180.0) (202.5) (225.0)
| Rodiol load Fr [N] - [(Iof)]
4000
| (900.0) \\\
3500 \
__ (787.5) \ \
= 3000 NN N
| = 6150 \Q N~
= (552.5) \&\\\\\\
2 (4250(? 0O) \Q\E \\\ ~———] 1000 min"!
= . | §§:\\\\ 1500 min-!
= 1500 , — ] 2000 min"
S (337.5) [ 2500 min-!
% | 3000 min-!
© = 1000
g ™ (225.0) '
g 500 !
o (112.5) [
«
3 0 |
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500 6000
Rating fatigue life Lhng [h]




Polaris

POLARIS 20 VERSION WITH OUTBOARD BEARING m
MAX. X= Distance of the radial load result from the
X 110 Nm mounting flange [mm (in)].
= 974 1bf in
Each curve has been obtained at:
Fr Lubricant oil ISO VG 46
Temperature 60 °C (140 °F)
fl Without or with very low axial load
9 DT Example
3 \ FrRadialload ........................ 1850 N (416.25 Ibf)
- X 20 mm (0.787 in)
P Speed ... 2000 min™
8 Rating fatigue life .. ................... ~ 2000 h
6000 X= mm (in)
(1350.0) é
\ Qi)(///
7T S\
5000 L0 /\%\\ //
= (1125.0) */\L/,'bc \‘\~m 0 /
= " ! | Q A\ \ /
5% s
= (900.0)¢— — ——ll — |— — — — — + — >
= el
o
l = 1675.0 A//// ——T
posed §_—aia
<
| 2 2000 // .
| - (450.0) — [
| |
1000 A
| (225.0) !
| |
| 0 |
0 500 1000 1500 2000 2500 3000
| (112.5) (225.0) (337.5) (450.0) (562.5) (675.0)
| Rodial load Fr [N] - [(Ibf)]
| 11380.0) \
EE\\A N
N
CETT NN
= (900.0)4— — B — S~ i —
B \ﬁg\t \\\ 1000 min-!
= % e —
= . —— T — 2000 min-!
b= [ T 7500 min-
3000 min-!
< 2000 . me
; = (450.0) [
o ()
o
N 1000 v
§ (225.0) ;
‘Q T
g 0 |
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500 6000

Rating fatigus life Lhng [h]

01/10.03



01/10.03

Polaris

POLARIS 20 VERSION WITH OUTBOARD BEARING
MAX . X= Distance of the radial load result from the
X 110 Nm mounting flange [mm (in)].
974 Ibf in

D033-115/0603

3500

Each curve has been obtained at:
Lubricant oil ISO VG 46
Temperature 60 °C (140 °F)
Without or with very low axial load

Example

725 N (163.13 Ibf)
20 mm (0.787 in)
2000 min™

~ 2000 h

X= mm (in)

(787.5)

3000

(675.0)

2500

(562.5)

— —

2000

— ———t —

(450.0)

1500

(337.5)

1000

Equivalent life load IN] - [(Ib)]

(225.0)
500

(112.5)

0

3500

(45.0)

400

(90.0)

600
(135.0)

800 1000
(180.0) (225.0)

Radial load Fr [N] - [(Ibf)]

1200
(270.0)

(787.5)

3000

(675.0)

2500

(562.5)

T T T T T T T T T T

2000

— —

s

(450.0)

1500

i
i

1000 min-!

1500 min-!

\
——
\
— 2000 min-!

(337.5)

1000

2500 min-!
3000 min-!

Equivalent life load IN] - [(Ibf)]

(225.0)
500

(112.5)

D033-264/1003

0

0 500 10

00 1500 2000 2500

3000 3500 4000 4500 5000 5500

Rating fatigue life Lhna [h]

6000




Polaris

POLARIS 20 VERSION WITH OUTBOARD BEARING
MAX . X= Distance of the radial load result from the
X 110 Nm mounting flange [mm (in)].
- 974 Ibf in
Each curve has been obtained at:
F Lubricant oil ISO VG 46
r Temperature 60 °C (140 °F)
Without or with very low axial load
o Example
S AN FrRadialload ........................ 2330 N (524.25 Ibf)
2 X o 20 mm (0.787 in)
o Speed ... 2000 min”
=t Rating fatigue life ..................... ~ 2000 h
7000 X= mm (in)
1575.0 >
( ) \q@ - ///
( ggoo ) 20 2 o)~ _—
— (1350.0 N >
= S
= 5000 gy *‘%@Lﬁ/
" (11250 RLPS>
=
| = 4000 g T /
8 (900.0) //7/’ I
P |
(<"}
Y = 3000 A://// |
| :_E (675.0) /A/ :
& I
| 1000 1
| (225.0) |
| 0 |
| 0 500 1000 1500 2000 2500 3000 3500
| (112.5) (225.0) (337.5) (450.0) (562.5) (675.0) (787.5)
Radial load Fr [N] - [{Ibf)]
L
1575.
| NN
6000 \
Y — (1350.0) \\ \\
=
= 5000 NN N T~
L esiof — o N~ — —
f 4000 o~ | 1000 min"
8 1900.0) e [————— 1500 min"!
&L o o — 2000 -
= 3000 I T
= (675.0) [ — ] 3000 min-!
@
g I
S 2000
9 5 1450.0) J,
S
S 1000 Y
N (225.0) |
P
g 0 |
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500 6000
Rating fatigue life Lhng [h]

01/10.03



Polaris

POLARIS 20

DRIVE SHAFTS

‘ EUROPEAN TAPERED 1:8

Not available with size:

‘ GERMAN TAPERED 1:5

Not available with size:

20+10,5 - 20+24,5 - 2027,8

20+7,2 - 20+10,5 - 2019 - 20-24,5 - 20-27,8 - 20+31,5

Mounting face refer to flange code E2

—— $16.6540.05
[0.65L - 0.657)

PIANO DI MONTAGGIO
MOUNTING FACE

1.8 TAPER
140 Nm
1239 bf in

[0.1245:0%%]

3580

ﬁ

DCAT_033.009_01999850

‘ 1240.35 9
M 12x1,5
UNI 5589 [0.4724+0.0137) [0.3543]
40 Nm- | 27.8 Key 3.15 x 6.5
354 Lbf in [1.0945]

| GERMAN TAPERED 1:5 | 55 |

Only for version 5, 9 and W8 with outboard bearing

Mounting face refer to flange code B2

¢200((]).01
[0.7874 - 0.7877]

15 TAPER
110 Nm
974 1bf in

[0.1575:8:86%]

PIANO DI MONTAGGIO o
MOUNTING FACE

-0.03

A

DCAT_043_018

\M 14x1,5

9.6 i

UNI 5589
40 N [0.378]  [0.4331]
354 Lbf in 29.6 Key 4 x 6.5
[1.1654]

| SAE “A” SPLINE | 03 |

Not available with size:

Mounting face refer to flanges code B4 and B5

1:5 TAPER —— $1740.05
140 Nm [0.667 - 0.671]
1239 Lbf in

PIANO DI MONTAGGIO
MOUNTING FACE . 29

=~
=

S

~ [aal
=

<

— —
<

o

1=

[0.1131:8;&83]

[0 3661]
\M 12x1.5 7.1
N 5569 (65635 20073
m
; 25 Key 3 x 6.5
356 (bfin ¢ (696537
| STRAIGHT | 46 |

Not available with size:
20¢7,2 - 20°10,5 - 20+19 - 20+24,5 - 2025 - 2027,8 - 20-31,5 ‘

Mounting face refer to flange code E2

PIANO DI MONTAGGIO
MOUNTING FACE

AoO.O‘\B

[0.1575:3:88%0]

70 Nm
520 Lbf in

N 36.5
S[-437

B -
15
[0.5906]

28.5
[1.122]

M6

¢/‘5 0.018

{‘ [0.59063:38%]
Key & x25
| SPLINE

Not available with size:

DCAT_033.012_02002899

[0.6496]

16.5

\ 20424,5 - 2027,8

\ 20¢6,3 - 20+9 - 20+10,5 - 20419 \

Mounting face refer to flange code S1

PIANO DI MONTAGGIO
MOUNTING FACE

31.5

[1.2407]

[0.6102:8-39%]

1553,

Ext. Involute Spline SAE J498B
- with major diameter modified
' 9 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 1

DCAT_033.005_27719828

100 Nm
885 Lbf in

Mounting face refer to flange code S1

with major diameter modified
10 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 1

oS5 130 Nm

oo 1151 Lbf in

| O

o [ O

RS 35.6

al [1.4016]  Ext. Involute Spline SAE J498B

IANO DI MONTAGGIO
MOUNTING FACE

DCAT_033-030

(1.098%]

01/10.03



01/10.03

Polaris

POLARIS 20

DRIVE SHAFTS

| SAE SPLINE

Not available with size:

‘ SAE “A” STRAIGHT

Not available with size:

\ 2047,2 - 20+10,5 - 20419 - 2024,5 - 20+27,8 \

\ 20410,5 - 20+19 - 2024,5 - 20+27,8 \

Mounting face refer to flange code $1

g PIANO DI MONTAGGIO

3 |2 MOUNTING FACE
g o5 315
£ % = [1.2602]
2 Ext. Involute Spline ANSI B92.1
g T _ _ with major diameter modified
g I 11 teeth - 16/32 Pitch - 30 deg
L ' Flat Root - Side fit - Class 5
< 23.8
e 170 Nm [0.937]

1505 Lbf in
| STRAIGHT | 49 |

Not available with size:

Mounting face refer to flange code S1

. B8 PIANO DI MONTAGGIO
L g MOUNTING FACE
e In|x
3 @e 31.5 3.97:891
o | O
s &~ ['11.2402] [ [0.1563:8:85%]
g ; ‘
o 1T
= 23.8 =
70 N 09371  S[3 Key 3.97 x 18
620 Lbf in =ls

Not available with size:

\ 207,2 - 20419 - 20+24,5 |

\ 2047,2 - 20+10,5 - 20419 - 2024,5 - 20+27,8 |

Mounting face refer to flange code $1

PIANO DI MONTAGGIO

- S MOUNTING FACE

2 Y 5.8 4.76 8 03

8 Slo  [M2.1187] ! [0.1874:5:98%]

8\ T

CRN B 5k T i

< 44.5 P19:85:8

g [/‘752] +0.0015

140 Nm 06 5 255 LTSS

1239 Lbf in ' '

| SAE “B” SPLINE

Not available with size:

Mounting face refer to flange code S1

100 Nm

885 (bf in PIANO DI MONTAGGIO

MOUNTING FACE

4.76:3%
[0.1874 §:85]

DCAT_033.004_019988LC

20.96
[0.8252]
o O
Ol=

S

>
Na)
B
=~
=t
5/16-18 UNC-2C

219:8:8
[0.748:5:95%]

| SAE “B” STRAIGHT

Not available with size:

\ 204 - 20-7,2 - 20+10,5 - 20-24,5 - 2027,8 \

20°4 - 20+7,2 - 208 - 20+10,5 - 20+11,2

Mounting face refer to flange code S5

2 s g PIANO D1 MONTAGGIO
§ o2 MOUNTING FACE
= @ | ©
N <o
o~ N f—s
S IS
m Ext. Involute Spline SAE J498B
a with major diameter modified
= 13 teeth - 16/32 Pitch - 30 deg
e Flat Root - Side fit - Class 1
33.3
280 Nm [1.311]
2478 Lbf in

20419 - 20+24,5 - 20-27,8

Mounting face refer to flange code S5

gs — PIANQ DI MONTAGGIO
e MOUNTING FACE
og| @
g ol 41.2
5ol (1622113 | Key 6.35 x 25.4
A Y T1.371
- =T
g —t-=r-
° / 23.9 5
200 Nm [0.909T S <
1770 1bf in < =4




Polaris

POLARIS 20

DRIVE SHAFTS

| DIN 5482 SPLINE

Not available with size:

\ 20410,5 - 20+19 - 20+24,5 - 20+27,8 |

| STRAIGHT

Only for version 6 with outboard bearing

Available in 0 version only with size:

Mounting face refer to flange code B2

3 % PIANO DI MONTAGGIO
& o9l 3 MOUNTING FACE
& TS 23.5
| O | O
g oy 1~ 10.9257]
= r : Ext. Involute Spine
»:(‘ - 75@ - B 17x14xe9 DIN 5482
° 16
110 Nm [0.6299]

974 Lbf in

STRAIGHT “

Only for version 8 and 5 with outboard bearing

Mounting face refer to flange code E2

110 Nm
974 Lbf in

[0.8661:3:8%¢]

¢22—8.0’B

20
[0.7874]
L8
[1.8898]

DCAT_033.032

IANO DI MONTAGGIO

MOUNTING FACE

6—8.03
[0.2362:386%]

M8

[0.9646]

Key 6x6x40\ =
~N

\ 20-20

Mounting face refer to flange code E2

g 10 Nm IANO DI MONTAGGIO

g3 974 Lof in MOUNT ING FACE

7S
55 S L6.6 6-8.03
©|o (1.8346] [0.2362:3:38%]
SN |

[—

8 16 5
A [0.6299] @
= 40 =
2 [1.5748]
| TANG

Not available with size:

\ 207,2 - 20+10,5 - 20+19 - 20+24,5 - 2027,8 \

Mounting face refer to flange code B6

19

[1.1871]
[0.7087:3:33%9]

@30

I
Al

I
|
|
|

0.00‘\0}
0.0032

0.315:3:35%8]

845
[0.315

128,

DCAT_033-013.02004680

6
[0.2362]

70 Nm
620 Lbf in

3.2

[0.4724:3:38%]

[0.126]

01/10.03



Polaris

POLARIS 20 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
55 a2 89.5
| EUROPEAN | 2 =3 [0.5906] (3.5736]
=i hg 9
n|D [0.1969] [0.4]
- SR
= f4- £ E
B | ‘ |
A 1.5
(2.875]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 o (i) 82 46 | B1 03 04 07 12 31 48 49 50 54
0 18 (0.7087) # # X X X X X X X X X
4 55,4 (2.1811) #
5 43,6 (1.7165) # X X X X X
6 55,4 (2.1811) #
7 59,4 (2.3386) #
8 59,4 (2.3386) #
# Standard combination
x Available combination
GERMAN g5
25| 9 [0.6702]
Ss|2 7
S| [0.2756]
S, |
g Y 72
[2.83L6]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 (i) 12 54 55 01 03 31 46 49 82
0 18,8 (0.7402) # X X X X
5 44,4 (1.7480) X
9 59,4 (1.7441)

# Standard combination
x Available combination

01/10.03



01/10.03

Polaris

POLARIS 20 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
| GERMAN 2 BOLTS | B4 | g, .
ol (3.437
35 % 7 1.5
2|= 0.2756] [0.4528::3855)
e | |
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
o i 54 03 12 31 49 54 82
0 16 (0.63 X X X X
5 41,6 (1.6378) X
# Standard combination
x Available combination
GERMAN 2 BOLTS | B5 | E o
by [3.4264]
g8 § 7 11.5°:25 =
2l= [0.2756] [0.4528:3:355%)] o2
S | D e
IEx A4
- | - |
s 60
[2.3622]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
Soe 6 i 54 03 12 31 49 54 82
0 16 (0.63) # X X X
5 41,6 (1.6378) X

# Standard combination
x Available combination




Polaris

POLARIS 20 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
| GERMAN 4 BOLTS | B6 | g, .
g N (3.4264]
23 7.2 1158
Al [0.2835] [0.4528:5 %52
S} \
i =1 =
S 60
(2.3622]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 mm (in) 95 07 12
0 17,7 (0.6968) # X X
5 43,3 (1.747)

# Standard combination
x Available combination

npn 13
SAE "A" 2 BOLTS m I r [0.5118]
6.4

‘[0.252]

wno
IS

[3.25:8:35%]

?#82.55:3:3

DCAT_033_014_21911256

M

DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 mm (in) 01 03 | 04 | 07 | 12 | 31 32 | 46 | 49 | 50 | 54 | 82
0 20 (0.787) # # X # X # X X
5 45,6 (1.7953) X

# Standard combination
x Available combination

01/10.03



Polaris

01/10.03

POLARIS 20 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
SAE "A" 2 BOLTS 3
‘ g TTTTT10.578]
X 130
T "[0.2521 (5.7195] —
02/S2 a FIR cle
g 3932 |FH ‘
5 =l - H =
& A I i
o S E
5 o— AL
A ]
S 0
= OR 2300 A
(4.1871]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 mm (in) 01 | 03 | 04 | 07 | 12 | 31 | 32 | 46 | 49 | 50 | 54 | 82
0 20 (0.7874) # # X # X # X X
5 45,6 (1.7953)

# Standard combination
x Available combination

SAE "A" 2 BOLTS m 5/%2 o 57
Al 6.4
N [0.252] =
o E S 5
= 4J_A 106.2
e (4.1871]
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 (i) 01 | 03 | 04 | 07 | 12 | 31 | 32 | 46 | 49 | 50 | 54 | 82
0 20 (0.7874) # # X # X # X X
5 45,6 (1.7953)

# Standard combination
x Available combination




Polaris

POLARIS 20 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
14
| SAE "B" 2 BOLTS | s5 | —-
[0.5512]
9.7
‘[0.3819]
s Ll
DRIVE SHAFTS
See page 52 + 54
VERSIONS A
See page 46 mm (in) 04 32 49
0 20 (0.7874) # #
5 45,6 (1.7953)
# Standard combination
x Available combination
49.9 19.1 90
GERMAN m (1.9656] r[o.7521 W
15.9 9
‘ [0.626] 10.3543]
: E
5 %% N .
S | O T
= 8212 A 72
- Slm [2.8348]
S sl
DRIVE SHAFTS
See page 52 + 54
VERSIONS A 55
See page 46 mm (in)
w8 32,1 (1.2638) #

# Standard combination
x Available combination

01/10.03



Polaris

IN/OUT PORTS TYPE
SIDE PORTS REAR PORTS

P‘I%T:’-II-ES German | European | 3811 P BeFP ST BePP oDT

F;;,’g“ep IN |OUT| IN |OUT| IN |OUT| IN |OUT| IN |OUT| IN |OUT|] IN |OUT| IN |OUT

Motor OUT| IN |OUT| IN |OUT| IN |OUT| IN |OUT| IN |OUT| IN JOUT| IN |OUT| IN
. 101 BA GC | GC | OB | OA | GC | GC | OB | OA
.10+1,5 BA GC | GC | OB | OA | GC | GC | OB | OA
. 102 BA GC | GC | OB | OA | GC | GC | OB | OA
.102,5 BA GC | GC | OB | OA | GC | GC | OB | OA
. 103,15 BA GC | GC | OB | OA | GC | GC | OB | OA
. 104 BA GC | GC | OB | OA | GC | GC | OB | OA
. 105 BA GD | GD | OB | OA | GD | GD | OB | OA
. 105,8 BA GD | GD | OB | OA | GD | GD | OB | OA
. 106,3 BA GD | GD | OB | OA | GD | GD | OB | OA
. 108 BA GD | GD | OC | OB | GD | GD | OB | OB
. 1010 BA GD | GD | OC | OB | GD | GD | OB | OB
. 204 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 20+6,3 BC | EA | EA | MA | MA | SA | SA |GD | GD | OC | OC | GD | GD | OC | OC
. 20°7,2 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 208 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 209 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 20+10,5 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC |OC | GD | GD | OC | OC
. 20+11,2 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 2014 BC | EB | EA |MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 2016 BC | EB | EA | MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 2019 BC | EB | EA | MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 20°20 BC | EB | EA | MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 20°24,5 BC | EB | EA |MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 20+25 BC | EB | EA |MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 20+27,8 BC | EB | EA |MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 20+31,5 BC | EB | EA | MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 3022 BL | ED | EB | MB | MA | SB | SA | GF | GF | OF | OD
. 3027 BL | ED | EB | MC | MB | SC | SB | GF | GF | OF | OD
. 3034 BL | ED | EB | MC | MB | SC | SB | GF | GF | OF | OD
. 3038 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 30443 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 3046 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 3051 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 3061 BL | ED | EB | ME | MD | SE | SD | GG | GF | OH | OG
. 3073 BL | EF | ED | ME | MD | SE | SD | GG | GF | OH | OG
. 3082 BL | EF | ED | ME | MD | SE | SD | GH | GG | OH | OG
. 30°90 BL | EF | ED | MF | ME | SF | SE | GH | GG | OH | 0OG

01/10.03



Polaris

EXTERNAL DRAIN PORTS

NouT SIDE PORTS REAR PORTS
PORTSTYPE | German | European | 321 P BoPP ST BSPP oDT

GA - - - GA 03 GA 03

TA GB GB 03 GB 03 GB 03

GC GC GC OA GC OA - -

DRAIN PORTS SIZES

01/10.03

LjTightening torque for low pressure side port.

GAS STRAIGHT THREAD PORTS BSPP 8

British standard pipe parallel (55°) conforms to UNI - ISO 228

A
Nominal oB @c D E 6f E ! ﬂ
CODE size A mm mm mm mm Nm § é i % f o
(in) (in) (in) (in) (Ibf in) g‘ I
e |Gl 165 | 875 12 1 5 7028 - | 22z

(0.6496)((0.3444)|(0.4724)|(0.0394)| (44 + 46) a

1 s C
1/4" G 1/4 21,5 12 15 1,5 15 S

(0.8465)((0.4724)|(0.5906)|(0.0591)| (133 = 142)

METRIC STRAIGHT THREAD PORTS ISO 6149 METRIC B

Metric thread ISO 60° conforms to ISO/R 262 A
2B | @C D E 57 | § i
CODE A g = ? i
mm mm mm mm Nm o i [ o
(in) (in) (in) (in) (Ibf in) 3
M 10x1 22 9 13 0,5 10 *0° g ‘
(0.8661) | (0.3543) | (0.5118) | (0.0197) | (89 + 93) > c
SAE STRAIGHT THREAD PORTS J514 oDT

American straight thread UNC-UNF 60° conforms to ANSI B 1.1

@B | @C | D E 5f

mm mm mm mm Nm

(in) (in) (in) (in) (Ibf in)

21 9,5 14 1 124
(0.8267)/(0.3740)(0.5512)((0.0394)| (106 + 115)

CODE A

7/16"-20 UNF-2B

Other drain ports are shown on subsequent pages.




Polaris

PORTS SIZES

%Tightening torque for low pressure side port.

iTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ GERMAN FLANGED PORTS - 4 Bolts

Metric thread ISO 60° conforms to ISO/R 262

EUROPEAN

A B c 57 ~
CODE mm mm Thread Nm Nm 2
(in) (in) Depth mm (in) (Ibf in) (Ibf in) S
8 30 M6 8 +0,5 8 +0,5 “g‘
(0.3150) | (1.1811) 12 (0.4724) (71 = 75) (71 + 75) g
13 30 M6 g 0" 8 "0 -
(0.5118) | (1.1811) 12 (0.4724) (71 + 75) (71 = 75) 3
15 35 M 6 8 05 g *05 S
(0.5906) | (1.3780) 12 (0.4724) (71 + 75) (71 + 75)
20 40 M 6 15 1 15 "1
(0.7874) | (1.5748) 12 (0.4724) (133 = 142) | (133 = 142)
19 55 M8 20 " 20 '
(0.7480) | (2.1654) 18 (0.7087) (177 = 186) | (177 + 186)
27 55 M8 15 1 20"
(1.0630) | (2.1654) 18 (0.7087) (133 = 142) | (177 = 186)
EUROPEAN FLANGED PORTS - 4 Bolts
Metric thread ISO 60° conforms to ISO/R 262
A B c 57 ~
CODE mm mm Thread Nm Nm
(in) (in) Depth mm (in) (Ibf in) (Ibf in)
EA 13 30 M 6 g 0o 8 "0
(0.5118) (1.1811) 13 (0.5118) (71 + 75) (71 + 75)
M 8 15 *1 15 *1
19 40 14 (0.5512) (133 = 142) | (133 = 142)
EB (0.7480) (1.5748) M8 (#) 1577 (®) | 1577 (#)
18 (0.7087) (133 + 142) | (133 = 142)
ED 27 51 M 10 20" 30 *2°
(1.0630) (2.0079) 18 (0.7087) (177 + 186) | (266 = 288)
EF 33 62 M 12 25 1 50 *2°
(1.2992) (2.4409) 18 (0.7087) (221 + 230) | (443 = 465)

(#) For POLARIS 30

DCAT_006_024_21060533

01/10.03



Polaris

PORTS SIZES

01/10.03

dTightening torque for low pressure side port.
yTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ SAE FLANGED PORTS J518 - Standard pressure series 3000 PSI m
Metric thread 1SO 60° conforms to ISO/R 262
A B c D éf i D
CODE mm mm mm Thread Nm Nm I
(in) (in) (in) Depth mm (in) (Ibf in) (Ibf in) _ ,Q I
M 8 15 +1 15 +1 E ; i ]
12,5 38,1 17,5 14 (0.5512) (133 + 142) | (133 = 142) g . S
(0.4921) | (1.50)) | (0.6890) M8 (#) 20 "1 (®) 207 (@) | § E: |
22 (0.8661) | (177 = 186) | (177 = 186) | &
M 10 20 251 2 Q-0
19 47.6 222 14 (0.5512) | (177 = 186) | (266 + 288) | ~ ]
(0.7480) | (1.8740) | (0.8740) M 10 (&) 20" (®) | 35 (@) | B
22 (0.8661) | (177 + 186) | (310 = 332)
M 10 20" 25 "1
25.4 52,4 26,2 14 (0.5512) | (177 = 186) | (266 + 288)
(1.0000) | (2.0630) | (1.0315) M 10 (@) 20 1 (@) 35 25 (@)
22 (0.8661) | (177 + 186) | (310 = 332)
M 10 20 +1 30 +2,5
30,5 58.7 30,2 15 (0,5906) | (177 + 186) | (266 + 288)
(1.2008) | (2.3110) | (1.1890) M 10 (&) 20 T (@) | 35°2% (@)
22 (0.8661) | (177 + 186) | (310 = 332)
39,3 69,8 35,7 M 12 30 *2° 60 *°
(1.5472) | (2.7480) | (1.4055) | 22 (0.8661) | (266 = 288) | (531 + 575)
51 77,8 42,9 M 12 30 25 60 *°
(2.0079) | (3.0630) | (1.6890) | 22 (0.8661) | (266 = 288) | (531 + 575)

() For POLARIS 30

SAE FLANGED PORTS J518 - Standard pressure series 3000 PSI m
American straight thread UNC-UNF 60° conforms to ANSI B 1.1

A | B c D 5 :
CODE mm mm mm Thread Nm Nm !
(in) (in) (in) Depth mm (in) (Ibf in) (Ibf in) - ,Q,,
5/16-18 UNC-2B 15 *1 15 *1 g P '
12,5 38,1 17.5 14 (0.5512) (133 + 142)| (133 + 142) | 8 i o
(0.4921) | (1.50)) | (0.6890) |5/16-18 UNC-2B (#)| 20 ' (@) | 20 "' (&) |3 S i
22 (0.8661) (177 = 186) | (177 = 186) | S ,Q,Q,,
3/8 - 16 UNC-2B 20 "7 20 ** g T
19 47,6 22,2 14 (0.5512) (177 -+ 186) | (177 +~ 186) i C
(0.7480) |(1.8740)| (0.8740) [3/8 - 16 UNC-2B (#)| 30 2° (&) | 20" (@) | &
22 (0.8661) (266 + 288) | (177 = 186)
3/8 - 16 UNC-2B 20 " 25 *1
25.4 52,4 26,2 14 (0.5512) (177 = 186) | (221 + 230)
(1.0000) ((2.0630)| (1.0315) |3/8 - 16 UNC-2B (#)| 20 "' (#) | 30 **° ()
22 (0.8661) (177 = 186) | (266 + 288)
30,5 58,7 30,2 7/16 - 14 UNC-2B 20" 45 *25
(1.2008) |(2.3110)| (1.1890) 22 (0.8661) (177 = 186) | (398 + 420)
39,3 69,8 35,7 1/2 - 13 UNC-2B 30 "2 70 *°
(1.5472) |(2.7480)| (1.4055) 22 (0.8661) (266 = 288) | (620 + 664)
51 77,8 42,9 1/2 - 13 UNC-2B | 30 *2° (@) 70 *°
(2.0079) |(3.0630)| (1.6890) 22 (0.8661) (266 + 288) | (620 + 664)

(#) For POLARIS 30




Polaris

PORTS SIZES

JTightening torque for low pressure side port.

iTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ GAS STRAIGHT THREAD PORTS

British standard pipe parallel (55°) conforms to UNI - ISO 228

BSPP

DCAT_006-026_21064779

=2

Nominal oB oc D E 6f i
CODE size A mm mm mm mm Nm Nm
(in) (in) (in) (in) (Ibf in) (Ibf in)
25 2 (#) 15 "1 (#) _
. (0.9843) | 15 14 | (0.0787) | (133 = 142)
3/8 G3/8 ) (0.5906) | (0.5512) i} 15+ 25 1
(133 + 142) | (221 = 230)
14 20 ' 50 *2°
. 19 | (0.5512) - (177 + 186) | (443 + 465)
1/2 G172 - (0.7480) [ 17 () B 207 (&) | 5027 (@)
(0.6693) (177 + 186) | (443 + 465)
" 24,5 18 30 %9 90 *°
3/4 G 3/4 - (0.9646) | (0.7087) - (266 + 288) | (797 + 841)
qn G 1 B 30,5 18 _ 50 **° 130 *1°
(1.2008) | (0.7086) (443 + 465) |(1151 + 1239)
. 39 22 60 *° 170 *1°
e G114 - (1.5354) | (0.8661) - (531 + 575) |(1505 + 1593)
" 45 24 70 *° 210 *"°
iz G112 - (1.7716) | (0.9448) - (620 + 664) |(1859 + 1992)

(#) Drain port
(#) For POLARIS 20

01/10.03



01/10.03

Polaris

PORTS SIZES

gTightening torque for low pressure side port.
iTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ SAE STRAIGHT THREAD PORTS J514

opT | B

American straight thread UNC-UNF 60° conforms to ANSI B 1.1 A

DCAT_006_027_21060524
Do

1
LLJ
Nominal oB oc D E % i
CODE size A mm mm mm mm Nm Nm
(in) (in) (in) (in) (Ibf in) (Ibf in)
1 15 " 25!
\ . 26 13 15 |(0.03934)| (133 - 142) | (221 - 230)
3/8" | 9M6"-12UNF-2B | (4 0236) | (0.5118) | (0.5906) | 2 (%) 1577 (#) B
(0.0787) | (133 = 142)
" " 32 17,5 15 20 45 %2
12 3/4" - 16 UNF - 2B | (4 2508) | (0.690) | (0.5906) | (177 = 186) | (398 = 420)
15 (.) 2,5 5
" " 35 20,5 (0.5906) 0,5 30 70"
5/8 778" - 14 UNF-2B 1 (4 3780) | (0.8071) | 17 | (0.0197) | (266 - 288) | (620 + 664)
(0.6693)
" " 42 24,8 20 0,5 40 **° 120 *1°
/4 | 11M6"-12UNF-2B | (4 6535) | (0.9764) | (0.7874) | (0.0197) | (354 + 376) |(1062 = 1151)
" " 49 30,5 20 0,5 60 *° 170 *1°
! 15/16" - 12 UNF - 2B | (4 9591) | (1.2008) | (0.7874) | (0.0197) | (531 = 575) | (1505 + 1593)
" " 58 39,1 20 0,5 70 *° 200 *"°
114 15/8"- 12 UNF - 2B | ) 9835) | (1.5394) | (0.7874) | (0.0197) | (620 = 664) |(1770 = 1858)
" " 65 45 20 0,5 100 *° 270 *"°
127812 UNF - 2B | () 5591) | (1.7717) | (0.7874) | (0.0197) | (885 = 929) | (2389 + 2522)

(#) Drain port
(®) For POLARIS 10




Polaris

VALVE OPTIONS (#)

PRIORITY VALVE

Costant delivery and
internal recirculation of
excess flow.

Costant delivery at
controlled pressure.
Internal recirculation of
excess flow and drain
valve.

Costant delivery at
controlled pressure.
Excess flow and drain
valve must be connec-
ted to tank.

Costant delivery and
excess flow can both
be used under load.

Costant delivery at
controlled pressure with
drain valve connected
to tank. Excess flow
can be used under load.

Costant delivery.
Excess flow at control-
led pressure can be
used under load.
Internal recirculation of
drain valve.

Costant delivery at con-
trolled pressure.
Internal recirculation of
valve drain.

Excess flow can be
used under load.

ELECTRIC VALVE FOR MOTORS

By-pass valve normally
closed with max. pres-
sure relief valve and
anti-cavitation valve.

Proportional relief valve
and anti-cavitation val-
ve.

MAX PRESSURE RELIEF VALVE

Fixed setting with
external drain.

Fixed setting with
internal drain.

Adjustable setting
with external
drain.

Adjustable setting
with internal
drain.

LOAD SENSING VALVE

Static.

Dynamic.

Dynamic with re-
lief valve fitted on
the main line.

Dynamic with re-
lief valve fitted on
controlled line.

CHECK VALVE

Anti-cavitation
valve.

() For more information please consult our technical sales department.

01/10.03



Polaris

I BEOE O

PLP20+4 -

OO0 OD@E @

EA/EA -

PUMP
TYPE

MOTOR

in*frev (cm®frev) TYPE

0.30 (4,95) PLP 20-4 PLM 20-4
0.40 (6,61) PLP 20:6,3  PLM 20+6,3
0.44 (7,29) PLP 20:7,2  PLM 20+7,2
0.50 (8,26) PLP 20-8 PLM 208
0.56 (9,17) PLP 209 PLM 20-9
0.66 (10,9) PLP 20+10,5 PLM 20+10,5
0.69 (11,23) PLP 20+11,2 PLM 20+11,2
0.89 (14,53) PLP 2014  PLM 20+14
1.03 (16,85) PLP 2016  PLM 20+16
1.16 (19,09) PLP 2019  PLM 20+19
1.29 (21,14) PLP20:20  PLM 20-20
1.52 (24,84) PLP 20-24,5 PLM 20-24,5
1.61 (26,42) PLP 20-25  PLM 2025
1.72 (28,21) PLP 20-27,8 PLM 2027,8
2.01 (33,03) PLP 20+31,5 PLM 2031,5

Rotation
Left
Right
Reversible rear external drain
Reversible side external drain
Reversible internl drain

Version
Without outboard bearing
With outboard bearing

With outboard bearing

With outboard bearing

With outboard bearing

With outboard bearing

With outboard bearing

With outboard bearing

4 Drive shaft
European tapered 1:8
German tapered 1:5
German tapered 1:5
Straight

SAE “A” spline (9 teeth)
SAE spline (10 teeth)

SAE “A” spline (11 teeth)
SAE "A" straight

Straight

Straight

SAE "B" spline

SAE "B" straight

DIN 54 82 spline

Straight (only for version 6)
Straight (only for version 8)
Tang

Mounting flange

European
German
German 2 bolt
German 2 bolt
German 4 bolt
SAE "A" 2 bolt
SAE "A" 2 bolt
SAE "A" 2 bolt
SAE "B" 2 bolt
German

Ports position
Side
Rear

Ports IN/OUT 7
GERMAN FLANGED PORTS
Rear Type
PLP 20 | 4-6,3-7,2-8-9-10,5-11,2
14-16-19-20-24,5-25
PLM 20 27,8-31,5
EUROPEAN FLANGED PORTS
Rear Type
PLP 20
PLM 20 4-6,3-7,2-8-9-10,5-11,2
PLP 20 14-16-19-20-24,5-25
PLM 20 27,8-31,5
SAE FLANGED PORTS (SSM)
Rear Type
PLP 20
PLM 20 4-6,3-7,2-8-9-10,5-11,2
PLP 20
PLM 20 14-16-19-20
PLP 20
PLM 20 24,5-25-27,8-31,5
SAE FLANGED PORTS (SSS)
Rear Type
PLP 20
PLM 20 4-6,3-7,2-8-9-10,5-11,2
PLP 20
PLM 20 14-16-19-20
PLP 20
PLM 20 24,5-25-27,8-31,5

01/10.03



01/10.03

Polaris

HOW TO ORDER POLARIS 20 SINGLE UNITS

7 Ports IN/OUT
GAS STRAIGHT THREAD PORTS (BSPP)

CODE

Type

Rear

4-6,3-7,2-8-9-10,5-11,2

GD/GD GD/GD

14-16-19-20-24,5-25
27,8-31,5

GE/GD
GD/GE

GE/GD
GD/GE

SAE STRAIGHT THREAD PORTS (ODT)

Type

Rear

4-6,3-7,2-8-9-10,5-11,2

oc/oC

14-16-19-20-24,5-25
27,8-31,5

obD/oC
OC/0D

Buna (standard)

Seals (a)

Viton

(standard - no co

Cover options
Cast iron mountindg ;Iange and rear cover
e

rear cover

Aluminium mounting flange and cast iron

rear cover

Cast iron mounting flange and aluminium

Aluminium mounting flange and rear cover

Shaft seal options
High back pressure seal with wiper seal

Standard seal with wiper seal

High back pressure seal

CODE

Drain port position - Rev. rotation L 11
L Side drain with side port position
* Side drain with bottom port position

CODE Drain port

IN/OUT GERMAN FLANGED PORTS

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
PLM 20 24,5-25-27,8-31,5

IN/OUT EUROPEAN FLANGED PORTS

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
PLM 20 24,5-25-27,8-31,5

IN/OUT SAE FLANGED PORTS (SSM)

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
PLM 20 24,5-25-27,8-31,5

IN/OUT SAE FLANGED PORTS (SSS)

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
PLM 20 24,5-25-27,8-31,5

IN/OUT GAS STRAIGHT THREAD PORTS (BSPP)

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
B8 B PLM 20 24,5-25-27,8-31,5

IN/OUT SAE STRAIGHT THREAD PORTS (ODT)

Side Rear Type
PLP 20 |4-6,3-7,2-8-9-10,5-11,2
PLM 20 24,5-25-27,8-31,5

CODE
FS

Shaft arrangement 13

Female spline

(a) Choose the seals according to the temperature
shown on page 3.



Edition: 01/10.2003

PLO1TE

Hydraulic gear pumps and motors

DISPLACEMENTS through bore aluminum body

From  0.07 in%rev
(1.07 cm3/rev)

To 5.56 in%/rev
(91.10 cm3/rev)

PRESSURE
Max. Continuous 3770 psi
(260 bar)
Max. Intermittent 4060 psi MAX. SPEED
(280 bar)
Max. Peak 4350 psi 4000 min’
(300 bar)

® Group 1, 2 and 3 with displacements from 0.07 in*/rev (1,07 cm®/rev) to 5.56 in%rev (91.10 cm®/rev).
® Drive shafts, mounting flanges and ports according to the international standards.

® Combination of multiple pumps in standard version, common inlet and separated stages.

® |ntegrated outboard bearings for heavy duty application.

® Many types of built-in valves.

“POLARIS” more than fifty years of Casappa experience in design and production of hydraulic components, characterized by lar-
ge investments in research and development in order to propose new and personalized solutions to the market. Our use of CAD
3D in the developement of this generation permit us the 3D modelling and the virtual simulation of the behaviour of the compo-
nents inserted in the hydraulic circuit. This means that the process will take less time and the quality of the products is better.
Polaris pumps and motors are basically composed of a gear housing in aluminium alloy, two gear wheels supported by sleeve
bearings and two end plates, the front and the rear cover, either in aluminium or in cast iron with excellent mechanical characteri-
stics. Our success is based largely on the quality of our product. This guaranties the consistencies of the efficiencies and low le-
vel of noise emission during the life of our products.




01/10.03

Polaris

GENERAL DATA PUMPS AND MOTORS

Pump type PLP
Motor type PLM

Series

PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.

101
101,5
102
102,5
103,15
10+4
105
10+5,8
106,3
108
1010
20-4
20+6,3
20-7,2
20-8
20-9
20-10,5
20-11,2
20-14
20-16
20-19
20-20

PL 20-24,5

PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.
PL.

ps= Max.

20-25
20-27,8
20-31,5
30-22
30-27
30-34
3038
3043
30-51
30-61
3073
3082
30-90

continuous pressure

Max. pressure
Displacement Max. speed | Min. speed
P ‘ p2 ‘ Ps
in®/rev (cm®/rev) psi (bar) min !
0.07 (1,07) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.10 (1,60) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.13 (2,13) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.16 (2,67) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.20 (3,34) 3770 (260) 4060 (280) 4205 (290) 4000 650
0.26 (4,27) 3625 (250) 3915 (270) 4060 (280) 4000 650
0.33 (5,34) 3625 (250) 3915 (270) 4060 (280) 4000 650
0.38 (6,20) 3335 (230) 3625 (250) 3770 (260) 3500 650
0.41 (6,67) 3335 (230) 3625 (250) 3770 (260) 3500 650
0.52 (8,51) 2610 (180) 2900 (200) 3045 (210) 3500 650
0.65 (10,67) 2030 (140) 2320 (160) 2465 (170) 3500 650
0.30 (4,95) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.40 (6,61) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.44 (7,29) 3625 (250) 4060 (280) 4350 (300) 4000 600
0.50 (8,26) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.56 (9,17) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.66 (10,9) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.69 (11,23) 3625 (250) 4060 (280) 4350 (300) 3500 600
0.89 (14,53) 3625 (250) 4060 (280) 4350 (300) 3500 500
1.03 (16,85) 3625 (250) 4060 (280) 4350 (300) 3000 500
1.16 (19,09) 2900 (200) 3190 (220) 3480 (240) 3000 500
1.29 (21,14) 2900 (200) 3190 (220) 3480 (240) 3000 500
1.52 (24,84) 2465 (170) 2755 (190) 3045 (210) 2500 500
1.61 (26,42) 2465 (170) 2755 (190) 3045 (210) 2500 500
1.72 (28,21) 1885 (130) 2175 (150) 2465 (170) 2000 500
2.01 (33,03) 1885 (130) 2175 (150) 2465 (170) 2000 500
1.34 (21,99) 3625 (250) 3915 (270) 4060 (280) 3000 350
1.63 (26,70) 3625 (250) 3915 (270) 4060 (280) 3000 350
2.11 (34,55) 3480 (240) 3770 (260) 3915 (270) 3000 350
2.40 (39,27) 3480 (240) 3770 (260) 3915 (270) 3000 350
2.68 (43,98) 3335 (230) 3625 (250) 3770 (260) 3000 350
3.16 (51,83) 3045 (210) 3335 (230) 3480 (240) 2500 350
3.74 (61,26) 2755 (190) 3045 (210) 3190 (220) 2500 350
4.50 (73,82) 2465 (170) 2755 (190) 2900 (200) 2500 350
4.98 (81,68) 2320 (160) 2465 (170) 2610 (180) 2200 350
5.56 (91,10) 2175 (150) 2320 (160) 2465 (170) 2200 350

p2.= Max. intermittent pressure

The values in the table refer to unidirectional pumps and motors.
Reversible pump and motors max pressures are 15% lower than those shown in table.
For different working conditions please consult our sales department.

ps= Max. peak pressure




01/10.03

Polaris

POLARIS 30

SINGLE UNITS SIDE PORTS

D033-184/0903

Reversible R

Single rotation S - D

23.5
(0.925)

Tt
148
(5.627)

Mounting X
flange type
version 0 mm (inch)
E3 24 (0.945)
Ea 25 (0.984) _ Mounting v
B3 28 (1.102) DRIVE SH5P5‘FTSd' 56 flanglel Screws tightening torque
S5 54 (2.1260) see page 55 and page materia Nm (Ibf in)
MOUNTING FLANGE: Casti 5
U3 20,8 (0.819) see page 65 + 67 ast iron 100 ™ (885 + 929)
Pump type A B
Motor type - -
mm (inch) mm (inch)
106 (4.1732) 39 (1.5354)
109 (4.2913) 40,5 (1.5945)
114 (4.4882) 43 (1.6929)
117 (4.6063) 44,5 (1.7520)
120 (4.7244) 46 (1.8110)

125 (4.9212)

48,5 (1.9094)

131 (5.1575)

51,5 (2.0276)

139 (5.4724)

55,5 (2.1850)

144 (5.6693)

58 (2.2835)

150 (5.9055)

61 (2.4016)




Polaris

VERSIONS

For each version, the possible combination between drive shafts and mounting flanges are shown on
pages 57 + 67.

VERSION [ VERSION | ws | VERSION e

Available for group: Available for group: Available for group:

10 | 20 [ 30 20 20
.l/

w\\

7ol

|\\\\\\|-/////////

SN
”'Illlllyl

| —!

’ Il
“\ ‘II
W

D033-116/0603
D033-198/0603
D003-192/0603

Version for applications
without radial and axial load
on the drive shaft.

VERSION | 5 | VERSION | 6 | VERSION

Available for group: Available for group: Available for group:
20 20 20

///
\sx\\\\\\ /
N \\ %

[ /ﬁ. A=t

. ELI.\_ |
L

\\\\\\
\\\\\\\ N
7

D033-191/0603
D033-193/0603
D033-194/0603

VERSION [ VERSION

Available for group: Available for group:
20 20

~ ll ”\

\\\\\\\\ \\\\\\\\
= /l—rr ( ‘%Hy{ !
ﬂﬁﬁ# / -

- 7 ||‘r~‘ - e / |"‘A ]
Q\//\\\\/I/ EF/(\\\\ |J

/\\\ SOWY \\ﬁ\\\\\\\\\

D033-195/0603
D003-196/0603

For the outboard bearing life expectancy, diagrams providing approximate selection data well be found on sub-
sequent pages. For particular applications please consult our technical sales department.

01/10.03



01/10.03

Polaris

POLARIS 30 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
122
| EUROPEAN | E3 | e
5 19 1 =
(0.197) (0.748) (0.433) 38
oo
8 -1 3T |
55 3823
S Slao Te e
'5 Q==
5 gl
2 sl== L
S 24 98
(0.945) (3.858)
DRIVE SHAFTS
See page 55 e 56
VERSIONS
See page 46 83 41 04 05 32 33 A5 A8
0 # # X X X X X X
# Standard combination
x Available combination
138.3
EUROPEAN 23 82
5 20 11 -
0.197) || [ 10.787) (0.433) pEPS
< | =
oo pa— o
38 11 AN
co 0|0 |0
ol —|e —|e
. Dl oy
ke
S PR g
" 25
e (0.984)
DRIVE SHAFTS
See page 55 e 56
VERSIONS
See page 46 84 41 A5 A8
0 # X X X

# Standard combination
x Available combination




Polaris

POLARIS 30 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
126
| GERMAN | B3 | o
8 _ 19 Bl =
o~ (0.315) (0.748) (0.433) |3
85 =
o9
S
sl=< || || |3 0|3
OO |~
o Tle Tle
S 28
(1.102)
DRIVE SHAFTS
See page 55 e 56
VERSIONS
S oy 6 56 83 A5 A8
0 # X X X
# Standard combination
x Available combination
SAE "B" 2 BOLTS g 9,7 16 ‘ 174,5
(0.382) (0.630) (6.870)
8 _ |z
o3 < |
©|— — e
R
) 8 8 T 1 o g L
<t ™M
e 2le
= %
S 54 146
(2.126) (5.748)
DRIVE SHAFTS
See page 55 e 56
VERSIONS
Soe 04 05 32 33
0 # # # #

# Standard combination
x Available combination

01/10.03



Polaris

01/10.03

POLARIS 30 MOUNTING FLANGES AND TABLE OF COMPATIBILITY
g 9.7 16 ‘ 174,5
‘ SAE "B"2BOLTS m (0.382) (0.630) ‘ (6.870)
8 ] ; 0|2
O? T <',' w
©|=— I “le
Z88 |- = ,
<=2 || =R ]
B %
S 20.8 146
(0.819) (5.748)
DRIVE SHAFTS
See page 55 e 56
VERSIONS
See page 46 AS A8 83
0 # # X

# Standard combination
x Available combination




01/10.03

Polaris

POLARIS 30

DRIVE SHAFTS

‘ EUROPEAN TAPERED 1:8

Not available with size:

‘ EUROPEAN TAPERED 1:8

Not available with size:

\ 30482 - 3090 |

‘ 3022 - 30227 - 30+34 - 30-38 ‘

Mounting face refer to flange code E3

1:8 = e
260 Nm | wlo 88
2124 bf in| SIS i
= HH =
0 [oN[¥a! o
g | o3| n
3 Se =0
< [~ PIANO DI MONTAGGIO |
g MOUNTING FACE <2
N .
s | |.11.240.35 1214
M 14x1.5 [0.440940.0137] [0.478]
620 Lbf in m

‘ GERMAN TAPERED 1:5

Not available with size:

Mounting face refer to flange code E4

1:8 TAPER —D 2k .64 £0.05 .
350 Nm (0.968 - 0.972) gz
3098 Lbf in S8

PIANO DI MONTAGGIO
MOUNTING FACE

[0.187

DCAT_033.082

M 16415 16.540.35 L35
UNI 5589 [O.éL%i0.0L{O.SGS]
70 Nm 418
620 Lbf in o057  Key &.75¢10
| STRAIGHT | a |

Not available with size:

3061 - 3073 - 30+82 - 30-90

30-82 - 30-90

Mounting face refer to flange code B3

1.5 TAPER
240 Nm
2124 1bf in

21.25 £0.05
[0.835 - 0.839]

IANO DI MONTAGGIO
MOUNTING FACE

[0.1969:8:35%]

DCAT_033.083

29.7540.35 J» %.A

[1.1713£0.0137] [0.5276]
70 Nm 36
Lbf in

[1.6173]

‘ SAE “B” SPLINE

Not available with size:

Mounting face refer to flange code E3

IANO D MONTAGGIO
MOUNTING FACE

6-8.03
[0.2362:3:6%]

—0.000]}
-0.0007

0.007
0.020
[0.8661

322

Key 6x6x25

185 Nm
1637 1bf in

==

=

&

A
[0.9449]

DCAT_033.081

‘ SAE “BB” SPLINE

Not available with size:

30-82 - 30-90 |

\ 3022 - 30+38 - 30+82 - 30-90 |

Mounting face refer to flange code U3

88 PIANO DI MONTAGGIO
& 83 MOUNTING FACE
8 2] 38
3 «©|®
& & = :H.A%ﬂ
N 1
a S ! Ext. Involute Spline SAE J498B
= ] V) with major diameter modified
- — : 13 teeth - 16/32 Pitch - 30 deg
g ! Flat Root - Side fit - Class 1
280 Nm 33.3
2478 Lbf in 11.311

Mounting face refer to flange code U3

PIANO DI MONTAGGIO
‘ MOUNTING FACE

0.10
0.11

_P253:
[0.9843:3:3543)]

DCAT_006-021_27800544

Ext. Involute Spline SAE J498B
with major diameter modified
15 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 1

/ 38.1
3540 Lbf in

400 Nm




Polaris

POLARIS 30

DRIVE SHAFTS

‘ SAE “B” SPLINE

Mounting face refer to flange code S5

g 33
S o | ®
& Sle
S iSS
2 o
o
330 Nm 1.
2921 Lbf in

PIANO DI MONTAGGIO
MOUNTING FACE

Ext. Involute Spline SAE J498B
with major diameter modified
13 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 1

SAE “B” STRAIGHT

Mounting face refer to flange code S5

Pl

ANO DI MONTAGGIO

MOUNTING FACE
41.2

[0.8748:3:38%9]

DCAT_006_019_03571379
B22.223

1770 Lbf in

200 Nm LJL

Key 6.35 x 25.4

[0.9811]

| SAE “BB” SPLINE “

Not available with size:

\ 30490

Mounting face refer to flange code S5

EN g PIANO D1 MONTAGGIO
S 2= o MOUNTING FACE
" <3| o
L nlo
C)‘ N | —
2 Sy
S Ext. Involute Spline SAE J498B
=3 with major diameter modified
3 15 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 1
500 Nm [1.5]
4426 Lbf in

| SAE “BB” STRAIGHT | 33 |

Mounting face refer to flange code S5

PIANO DI MONTAGGIO
L6 MOUNTING FACE
[1.811]
38 Key 6.35 x 32
(16967

DCAT_006-020_32749460

|_123.9
280 Nm [0.9409]
2470 Lbf in

(1.10631

01/10.03



Polaris

IN/OUT PORTS TYPE
SIDE PORTS REAR PORTS

PT?(F:DTES German | European | 3B A BePP oDT BSPP oDT

F;;S"e” IN |OUT| IN [OUT| IN |OUT| IN |OUT| IN |OUT| IN [OUT| IN |OUT| IN |OUT

IN |OUT| IN |[OUT| IN |OUT| IN |OUT| IN |OUT| IN JOUT| IN |OUT| IN

. 101 BA GC | GC | OB | OA | GC | GC | OB | OA
.10+1,5 BA GC | GC | OB | OA | GC | GC | OB | OA
. 102 BA GC | GC | OB | OA | GC | GC | OB | OA
.10°2,5 BA GC | GC | OB | OA | GC | GC | OB | OA
. 103,15 BA GC | GC | OB | OA | GC | GC | OB | OA
. 104 BA GC | GC | OB | OA | GC | GC | OB | OA
. 105 BA GD | GD | OB | OA | GD | GD | OB | OA
. 105,8 BA GD | GD | OB | OA | GD | GD | OB | OA
. 106,3 BA GD | GD | OB | OA | GD | GD | OB | OA
. 108 BA GD | GD | OC | OB | GD | GD | OB | OB
. 1010 BA GD | GD | OC | OB | GD | GD | OB | OB
. 204 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 20+6,3 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 20+7,2 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 208 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 209 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 20+10,5 BC | EA | EA | MA | MA | SA | SA | GD | GD |OC | OC|GD | GD | OC | OC
. 20+11,2 BC | EA | EA | MA | MA | SA | SA | GD | GD | OC | OC | GD | GD | OC | OC
. 2014 BC | EB | EA | MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 2016 BC | EB | EA | MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 2019 BC | EB | EA | MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 20-20 BC | EB | EA | MB | MA | SB | SA | GE | GD | OD | OC | GE | GD | OD | OC
. 2024,5 BC | EB | EA | MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 20+25 BC | EB | EA | MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 20+27,8 BC | EB | EA | MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 2031,5 BC | EB | EA | MC | MB | SC | SB | GE | GD | OD | OC | GE | GD | OD | OC
. 30°22 BL | ED | EB | MB | MA | SB | SA | GF | GF | OF | OD
. 3027 BL | ED | EB | MC | MB | SC | SB | GF | GF | OF | OD
. 3034 BL | ED | EB | MC | MB | SC | SB | GF | GF | OF | OD
. 30-38 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 3043 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 3046 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 3051 BL | ED | EB | MD | MC | SD | SC | GF | GF | OG | OF
. 3061 BL | ED | EB | ME | MD | SE | SD | GG | GF | OH | OG
. 3073 BL | EF | ED | ME | MD | SE | SD | GG | GF | OH | 0G
. 3082 BL | EF | ED | ME | MD | SE | SD | GH | GG | OH | OG
. 3090 BL | EF | ED | MF | ME | SF | SE | GH | GG | OH | 0G

01/10.03



01/10.03

Polaris

EXTERNAL DRAIN PORTS

INJOUT SIDE PORTS REAR PORTS
GA = = = GA 03 GA 03
TA GB GB 03 GB 03 GB 03
GC GC GC OA GC OA = =

DRAIN PORTS SIZES

JTightening torque for low pressure side port.

GAS STRAIGHT THREAD PORTS

British standard pipe parallel (55°) conforms to UNI - ISO 228

BSPP

Nominal oB oc D E 6f
CODE size A mm mm mm mm Nm
(in) (in) (in) (in) (Ibf in)
" 16,5 8,75 12 1 5 1028
1/8 G 1181 0.6496)|(0.3444)|(0.4724) |(0.0394) (44 + 48)
" 21,5 12 15 1,6 15 *1
14" |G V4 8465)|(0.4724)(0.5906)|(0.0591)| (133 + 142)

METRIC STRAIGHT THREAD PORTS ISO 6149 METRIC

Metric thread ISO 60° conforms to ISO/R 262
oB @c D E 57
CODE A
mm mm mm mm Nm
(in) (in) (in) (in) (Ibf in)
M 10x1 22 9 13 0,5 10 70
(0.8661) | (0.3543) | (0.5118) | (0.0197) | (89 + 93)
SAE STRAIGHT THREAD PORTS J514 oDT
American straight thread UNC-UNF 60° conforms to ANSI B 1.1
B | gC D E
CODE A 6f
mm mm mm mm Nm
(in) (in) (in) (in) (Ibf in)
" 21 9,5 14 1 12
7/16%-20 UNF-2B | 8567)(0.3740)(0.5512)(0.0394)| (106 + 115)

Other drain ports are shown on subsequent pages.

DCAT_006_026_21064779

DCAT_006-027_21060524




Polaris

PORTS SIZES

dTightening torque for low pressure side port.

iTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ GERMAN FLANGED PORTS - 4 Bolts

Metric thread ISO 60° conforms to ISO/R 262

GERMAN

EUROPEAN

A B c 57 ~
CODE mm mm Thread Nm Nm Q
(in) (in) Depth mm (in) (Ibf in) (Ibf in) e
8 30 M6 8 +0,5 8 +0,5 ‘S‘
(0.3150) | (1.1811) 12 (0.4724) (71 + 75) (71 + 75) g
13 30 M6 g *0® g *0s a
(0.5118) | (1.1811) 12 (0.4724) (71 + 75) (71 + 75) 3
15 35 M 6 g *05 g ‘05 S
(0.5906) | (1.3780) 12 (0.4724) (71 + 75) (71 + 75)
20 40 M 6 15 ! 15 *1
(0.7874) | (1.5748) 12 (0.4724) (133 = 142) | (133 + 142)
19 55 M8 20" 20"
(0.7480) | (2.1654) 18 (0.7087) (177 + 186) | (177 + 186)
27 55 M8 15 1 20"
(1.0630) | (2.1654) 18 (0.7087) (133 = 142) | (177 = 186)
EUROPEAN FLANGED PORTS -4 Bolts
Metric thread ISO 60° conforms to ISO/R 262
A B c 57 ~
CODE mm mm Thread Nm Nm
(in) (in) Depth mm (in) (Ibf in) (Ibf in)
EA 13 30 M 6 g *0® g *0®
(0.5118) (1.1811) 13 (0.5118) (71 + 75) (71 + 75)
M 8 15 *1 15 "1
19 40 14 (0.5512) (133 = 142) | (133 = 142)
EB (0.7480) | (1.5748) M8 (&) 157 (®) | 157 (#)
18 (0.7087) (133 = 142) | (133 = 142)
ED 27 51 M 10 20" 30 *2°
(1.0630) (2.0079) 18 (0.7087) (177 + 186) | (266 = 288)
EF 33 62 M 12 25 "1 50 *25
(1.2992) (2.4409) 18 (0.7087) (221 + 230) | (443 = 465)

(#) For POLARIS 30

DCAT_006_024_21060533

01/10.03



01/10.03

Polaris

PORTS SIZES

dTightening torque for low pressure side port.

iTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ SAE FLANGED PORTS J518 - Standard pressure series 3000 PSI

Metric thread 1ISO 60° conforms to ISO/R 262

A B c D ‘j i
CODE mm mm mm Thread Nm Nm
(in) (in) (in) Depth mm (in) (Ibf in) (Ibf in)
M 8 15 +1 15 +1
12,5 38,1 17,5 14 (0.5512) (133 + 142) | (133 + 142)
(0.4921) | (1.50)) | (0.6890) M8 (@) 20 ' () 20 " (@)
22 (0.8661) | (177 + 186) | (177 = 186)
M 10 20" 25 "1
19 47,6 22,2 14 (0.5512) (177 = 186) | (266 + 288)
(0.7480) | (1.8740) | (0.8740) M 10 () 20 T (#) | 35 2% (@)
22 (0.8661) (177 + 186) | (310 + 332)
M 10 20" 25"
25,4 52,4 26,2 14 (0.5512) | (177 = 186) | (266 ~ 288)
(1.0000) | (2.0630) | (1.0315) M 10 () 2077 (®) | 35°25 (@)
22 (0.8661) (177 + 186) | (310 + 332)
M 10 20 +1 30 +2,5
30,5 58,7 30,2 15 (0,5906) (177 + 186) | (266 + 288)
(1.2008) | (2.3110) | (1.1890) M 10 (@) 20 T (@) 35 25 (@)
22 (0.8661) (177 + 186) | (310 + 332)
39,3 69,8 35,7 M 12 30 *2° 60 *°
(1.5472) | (2.7480) | (1.4055) | 22 (0.8661) | (266 + 288) | (531 + 575)
51 77,8 42,9 M 12 30 25 60 *°
(2.0079) | (3.0630) | (1.6890) 22 (0.8661) (266 + 288) | (531 + 575)

(#) For POLARIS 30

DCAT_006_025-21064252

SAE FLANGED PORTS J518 - Standard pressure series 3000 PSI

American straight thread UNC-UNF 60° conforms to ANSI B 1.1

A B ¢ D R 4
CODE mm mm mm Thread Nm Nm
(in) (in) (in) Depth mm (in) (Ibf in) (Ibf in)
5/16-18 UNC-2B 15 " 15 *1
12,5 38,1 17.5 14 (0.5512) (133 = 142) | (133 = 142)
(0.4921) | (1.50)) | (0.6890) |5/16-18 UNC-2B (#)| 20 ™' (®) 20 ' (@)
22 (0.8661) (177 = 186) | (177 + 186)
3/8 - 16 UNC-2B 20 " 20
19 47,6 22,2 14 (0.5512) (177 + 186) | (177 + 186)
(0.7480) |(1.8740)| (0.8740) |3/8 - 16 UNC-2B (#)| 30 "*° (®) | 20" (@)
22 (0.8661) (266 + 288) | (177 + 186)
3/8 - 16 UNC-2B 20 " 25 "1
25,4 52,4 26,2 14 (0.5512) (177 + 186) | (221 + 230)
(1.0000) |(2.0630)| (1.0315) |3/8 - 16 UNC-2B (#)| 20 *' (#) | 30 ° (@)
22 (0.8661) (177 = 186) | (266 + 288)
30,5 58,7 30,2 7/16 - 14 UNC-2B 20 " 45 %25
(1.2008) |(2.3110)| (1.1890) 22 (0.8661) (177 = 186) | (398 + 420)
39,3 69,8 35,7 1/2 - 13 UNC-2B 30 25 70 *°
(1.5472) |(2.7480)| (1.4055) 22 (0.8661) (266 = 288) | (620 = 664)
51 77,8 42,9 1/2 - 13 UNC-2B | 30 *2° (#) 70 *°
(2.0079) |(3.0630)| (1.6890) 22 (0.8661) (266 + 288) | (620 + 664)

(#) For POLARIS 30

DCAT_006_028_21060740

£

e

QQ*

C




Polaris

PORTS SIZES

%Tightening torque for low pressure side port.
iTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ GAS STRAIGHT THREAD PORTS BSPP B

British standard pipe parallel (55°) conforms to UNI - ISO 228 A
: B7/RE
N = :
g |
3 U
5 C
Nominal oB oc D E 6f i
CODE size A mm mm mm mm Nm Nm
(in) (in) (in) (in) (Ibf in) (Ibf in)
25 2 (#) 15 %1 (#) _
. (0.9843) 15 14 (0.0787) | (133 = 142)
s/8 G 3/8 (0.5906) | (0.5512) 15+ 25 1
B B (133 = 142) | (221 + 230)
14 B 20 ™ 50 *2°
19 (0.5512) (177 = 186) | (443 + 465)
1/2" G 1/2 - : -
(0.7480) 17 (0) _ 20 1 (‘) 50 2,5 (‘)
(0.6693) (177 = 186) | (443 + 465)
" 24,5 18 30 "% 90 *°
3/4 G 3/4 - (0.9646) | (0.7087) - (266 + 288) | (797 + 841)
40 G 1 _ 30,5 18 B 50 20 130 *1°
(1.2008) | (0.7086) (443 + 465) |(1151 + 1239)
. 39 22 60 *° 170 *1°
"4 G114 - (1.5354) | (0.8661) - (531 = 575) | (1505 + 1593)
" 45 24 70 *° 210 *'®
19172 G112 - (1.7716) | (0.9448) - (620 = 664) | (1859 + 1992)

(#) Drain port
(#) For POLARIS 20

01/10.03



01/10.03

Polaris

PORTS SIZES

éfTightening torque for low pressure side port.

iTightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

For reversible rotation, please consult only the tightening torque for high pressure side port.

‘ SAE STRAIGHT THREAD PORTS J514 oDT B
American straight thread UNC-UNF 60° conforms to ANSI B 1.1 A
: !
2 My’
z C
Nominal oB wc D E d y
CODE size A mm mm mm mm Nm Nm
(in) (in) (in) (in) (Ibf in) (Ibf in)
1 15 " 25"
. . 26 13 15 |(0.03934)| (133 - 142) | (221 + 230)
3/8 916" - 12 UNF - 2B | (4 0236) | (0.5118) | (0.5906) | 2 (#) 15 %1 (#)
(0.0787) | (133 + 142) -
" " 32 17,5 15 20+ 45 725
172 3/4"-16 UNF -2B | (4 y598) | (0.690) | (0.5906) - (177 + 186) | (398 + 420)
15 (#) ) ]
" " 35 20,5 (0.5906) 0,5 30 "= 70"
5/8 7/8"- 14 UNF - 2B | (4 3780) | (0.8071) | 17 | (0.0197) | (266 + 288) | (620 = 664)
(0.6693)
" " 42 24,8 20 0,5 40 **° 120 *1°
/4 | 11167 - 12 UNF - 2B | 4 6535) | (0.9764) | (0.7874) | (0.0197) | (354 = 376) | (1062 = 1151)
" " 49 30,5 20 0,5 60 *° 170 *1°
! 15/16"- 12 UNF - 2B | (4 9291) | (1.2008) | (0.7874) | (0.0197) | (531 = 575) | (1505 = 1593)
" " 58 39,1 20 0,5 70 *° 200 *'°
1174 15/8"- 12 UNF - 2B | ) 5835) | (1.5394) | (0.7874) | (0.0197) | (620 = 664) |(1770 = 1858)
" " 65 45 20 0,5 100 *° 270 *"®
12 T8 - 12 UNF - 2B ) 5594) | (1.7717) | (0.7874) | (0.0197) | (885 + 929) |(2389 - 2522)

(#) Drain port
(®) For POLARIS 10




Polaris

VALVE OPTIONS (#)

PRIORITY VALVE

Costant delivery and
internal recirculation of
excess flow.

Costant delivery at
controlled pressure.
Internal recirculation of
excess flow and drain
valve.

Costant delivery at
controlled pressure.
Excess flow and drain
valve must be connec-
ted to tank.

Costant delivery and
excess flow can both
be used under load.

Costant delivery at
controlled pressure with
drain valve connected
to tank. Excess flow
can be used under load.

Costant delivery.
Excess flow at control-
led pressure can be
used under load.
Internal recirculation of
drain valve.

Costant delivery at con-
trolled pressure.
Internal recirculation of
valve drain.

Excess flow can be
used under load.

ELECTRIC VALVE FOR MOTORS

By-pass valve normally
closed with max. pres-
sure relief valve and
anti-cavitation valve.

Proportional relief valve
and anti-cavitation val-
ve.

MAX PRESSURE RELIEF VALVE

Fixed setting with
external drain.

Fixed setting with
internal drain.

Adjustable setting
with external
drain.

Adjustable setting
with internal
drain.

LOAD SENSING VALVE

Static.

Dynamic.

Dynamic with re-
lief valve fitted on
the main line.

Dynamic with re-
lief valve fitted on
controlled line.

CHECK VALVE

Anti-cavitation
valve.

() For more information please consult our technical sales department.

01/10.03



PLP30-22 R

&

Polaris

HOW TO ORDER POLARIS 30 SINGLE UNITS

PUMP MOTOR

in*frev (cm®frev) TYPE TYPE
1.34 (21,99) PLP 30+22 PLM 30-22
1.63 (26,70) PLP 30+27 PLM 30-27
2.11 (34,55) PLP 3034 PLM 30-34
2.40 (39,27) PLP 3038 PLM 30+38
2.68 (43,98) PLP 3043 PLM 30-43
3.16 (51,83) PLP 30+51 PLM 30+51
3.74 (61,26) PLP 30461 PLM 30+61
4.50 (73,82) PLP 3073 PLM 3073
4.98 (81,68) PLP 3082 PLM 30-82
5.56 (91,10) PLP 3090 PLM 3090

Rotation

Left
Right
Reversible rear external drain

3 Version
Without outboard bearing

4 Drive shaft
European tapered 1:8
European tapered 1:8
German tapered 1:5
Straight

SAE “B” spline

SAE "BB" spline

SAE "B" spline

SAE "BB" spline

SAE "B" straight

SAE "BB" straight

Mounting flange

European

European
German
SAE "B" 2 bolt
SAE “B” 2 bolt
6 Ports position
Side
7 Ports IN/JOUT
GERMAN FLANGED PORTS
Type

22-27-34-38-43 PLP30

46-51-61-73-82-90

EUROPEAN FLANGED PORTS

Type

22-27-34-38-43
46-51-61

73-82-90

Ports IN/OUT 7
SAE FLANGED PORTS (SSM)
Type
PLP 30
PLM 30 22
PLM 30 27-34
BLM 30 38-43-46-51
BLM 30 61-73-82
PLM 30 90
SAE FLANGED PORTS (SSS)
Type
PLP 30
PLM 30 22
PLM 30 27-34
BLM 30 38-43-46-51
BLM 30 61-73-82
PLM 30 90
GAS STRAIGHT THREAD PORTS (BSPP)
Type
BLM 30 22-27-34-38-43-46-51
PLM 30 61-73
PLM 30 82-90
SAE STRAIGHT THREAD PORTS (ODT)
Side Type
22-27-34
38-43-46-51
61-73-82-90
Seals (a)

Buna (standard)

Viton

Shaft seal options
High back pressure seal with wiper seal

Standard seal with wiper seal

High back pressure seal

CODE Shaft arrangement
FS Female spline

10

(a) Choose the seals according to the temperature
shown on page 3.

01/10.03



Replaces: K01 TE

Edition: 02/09.2002

Hydraulic gear pumps
two pieces cast iron housing

DISPLACEMENTS
From 4,95 cm®/rev !
To 73,82 cmClrev

e |
[
=
@
1 — ——
-

PRESSURE = MAX. SPEED
Max. continuous 285 bar " 4000 mint
Max. intermittent 300 bar min
Max. peak 330 bar

® High operating pressures
® High efficiency at high temperature

® Exceptional working life expectancy

KAPPA pump and motor units consist essentially of a housing and a mounting flange in cast iron of superior me-
chanical specifications. KAPPA is available with mountig flanges and side orrear ports according to SAE and Eu-
ropean standard. The rigidity of assembly and the compact design of KAPPA pumps and motors ensure reliability
and high volumetric efficiency also at high operating pressures. Infinite care and attention is taken over the design
and construction of each single component, and with quality monitored unceasingly, the result is aconsistent, per-
fectly balanced assembly that guarantees unbroken service under the most arduous operating conditions.
KAPPA series is the right choice wherever noise, contamination, non inflammable fluids and size are critical fac-
tors. The wide choice of combinations of mounting flanges, shafts and ports ensure to KAPPA series to be applied
in a vast range of application.




Replaces: 01/01.02

02/09.02

Kappa

FEATURES

Construction

External gear type pumps and motors

Mounting

EUROPEAN - SAE - ISO standard flanges

Line connections

Screw and flange

Direction of rotation (looking on drive shaft)

Anti-clock (S) - clockwise (D) - reversible (L, R or B)

Inlet pressure range for pumps

0,7 + 3 bar (abs.)

Max back pressure for single rotation motors

p: (continuous) max 5 bar

p2 (for 20 s) max 8 bar

ps (for 8 s) max 15 bar

Max drain line pressure on the reversible rotation motors 5 bar

Max back pressure on the series motors

150 bar

Fluid temperature range

See table (1)

Fluid

Mineral oil based hydraulic fluids to ISO/DIN and fire
resistant fluids [see table (1)]. For other fluids please
consult our technical sales department.

Viscosity range

From 12 to 100 mm?/s (cSt) recommended

Up to 750 mm?/s (cSt) permitted

Filtering requirement

See table (2)

Tab. 1
Type Fluid composition Max [;;)raer?sure Mz?;isnp?]ed Tem[[:ofé?ture Seals ()
Mineral oil based hydraulic See page See page .25 + +80 N
ISO/DIN fluid to ISO/DIN 3-4 3-4 N-H
-25 + +110 \Y
HEA Oil emulsion in water 50 1500 2. 55
5 + 15% of oil
N
Water emulsion in oil X
HFB 40 % of water 120 1500 2 +60
HFC Water - glycol 100 1500 -20 + +60 N Bz
HFD Phosphate ester 150 1500 -10 + +80 V Bz

(#) N=Buna N (standard) - N-H= Buna N and high back pressure shaft seals - V= Viton
N Bz= Buna N and Bronze thrust plates - V Bz= Viton and Bronze thrust plates

Tab. 2

Working pressure Ap > 200 bar| Ap < 200 bar
Contamination class NAS 1638 8 10
Contamination class 1ISO 4406 19/17/14 21/19/16
Achieved with filter Bx=75 10 um 25 um

GENERAL NOTES

Available with different inlet and outlet ports. If you use fire resistant fluids specify the type of them at
the order. For more information please consult our technical sales department.




Kappa

DEFINITION OF ROTATION DIRECTION LOOKING ON THE DRIVE SHAFT

Anti-clock rotation Clockwise rotation Reversible rotation

PRESSURE DEFINITION

E
- A °s
— P2
5 o Y e
- VY
t sl
Max. 20 s Max. 8 s

p1 Max. continuous pressure
p. Max. intermittent pressure

ps Max. peak pressure

01/01.02



01/01.02

Kappa

KAPPA 20 GENERAL DATA PUMPS

Displacement Max. pressure Max. speed Min. speed
Pump type p1 ‘ P2 ‘ Ps
cm®/rev bar min
KP 204 4,95 285 300 330 4000 350
KP 20¢6,3 6,61 285 300 330 4000 350
KP 208 8,26 285 300 330 3500 350
KP 20-11,2 11,23 275 290 320 3500 350
KP 2014 14,53 265 290 320 3500 350
KP 2016 16,85 260 290 320 3000 300
KP 2020 21,14 210 230 250 3000 300
KP 2025 26,42 180 200 220 2500 300
KP 2031,5 33,03 140 160 180 2000 300
p;= Max. continuous pressure  p,= Max. intermittent pressure ps= Max. peak pressure

The values in the table refer to unidirectional pumps.
Reversible pump max pressures are 15% lower than those shown in table.
For different working conditions please consult our sales department.




Kappa 20

KAPPA 20 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD 82 E2

EUROPEAN FLANGED PORTS - 4 Bolts
Metric thread 1ISO 60° conforms to ISO/R 262

A 0o
] 38
g 39.7 B c 9 15 5 7%
< (1.563) (0.354) (0.591) 0.197) 5|88
o S|~
e AJ T Q==
5]
8 " 4 S ~lT = .
— ot Sle =% g o >—
s = G = = e & =
©|8 =R il = =
s s |
- T
1:8 TAPER D 71.5 13
- UNI 5589
X o ORUE 140 Nen 2 815) (0521 TOROUE 40 Nm
g E 89.5 12 Depth 30 (354 Ibf in)
X (3.524) ~ 0A4T® (1181
o9 S=3
°e S|88 f 777777777777 T
oo e
0§82 : L . R
= N =
Ll oo . > o~m g
A fM_J P N A I < R 4_@ 2\0 222 /_\ 9 <
sl= a ~e s
hat fasuy )

(0. 124x0.256x0.630)
‘ 12 +0.035

G 1/4
(0.474) 19 10 Depth
(0.471) 0.748) | (o.{gg?
27,8 L

(1.094)

| |

i | 2 VAR =R

. ‘ 9 / FAHFJ ‘

3. 15x6. 5x16 ! @‘g || Sipy |
- | S

| |

| |

A B C D E
Pump type p mm mm mm mm
(in) (in) (in) (in) (in)
KP 20-4 (3?31'455) (2.63%2)
KP 20-6,3 (3.95(213) (26.421651) D’\gp?h 13 30
0-82 E2-L EA/EA-N 925 65 12 (0.512) (1.181)
KP 208 (3.642) (2.559) (0.472)
KP 20¢11,2 g (3.7%0) (2.67)
KP 20-14 B (3%33?7) (2.%;8)
KP 20-16 E (411?155;?1) (27.3'554) M8
KP 20+20 0-82 E2-L EB/EA-N (4&59) (3.71910) Di‘z)tth (0.17?18) (1.‘;%5)
kP 20:25 WBy | oBe | O
KP 20-31,5 (5%]?]?8) (3.82228)

Rotation: S=left - D=right - L=reversible side drain - R=reversible rear drain - B=reversible internal drain
How to order:

KP 20+4 S0-82 E2-L EA/EA-N

Replaces: 01/01.02

02/09.02



Kappa 20

KAPPA 20 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD 82 E2

Replaces: 01/01.02

02/09.02

GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228

A wo
8
S 39.7 B 9 15 5 %
o 11.563) (0.354) (0.591) 0.197) <188
g R= =
T ‘J T Q==
8 [
e ’ NERERS
1 { I Sle X% gl® T —
5 3 T = TR
Ol @™ !
o e
. M 12x1.5
Mk TOROUE. 140 Nm ¢ e s UNI 5589 4
(1239 Iof in) o 20 Dep (Tgeftfgrm)Nm
8 . in
s (3.524)
o0 O —_ -
3 <83 T T T T T
[ — == £
CIpVEN he i r\; NS §§E =
| I|8%
"ee = i *%\ olus 2|2
gl L 8B e
- - = @%ﬁ)@&
g | B
s L :

(0. 124x0.256x0.630) —

|
|
H} : . } IS =
3. 15x6. 5x 16 ! “3 > |
|
|
|

|
|
}
=
|
|
|

‘ Iz10.035 19 @: G 174
(0.474)
(0.471) 0. 148 (]g-[?g‘?{h
B
27.8
(1.094] - |
A B C
Pump type — mm
mm
(in) (in) (in)
87,5 60
KP 20+4 (3.445) (2.362)
90 62,5 G 1/2
KP 20+6,3 (3.543) (2.461) Depth
0-82 E2-L GD/GD-N 925 65 20
KP 20-8 (3.642) (2.559) (0.787)
s 96 68,5
KP 20-11,2 5 (3.780) (2.697)
100 67
KP 2014 L (3.937) (2.638)
R 105,5 72,5
KP 2016 B (4.154) (2.854) G 3/4
KP 20420 0-82 E2-L GE/GD-N (@50 @.110) o5
120 -2 (0.866)
KP 2025 (4.724) (2.835)
130 82
KP 20+31,5 (5.118) (3.228)

Rotation: S=left- D=right - L=reversible side drain - R=reversiblerear drain - B=reversible internal drain

How to order:

KP 20+4 S0-82 E2-L GD/GD-N




Kappa 20

KAPPA 20 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD 82E2-P

GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228
88 307 A
oo (1.563) |
TS 5 15 9
s 8|<<  (0.197) (0.591) (0.354)
2 Q== w w
: T
~j© - 1 = © ~
o] e [
—= > < | - ©
= o™ | = = NI
=) O =
i TT%FI;%RE 140 N 7.5
MAX . U m
(1239 Ibr in] o M 12¢1.5 (2.815)
K TOROUE 40 N o
< m
e o= — (354 Iof in) (3.524]
O~ <
2 S88
$¢ __ Jles
[IPNEN I ‘ ‘
“lss ] D |-
e« [ O I O IR b ‘ ‘
N & = | |
g 3. 15x6. 5x 16 1 | \
g (0. 124%0.256x0.630) |7 £0.035 | @:
© G 1/4
g 0.474) | ! |
8 (0.471) | .50 |
[GB1
21.8
(1.094] L _
Rear ports version.
A B C
Pump type
mm mm mm
(in) (in) (in)
84,5
KP 204 (3.327)
. 87 G 1/2
KR0S 0-82 E2-P GD/GD-N (3425 Depth L
- - - 89,5 17 (0.748)
KP 208 (3.524) (0.670)
93
D 112
KP 20-14 R (4.409)
115,5
KP 20-16 [= (4.547) G /4
122 Depth 22
KP 2020 0-82 E2-P GE/GE-N (4.803) 18 (0.866)
(0.709)
KP 20+25 .
140
KP 20+31,5 (5.512)
Rotation: S=left - D=right - R=reversible reardrain - B=reversible internal drain
How to order:
KP 204 S0-82 D/GD-N

Replaces: 01/01.02

02/09.02



Kappa 20

KAPPA 20 HYDRAULIC GEAR PUMPS SAE STANDARD

Replaces: 01/01.02

02/09.02

SAE STRAIGHT THREAD PORTS J514
American straight thread UNC-UNF 60° conforms to ANSI B 1.1

B 106,2 13 6.4
— 0.512) (0.252)
3 3 K
23 [ = og
o k=4 O — —
= . 0o ©
5 5 B 1= 22
! g2 IS @ s
7/8-14 UNF-2B
(5.118)
% s2 Type  ———— — — — —
: N T
8 ‘ ‘ |3 ‘
& g - -
g 3 | Dj e ] < |
& |
= 7
8|3 == |
= -
1 | ¢ 7/16-20 UNF-2B |
| 10 Depth ‘
(0.394)
| 03] |
OR 2300 L J
Side ports version (L) - To order see page 22
A B C Ports code
Pump type
mm mm
) im IN ouT
89,5 62
KP 20+4 (3.524) (2.441)
92 64,5
KP 20+6,3 (3.622) (2.539)
7/8-14 UNF-2B ocC
KP 208 242 o
(3.720) (2.638)
98 70,5
KP 20¢11,2 (3.858) (2.776)
102 69
KP 2014 (4.016) (2.717) oc
107,5 74,5
KP 2016 (4.232) (2.933)
114 81
KP 2020 (4.488) (3.189) 1-1/16-12 UN-2B oD
122 74
KP 20425 (4.803) (2.913)
132 84
KP 20+31,5 (5.197) (3.307)




Kappa 20

KAPPA 20 HYDRAULIC GEAR PUMPS SAE STANDARD
SAE FLANGED PORTS J518 - Standard pressure series 3000 PSI
Metric thread 1ISO 60° conforms to ISO/R 262
A
B ¢ 106. 2 6 13 6.4
— {0.512) 10.252)
g o
T i co
= e glss
— - o<
% N . v e | B8 SRS
s @ N = & /22
o
©|3 — —
S | L
D A
(5.118)
e
& s2Type ]
g \ 3 |
8 ~le
| N2
=t
— g @ |
| g} 7/16-20 UNF-2B |
I 12 Depth
(0.473)
OR 2300 | (031 |
Side ports version (L) - To order see page 22
A B c D E F G H | L Ports
Pump type code
mm mm mm mm mm mm mm mm mm mm
(in) (in) (in) (in) (in) (in) (in) (in) (in) (in) IN | ouT
101,5 62
KP 20-4 (3.996) | (2.441)
. 104 645 | M8
KP 20-6,3 (4.094) | (2.539) | Depth 12,5 38,1 17,5
1065 | 67 12 |(0.492) | (1.500) | (0.689) MA
KP 20-8 (4.193) | (2.638) | (0.472) M8
111 70,5 Depth | 12,5 | 381 | 17,5
OGAREVR ( 370) | (2.776) 12 |(0.492) | (1.500) | (0.689) MA
116 69 (0.472)
LG (4 567) | (2.717)
119,5 | 745 19 47,6 | 22,2
OSZUEI (4.705) | (2.933) | 10 | (0.748) | (1.874) | (0.874) MB
126 81 Depth
OGPIVZIORE () o61) | (3.189) | 12
134 74 | (0.472) M 10
KP 2025 (5.276) | (2.913) 25,4 52,4 26,2 | Depth 19 47,6 22,2
144 84 (1.000) | (2.063) | (1.031) | 12 | (0.748) | (1.874) | (0.874) | MC | MB
WGAEREIEE (5 669) | (3.307) (0.472)

Replaces: 01/01.02

02/09.02



Kappa 20

KAPPA 20 HYDRAULIC GEAR PUMPS SAE STANDARD

Replaces: 01/01.02

02/09.02

SAE STRAIGHT THREAD PORTS J514
American straight thread UNC-UNF 60° conforms to ANSI B 1.1
A 106, 2
— 8 (4.181) =
RS I~ =2
- o O |- — D j=}
. JE% =i ] s ~le
oo —( 1 S|o I@
| ]
6.4 13 .
©.2%2) " (0.512) (5.118)
S2 Type r T
OR 2300 ‘ ! ‘
| | & |
_ ‘ 1 o |
N B |
g S A =17 | - |
3 @ | |
8 = ‘ 7/16-20 UNF-2B ‘
S - { "o Depth
‘ (0.394) ‘
1031
Rear ports version (P) - To order see page 22
A B C Ports code
Pump type
mm mm
(in) (in) IN ouT
86,5
KP 20+4 (3.406)
89
KP 20-6,3 (3.504) " , 19
91,5 7/8-14 UNF-2B (0.748) oC
KP 20112 (3.720)
KP 2014 (4458) oc
KP 2016 (4639
KP 2020 (4%532) 1-1/16-12 UN-2B (0;266) oD
KP 2025 5107)
KP 20+31,5 (5.591)




Kappa 20

KAPPA 20

HYDRAULIC GEAR PUMPS SAE STANDARD

SAE STRAIGHT THREAD PORTS J514
American straight thread UNC-UNF 60° conforms to ANSI B 1.1

B 13 9.7
_ (0.512) (0.382)
< ] 8 i 05*
=) — E% S 2 g olss
- fj NCERYE 1 588
ol 22 =B h e2a
T = I - =
\ -
c 7/8-14 UNF-2B
(6.850)
7 | |
: | 2|
— 6 | |
g I o | |
5 \ Cé 7/16-20 UNF-28 |
S ‘ 10 Depth
) | -
Side ports version (L) - To order see page 22
A B C Ports code
Pump type
mm mm
(in) (in) IN out
89,5 62
KP 20-4 (3.524) (2.441)
92 64,5
KP 20+6,3 (3.622) (2.539)
7/8-14 UNF-2B oc
94,5 67
KP 208 (3.720) (2.638)
98 70,5
KP 20-11,2 (3.858) (2.776)
102 69
KP 2014 (4.016) (2.717) oc
107,5 74,5
KP 20-16 (4.232) (2.933)
114 81
KP 20+20 (4.488) (3.189) 1-1/16-12 UN-2B oD
122 74
KP 20-25 (4.803) (2.913)
132 84
KP 20-31,5 (5.197) (3.307)

Replaces: 01/01.02

02/09.02



Replaces: 01/01.02

02/09.02

Kappa 20

KAPPA 20 HYDRAULIC GEAR PUMPS SAE STANDARD
SAE FLANGED PORTS J518 - Standard pressure series 3000 PSI
Metric thread 1SO 60° conforms to ISO/R 262
A
B ¢ 146 13 9.7
(5.748) _ (0.512] (0.382)
”|Q g
=l 4 -3 Y B 288
rl e Lt Sk ﬁi IR =
s © N w - % % — & &Sv
©|3 — —
O. —
D 174 H
(6.850)
M |
g
3
3
e | |
s | |
| 7/16-20 UNF-2B |
i 12 Depth
| 10.473) |
B (03] N
Side ports version (L) - To order see page 22
A B c D E F G H | L Ports
Pump type code
mm mm mm mm mm mm mm mm mm mm IN ouT
(in) (in) (in) (in) (in) (in) (in) (in) (in) (in)
101,5 62
KP 20+4 (3.996) | (2.441)
104 645 | M8
WURZVEIERN (4.094) | (2.539) | Depth | 12,5 | 381 | 17.5
106.5 67 12 | (0.492) | (1.500) | (0.689) MA
KP 20-8 (4.193) | (2.638) | (0.472) M8
111 70,5 Depth | 12,5 | 381 | 17,5
(LR (1370 | (2.776) 12 |(0.492) | (1.500) | (0.689) MA
116 69 (0.472)
NGPOREE (1 567) | (2.717)
119,5 | 745 19 47,6 | 22,2
ORI (4.705) | (2.933) |y 10 | (0.748) | (1.874) | (0.874) MB
126 81 Depth
NGAUPZRE () 961) | (3.189) | 12
134 74 |(0.472) M 10
KP 20-25 (5.276) | (2.913) 25,4 52,4 26,2 Depth 19 47,6 22,2
144 84 (1.000) | (2.063) | (1.031) | 12 |(0.748) | (1.874) | (0.874) | MC | MB
KP 20:31,5 N NEELT) (0.472)




Kappa 20

KAPPA 20

HYDRAULIC GEAR PUMPS SAE STANDARD

SAE STRAIGHT THREAD PORTS J514
American straight thread UNC-UNF 60° conforms to ANSI B 1.1

A 146
(5.748)
g 5 [ -l
a2 oo G
SN T s
= —lo® — ! -5
= — - sls S
=2 2/< ©
i =
9,7 13
(0.382) (0.512) (6.850)
: T P 1 Ngo |
2 ik | |
8 _ « ‘ g} 7/16-20 UNF-2B |
= - [ " 7710 Depth
‘ (0.394) ‘
B (03] N
Rear ports version (P) - To order see page 22
A B C Ports code
Pump type
mm mm
(in) (in) IN ouT
86,5
KP 204 (3.406)
KP 20+6,3 (3.504) 1
9‘1 5 7/8-14 UNF-2B (0.748) oC
KP 208 (3.6’02) '
KP 20+11,2 (3.720)
KP 2014 (4438) oc
KP 2016 (4539
124 22
KP 2020 (4.882) 1-1/16-12 UN-2B (0.866) oD
KP 2025 5aen
142

Replaces: 01/01.02

02/09.02



Replaces: 01/01.02

02/09.02

Kappa 20

KAPPA 20 END DRIVE SHAFTS

SAE “A” SPLINE

Ext. Involute Spline SAE J498B
with major diameter modified
9 teeth - 16/32 Pitch - 30 deg

PIANO DI MONTAGGIO
MOUNTING FACE

Flat Root - Side fit - Class 1 31.5

(1.24) -

=4 ©

B PR o

05 ] T ;

vl o n

S5 23.8 g

<lss 0.937) 3

MAX 100 Nm (885 Ibf in)

SAE SPLINE

Ext. Involute Spline SAE J498B

PIANO DI MONTAGGIO

with major diameter modified MOUNTING FACE
10 teeth - 16/32 Pitch - 30 deg 35.6
Flat Root - Side fit - Class 1 : =
(1.441) E
O ~N
)
oo = 5
gy E
o
<88 27,90 S
Jss (1.098)

MAX 100 Nm (885 Ibf in)

SAE SPLINE

[ o7 |

Ext. Involute Spline ANSI B92.1
with major diameter modified
11 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 5

PIANO DI MONTAGGIO
MOUNTING FACE

31.5
(1.24)

T

¢ 19 -0.10
(0.748)
(0.744)

DO0B-160/0701

23.8
(0.937)

MAX 170 Nm (1505 Ibf in)

SAE “B”SPLINE

Ext. Involute Spline SAE J498B
with major diameter modified
13 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 1

-0.120
|

0

@ 21.8
(0.858)
(0.854)

PIANO DI MONTAGGIO
MOUNTING FACE
41.2
(1.622)

DO06-D75/060 1

(1.311)

MAX 300 Nm (2655 Ibf in)

‘ SAE “A” STRAIGHT

PIANO DI MONTAGGIO

MOUNTING FACE +8,03

31,5 3,97

(1.24) (0. 157}

{0.156)
: T & .
?o\n ~|o 2

®|B = o

283 L Be 28 :

2w (0.937) s S

ee e |
= 3,97x3,97x18 ©
(0. 156x0. 156x0.709) &
MAX 70 Nm (620 Ibf in)
PIANO DI MONTAGGIO
MOUNTING FACE -0.03
53.8 ,, 4.1670-06
(2.118) (0. 186)
- (0. 185)

— +0, 04 é
8 § 44‘5 19 +0,02 g
Qs {1.752] " 0.750) ©

(0.749) ®
4,76x4, 76x28.5 8
(0. 187x0. 187x1. 122)
MAX 140 Nm (1239 Ibf in)
Q
PIANO DI MONTAGGIO o
MOUNTING FACE 5 0,03
3 =2 4,7670.06
.22 2 0. 186)
L e (0. 185)
. ' +0.04 .
<] 13 19002
S|z 0.512) T10.750) o
= 24 (0.749) %
(0.945) 4,76x4, 76x19 8
c

(0. 187x0. 187x0.748)

MAX 100 Nm (885 Ibf in)

‘ SAE “B” STRAIGHT

PIANO DI MONTAGGIO

S 41 2 [MOUNTING FACE +0.03
%, [1.628] 6.35 0
Nes [ las g || 0.0
= = . <
Nl 3 <= (0.250)
/22 e

6.35x6. 35x25. 4
(0.250x0.250x1.000)

DOOB-DT7 /0601

MAX 200 Nm (1770 Ibf in)




Kappa 20

HOW TO ORDER SINGLE PUMPS

H BH H B H O E DI

Pump Drive

type ‘ Rotation ‘ Version ‘ - ‘ shaft Mounting ‘ - ‘ ngir[t;n ‘ II\FI‘/OOHUST ‘ - ‘ Seals ‘
KP20+4 S (0] 03 L OC/oC - N
1 . Pump type ——
cm’/rev
4,95 KP 20-4
6,61 KP 20+6,3
8,26 KP 20-8 Ports INJOUT
11,23 KP 20-11,2 SAE STRAIGHT THREAD PORTS (ODT)
14,53 KP 20-14 Pump type
16,85 KP 20-16 KP 20+4
21.14 KP 20-20 KP 20+6,3
26,42 KP 2025 KP 20-8
33,03 KP 20+31,5 KP 20-11,2
_ KP 20+14
Rotation KP 20+16
Left KP 20+20
Right KP 20+25
Reversible KP 20315
Reversible internal drain METRIC SAE SPLIT PORTS SAE J518 C
3 Version Rear Pump type
Without outboard bearing KP 20-4
KP 20+6,3
4 Drive shaft KP 20-8
SAE “A” spline (9 teeth) KP 20+11,2
SAE spline (10 teeth) KP 2014
SAE spline (11 teeth) KP 2016
SAE “B” spline (13 teeth) KP 2020
SAE “A” straight KP 2025
Straight KP 20+31,5
Straight
SAE “B” straight Seals (b)
Buna (standard)
Mounting flange Buna with high back pressure shaft seals
SAE “A” 2 holes Viton
SAE “A” 2 holes (with o-ring seal) Viton and Bronze thrust plates

SAE “B” 2 holes (a)

(a) Available only with 04 and 32 shaft

(b) Choose the seals according to the temperature
shown on page 1

ORDER EXAMPLE

Standard pump

KP 204 SO - 03 S1-L OC/OC -N

Special version pump KP 20+4 SO - 04 S5 - L MA/MA -V Bz

01/01.02



Hydraulic gear pumps
two pieces cast iron housing

DISPLACEMENTS
From 4,95 cm3irev
To 73,82 cmClrev

e |
[
=
@
1 — ——
-

PRESSURE = MAX. SPEED
Max. continuous 285 bar " 4000 mint
Max. intermittent 300 bar min
Max. peak 330 bar

® High operating pressures
® High efficiency at high temperature

® Exceptional working life expectancy

KAPPA pump and motor units consist essentially of a housing and a mounting flange in cast iron of superior me-
chanical specifications. KAPPA is available with mountig flanges and side orrear ports according to SAE and Eu-
ropean standard. The rigidity of assembly and the compact design of KAPPA pumps and motors ensure reliability
and high volumetric efficiency also at high operating pressures. Infinite care and attention is taken over the design
and construction of each single component, and with quality monitored unceasingly, the result is aconsistent, per-
fectly balanced assembly that guarantees unbroken service under the most arduous operating conditions.
KAPPA series is the right choice wherever noise, contamination, non inflammable fluids and size are critical fac-
tors. The wide choice of combinations of mounting flanges, shafts and ports ensure to KAPPA series to be applied
in a vast range of application.



Replaces: 01/01.02

02/09.02

Kappa

FEATURES

Construction

External gear type pumps and motors

Mounting

EUROPEAN - SAE - ISO standard flanges

Line connections

Screw and flange

Direction of rotation (looking on drive shaft)

Anti-clock (S) - clockwise (D) - reversible (L, R or B)

Inlet pressure range for pumps

0,7 + 3 bar (abs.)

Max back pressure for single rotation motors

p1 (continuous) max 5 bar

p2 (for 20 s) max 8 bar

ps (for 8 s) max 15 bar

Max drain line pressure on the reversible rotation motors

5 bar

Max back pressure on the series motors

150 bar

Fluid temperature range

See table (1)

Fluid

Mineral oil based hydraulic fluids to ISO/DIN and fire
resistant fluids [see table (1)]. For other fluids please
consult our technical sales department.

Viscosity range

From 12 to 100 mm?s (cSt) recommended

Up to 750 mm?/s (cSt) permitted

Filtering requirement

See table (2)

Tab. 1
. " M M T
Type Fluid composition ax [%raer?sure eE;isnp?]ed emr[J:eCr?ture Seals (#)
Mineral oil based hydraulic See page See page .25 = +80 N
ISO/DIN fluid to 1SO/DIN 3-4 3-4 N-H
-25 + +110 \
HEA Oil emulsion in V\_/ater 50 1500 2 .55
5 + 15% of ol
N
Water emulsion in oil i
HFB 40 % of water 120 1500 2+60
HFC Water - glycol 100 1500 -20 + +60 N Bz
HFD Phosphate ester 150 1500 -10 + +80 V Bz

(®) N=Buna N (standard) - N-H= Buna N and high back pressure shaft seals - V= Viton
N Bz= Buna N and Bronze thrust plates - V Bz= Viton and Bronze thrust plates

Tab. 2

Working pressure

Contamination class NAS 1638

Contamination class ISO 4406

Achieved with filter Bx=75

Ap > 200 bar| Ap < 200 bar
8 10
19/17/14 21/19/16
10 um 25 um

GENERAL NOTES

Available with different inlet and outlet ports. If you use fire resistant fluids specify the type of them at




Kappa

¢0°10/10

DEFINITION OF ROTATION DIRECTION LOOKING ON THE DRIVE SHAFT

Clockwise rotation Reversible rotation

Anti-clock rotation

PRESSURE DEFINITION

P3
P2
Py

t sl

Max. 8 s

p: Max. continuous pressure

[(1sd)] - [Joq] d

Max. 20 s

p2 Max. intermittent pressure

ps Max. peak pressure




Kappa

KAPPA 30 GENERAL DATA PUMPS

Pump type

KP 3027
KP 3034
KP 3038
KP 3043

KP 3051
KP 3056
KP 3061
KP 3073

p:= Max. continuous pressure

Max. pressure
Displacement Max. speed Min. speed
P1 ‘ P2 ‘ p3
cm®/rev bar min *
26,7 280 300 310 3000 350
34,56 260 280 300 3000 350
39,27 260 280 300 3000 350
43,98 250 270 290 3000 350
51,83 230 250 270 2500 350
56,54 215 235 255 2500 350
61,26 200 220 240 2500 350
73,82 180 200 220 2500 350

The values in the table refer to unidirectional pumps.
Reversible pump max pressures are 15% lower than those shown in table.

For different working conditions please consult our sales department.

p.= Max. intermittent pressure

ps= Max. peak pressure

01/01.02



Replaces: 01/01.02

02/09.02

Kappa 30

KAPPA 30 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD 83 E3

EUROPEAN FLANGED PORTS - 4 Bolts
Metric thread ISO 60° conforms to ISO/R 262

122

™M
(4.803) K
47 1 F 20 5 o
(1.850) (0.433) (0.787) 0.197) & 28
r sz =
‘ = 5.3 s
= , 5 ¥88s 3 [
|5 |2 % e e 2 e
Q ; “le ’ U; - ‘
M 14x1.5
1:8 TAPER
D oW
2 Izzito uE'?“ in) S LE_J ) M (620 Ibf in)
o
o s — — —
S om —|83
S ~NISS
5 o - a2 | _
Q TTIB8 ! NG
o ~ |- >
8 oo
a -~—IW:J%A, ] B [}

b
4x7,5x19 | I

0. 157x0.295x0 . 748) |
\

1" 2:0.35
{0.455)
(0.427) (0906
32.6
ey
A B C D E F G H |
Pump type
mm mm mm mm mm mm mm mm mm
(in) (in) (in) (in) (in) (in) (in) (in) (in)
133 85
KP 30-27 (5.236) | (3.346)
138 90
KP 3034 (5.433) | (3.543)
141 93
KP 30-38 (5.551) | (3.661) | 1 10 M 8
S 144 96 | Depth | 27 51 | Depth | 19 40 130
KP 30443 D 0-83 E3-L ED/EB-N | (5.660) | (3.780) | 17 |(1.063)|(2.008)| 17 |(0.748)|(1.575)|(5.118)
149 93 |(0.669) (0.669)
KP 3051 NS (5.866) | (3.661)
R 152 97
KP 30-56 & (5.984) | (3.819)
155 | 100
KP 3061 (6.102) | (3.937)
M 12 M 10
163 108 33 62 | Depth | 27 51 135
KP 30-73 0-83 E3-L EFED-N | (5.417) | (4.252) | "37" | (1.299) | (2.441)| 17 |(1.063)](2.008) | (5.315)
(0.669) (0.669)

Rotation: S=left - D=right - L=reversible side drain- R=reversible rear drain - B=reversible internal drain

How to order:

KP 30+27 S0-83 E3-L ED/EB-N




Kappa 30

KAPPA 30 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD 83 E3
GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228
A 122 ng
(4.803) G5
47 B 20 5 T
{1.850) (0.433) (0.787) 0.197) 5|8
— Y —@@5 2328 e 5 TCOOHD
et SA e e e | Y& \
s =3 AC T =
8= | | L | @ [=HEE
, ‘ M 14xt5 7
1:8 TAPER c 9% 6 UNI 5589
MAZX4 oTohTrSUE - (3.856] 22 Depih TORQUE 70 Nm
(2124 1of in) S 0.866) (620 Ibf in)
Q
B L
g o8 S8 N
S °e seS | R
S 99T s : f £_ \
® ~ |2 T 8V% ‘ =4
g ey olns S
i ﬁrﬁi o e o) ‘(/} - @élé&@m - ‘
Ny | ||
4x7,5x19 | ‘X%EJ / \
0 I57xo.295xo.74?) w0 5 _5 : i JQ |
o2 L E—
0.455) 23 Q} G 3/8 \
(0.427) 0.906) i (105 5Dge[i>)Th ‘
326 (GC]
ee3 1 L _]
A B C D
Pump type
mm mm mm mm
(in) (in) (in) (in)
133 85
KP 30-27 (5.236) (3.346)
138 90
KP 3034 (5.433) (3.543)
141 93
KP 3038 < (5.551) (3.661)
G1
144 96 130
KP 3043 D 0-83 E3-L GF/GF-N (5.669) (3.780) D(%péhﬁﬁz)z (5.118)
L 149 93 '
KP30-51 [y (5.866) (3.661)
152 97
KP 3056 N:=] (5.984) (3.819)
155 100
KP 30-61 (6.102) (3.937)
G11/4
163 108 135
KP 30-73 0-83 E3-L GG/GF-N (6.417) (4.252) D(((e)p;252)4 (5.315)

Rotation: S=left - D=right - L=reversible side drain - R=reversible rear drain - B=reversible internal drain

How to order:

KP 30+27 S0-83 E3-L GF/GF-N

Replaces: 01/01.02

02/09.02



Kappa 30

KAPPA 30 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD 83 E3

Replaces: 01/01.02

02/09.02

GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228
mo 47T A 122
do (18507 4.803)
66 ' 'w == 5 20 B
2.298) _ S|&g  (0.197) 10.787) 0.433)
y - } o & = =
S @1(\ I s R ey g8 I <
: | s Tle { [] ONEGEYG -
1:8 TAPER ‘
G G MAX.TORQUE 240 Nm M 14x1,5 98
10 Depth 10 Depth (2124 1bf in) 4 UNI 5589 (3.858)
(0.394) (0.394) © TORQUE 70 Nm
Q (620 Ibf in)
Blaz
(o'} -~—
o8 ~Nge . e 7
eolTg S Efﬁ:’
<28 ‘ | 5 |
S » ol
== ! ~| e
. e | Z |
i A « \ \
g e ] BN ‘ |
< . A
3 4x7.5x19 11 22035 e |
8 (0. 157x0.295x0.748) (0.455] | 638 |
o
3 [03 .24267) ‘ (lgi gge?)*h ‘
(12831 L _]
Rear ports version.
A B
Pump type
mm mm
(in) (in)
148
KP 3027 (5.827)
153
KP 3034 (6.024)
156 143
KP 3038 (6.142) (5.630)
S
KP 30.43 [ (6.260)
R 0-83 E3-P GF/GF-N 164
KP 3051 B (6.457)
167
KP 3056 (6.575)
170 148
KP 3061 (6.693) (5.827)
178
KP 3073 (7.008)
Rotation: S=Left - D=Right - R=reversible rear drain - B=reversible internal drain
How to order:
KP 30¢27 S0-83 E3-P GF/GF-N




Kappa 30

KAPPA 30 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD A8 E3

EUROPEAN FLANGED PORTS - 4 Bolts
Metric thread ISO 60° conforms to ISO/R 262
A 122 Mo
oo
(4.803) co
2 B C 1 F 20 5 '0:3 o
(1.654) (0.433) 1 .7871] [[To.197) 5|8 8
+- —_—
_®Q ==
WL = 3 |
S 883 Sé & |z |FCeme)
3% = =l s 5
Nig NOmEY - ] l
S E 96858) :
3 H
]
- Ext. Involute Spline SAE J4988
9 with major diameter modified T
2 13 teeth - 16/32 Pitch - 30 deg L
Flat root - Side fit - Class 1 \ \
I MAX. TORQUE 280 Nm | 2|
o3 (2478 1bf in) e
©|z5 | ] | = |
SEE | oz |
alee 2 §
L _ RS |
| | |
: L
33.3 ‘ ‘
(1.310) .- _]
A B C D E F G H |
Pump type
mm mm mm mm mm mm mm mm mm
(in) (in) (in) (in) (in) (in) (in) (in) (in)
133 85
KP 3027 (5.236) | (3.346)
138 90
KP 30-34 (5.433) | (3.543)
141 93
KP 30-38 (5.551) | (3.661) | 10 8
. S 144 96 Depth 27 51 Depth 19 40 130
KP 30-43 D 0-A8 E3-L ED/EB-N | (5.669) | (3.780) 17 (1.063) | (2.008) 17 | (0.748) | (1.575) | (5.118)
149 93 (0.669) (0.669)
KP 30-51 WS (5.866) | (3.661)
R 152 97
KP 30+56 B (5.984) | (3.819)
155 100
KP 30-61 (6.102) | (3.937)
M 12 M 10
163 108 | Depth 33 62 Depth 27 51 135
KP 30-73 0-A8 E3-L EF/ED-N | (61417) | (4.252) | 19 |(1.299) | (2.441)| 17 |(1.063)|(2.008) | (5.315)
(0.669) (0.669)
Rotation: S=left - D=right - L=reversible side drain - R=reversible rear drain - B=reversible internal drain
How to order:
KP 3027 S0-A8 E3-L ED/EB-N

Replaces: 01/01.02

02/09.02



Kappa 30

KAPPA 30 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD 84 E4

Replaces: 01/01.02

02/09.02

EUROPEAN FLANGED PORTS - 4 Bolts
Metric thread ISO 60° conforms to ISO/R 262

(0.663)

(0.636) Y
41.8 I6C1 J

(1.646)

A 143
5.630)
57.6 B c i 20 5
ol3 2.268) (0.433) (0.787) (0. 197)
sy E |8 J -+ 88.
g2 Te ¥ ‘ ¢¢
=T S S
— — L 6 ~ r~
o ol »&8 Y — g HERE
— [ | IR B S gaan: e -3 T [ ASHERS
© Tz ~|e 3|
1:8 TAPER i - =
N MA);SOT(R‘RQUE
(=3 m .
S (3098 Ibf in) L) wmiext.5
g UNI 5589
3 D 114,3 Mio 21 TORGUE
a I 1
‘ S 14.500) 17 Deptn {1.063) 70 Nm
S 2 E : 51 (620 Ibf in)
(&) < | — —
o SRE (2.008)
5o e
5% - s i
SIER ! I = |
~les @ |
4,75x10x25 ‘H ‘
(0. 187x0.394x0.984) i f |
| 16,5 1035 @:
[
]

A B c D E F
Pump type
mm mm mm mm mm mm
(in) (in) (in) (in) (in) (in)
KP 3051 0-84 E4-L ED/ED-N 150 94 Depth 17 27 51 130
S (5.906) | (3.701) (opeeg) (1.063) (2.008) (5.118)
5 .
156 101
(PSO-l My 0-84 E4-L EF/ED-N 0142 | (3.976) 17 33 62 135
B ¥ ) ) 164 109 ep (1.299) (2.441) (5.315)
KP 3073 (6aa7) | (491 | (0-669)

Rotation: S=left- D=right - R=reversible rear drain - B=reversibleinternal drain

How to order:

KP 30+51 S0-84 E4-L ED/ED-N




Kappa 30

KAPPA 30 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD 84 E4

GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228
A
57.6 B 11 20 5
wls (2.268) (0.433) (0.787) (0.197)
w8 28 1 N 38
52Tl N ¢
Ris s
B — 1 fanV] | (=)
= = . - S|m =
SRR E le-'z 0D i
N © @l <= }
A & N = iu N
1:8 TAPER ‘ B B ‘
MAX. TORQUE 350 Nm [ ] ORECE &) 1 2556
(3098 Ibf in) L ‘ TORGLE 70 K
c 114,3 G 1 o
© [P : (620 Ibf in)
© (4.500) ﬁ)z ggg;h
o .
I 143
CINEY (5.630)
o NIEE:
5o Nes o e
°s __ S5 \
L3 ! ] =
~lsso ®
= v”r—-LJ bl
i — - o
I
o
S 4, 75x10x25 } L i
o
S (0.187x0.394x0.984) . -
2 | 16,5 *03° Q}
é (0.663) I
S (0.636)
41,8
(.46
A B C D
Pump type
mm mm mm mm
(in) (in) (in) (in)
KP 30+51 0-84 E4-L GF/GF-N 150 94 Depth 22 130
s U - - (5.906) (3.701) (%psee) (5.118)
D .
156 101
KP 3061 W3d (6.142) (3.976) G11/4 135
B 0-84 E4-L GG/GF-N 164 1 Depth 24 5.315
KP 30+73 6 09 (0.945) (5.315)
(6.457) (4.291)
Rotation: S=left - D=right - R=reversible rear drain - B=reversible internal drain
How to order:
KP 3051 S0-84 E4-L GF/GF-N

Replaces: 01/01.02

02/09.02



Replaces: 01/01.02

02/09.02

Kappa 30

KAPPA 30 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD A8 E4
EUROPEAN FLANGED PORTS - 4 Bolts
Metric thread 1SO 60° conforms to ISO/R 262
A 143
(5.630)
2 C i 20 5
{1.654) (0.433) {0.787) [0.197)
[ * 58
F'L h B u 839
4 = — — N ; E E
W < .
] 5 IR RIS g2 He |5 5 ala o
©lo © == le |
5% i L e ‘
N s
g . ! | L
% D f 14 3 |7MD:)prh 27
g 14.500) 0.669) (1.063)
S E Ext. Involute Spline SAE J498B 51
o with major diometer modified (2.008)
o 13 teeth - 16732 Pitch - Weg T
N Flat root - Side fit - Class
05 MAX. TORQUE 280 Nm r B
©l5 @ | - (2478 Ibf in) ‘ o g ‘
w8 ! \ M
s - "
! \ |
| 1
| o8
(1.311) \ ‘ [.:s,c%‘]’ff“ \
A B C D E F
Pump type
mm mm mm mm mm mm
(in) (in) (in) (in) (in) (in)
KP 30451 0-A8 E4-L ED/EDN | 130 o4 pepth 17 | .27 51 130
S (5.906) | (3.701) (0”669) (1.063) | (2.008) | (5.118)
5 .
156 101
KP30-61 Qg (6.142) | (3.976) | M12 33 62 135
B 0-A8E4-L EF/ED-N 164 109 Depth 17 | ) 599) | (2.441) | (5.315)
KP 3073 667 | (4sey | (0:669)

KP 30+51 SO-A8 E4-L ED/ED-N

Rotation: S=left- D=right - R=reversible rear drain - B=reversibleinternal drain

How to order:




Kappa 30

Replaces: 01/01.02

KAPPA 30 HYDRAULIC GEAR PUMPS EUROPEAN STANDARD A5 E4
EUROPEAN FLANGED PORTS - 4 Bolts
Metric thread ISO 60° conforms to ISO/R 262
A 143
(5.630)
46,8 B C 11 20 5
(1.843) (0.433) (0.787) (0.197)
N 35
T: ; 59
N
7 ~ N S 8m e
G SEs e |5 > H— alyd
w|s © i >
«;‘g ‘ NZ L <= ‘
3@
N =}
g L] ‘ L
L b) 114,3 Mio 27
o (4.500) 17 Depth " T(1.063)
S E Ext. Involute Spline SAE J498B 45 "5 Nm 51
o with major diameter modified (2.008)
15 teeth - 16/32 Pitch - 30 deg "
° Flot root - Side fit - Closs f ]
s MAX. TORQUE 400 Nm
S - | (3540 Ibf in) = |
Q8L \ 2 |
o 9 o e ‘
| |
| @
38, ;
(1.500) ) \
A B C D E F
Pump type
mm mm mm mm mm mm
(in) (in) (in) (in) (in) (in)
KP 3051 0-A5 E4-L ED/ED-N | 220 9 Depth 17 27 51 130
s ¥ - - (5.906) (3.701) (opesg) (1.063) (2.008) (5.118)
D )
156 101
KP 30-61 QNS (6.142) | (3.976) M 12 33 62 135
B~ B O-ASE4-L EF/ED-N 164 109 D(%pgg;; (1.299) | (2.441) | (5.315)
30-73 (6.457) | (4.291) :
Rotation: S=left - D=right - R=reversible rear drain - B=reversible internal drain
How to order:
KP 3051 S0-A5 E4-L ED/ED-N

02/09.02



Kappa 30

Replaces: 01/01.02

02/09.02

KAPPA 30 HYDRAULIC GEAR PUMPS SAE STANDARD
SAE STRAIGHT THREAD PORTS J514
American straight thread UNC-UNF 60° conforms to ANSI B 1.1
A 90
(3.543)
14.5 9.7
(0.571) (0.382)
. e
= =)
— o] = S D
28 “o 8% =a
Tle = e
w
=3
(5.748)
s
(6.870) [ o
\ = |
_ | 3= |
o | |
3
N - \ 9/16-18 UNF-28 |
o ‘ 15 Depth (0.591) ‘
8 [OA]
& L _
To order see page 33 - 34.
A B C D E Ports code
Pump type
mm mm mm
(in) (in) (in) IN out
164 115
KP 3027 (6.457) (4.528)
1-5/16-12 UN-2B | 1-1/16-12 UN-2B OE oD
169 120
KP 30-34 (6.654) (4.724)
172 123 130
KP 30-38 (6.772) (4.843) (5.118)
175 126
KP 30-43 (6.590) (4961) 1-5/8-12 UN-2B | 1-5/16-12 UN-2B oG OF
180 123
KP 30-51 (7.087) (4.843)
182 127
KP 30+56 * (7.165) (5.000)
KP 3061 (7%38263) (5%13;’8) 1-7/8-12 UN-2B | 1-5/8-12 UN-2B (5%2’;3) OH 0G
194 138
KP 30-73 (7.638) (5.433)
* Available only with 04 and 32 shaft for 0 and 1 version.




Kappa 30

KAPPA 30

HYDRAULIC GEAR PUMPS SAE STANDARD

23.5

158

SAE STRAIGHT THREAD PORTS J514
American straight thread UNC-UNF 60° conforms to ANSI B 1.1

74,5
(6.870)

©)%

Nt

14,5
(0.571)

146
(5.748)

5 9.7
(0.591) (0.382)
8
oo

ICOAR

|20

=] 5|83

- e=e

| g |
| @Wp |
| ) |
g | # |
= | ‘ 9/16-18 UNF-28 |
i ‘ 15 Depth ©0.591) \
g .
To order see page 33 - 34.
A B D E Ports code
Pump type
mm mm mm
(in) (in) (in) IN ouTt
164 115
KP 30-27 (6.457) (4.528)
e 120 1-5/16-12 UN-2B | 1-1/16-12 UN-2B OF oD
KP 3034 (6.654) (4.724)
172 123 130
KP 30-38 (6.772) (4.843) (5.118)
175 126
KP 3043 (6.850) (4.961) 1-5/8-12 UN-2B | 1-5/16-12 UN-2B oG OF
180 123
KP 3051 (7.087) (4.843)
182 127
KP 3056 * (7.165) (5.000)
186 130 135
KP 3061 (7.523) (5.118) 1-7/8-12 UN-2B | 1-5/8-12 UN-2B (5.433) OH oG
194 138
KP 30-73 (7.638) (5.433)

* Available only with 04 and 32 shaft for 0 and 1 version.

Replaces: 01/01.02

02/09.02



Kappa 30

KAPPA 30 SAE VERSION

D006-D72/0701
D006-D73/0701
D006-D74/0701

01/01.02

Version for applications
without radial and axial load on
the drive shaft.

Version for applications with
low radial load and without
axial load on the drive shaft.

Special version with indepen-
dent shaft for applications with
low radial load and without
axial load on the drive shaft.

KAPPA 30 END DRIVE SHAFTS

SAE

SAE “B” SPLINE

‘ SAE “B” STRAIGHT

Ext. Involute Spline SAE J498B PIANO DI MONTAGGIO ~ PIANO DI MONTAGGIO
with major diameter modified MOUNTING FACE o 41,2 | MOUNTING FACE +0.03
13 teeth - 16/32 Pitch - 30 deg oo : 6.35 ©
Flat Root - Side fit - Class 1 41.2 N = [1-622) e (0.251)
(1.622) - s 3.3 12 '

2 Nj= = (1311 & | (0,251

° eSS e

2 S

(‘3 A

8

Q

3

6.35x6.35x25.4
(0.250x0.250x 1.000)

NO06-C77/0€0°

MAX 300 Nm (2655 Ibf in) 4 MAX 200 Nm (1770 Ibf in)
SAE “BB” SPLINE | SAE “BB” STRAIGHT
EXL- |nV(_)|Ut§_SD|inB SAE_?f‘ZBB PIANO DI MONTAGGIO PIANO DI MONTAGGIO
witl major iameter modifie O
15 teeth - 16/32 Spline - 30 deg MOUNTING FACE °e 46__| MONTING FACE +0.03
Flat Root - Side fit - Class 1 46 e 1.8t 1 6,35 © z
(1.811) S S8 . (0.251) 5
o ! 5 822 (1.500) (0.250) N
9 4 5 . L
e & ‘ 1 £
oS > e g 239 o S | 6.3546.35x31.8 ©
oo . _£2.9 | S
ee 09207 Nl =12 10.2500.250x1.252)
MAX 450 Nm (3983 Ibf in) 4 MAX 280 Nm (2478 Ibf in)

@ For “2” version whichever end shaft, the max. torque applicable is M= 170 Nm (1505 Ibf in)




HOW TO ORDER SAE SINGLE PUMPS

Kappa 30

H BH H b H O &

ond | momon [ vewon | [ Bue [ v [ e[ e ] s
KP3027 S (0] 04 S3 L OF/OD = \
1 Pump type

cm®/rev e
26,7 KP 30-27
34,56 KP 30+34
39,27 KP 30-38 Ports IN/OUT 7
43,98 KP 30-43 SAE STRAIGHT THREAD PORTS (ODT)
51,83 KP 3051 Pump type
56,54 KP 30-56 KP 3027
61,26 KP 30+61 KP 3034
73,82 KP 3073 KP 3038
KP 30+43

Rotation KP 3051
Left KP 30456
Right KP 30+61
Reversible KP 30473

Reversible internal drain

Version
Without outboard bearing

With outboard bearing
With outboard bearing and indep. shaft

Drive shaft
SAE “B” spline (13 theeth)
SAE “B” straight

SAE “BB” spline (15 theeth)
SAE “BB” straight

Mounting flange
SAE “B” 2-4 holes
SAE “B” 2 holes

Seals (a)
Buna (standard)

Buna with high back pressure shaft seals
Viton
Viton and Bronze thrust plates

(a) Choose the seals according to the temperature
shown on page 1

ORDER EXAMPLE

Standard pump KP 3027 SO - 04 S3 - L OF/OD - N

Special version pump

KP 30+27 S2 - 32 S3 - L OF/OD - V Bz

01/01.02



Formula

FEATURES

GUARANTEE

CASAPPA provides a two years guarantee for FORMULA pumps on industrial vehicles if used in accordance
with the applications and conditions indicated in this technical catalogue.

WARNI

NG !

Failure or improper use of the product can cause damage at the same product or system.

Make sure that this is the last issue.

Construction

External gear type pumps

Mounting

ISO (ZF), ITALIAN (triangular) and SAE flanges

Line connections

Screw

Direction of rotation (looking on drive shaft)

Anti-clock (S) - clockwise (D) - reversible (R or B)

Inlet pressure range for pumps

0,7 = 3 bar (abs.)

Fluid temperature range

From -25 to +110 °C

Fluid

Mineral oil based hydraulic fluids to ISO/DIN and fire
resistant fluids [see table (1)]. For other fluids please con-
sult our technical sales department.

Viscosity range

From 12 to 100 mm?/s (cSt) recommended

Up to 750 mm?/s (cSt) permitted

Filtering requirement

See table (2)

Tab. 1
Type Fluid composition Max [%raer?sure Me;xmisnp??]ed Tem?oeé?ture Seals
ISO/DIN Mineral oil based hydraulic See page See page -25 + +80 N
fluid to ISO/DIN 3-4-5 3-4-5 -25 + +110 \
QOil emulsion in water
HFA 5 - 15% of oil 50 1500 2+55
N
Water emulsion in oil i
HFB 40 % of water 120 1500 2 +60
HFC Water - glycol 70 1500 -20 + +60 N Bz
HFD Phosphate ester (e) 150 1500 -10 + +80 V Bz

(e) For skydrol phosphate esters please consult our technical sales department.

Tab. 2 (o]

Working pressure Ap > 200 bar| Ap < 200 bar
Contamination class NAS 1638 8 10
Contamination class ISO 4406 19/17/14 21/19/16
Achieved with filter Rx>75 10 pm 25 um

Casappa recommends to use its own
production filters:

034-000



Formula

DEFINITION OF ROTATION DIRECTION LOOKING ON THE DRIVE SHAFT

Anti-clock rotation Clockwise rotation Reversible rotation

PRESSURE DEFINITION

.Eg:
- A P3
e R ——  —— P2
3 [y Rk ik N iy’ it Wy 7777\_777777 ]
Q
t [s]
Mox. 20 s Mox. 8 s

ps+ Max. continuous pressure
p2 Max. intermittent pressure
ps Max. peak pressure

GENERAL NOTES

Available with differentinlet and outlet ports. Standard pumps are equipped with BUNA N (N) seals for
temperature up to 80 °C, for particular operating conditions (V) VITON seals and BUNA or VITON se-
als with bronze thrust plates (N Bz), (V Bz) are available. If you use fire resistant fluids specify the type
of them at the order. For more information please consult our technical sales department.

034-000



Formula

FORMULA 20 GENERAL DATA PUMPS m

Max. pressure Intermittent max. speed Min. speed
Displacement
Pump type p1 ‘ p2 ‘ pPs3 At p, press. | Without load | At p, press.
cmi/rev O bar min '

FP 208 (e) 8,26 280 310 325 2000 4200 300
FP 2011,2 (o) 11,23 280 310 325 2000 4200 300
FP 2016 16,85 280 310 325 2000 4200 300
FP 2020 21,14 260 280 290 2000 4200 300
FP 2025 26,42 220 250 260 2000 4200 300
FP 2031,5 33,03 190 210 220 1800 4000 300
FP 20436 (o) 35,94 170 190 200 1800 4000 300
FP 20-40 39,64 160 180 190 1800 4000 300

(e): Only available in ISO 16 Z0 and ITALIAN 13 T1 version.

p+= Max. continuous pressure p.= Max. intermittent pressure ps= Max. peak pressure

The values in the table refer to unidirectional and reversible pumps.

034-000



Formula

FORMULA 30 GENERAL DATA PUMPS m

Max. pressure Intermittent max. speed Min. speed
Pump type Displacement p1 ‘ p2 ‘ P3 At p, press. | Without load | At p, press.
cm®/rev O bar min ™’
FP 3017 17,28 290 315 325 3000 4000 300
FP 3027 26,70 290 315 325 3000 4000 300
FP 3034 34,56 280 300 310 2800 4200 300
FP 3038 39,27 280 300 310 2800 3500 300
FP 3043 43,98 270 290 300 2500 3500 300
FP 3051 51,83 240 260 280 2500 3500 300
FP 3061 61,26 220 240 250 2000 3500 300
FP 3073 73,82 200 220 230 1800 3500 300
FP 3082 81,68 190 210 220 1800 3500 300
FP 30100 100,52 180 200 220 1800 3500 300
FP 30125 125,66 160 180 200 1800 3500 300
ps= Max. continuous pressure p.= Max. intermittent pressure ps= Max. peak pressure

The values in the table refer to unidirectional pumps.
Reversible pump max pressures are 15% lower than those shown in table.
For different working conditions please consult our sales department.

T2 type double shaft flange allow the pumps to work in clockwise or anticlockwise rotation obtaining the
reversible advantages and maintaining the general data of unidirectional pumps.

034-000



Formula

FORMULA 40 GENERAL DATA PUMPS m

Max. pressure Intermittent max. speed Min. speed
Displacement
Pump type P4 ‘ p2 ‘ pPs3 At p, press. | Without load | At p, press.
cm’/rev O bar min
FP 4063 61,43 290 315 325 2700 4200 300
FP 4073 72,60 280 300 315 2700 4200 300
FP 4087 86,56 260 280 290 2700 4000 300
FP 40109 108,90 240 260 280 2700 4000 300
FP 40133 134,03 220 250 260 2500 4000 300
FP 40151 150,79 180 210 220 2500 4000 300
p1= Max. continuous pressure p.= Max. intermittent pressure ps= Max. peak pressure

The values in the table refer to unidirectional pumps.
Reversible pump max pressures are 15% lower than those shown in table.
For different working conditions please consult our sales department.

T2 type double shaft flange allow the pumps to work in clockwise or anticlockwise rotation obtaining the
reversible advantages and maintaining the general data of unidirectional pumps.

034-000



Formula

DESIGN CALCULATIONS FOR PUMPS

Q [I/min] Delivery

M [Nm] Torque

P [kW] Power

Vv [cm*/rev] Displacement
n [min ] Speed
Ap [bar] Pressure

nv=nv (V,Ap, n) (=~ 0,98)

Volumetric efficiency

NMm=Nm (V,Ap,n) (= 0,90)

Mechanical efficiency

Nt= My ® Nm (~0,88)

Overall efficiency

Note: Diagrams providing approximate selection data will be found on subsequent pages.

Q= Ven,ene+10° [I/min]

Ap eV
= [Nm]
62,83 « 1
Ape*Ven
=P kW]

600 + 1000+ n;

034-000



Formula

FORMULA 20 GEAR PUMPS PERFORMANCE CURVES m

80
(21.1)
Each curve has been obtained at 50°C, using
oil with viscosity 36 mm?/s at 40°C and at these

70

(18 5) pressures.
" / | FP20-8...... 20-280 bar
(15.9) 7/ B FP 20-11,2 ... 20-280 bar
/ / FP20+16... .. 20-280 bar
0 A, “ FP 20-20. . ... 20-260 bar

. / by

FP20-25. . ... 20-220 bar
FP 20+31,5 . ..20-190 bar
> FP 20+36. . . .. 20-170 bar

((j:) %V /7 t% FP20-40..... 20-160 bar
o

0 [I/min] - [(US gom]]

20
(5.3) /7%/
3
g /
: 2% é////
s
3 é/
o 0
0 500 1000 1500 2000
N min=1]
o FP 20-8 | FP20-11.2 |
10 50 14 60
—(13.4) (443) —  —1(18.8) 1531 —
N s T Y e Jrvyd peet el =
z 280/bor 14080 psi) __ | _ 1 49 = = 280 bar (4060 | psi) <
- ByI= ' 2 200 bor (2900(psi) | __ _| 4 =
= , R T . (354)
= 3 200 bor_(2900 psi) 130 £ = 150, bor (2175 lpsi _ —,Z =
e (10.7) = , 266) = = = —— £
Js0bor @S ps) L4 = | " 100 bar_(1450 psi) 0 =
20 — = e —
. i | (13.4) , |
100/ bor_(1450 psi) __ _// ] | 50 bor (125 p3) |/ ] |
6 I3 (726 / I
(8.0} Sopor 729 ps /i — —/ (89) /|,

8 /
(10.7) / /
R
(60) 3
\ Q
$ &““/oé\

4 o s
(5.4) TN

4
(5.4) N )
< D
s/ SA L
s

Y
¢
&
%
ﬁ- N

Q
N
2 VAR - S
o (2.7) / S~ ) o / S N
8 / / \1W g 2 / A 25 2
N A / 50 0~ S @ 77 o0 0 —
: - ; g _—
g - g -
o 0 e 0
0 500 1000 1500 2000 0 500 1000 1500 2000
n [min-'] n [min-']

034-000



FORMULA 20 GEAR PUMPS PERFORMANCE CURVES

20
(26.8)

18
(24.1)

16
(21.4)

P kW] - [(HP]

14
(18.8)
12
(16.1)
10
(13.4)
8
(10.7)
6
(8.0)
4
(5.4)

2
2.7

D100-D53/0600

24
(32.2)

[(HP)]

21
(28.1)

P [kW]

18
(24.1)
15
(20.1)
12
(16.1)
9
(12.1)
6
(8.0)

3
(4.0)

D100-D55/0600

100
(885) —
<
280 bor a00psi) | _ | g o
(708) =
20Q bar (2900 psi) — 60 £
] (531 =
150 bor (2175lesil__ _|_/_ | =
40
_100 bor (1450 psil /| (354) :
50 bar1725 psi) 7 / 20
=== == Fum
N
' 0
S ~
VK
S s
S W o
y S ’L\@ 4
Q
AR QQ‘-y
/s
‘00‘
YR -
V “ )
el
/ 0 0ot /
/
500 1000 1500 2000
n [min-1]
FP 20+25
100
JE Y Ep— p——— ) P
220 bar (3190 psi) E
80 =
(708) ,
150 bor (2175 psi) ] €
—_————— e — | — =
60 —
(531) T
100 bar (1450| psi) |
i e Y/ — T 40
(354)
50| bor (725 psi) 7/
—————f = — 20
& / (177)
S
S N
) Qy A
S < 0
N N\ N
> & <
Y 5 \\I@Q
S
//\@b 2
q 95
é///
1
500 1000 1500 2000
n [min-']

— P [kW] - [(HP)]

D 100-D54 /0600

— P kW] - [(HP)]

D 100-D56 /0600

24
(32.2)
21
(28.1)
18
(24.1)
15
(20.1)
12
(16.1)
9
(12.1)
6
(8.0)

3
(4.0)

21
(28.1)
18
(24.1)
15
(20.1)
12
(16.1)
9
(12.1)
6
(8.0)

3
(4.0)

Formula

100

260 bar (3770| psi)

— (885)

80

200~ bar {2900 psi)

150 bar (2175] psi)

(708)

100 bar (1450| psi)

60
_7__ (531) |
/[

40

50 |bor (725 psi)

(354)

20
(177)

\
725 92
=0 WLV

R
\

///
500 1000 1500 2000
n [min-']
120
(1062)
_199 bor_(2755)psi) __ L
90
150 bor (2175]psi) __ 7& — | e
60
(531)
30
(266)
0
/ N
Iy 2
52
y o
7 ”””’,/‘
/
500 1000 1500 2000
n [min-']

[Nm] - [{Ibf in]]

=

— — M [Nm] - [(lof in)]

034-000



FORMULA 20 GEAR PUMPS PERFORMANCE CURVES

P [kW] - [(HP)]

D100-101/0600

21
(28.1)

18
(24.1)
15
(20.1)
12
(16.1)
9
(12.1)
6
(8.0)

3
(4.0)

( 120)
1062) —
=
170| bar (2465 psi) 7‘ =
—_————_————T =
90 =
/ (97
=
=
100| bar (1450 ppsi) / 0 =
530 |
|
50 |bor (725 psi) 30
(266)
N
7/ /
0
Q&Q 2 / 0
s )
QQ \@
AN
N $
7 N .
N o
\—\'L‘JV
>
/l/
A
500 1000 1500 2000
n [min-']

P IkW] - [HP)]

D100-D57 /0600

21
(28.1)
18
(24.1)
15
(20.1)
12
(16.1)
9
(12.1)
6
(8.0)

3
(4.0)

FP 2040

120
(1062)
160 bor (2320/psi) __ /Z
90
/ (797)
100 bor (1450 |psi AR
—_——— =7 60
(531)
7 ) {
SISES T L 7 (23606)
;;\/ /
S
5
&’7 B 0
AR
(g N\
~N ‘00
S 1‘\ 7
/ ) \,\1‘) /
2y >
////
P
500 1000 1500 2000
n [min-']

Formula

— — M INm] - [(Ibl in]]

034-000



Formula

FORMULA 30 GEAR PUMPS PERFORMANCE CURVES

0 [I/min] - [{US gom)]

D100-D18/0600

PIkW] - [(HP)]

D 100-D58/0600

250
(66.0)
200
(52.8)
150
(39.6)
Ne)
/
%>
&5 %
26 ?A/ :}’
%
= 7
50
(13.2) /\T/
0
500 1000 1500 2000 2500 3000
n [min-1]
FP 3017
36 125
(48.2) (1106) —  —
= =
32 4205 psi) A 00 -
z.o) [ & D L= —— T / (885) =  _
' =
— =
28 ) 5 £ a
(37.5) 200 bor_@I00 95T —/— =] (664) |
24 150 bor (2175 psil __ | _ /= — — 5 I
(32.2) ] 443) |
100 bar (450 psi) __ )/ . —
20 / 25
26.8) ._7- — (221)
16 /
(21.4) ~ 0
12 > .
(16.1) d
o)
8 S
(10.7) '
gﬁ 8
4 ae 3
(5.4) g
0 g
0 1000 2000 3000
n [min-']

Each curve has been obtained at 50°C, using
oil with viscosity 36 mm?/s at 40°C and at these
pressures.

FP 3017..... 20-290 bar
FP 3027 .. ... 20-290 bar
FP 3034..... 20-280 bar
FP 30-38..... 20-280 bar
FP 30+43..... 20-270 bar
FP 30+51..... 20-240 bar
FP 3061..... 20-220 bar
FP 30.73..... 20-200 bar
FP 3082..... 20-190 bar

FP 30+100. . ..20-180 bar
FP 30+125....20-160 bar

FP 3027

60 180
(80.4) (1593) —
(=
290 bor (4205 psi) —_— 150
— (1328) =
50 /A 120
(67.00 1" 200 bor (2000 psi) __ [ — — /11062 ¢
i 90 =
150 bar (_”i_psl. I _74___ 797) =
40 100 bor (1450 psi) | 60 I
(53.6) [ — — —F — — — 1 30 |

50 bor (725 psil — A 30

- 7 266)

-s/
30 £ 0

%
AN

(40.2) ©
Q
&
S

4

D,
%
a&
2
<
AR
7 N,
S

20
< v N
(26.8) / p&g & v B‘),9\\
/ "JQ/ . W
oo
N
10 / A \/ S
(13.4) ///7 5w IF
P
Z—
0
0 1000 2000 3000

n [min-']

034-000



FORMULA 30 GEAR PUMPS PERFORMANCE CURVES

60
(80.4)

50
(67.0)

P [kWl - [(HP)]

40
(53.6)

30
(40.2)

20
(26.8)

10
(13.4)

D 100-D60 /0600

70
(93.8)

60
(80.4)

P IkW] - [(HP)]

50
(67.0)
40
(53.6)
30
(40.2)
20
(26.8)

10
(13.4)

D100-D6 1/0600

210
(1859)
280_bar (4060 psi) . — 7‘ 180
—-—— T (1593)
150
200 bor 12900 s __|— /= — (1328)
— 120
150 bor 12175 psil _7[_ — (1062)
i / 7 90
100 bor 11450 psi) 7[__ /| e
——T= 60
. 7/ (531)
sover gl L L |
By / (266)
CTAREN
& o/ s .
> S/ ¢
NY &
S é\/\“/ N
i? Q;b $ \) Q
7 "%‘) e
//’/ oS N
N A
1 \’(15y
Aﬁ;:;//'/’//' fp bﬂ
1000 2000 3000
n [min-']
Giea
15 psi) [—
2o Gao el _ iz
(1859)
/ 180
200 bor | QUi)_psn — ___f (1593)
— 150
150 bor (7175 psi) 7(__ (1328)
—_———==— 120
1 (1062)
100 bor (1450 psi) / i 90
- T / (797)
50 bar (725 psi] &2
ar psi —
EA—F= 1%
/ / (266)
5. °
%)
<:/ ﬂ, A@
Q4 Y
'@ / \.\o/ ,o’\
¥
/ / 4 !
\ o
/D ams
y/// Y oS
L~
1000 2000 3000
n [min-']

— — M [Nm] - [{lof in)]

— — M INm] - [(Ibf in)]

P kWl - [(HP)]

D100-102/0600

P IkW] - [(HP)]

D100-D62/0600

70
(93 8)
60
(80.4)
50
(67.0)
40
(53.6)
30
(40.2)

20
(26.8)

10
(13.4)

70
(93.8)
60
(80.4)
50
(67.0)
40
(53.6)
30
(40.2)
20
(26.8)

10
(13.4)

FP 30-38

240
(2124)
14060 pet | 1i55%)
/
— / 180
(1593)
260_ar_(2900 psil 150
— / (1328)
50 bor {2175 psi) toee)
750 bor (175 P _———
. / 90
100 bor (1450 pST 44-7" (797)
/ 60
50 bar (725 psi) // // - (533;)1}
&/ N4 / (266)
s/ &/ 0
Ny Q‘QQ N
s/ 8f
S w:é O N
Y &“A\ K
\7 QV \ o)
//\(’) Q,\QQ‘/ S
> S\
/0 s
Vel
Z—
1000 2000 3000
n [min-1]
240
240 bor (3480 psil_ | — — (2124)
- 210
oo Pl - — |
(1593)
150 bar (2175__psL — (||35203)
/ / 120
100 bor (1450 psil 7[_/__ (1062)
i—— — 90
/ / (797)
50 bar (725 psil / / 60
— == '—7# 7—_\7 (531)
Q&\ /e ¢ (30)
NN/ 266
S 5
S <
JLL
NVAVA RS
\; /// &JQ}
Y
§
e 4 e
W
////5% oA
W /
7 _
1000 2000 3000
n [min-']

Formula

— — M INm] - [(Ibl in)]

— — M [Nm] - [{lof in)]

034-000



Formula

FORMULA 30 GEAR PUMPS PERFORMANCE CURVES m
| FP30-61 | FP 30-73
60 280 60
— (80.4) . (2478) — — (80.4) 0/ bar (2900 psi) (2655) —
T 20 BIOP___ | —— T E & 200 bor e P e = o E
o Aeizay 3 = 25 bet / (2213) 2
= 50 200 0+ = 50 _150]bor (2175 pSi)__ — i— 200
= (67.0) 150] bar (2175 psi /_ _lumo) = =167.0) (1770) =
a LA — a
- 80 = | 100] bor (1450 [psi) — | =
40 100| bar (1450 ppsi) _// —— 120 I 40 / 100 I
(53.6) =r=—r / (1062) | (53.6) so bor (12581 /| /= | e85 |
80 - T 50
50 bar (725 psl_ = —{ (708) | (443)
o 2) / 7 (35 2) y 0
Iy N
. v . Y, y /
Q& / / 0 kQ/ '\/@ )4
S AN S M
20 Q’/ m% / 20 cs/vé// S
< n, o
(26.8) I Y 8 (26 .8) Ky y
'V .ﬂé/ \“‘3Q S \P2
/< 0“5/ / < o
g 10 / /s oS S 0 / 0 5”7
S (13.4) //7 > S (13.4) 7/ g
B 9 3
Qe // } % ,///
: Z= : =
) o 0
0 500 1000 1500 2000 0 500 1000 1500 2000
n [min-1] n [min-']
FP 3082 FP 30100
60 300 70 350
— (80.4) [ —=F— % — —938 180 Joor (2610 psil _ _|— — | (3098) —
- 190 Toor (2755 psi) , 250 = Y —_———— 300 <
- N I E—— 2213 & —-——-21-—55;;)—"‘"/ 26%5) 5
= T50Toor (2175 psil = _ 60 150 [bar 250 =
£ i Ee i
o 100/ bor (1450 psil /[ £ o 100 bor 11430 pst) # | £
R I —f— 7 150 - /// (1770) =
(1328) 150
0 0o | (67.0) / n13z8) |
(53.6) j)_b_arﬂzz_psl_f —f= e | 50 bor (125 ps) _/f — oo |
; 50 10 / /; 50
;/ /@Q (443) (53.86) N /‘\,)Q / (443)
o 2) S S S AS / 0
. N IS N <
SN 0 W,
S 2y (40.2) o/ /S8
s/ /) /s
268) y S 7/
. QQ N\ 20 '\‘Qc
// T . 3y (26.8) // Sy B ~
o N\
Yy 0\
E ol / - o | Y
s /// / S (134 7 g
8 8
3 T g
o 0 ) 0
0 500 1000 1500 2000 0 500 1000 1500 2000
n [min-1] n [min-1]

034-000



Formula

D100-D67/0600

FORMULA 30 GEAR PUMPS PERFORMANCE CURVES m
2 400
:“07.2) ________—— (3540) —
£ =55 o =
I / 300 E
= (93.8) / (2655)
= 100 bor (1450 psil -
s / 200 =
(80.4) / s T
50 [bor (725 psiT _7/___ — |
P == 100
(67.0) / / (o95)
40 -
(53.6) %) 0

30
(40.2) @7 . y )
D

20 / \QQ «&\f/
(26.8) / / N s S
‘34
(130 ﬁ// //
. 7 /
0
0 500 1000 1500 2000

n [min-']

034-000



Formula

FORMULA 40 GEAR PUMPS PERFORMANCE CURVES m
(105.6)
= ’ Each curve has been obtained at 50°C, using
f / oil with viscosity 36 mm?/s at 40°C and at these
s > pressures.
/s
E - / FP 40-63. .. .. 20-290 bar
= .2 /4 FP 40-73..... 20-280 bar
/ / . / FP 40:87. .. .. 20-260 bar
A \Q/ FP 40-109....20-240 bar
/ / / FP 40-133....20-220 bar
- Y /YA FP 40+151 . . . . 20-180 bar
(52.8) /
/// /“)/ o
S
y/ //%/
/W //7
100 A % /
(26.4) // // 7
3 //
VY
: 7
8
° 0
0 500 1000 1500 2000 2500 3000
n [min-']
FP 4063 FP 40-73
(légos) (3452100) (légoa) (34721071
—(160. . — = Z='" (060 psil _ - — =
% 500 bar_ (4205 psil — - / — ; ﬁo"b‘or—" - 7 360
. === = . -/ (3186) =
= 100 300 = 100 »00_bor_(2900_psil - 300
=(134.0) /L @655) g =340 == / 2655) &
T 200 bor (2900 p5i) . 4—fm = = 50 o (2175 pi) | 2
/ D= (2124) T
80 150 bor (175 psil L —— 200 I 80 X 180
(07.2)[ —=— / (o) | (107.2) loo_bgr_l_l"i‘{_l’ﬂf ._./ =503 |
00—bar {1450 pal) /A — - Y (IIOZGOZ]
___.—-—/ 7 50 bor (795 psil / L_f
60 ya 100 60 -0 / 60
(80 4) 50 bar (72 pSi}/ _’__ ya (885) (80 4) (V / / (531)
— —-'},\ —;"S// y R 0
s L A4
(53.6) S S (53.6) SIS
. § S . </ d
S/ & '%%y @9/
S /s
g oo Abu“"& S g 2o //\QQ g /QM
g N 2 g o
& ’/// T ///
5 0 o 0
0 1000 2000 3000 0 1000 2000 3000
n [min-'] n [min-']

034-020



FORMULA 40 GEAR PUMPS PERFORMANCE CURVES

140
(187.6)

120
160.8)

P Ikw] - [(HP]]

100
(134.0)
80
(107.2)
60
(80.4)
40
(53.6)

20
(26.8)

D100-D70/0600

160
(214.4)

[(HP)]

140
(187.6)

P lkw]

120
(160 8)
100
(134.0)
80
(107.2)
60
(80 4)
40
(53 .6)

20
(26.8)

D100-D72/0600

FP 40-87

480
(4248) —
260 bor (B770 psil - w20 =
- T Z 3717 5
200-bor—(2900-pst—— 1 — 360 =
—_ /’ (3186)
30 £
150 bar (2179 psil __/_ — 12655) =
——T= / |0 =
. Z 2124) |
100 bar (1450 psi) ) — 180 |
- / / (1593
I |
R SA iy S (1062)
ey
1
D
S/
&, PN / 0
é\é\“ (QQ%‘/ /
QA .
Qﬁj/y@/(\ﬁ"\\
S K
// “9/\0‘\
4 QQ c_,\\
/// / ) q}M
ég:g::///" EQ oS
7
1000 2000 3000
n [min-1]
600
' (5311) —
220 bor (3190 psi)  __ __ — =
/ 480 =2
/ (4248)
150 bor 12175 psil_ __ _/ — E
— =T k0O =
/ (3186) T
100 bar ll45(_)_pS|_)_7L —— |
== Vi 240
/ / (2124)
725 psil _
50 bar ( L/Z_ __}L .
/ / (1062)
3 /
VAR /
§"/‘q°” y/ 0
> N N
AR %
< =
o/
v, I(}) QQ
/ @/ N> >
\y
,/// @"0
/>
=
1000 2000 3000
n [min-']

160
(214.4)

140
(187.6)

P Ikw] - [(HP)]

120
(160.8)
100
(134.0)
80
(107.2)
60
80.4)
40
53 6)

20
(26 8)

D100-D71/0600

140
(187.6)

120
160.8)

P [kw] - [(HP)]

100
(134.0)
80
(107.2)
60
80.4)
2
(53.6)

20
(26.8)

D100-D73/0600

FP 40-109

(4574800)
240 bor (3480 psil __ 4o — — 480
- (4248)
700_l)gr_(_:99£_p5” i — -7(
360
150 bar (2175 psi) __ ___7L -~ (3186)
100—bar—(1450_psi) / / 240
———-——-'—/*'7' (2124)
e LA (1082)
LS
SEL
SIS 5
Q@ 7
/I
Q
/f;/:/ P 125 @il’/
// // Vﬁy
=
1000 2000 3000
n [min-']
(45748%)
(2610 psi) [
e imlv/ 480
190 bor (275 psi)_ __/_ (4248)
[/,
100 bor (1450 psi) __/ __
//
/ (2124)
o /
30 bar 122 Pl —
SN
S
4 $
57//@ A‘@Q 0
Q /@w/é
3’// S NpZ
Y/ @
v/ =
/ e
V-
/
0 1000 2000 3000

n [min~]

Formula

— — M [Nm] - [{Iof in)]

— — M [Nm] - [(Ib in]]

034-020



Formula

FORMULA 20 HYDRAULIC GEAR PUMPS ISO STANDARD m
GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228
A 80
‘ (3.150)
48 55 B 12,5
(1.890) (2.165) (0.492)
GII]® ’ g ‘
e
g@ : = e s s |-
! i s g2 338
o @) s "o gEEE
2N ol _|I= =
S S8 T E ,
- % 70*5 Nm 104
(620 Ibf in) (4.094)
O (664 Ibf in)
Ext. Spline
W 8x32x36 DIN-ISO 14 o
MAX. TORQUE 280 Nm
8 (2478 Iof in)
(0.315)
o (oo}
g 38
< 00 |— — — .
3 Slaa ~|= | X
5 o
Radial and/or axial load are not allowed.
Standard version pumps have reversible rotation and internal drain.
The drawing shows the version with rear ports.
Removing the lateral plugs all possible combination ports are allowed.
A B C Mass
Pump type
mm mm K
(in) (in) 9
104 80
FP 20-8 (4.094) (3.150) 5,31
FP 20+11,2 (4.233) (3.287) 570
B0-16 Z0-LP GD/GD-N 117 87 5 G1/2
FP 20+16 (4.606) (3.445) 6,00
123,5 94
FP 20-20 (4.862) (3.701) 6,35
131,5 87
FP 20-25 (5.177) (3.425) 6,80
FP 20+31,5 5:571) (3.819) 718
B0-16 Z0-LP GE/GE-N 146.4 914 G 3/4
FP 20-36 (5.764) (3.598) 7,44
151,5 97
FP 20+40 (5.965) (3.819) 7,80

How to order:

FP 208 B0 - 16 Z0 - LP GD/GD - N

034-020



Formula

FORMULA 20

HYDRAULIC GEAR PUMPS ITALIAN STANDARD

D100-D13/1003

B
=
©|&g
)
S
Se
=
15 c
(0.591)
16
(0.630)
\w‘ | W
|5
e e | — o | o
e
rd@ i

12
(0.472)

116
(4.567)

GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228

Ext. Involute Spline

B 22x19xe9 DIN 5482)

73
(2.874)

MAX. TORQUE 280 Nm

(2478 Ibf in)

Standard version pumps have reversible rotation and internal drain.

15

3

(0.591)

(o]

(620 Ibf in)
(664 Ibf in)

(0.118)

FP 208

FP 20-11,2

FP 20-16
FP 20-20
FP 20-25
FP 20-31,5
FP 20-36

FP 20+40

A B C Mass
Pump type
mm mm
(in) (in) kg
132,5 105
(5.217) (4.134) 4.8
136 108,5 5
(5.354) (4.272) .1
B0-13 T1-L GD/GD-N 1455 125 -
(5.728) (4.429) :
152 119
(5.984) (4.685) 53
160 112
(6.299) (4.409) 59
170 122 6
(6.693) (4.803) 3
B0-13 T1-L GE/GE-N 1755 1165 -
(6.909) (4.587) '
181 122
(7.126) (4.803) 6.6

How to order:

FP 208 B0 - 13 T1 -L GD/GD -N

034-020



Formula

FORMULA 20 HYDRAULIC GEAR PUMPS ITALIAN STANDARD 13T1-P

GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228

A
B 12
(0.472)
s .
©|3 £
S — =
— ~ ~
NE 2|8 Rl2
g = ,
15
(0.591) §7°'5 Nm Ext. Involute Spline
’ o 520 tbf in) B 22x19x¢9 DIN 5482
o (664 of in) MAX. TORQUE 280 Nm
gg (0.630) (2478 Ibf in)
oN
-~
% ==
EE:
3 Saiad [
=4
: T :
S = [ -
) |
3 15 \ L___
(0.118) (0.591) E—

Standard version pumps have reversible rotation and internal drain.

The version with rear ports allow, removing the lateral plugs to have all
possible combination ports.

A B C Mass
Pump type
mm mm K
(in) (in) ‘
129 105
FP 20-8 (5.079) (4.134) 48
132,5 108,5
FP 20+11,2 (5.217) (4.272) °
B0-13 T1-P GD/GD-N 142 112.5 G 12
FP 2016 (5.591) (4.429) >2
148,5 119
FP 2020 (5.846) (4.685) >3
FP 2025 B0-13 T1-P GE/GE-N (;i%?) (41.159) *9
166,5 122
FP 20:31,5 (6.555) (4.803) oo °
FP 2036 B0-13 T1-(L)P GE/GE-N (2;_77255?) (1_1565) 63
178 122
FP 20+40 (7.008) (4.803) o°

How to order:

FP 20-11,2 B0 -13 T1-P GD/GD - N

034-020



Formula

FORMULA 20 HYDRAULIC GEAR PUMPS ITALIAN STANDARD 43 T0 - L
GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228
A
B 12 15
(0.472) (0.591)
3
92 Iz = 7 S HL
g2 =7 {% s o3 ol |
s PPN —f 8l == e )
I g , @) .
v T o
[ 1 | - ;
4 C
10.157) MAX. TORQUE 145 Nm ¢ ym‘s’ N
' (1283 Ibf in) o (620 Iof in)
25 (664 Ibf in)
(0.984)
A 6x6x25
am UNI 6604-69
oo . _ (0.236x0.236x0.984)
'y8% |8
QS o e F @
—— = =
: S H— ek
g 18
° (0.709)
Standard version pumps have reversible rotation and internal drain.
A B C Mass
Pump type
mm mm Kk
(in) (in) 9
145,5 112,5
FP 20-16 (5.728) (4.429) 5,2
B0-43 T0-L GD/GD-N 152 119 G1/2
FP 20-20 (5.984) (4.685) 5.3
160 112
FP 20-25 (6.299) (4.409) 5.9
SPIEEE  B0-43 TO-L GE/GE-N . (4553) G 34 6
181 122
FP 20-40 (7.126) (4.803) 6.6

How to order:

FP 20+16 B0 - 43 T0 - L GD/GD - N

034-030



Formula

FORMULA 20 HYDRAULIC GEAR PUMPS ITALIAN STANDARD

D 100-D48/0600

GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228

A
. 48 B 12
(1.890]) (0.472)
SQ - .
PR ~ N . _
Nee T— — = o=
Voo T— - - © Ol ~| %
o Sied g D H| 8= =2 N
oln \‘ I IS S L
s —
4 S
RGH éfm*s Nm o3 MAX. TORQUE 145 Nm
: (620 Ibf in) o (1283 Ibf in)
25 O esarinl
(0.984)
A 6x6x25
Nl UNI 6604-69
co . _ (0.236x0.236x0.984)
[ o < —_
N8s _|8
A I T | el ,
|3 =
18 15 ‘ [
(0.709) (0.591) —
Standard version pumps have reversible rotation and internal drain.
The version with rear ports allow, removing the lateral plugs to have all
possible combination ports.
A B C Mass
Pump type
mm mm K
(in) (i) g
142 112,5
FP 20416 (5.591) (4.429) >
B0-43 T0-P GD/GD-N 1485 119 G 1/2
FP 20+20 (5.846) (4.685) 5.3
1 112
FP 20-25 B0-43 T0-P GE/GE-N 6185 (4409) 5,9
FP 2031,5 (6.589) (4.803) G 3/ °
B0-43 TO-(L)P GE/GE-N 178 122
FP 20+40 (7.008) (4.803) 6.6

How to order:

FP 2016 B0 - 43 TO - P GD/GD - N

034-030



Formula

FORMULA 30 HYDRAULIC GEAR PUMPS ISO STANDARD

GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228

A 80

(3.150)
12,5 135 ., 85
0.492) 0.531] 0.335)

1l A U]

@ |

r I

i

104
(4.094)
(3.147)

©)
s
5.827)
.80
&)

o c

.07
g (672%*1;@ )6f (4.094) (023 ; !
N n . —
2 ©64 bf in) © Ext. Spline (1.094)
i W 8x32x36 DIN-ISO 14 O
o *g1 MAX. TORQUE 300 Nm
o ?8.1 (2655 Ibf in)

(0.323)
(0.319)

M10x20
Depth 0.787

wig)
\

For the applications without radial load is available the light weight versin without outboard bearing.

120
(4.724)

Max. radial load 9000 N (2025 Ibf)
24 mm from mounting face (Fr)

Multiple pumps available.

(For more information please consult our technical sales department).

G 3/8
16 Dep
(0.630

FP 3017
FP 30+27
FP 3034

FP 30-38

FP 30443
FP 3051
FP 3061
FP 3073
FP 3082
FP 30-100

FP 30125

A B c D Mass
Pump type
mm mm
(in) (in) IN ouT kg
LGDIGD-N | 3%s44) | (so6s) = G112 | G2 | 1065
174,5 124,5
(6.870) | (4.902) 11,10
179,5 124,5
(7.067) | (4.902) 11,56
L GE/GE-N 1825 1275 G3/4 G 3/4
(7.185) | (5.020) 12,10
185,5 130,5
S (7.303) (5.138) 12,30
D 190,5 1285
R 0-16 20 (7.500) | (5.059) 12,45
B LGFIGF-N | (1730 | (265 | ©1 13
204,5 135,5 G1
(8.051) | (5.335) 13,70
209,5 140,5
L GG/GF-N | (5248) | (5.531) 14,05
226,5 145,5
(8.917) | (5.728) | G114 15,55
L GG/GG-N 242.5 161.5 G11/4
(9.547) (6.358) 17,05

Rotation: S=left - D=right - R=reversible - B=reversible internal drain

How to order:

FP 3017 S0 -16 Z0 - L GD/GD - N

034-030



Formula

FORMULA 30 HYDRAULIC GEAR PUMPS ITALIAN STANDARD
GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228
A Flange T1
B 12

(0.472)

28741

148

D100-D02/ 1003

15
(0.591)
‘ []

r

3

(0.118)

&

Shaf't D
K UNI 8953 6x21x25 S © 57 705 nm
MAX. TORQUE 360 Nm o 1620 I in)
(3186 Ibf in) (664 Ibf in)
I~
S
s
p— f,«
g8 5|88
= @ tgé
I
>
s
Flange T2
Only for rotation S-D @C
77777 _
A B C D Mass
Pump type
mm mm
i ) IN ouT kg
FP 30417 LGDIGD-N | (53932, | (3689 | G112 | G172 9
156,5 106,5
FP 30-27 (6.161) | (4.193) 9.3
161,5 106,5
FP 3034 (6.358) (4.193) 9,6
L GE/GE-N 164.5 100 5 G 3/4 G 3/4
FP 30-38 (6.476) | (4.311) 9.8
1675 112,5
FP 30443 S T1 (6.594) | (4.429) 0
D 172,5 110,5
FP 3051 r 019 (6.791) | (4.350) 103
T2
FP 3061 B LGFIGF-N | (7'058) | (458v) | ©F 107
G 1
186,5 117,5
FP 30-73 (7.343) | (4.623) 10,9
FP 3082 LGGIGF-N | (1559) | (4859 11
FP 30+100 (e) (82.514?3) (51.3?24) G11/4 1.5
L GG/GG-N >33 152 G11/4
FP 30+125 (e) (9.173) | (5.984) 12,3

Rotation: S=left - D=right - R=reversible - B=reversible internal drain

How to order:

FP 30417 S0 -19 T1 - L GD/GD - N

(e) Only available in T1 version.

034-030



Formula

FORMULA 30 HYDRAULIC GEAR PUMPS ITALIAN STANDARD
GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228
A Flange T1
B 12 15 3
(0.472) (0.591) (0.118)
['e]
o~ T _ i
~N —_
fUU = ) < E |
~ ~
N [ oy o~ 1
e 22 . @ H
‘ \ 3
° 2
(0.591) - ~
16 C /External Involute Spline o D
(0.630) B 22x19xe9 DIN 5482
MAX. TORQUE 280 Nm o (620 Ibf in)
(2478 Ibf in) (664 1of in)
")
| S
1 s —
—_ £
2 = Olee ‘
= ‘ =
i § |
¢ s \
2 Flange T2 @: ‘
Only for rotaions-0 71 | 11 J
A B C D Mass
Pump type
mm mm
(in) (in) IN ouT kg
FP 30+61 S T1 LGFIGF-N | 1785 116,5 G1 10,7
D (7.028) (4.587)
R 0-13 G1
FP 3082 B T2 | GG/GF-N 191,5 122,5 G11/4 11
(7.539) (4.823)

Rotation: S=left - D=right - R=reversible - B=reversible internal drain

How to order:

FP 30461 S0 - 13 T1 - L GF/GF -N

034-030



Formula

FORMULA 30 HYDRAULIC GEAR PUMPS ITALIAN STANDARD 43 T0

GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228
A
B 15
- ~ (0.591)
— 2 o
| o2 il _
T2 — 5 1
TmM
e — @ =
T = ‘ 1 o|g
N © [ LS
S S |
g Il Sk
T (0.157)
25 | c MAX. TOROUE 145 Nm
0.984)" (1283 Ibf in] 57 10%5 Nm
(620 Ibf in)
O (664 Iof in)
A 6x6x25
NO UNI 6604-69
oo (0.236x0.236x0.984)
"NEE | ; o|s
S22 ©o|d ‘ =88
g == = T ©les |
g T R -
2 [ — Ts |
e
3 ! |
= T
o F## \
18
o790 T L _
A B (o3 D Mass
Pump type
mm mm
(in) (in) IN ouT kg
RN S 043 TO-L GFIGE-N | 1785 116,5 G1 10,7
D (7.028) (4.587)
R G1
FP 30-82 B 0-43 TO-L GG/GF-N 191,56 122,5 G11/4 11
(7.539) (4.823)
Rotation: S=left - D=right - R=reversible - B=reversible internal drain
How to order:
FP 3061 SO - 43 TO - L GF/GF -N

034-030



Formula

FORMULA 30 HYDRAULIC GEAR PUMPS SAE STANDARD
SAE STRAIGHT THREAD PORTS J514
American straight thread UNC-UNF 60° conforms to ANSI B 1.1
A
B

D100-DO1/0600

Il

D) =8
i

C

To order see page 26 - 27.

y 70*5 Nm

(620 1bf in)
O (664 Ib in)

(3.998)

Pump type

FP 30417 (o)
FP 30-27
FP 30-34
FP 30-38
FP 30-43

FP 3051

FP 3061

FP 3073
FP 3082

A B C D Ports code Mass
mm mm
(i) tin) IN ouT IN ouT kg
148 98 3/4-16 UNF-2B 3/4-16 UNF-2B B B 10,4
(5.827) | (3.858) - - - - o o ;
154 104
(6.063) | (4.094) 10,8
159 104
(6.260) | (4.094) | 1-1/16-12 UN-2B oD 11,3
1-1/16-12 UN-2B oD
162 107 s
(6.378) | (4.213) :
165 110
(6.496) | (4.331) 1.8
170 108
(6.693) | (4.252) | 1-5/16-12 UN-2B T OF 12
176 114 e ) OE 13
(6.929) | (4.488)
184 115
(7.244) | (4.528) 13,4
1-5/8-12 UN-2B | 1-5/16-12UN-2B | OG OF
189 120 139
(7.441) | (4.724) ,

(*) Only available in version 2.

034-030



Formula

FORMULA 30 SAE VERSION

D100-D05/0600

Version for applications
without radial and axial load on
the drive shaft.

D 100-D06 /0600

Version for applications with
low radial load and without
axial load on the drive shaft.

D 100-D0O7/0600

Lz
s
N

Special version with indepen-
dent shaft for applications with
low radial load and without
axial load on the drive shaft.

FORMULA 30 SAE END DRIVE SHAFTS

SAE “B” SPLINE

(0.854)

Ext. Involute Spline SAE J498B
with major diameter modified
13 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 1

(o]

‘ SAE “B” STRAIGHT

PIANO DI MONTAGGIO

PIANO DI MONTAGGIO

MAX 330 Nm (2921 Ibf in) &

SAE “BB” SPLINE

MOUNTING FACE 8 41,2_[ MOUNTING FACE
41,2 oo (1.622)
(1.622) o Nes 33,3 6., 4x6, 4x25, 4
2 ] i (1.311) (0.252x0.252x1.000)
S g sjee
™ [ S R | —
3 4 1O |
33.3 2 S = 3
(1.311] g S alﬂ "’.‘g QS
' : 0.941) s e

MAX 200 Nm (1770 Ibf in) &

-0.10

¢25 -0. 11
(0.980)
(0.979)

Ext. Involute Spline SAE J498B
with major diameter modified
15 teeth - 16/32 Pitch - 30 deg
Flat Root - Side fit - Class 1

o

@ For “2” version whichever end shaft, the max. torque applicable is M= 170 Nm (1505 Ibf in)

‘ SAE “BB” STRAIGHT

PIANO DI MONTAGGIO

PIANO DI MONTAGGIO

MAX 500 Nm (4426 Ibf in) &

MOUNTING FACE 33 46 | MOUNTING FACE
46 513 1.811)

(1.811) . MEES 38. 1 6, 4x6,4x31,8
8 . 822 (1.500) 0.252x0.252x1.252)
~ o —_—
— ©
2 == |

38. 1 3 8 BN

(1.500] a S — 23.9 ‘3‘8 8|z

- 0.941) s =

MAX 280 Nm (2478 Ibf in)

034-030



Formula

FORMULA 30 PERMISSIBLE RADIAL LOADING SAE
Fr BN _
j X= Distance of the radial load result from the mounting flange.
g
'*'*ﬁk B Fatigue life (hours) L,= 1000 [h]
Each curve has been obtained at:
(1) 1000 min " (4) 2500 min '
_\) (2) 1500 min "' (5) 3000 min "’
(3) 2000 min !
VERSION =0
= \\
LN
=
< \\\ \\\
(180) [
\\ \\ I~ \\ a
oL T
\
600 \\\b\\ \ (2)
8 (135) o~ 3
S ~— ~—
g \\\ )
3 (5)
<
2 400
(90)
10 20 30 40 50 60
(0.394) (0.787) (1.181) (1.575) (1.969) (2.362)
X {m] - [(in]]

034-040



Formula

O B B O B O E O

type shaft flange positon IN/OUT

‘ Pump

Drive ‘ Mounting ‘ ‘ Ports ‘ Ports

|
w
@
=
»

‘ Rotation ‘ Version ‘ - ‘

FP30+17

1 it 6
Pump type S Ports position
cmiirev O Side
17,28 FP 3017
26,70 EP 30+27 Ports IN/OUT 7
34,56 FP 30-34 SAE STRAIGHT THREAD PORTS (ODT)
39,27 FP 30-38 Pump type
43,98 FP 30-43 FP 30-17
51,83 FP 30+51 FP 30-27
FP 30-34
FP 3061
61,26 30+6 FP 30-38
73,82 FP 3073 FP 3043
81,68 FP 3082 FP 30-51
FP 30-61
Rotation FP 30-73
FP 30-82
Left
Right Seals (a)
Reversible Buna (standard)
Reversible with internal drain Viton
V. = Buna and Bronze thrust plates
SISION Viton and Bronze thrust plates

Without outboard bearing
With outboard bearing

(a) Choose the seals according to the temperature
shown on page 2

With outboard bearing and indep. shaft

Drive shaft
SAE “B” spline (13 teeth)
SAE “B” straight

SAE “BB” spline (15 teeth)
SAE “BB” straigh

5 Mounting flange
SAE “B” 2-4 holes

ORDER EXAMPLE

Standard pump FP 3027 S0 - 04 S3 -L OD/OD -N

Special version pump FP 30417 S2 -32 S3 -L OB/OB -V Bz

034-040



Formula

FORMULA 40 HYDRAULIC GEAR PUMPS ISO STANDARD m
GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228
5 A 80
(2.165)] (3.150)
24 B 12,5 16 8.5
(0.945) \ (0.492) (0.630) (0.335)
oo
Fr \_ Ve z 8
Uﬂ- — /é N\ — P
_ 82 (% o) 22 g% ==
@ g8 2 ) - = = Slos
L = ¥ 1 -
Q ! = @
“ Uﬂ +0.3
1.85 ©
2 (0.085)
S c 104 D
> 100*5 Nm f 4.094) (0.073)
2 (885 Il in) © 21.8
o (929 Ibf in) External Spline (1.094)
2 "9 W 8x32x36 DIN-1S0 14 O
g8. 1 MAX. TOROUE 350 Nm
(0 323) (3098 Iof in) T T T T T ]
© (0.319)
o~ £
S : 2|3 |
Slc Max. radial load 9000 N (2025 Ibf) “1ee |
=|a Ol
2 — — 24 mm from mounting face (Fr) - |
(@i i o8
7 T 8|S \
%_ ° |
: Q} |
8 o= _
(1.449)
A B (o3 D Mass
Pump type
mm mm
(in) (in) IN ouT kg
199 131
FP 4063 (7.835) | (5.157) 18,65
L GF/GE-N 203 135 G1 G 3/4
FP 40-73 (7.992) | (5.315) 19,30
S 208 140
FP 40-87 D (8.189) | (5.512) 19.75
R 0-16 Z0 L GG/GF-N 218 141 G11/4
FP 40+109 (8.504) | (5.551) 2
B 225 150 G1
FP 40133 (8.858) | (5.906) 22,10
L GH/GF-N 231 156 G11/2
FP 404151 (9.094) | (6.142) 22,90

Rotation: S=left - D=right - R=reversible - B=reversible internal drain

How to order:

FP 40+63 S0 - 16 20 - L GF/GE -N

034-040



Formula

FORMULA 40 HYDRAULIC GEAR PUMPS ITALIAN STANDARD

GAS STRAIGHT THREAD PORTS
British standard pipe parallel (55°) conforms to UNI - ISO 228

Flange T1

B 12 7 3
(0.472) (0.669) (0.118)

31.25
(1.230)

}» O g
7 | N
8% _
3
15 )
(0.591) .
16 c Shaft |
(0.630) UNI 8953 6x21x25 S O 57100% m
MAX. TORQUE 400 Nm o 1885 if in)
(3540 1bf in) (929 1bf in)

****** ]
- 0|3 £5 |
8 ‘ N el
< ‘ o= olee |
S —_ Ol oo
5 _ o
S o|8
= o|> |
a Q ‘
} 23 Q} |
—|
sz (e _J
Flange T2
Only for rotation S-D
A B (o3 D Mass
Pump type
mm mm
(in) (in) IN ouT kg
187,5 119,5
FP 4063 (7.382) (4.705) 16.1
L GF/GE-N 191,5 123,5 G1 G 34
FP 4073 (7.539) | (4.862) 16,5
S 196,5 128,5
FP 40+87 D T (7.736) | (5.059) v
R 0-19 L GG/GF-N 2045 1295 G11/4
FP 40-109 A T2 (8.051) | (5.098) o1 18
213,5 138,5
FP 40133 L GHIGE-N (8.406) | (5.453) G112 119.5
h 219,5 144,5
FP 40151 (8.642) | (5.689) 20

Rotation: S=left - D=right - R=reversible - B=reversible internal drain
How to order:

FP 4063 S0 - 19 T1 - L GF/GE - N

034-040



Formula

FORMULA 40 HYDRAULIC GEAR PUMPS SAE STANDARD m

SAE STRAIGHT THREAD PORTS J514
American straight thread UNC-UNF 60° conforms to ANSI B 1.1

A 114,5
(4.508)
B 17 6 12.7
(0.571) (0.630) 10.500)
&1 T *
- e o
I A ;,- 5 e
. . %N « g 2 . %ﬁ i Sle x
~
Iigt! = | e
c 181 D ;T .
g (7.126) 100*> Nm
S (885 Iof in)
S 212.4 O (929 Ibf in)
3 (8.362)
g [ N

31,25
(1.230)

i)

150
(5.906)

s

amn
D

\WAR

O

L
|
L 10 Depth (0.394)

To order see page 32 + 34.

A B c D Ports code Mass
Pump type
mm mm
(in) (in) IN ouT IN ouT kg
188,5 120,5
FP 40463 (7.421) | (4.744) 105
1925 1245 | 1-5/16-12UN-2B | 1-1/16-12 UN-2B OF oD
At (7.579) | (4.902) 20
197,5 129,5
FP 4087 (7.776) | (5.098) 1.5/8.12 UN.2B oe 205
205,5 130,5 o -
FP 40109 (8.091) | (5.138) 511612 N2 oF 21
214,5 139,5 -5/16- -
FP 40+133 (8.445) | (5.492) 171812 UN.2B on 23
220,5 145,5 e -
FP 40-151 (8.681) | (5.728) 25

034-040



Formula

FORMULA 40 SAE VERSION

D 100-D44/0600

D 100-D42/0600

Version for applications

without radial and
on the drive shaft.

axial load

Version for applications with
low radial load and without
axial load on the drive shaft.

D100-D43/0600

qi

A\

Special version with indepen-
dent shaft for applications with
low radial load and without
axial load on the drive shaft.

FORMULA 40 SAE END DRIVE SHAFTS

SAE “C” SPLINE

PIANO DI MONTAGGIO

MOUNTING FACE

=3

o
°Q
NES 5.6
8|2 = [M2.189]
8 ,
©
<
g 1
e
8 47.6
o (1.874)

MAX 900 Nm (7966 Ibf in)

‘ SAE “C” STRAIGHT

PIANO DI MONTAGGIO

55.6
(2. 189) MOUNTING FACE

47.6 7.9x7.9x38.10

o (1.874) (0.311x0.311x1.500)
Ext. Involute Spline SAE J498B 1 _ -
with major diameter modified = | g
14 teeth - 12/24 Pitch - 30 deg S | 1 T $ N
Flat Root - Side fit - Class 1 Qe T T . <
Slgs | 3 e z
SR 1 28 g% g
S== (1.382) e - e

MAX 600 Nm (5311 Ibf in)

@ For “2” version whichever end shaft, the max. torque applicable is M= 600 Nm (5311 Ibf in)

PUMP - VERSION - SHAFT AVAILABILITY TABLE

Pump VERSION

LES 0 1 2
FP 40463 06 06 06 - 34
FP 40-73 06-34 | 06-34 | 06-34
FP 40+87 06-34 | 06-34 | 06-34 | I

el

FP 404109 06 06 06-34 | &
FP404133 | 06-34 | 06-34 | 06-34
FP401151 | 06-34 | 06-34 | 06-34

034-040



4 CASAPPA

PARAMETRI DI FUNZIONAMENTO POMPE

Magnum

General data pumps

Cilindrata P&stssrgisrﬂfg' Velocita max Velocita min
Pompa tipo Displacement p1 Max speed Min speed
2 3
Pump type P i
cm®/giro bar mint
cu in/rev psi
17,20
HDP 30e17 * 1.05
21.89 280 300 320
HDP 30e22 * 133 4060 | 4350 | 4640
26,58 3000 400
HDP 30e27 1.62
34,39 270 290 310
HDP 30e 34 2.09 3900 | 4200 | 4500
43,77 260 280 300
HDP 3043 2.67 3770 | 4060 | 4350
51,59 230 260 280
HDP 30e51 3.14 3300 | 3770 | 4060 2500 300
60,97 200 230 250
HDP 3061 3.72 2900 | 3300 | 3625 2000
73,47 190 210 230 250
HDP 30073 4.48 2750 | 3040 | 3300 1700
81,29 170 190 210
HDP 3082 4.96 2400 | 2750 | 3040 1500
50,77
[ ]
HDP 3550 3.09 270 280 310
6346 3900 | 4060 | 4500
HDP 3563 3.87
3000
71,92
[ ]
HDP 3571 4.38 250 280 300
3625 | 4060 | 4350
80,39 400
HDP 3580 4.90
90,96 230 260 280
HDP 3590 5.55 3300 | 3770 | 4060
99,43 210 240 260 2700
HDP 35100 6.06 3040 | 3480 | 3770
112,12 190 220 240
HDP 35112 6.84 2750 | 3190 | 3480
124,81 170 200 220
HDP 35125 7.61 2400 | 2900 | 3190 2500 250

I valori in tabella sono riferiti a pompe unidirezionali.

The values in the table refer to unidirectional pumps.

_ Pressione max. continua
P1= Max. continuous pressure

Le pressioni max delle pompe reversibili sono inferiori del 15% rispetto a quelle riportate in tabella,

* Disponibili solo nelle versioni 2 e 4

* Available only on 2 and 4 version

_ Pressione max. intermittente
2= Max. intermittent pressure

_ Pressione max. di punta

3= Max. peak pressure

per condizioni d'impiego non citate in tabella consultare il nostro servizio tecnico commerciale.

Reversible pumps max pressures are 15% lower than those shown in table. For different working

conditions please consult our sales department.

036-010



4 CASAPPA

DETERMINAZIONE DI UNA POMPA

Magnum

Design calculations for pumps

Q [I/min] Portata Delivery

M [Nm] Coppia Torque

P [kwW] Potenza Power

Y [cm3/giro] - [cm3/rev] Cilindrata Displacement

n [min}] Velocita Speed

Ap [bar] Pressione Pressure

nv="nv (V,ap, N) (= 0,98) Rendimento volumetrico Volumetric efficiency
Nm="nm (V,ap, N) (= 0,90) Rendimento meccanico Mechanical efficiency
nt (=0,88) Rendimento totale Overall efficiency

Q= Venyene ]_0_3 [I/min]
M= Apov [Nm]
62,8e1m
ApeVen
P= ————— kW]
612¢1000emt

Nota : Nelle seguenti pagine troverete dei diagrammi che vi permetteranno di di fare dei calcoli approssimativi.
Note : Diagrams providing approximate selection data will be found on subsequent pages.

036-010



4 CASAPPA

Magnum

CURVE CARATTERISTICHE POMPE HDP 30

P kW]

0 [I/min]

40

35

30

25

20

HDP 30 gear pumps performance curves

| HDP30 |
150
125 @(@ / @@\
& &) W
WSS
100 W / 7 / 4 W
117/ 7
75 / /// / / // ﬂ N
/48
N/ V4 5//
s
V=
7 =
Z
° 500 1000 1500 2000 2500 3000
n [min-1]
HDP 30e17
125 _
£
280bor| __ o — 10 T
b — T '
[ R——— ”
10k | —— ] -
J00bor ) __ _— 7//[ %
50 bar /

P [kW]

Le curve sono state ottenute alla temperatura di
50°C, utilizzando olio con viscosita 36 mm?/s a
40°C e alle pressioni sotto riportate.

Each curve has been obtained at 50°C, using oil
with viscosity 36 mm 2/s at 40°C and at these
pressures.

(1) 20-280 bar
(2) 20-270 bar
(3) 20-260 bar
(4) 20-230 bar
(5) 20-200 bar
(6) 20-190 bar
(7) 20-170 bar

HDP 30022
50 150
=
=
4 b ———— | P T
250 bor | =
40 == /1oo |

200 bur__ [

35 W_SOﬂr________7/—//75

30 100 bar ___7 —A s

25 50 bar _Z,Z/— 25
S

20 v 0

15

/// pof /
5 V o)

——

0 1000 2000 3000
n [min~1]

036-010



4 CASAPPA

55

50

45

— P [kW]

40

35

30

25

20

— P [kW]

HDP 30027

HDP 30043

260_bar |

200_bor |

150 bar

100 bar

1000 2000 3000
n [min-1]

P kW]

P kW]

Magnum
HDP 30034
65 200
— -
60 l—— 270 bar —_—

270 bor —— / 175
55 150

200 bar | o —|— ’/L
50 ,é

—_—

45 —

HDP 3051

65 — 240
230 bar —_—T i
60 —_————r L 210
200 bor | __ — — 1] /
55 /%/ 180
50 f—=I90 bar, “",/ 150
45 /L — 120
e | — A
35 S e 60
< S
30 5 Q‘°° / 30
> NQ/ /
25 0
a4
2 s/ S
// / S
15 - /’
R/
/>
5 7
0
0 1000 2000 3000

n [min=1]

036-010



4 CASAPPA

55

P kW]

50

45

40

35

30

25

20

50

45

— P [kW]

40

35

30

25

20

HDP 3061

270

Z 240

ﬁ)o_iw___—-—-”/
210
- 150 bor ———1— /’7180
[ /.
"'/——120

100 bar

~
AN

)
Ie
N
™
|
|

60
S //
D
\)
Vs 7 30
y >
/<q \Qy / 0
of
A 5&
v 1=
—
500 1000 1500 2000
n [min=!]
HDP 3082
T —— 280
170 bor________._-—’
240
/ 200
—_
20 Do — 7 160
/ 120
50 bor A 50
N <«
N \QQ
7
s
500 1000 1500
n [min=1]

— —M [Nm]

— —M [Nm]

— P [kW]

55

50

45

40

35

30

25

20

n [min-1]

Magnum
HDP 30e73
300
" £
— / =
190 bar — 20 =
= 240 )
—
(/// 180
.
100 b / - 150
/ / 120
90
50 ba L=
§ 60
S 5 v
S /
/ 30
%8
/SQ oo
/ O
0 500 1000 1500 2000

036-010



g CASAPPA Magnum

CURVE CARATTERISTICHE POMPE HDP 35
HDP 35 gear pumps performance curves

HDP 35

110 250 bar[—

| / = 315
9 240 g //
// 100 280
—
80 200 bor| =" // 210 % 200 bor| . —
70 A 180

— 80 — 210
150 bar| __ __ — // _w_50_§1r_____.._
60 — /é 150 70 /
/(S /
S / "\
o 120 60 100 bar

= 30 Le curve sono state ottenute alla temperatura di
§ 50°C, utilizzando olio con viscosita 36 mm?/s a
. - & 40°C e alle pressioni sotto riportate.
/A
/& Each curve has been obtained at 50°C, using oil
\v\—%\ with viscosity 36 mm?/s at 40°C and at these
250 // //’@Q/ QQ\_ pressures.
T
/ // /%}u\ (1) 20-270 bar
// /| // 7% (2) 20-250 bar
200 A 3) 20-230 bar
4 28 (3
IO A (4) 20-210 bar
y/ ¥ (5) 20-190 bar
150 ///7 A{ Zany (6) 20-170 bar
100 é %/ ,/
////z;//,/
4
50 / //,//% ,/
2
0
0 500 1000 1500 2000 2500 3000
n [min-1]
HDP 3550 HDP 3563
1o 300 130 85
= - 1S = 1S
< 100 - 27o§ = 120 p—— ’35O§
—Z—YO—bor__ P - — 270—})-(”_— — -
| 250 bor| . — — l 75 — l
= | |

\
\
N

245

N
N

O
3
o

5
|

4. |
al

N
\\
S 3

30 100 bor ,47(

50

40 y/nbﬁ A 70

30 / 2 35

20

o G
—

0 1000 2000 3000 0 1000 2000 3000
n [min=1] n [min=1]

2)0
<J

Ogé
IN
|
\

N
\
A

036-010



4 CASAPPA

130

120

— P [kW]

90

80

70

60

50

40

30

20

P kW]

90

80

70

60

30

40

30

20

HDP 35e71

420
/ 385
— - .,
250 _borf—— 350
—Asi5
200 bor| . — ,’f /
& / / 280
245
150 bar
_= 210
175
_100_bor | -
/ 140
D
? 105
50 bar / ,Z—- — -
/ 70
/// 35
— ’
0 1000 2000 3000
n [min=1]
HDP 35090
455
— 220
—
230 bor | —— " /
o —= 385
p—
200 bor L —— /// 350
315
LF-
— 150 bor !/ ; 280
e / 245
—1210
100 bar -
== / 175
/ 140
ibur / _ 105
//‘// // 70
7 35
- 0
0 1000 2000 3000

n [min-1]

— —M [Nm]

— —M [Nm]

P kW]

— P kW]

90

80

70

60

50

40

30

20

90

80

70

60

50

40

30

20

Magnum
HDP 35080
20
. £
250 bar - — 8 =
S / =
7L’ 350 |
|
200 bar{— "‘7 315
—T
/ 280
150 bor 31— 47 245
// / 210
100 bar T——— — =175
$ QQ“S @&/L 140
S / 105
50 bor 7/%_ __/__. — 10
70
<SY
,{/@V S ES
Y/ o o
ks
—
1000 2000 3000
n [min-1]
HDP 350100
455
£
— 20 =
210 bor| . ——|" =
= /1385 |
/ I
/ 350
=315
150 bor | __ — —7
— / /' 280
/ / N
100 bor__ ___/_ —_/ —— 210
S
N / /175
Y “é/ / 140
/ S /
&
20 k? — A= 105
/ /BQ // 0
Pl
,// S ®
— ’
1000 2000 3000
n [min=1]

036-010



4 CASAPPA

140

130

120

— P [kW]

110

90

80

70

60

50

40

30

20

HDP 35112

455
~ 1420
190 bor | _ ——
l{// 385
— = 350
150 bor | __ —— f
——— / // 315
// /// 280
100 bor | __ _7b7 2o
l//, //’,, 210
S
SA 175
S @/ /
= 140
50 bar l Z_,/,”—
— 105
/S
/ \QQ /
70
/// @b& L~
V/ 35
0
1000 2000 3000
n [min-1]

— — M [Nm]

P kW]

100

90

80

70

60

50

40

30

20

HDP 35125

Magnum

490

455

420

=—4385

N
N

350

315

280

\

245

N

/ 210
175

e

\

140

.

105

35

W\

0 500

1000

1500

2000
n [min-1]

2500

— —M [Nm]

036-010



g CASAPPA Magnum

PARAMETRI DI FUNZIONAMENTO MOTORI
General data motors

Cilindrata P,\rﬂzisfr';isrzfg' Velocita max Velocita min
Motore tipo . .
Displacement p1 ‘ p2 ‘ p3 Max speed Min speed
Motor type
cm®/giro bar -
cu infrev psi min
17,20
HDM 30e17 * 1.05
21,89 280 300 320
HDM 30e22 * 1.33 4060 | 4350 | 4640
26,58 3000 400
HDM 30e27 1.62
34,39 270 290 310
HDM 30e 34 2.09 3900 | 4200 | 4500
43,77 260 280 300
HDM 30e43 2.67 3770 | 4060 | 4350
51,59 230 260 280
HDM 30.51 3.14 3300 3770 4060 2500 300
60,97 200 230 250
HDM 30.61 3.72 2900 3300 3625 2000
73,47 190 210 230
HDM 30. 73 4.48 2750 3040 3300 1700 250
81,29 170 190 210
HDNI 30. 82 4.96 2400 2750 3040 1500
50,77
[ J
HDM 3550 3.09 270 280 310
63 46 3900 4060 4500
HDM 3563 3.87
3000
71,92
]
HDM 35e71 4.38 250 280 300
3625 4060 4350
80,39 400
HDM 3580 4.90
90,96 230 260 280
HDM 35. 90 5.55 3300 3770 4060
99,43 210 240 260 2700
HDM 35. 100 6.06 3040 3480 3770
112,12 190 220 240
HDM 35112 6.84 2750 | 3190 | 3480
124,81 170 200 220
HDM 35125 7.61 2400 | 2900 | 3190 2500 250
| valori in tabella sono riferiti a motori unidirezionali. * Disponibili solo nelle versioni 2 e 4
The values in the table refer to unidirectional motors. * Available only on 2 and 4 version
_ Pressione max. continua _ Pressione max. intermittente _ Pressione max. di punta
P1= Mmax. continuous pressure P2= pvax. intermittent pressure P3= Max. peak pressure

Le pressioni max dei motori reversibili sono inferiori del 15% rispetto a quelle riportate in tabella,
per condizioni d’impiego non citate in tabella consultare il nostro servizio tecnico commerciale.
Reversible motors max pressures are 15% lower than those shown in table. For different working
conditions please consult our sales department.

036-010



4 CASAPPA

DETERMINAZIONE DI UN MOTORE

Magnum

Design calculations for motors

[I/min] Portata Delivery

M [Nm] Coppia Torque

P [kwW] Potenza Power

\Y [cm3/giro] - [cm3/rev] Cilindrata Displacement

n [min'l] Velocita Speed
Ap [bar] Pressione Pressure

nv="v (V,ap, N) (=0,97) Rendimento volumetrico Volumetric efficiency
Nm="Nm (V,ap, N) (=0,88) Rendimento meccanico Mechanical efficiency
nt (=0,85) Rendimento totale Overall efficiency

Vene103 ,
[I/min]
Nv
ApeVenm
Nm]
62,8
ApeVene
= OPRE w
6121000

Nota : Nelle seguenti pagine troverete dei diagrammi che vi permetteranno di di fare dei calcoli approssimativi.
Note : Diagrams providing approximate selection data will be found on subsequent pages.

036-010



4 CASAPPA

Magnum

CURVE CARATTERISTICHE MOTORI HDM 30

— P (kW]

Q [I/min]

150

75

50

25

HDM 30 gear motors performance curves

HDM 30

Le curve sono state ottenute alla temperatura di
50°C, utilizzando olio con viscosita 36 mm?/s a

< S 40°C e alle pressioni sotto riportate.
S
Ny o
4 [ [ . . .

& /S Each curve has been obtained at 50°C, using oil
& Y < with viscosity 36 mm?/s at 40°C and at these

/ / / pressures.
/Z a4

(1) 20-280 bar
(2) 20-270 bar

N1/

(3) 20-260 bar
(4) 20-230 bar

1/

(5) 20-200 bar
(6) 20-190 bar

/)

s

(7) 20-170 bar
.

s

/)

) /
Vi) /874

=

W
’ a

N\ ONAN

1000 1500 2000 2500 3000
n [min-1]

HDM 30e17 HDM 30022

0 — 22 0 —=
EO bar é % EO&F—- é
— T —— = 250 b |
—~—_ 4. = o 20 LI — { B =
250 bar 680 | —— |
i o (2 e Aw !
A 50 —— =/ 7/_
ﬁoﬁir- 71/ 16 150 bar 45
- < 4 - —/éz‘é —5
4 14 100 bor A 30
150 bor / / e 74_//_
4 30 50 bar /|

——

— 12 15
Qé S __._—/7L_
D
100 bor | &/ fo5 ’ S A,

L A S/ [
S 7 NP
QQQ 8 )
50 bar
\‘b/

7 A < 9

036-010



4 CASAPPA

—P [kW]

—P [kW]

26

24

22

20

42

39

36

33

30

27

24

21

HDM 30027

Va

HDM 30043

——

260 bar

—_
\74

200 bar

/

- —— =/

150 bar

—— 100 bar

/[
-ava

A

50 bar

—/Z——A

\\ \\

105

90

80

60

40

20

— —M [Nm]

P kW]

P kW]

36

33

30

27

24

21

39

36

33

30

27

24

21

Magnum

HDM 30e34

140

—_——

270 bar

—— 120

— —M [Nm]

200 bar / 100
—F ==

150 bar /
+ === 60

100 bar / /

S 40

50 bar ( /
20

HDM 30e51

180
230 bar

—_——

— —M [Nm]

= —_— /- 160
T~
200 bar 7
140

____“‘-7(
—
/

/ 120
150 bar / /
100

—
—_—
—
—_—

80
100 bar / /
B A e 60

40

yd
/
4 / zoo

0 1000 2000 3000

n [min=1]

036-010



4 CASAPPA

—P (kW]

—P (kW]

33

30

27

24

21

26

24

22

20

Magnum
HDM 30e61 HDM 30e73
. 180 — 210 —=
Lok e = £
— =50 T a 180 T
150 bar / ] I
—_—— —-7L X 120 50
100 bar // %0 120
Tx_ —
50 bar / / 90
e e
// // 60
é O
QQ 30
> e
/ ‘Qé N /
5 ® 0
o %
/////
/
0
0 1000 2000 0 1000 2000
n [min=1] n [min-1]
HDM 3082
.L / 210 £
L 170 bor — — = [ 180 =
/ 150 |
— 100 bar 7[ 120
—= 90
i
/ // 30
/[ / °
N4
Sf— S
NS
\Qj //
5
o
1
7
0 1000 2000
n [min=!]

036-010



4 CASAPPA

CURVE CARATTERISTICHE MOTORI HDM 35

Magnum

—P (kW]

Q [I/min]

50

45

40

35

30

25

20

350

300

250

200

100

50

HDM 35 gear motors performance curves

HDM 35

X

N\
N\

\

AN

¢

500 1000 1500 2000 2500 3000
n [min-1]

HDM 3550

210

270 bar

—

— —M [Nm]

250 bor ‘\—‘:/Z 180
—— j5o

200 bor ‘//
== = 120

4
wel N

100 bar / /
— 60

B e ——
/ sé/
50 bar S
= 30

1000 2000 3000
n [min-1]

P kW]

Le curve sono state ottenute alla temperatura di

50°C, utilizzando olio con viscosita 36 mm?/s a

40°C e alle pressioni sotto riportate.

Each curve has been obtained at 50°C, using oil
with viscosity 36 mm?/s at 40°C and at these
pressures.

(1) 20-270 bar
(2) 20-250 bar
(3) 20-230 bar
(4) 20-210 bar
(5) 20-190 bar
(6) 20-170 bar

60

55

50

45

40

35

30

25

20

HDM 3563

20 b~ — — —|__ /
250 bor| ~ = — —|__ Z/‘
200 bar

L/

150 bar

-

100 bar

—HEA

90

60

30

.
S
]

NN
N

2000 30
n [min=1]

00

036-010



4 CASAPPA

65

60

95

—P (kW]

50

45

40

35

30

25

20

)

—P (kW]

60

45

30

HDM 35e71

270
250 bar
—_—— / 240
— | _ 7/
=210
200 bar /
e — 180
/ 150
150 bor ,Z
== 7 7 < 120
100 bor] / 90
/Lé7‘ — — A
AN}
60
EEIVAY.
— =43
V ,/ o
Q\Q @ 0
7/
A
RS
/ )
A s
o
1000 2000 3000
n [min=!]
HDM 3590
300
230 b T — — |
= —
200 bar
= _—— 71/ 240
150 bar / / 180
—— 7/
100 bar /L/ 120
/ /° i / g
50 bar 4% 60
——tfF———_
/ /
§ y
~Q,
i ik
0y
/ / P
s>
N S
—
1000 2000 3000
n [min-1]

— —M [Nm]

— —M [Nm]

P kW]

P kW]

s

60

45

30

5

60

45

30

HDM 3580

Magnum

—_—

300

250 bor T

200 bar

—

150 bar

—

100 bar ,Z Z

7 60
V

Z ,/
50 0oL
7 /
1000 2000 3000
n [min-1]
HDM 35100
300
?Omr-— = = ——
// 240
150 bar Z
I e R
100 bar _/
— == ‘/ 7</_ 120
50 bar Z /
Z —_—— 60
/ Qé/_ _
v <
1
/ / // 03] —
/4//
1000 2000 3000
n [min-1]

— —M [Nm]

036-010



4 CASAPPA

K]

—P [kW]

60

45

30

HDM 350112

——

190 bar]

300

150 bar

_—

240

I
J
(

A

\i
éo

|2
H
N
N
I

60

\\
N

é\oA

N
.

— —M [Nm]

P kW]

%

60

45

30

n [min-1]

Magnum
o 300 E
150 bar T —- I
— —— 7// 240 I
/ 7
ﬁoEr__ ‘Zil 180
/ // ] 120
P/
_/7/L /L “/—/ 60
Qé /
~N \Q
//1/ /
VAR =
Y/
~
0 1000 2000 3000

036-010



4 CASAPPA

Magnum

DIMENSIONI UNITA’ SINGOLE CON BOCCHE LATERALLI

Single unit dimensions side ports

% 280 Nm

B
Pompa tipo Massa
Pump type A B C D E
Mass
Motore tipo
Motor type
mm mm mm mm mm kg
HD. 30017 184,5 138 15,50
HD. 30022 187,5 141 15,80
HD. 30027 190,5 144 16,20
HD. 3034 195,5 149 16,80
23,45 150 155
HD. 30043 201,5 155 17,60
HD. 30e51 206,5 160 18,20
HD. 30e61 212,5 166 19,00
HD. 30e73 220,5 174 19,70
HD. 3082 225,5 179 20,30
HD. 35¢50 229,5 177 23,70
HD. 3563 235,5 183 24,70
HD. 3571 239,5 187 25,40
HD. 3580 243,5 191 27,35 172 175 26,00
HD. 3590 248,5 196 26,80
HD. 35100 252,5 200 27,50
HD. 35112 258,5 206 28,50
HD. 350125 264,5 212 29,50

036-010



4 CASAPPA

Magnum

DIMENSIONI UNITA’ SINGOLE CON BOCCHE POSTERIORI

Single unit dimensions rear ports

% 280 Nm

Pompa tipo Massa
Pump type A B C D E
Mass
Motore tipo
Motor type
mm mm mm mm mm kg
HD. 30e17 184,5 173 15,50
HD. 3022 187,5 176 15,80
HD. 3027 190,5 179 16,20
HD. 3034 195,5 184 16,80
23,45 150 75
HD. 3043 201,5 190 17,60
HD. 30e51 206,5 195 18,20
HD. 30e61 212,5 201 19,00
HD. 30e73 220,5 209 19,70
HD. 3082 225,5 214 20,30
HD. 35¢50 229,5 218 23,70
HD. 35e 63 235,5 224 24,70
HD. 3571 239,5 228 25,40
HD. 3580 243,5 232 27,35 172 89 26,00
HD. 3590 248,5 237 26,80
HD. 35100 252,5 241 27,50
HD. 35112 258,5 247 28,50
HD. 35125 264,5 253 29,50

036-010



4 CASAPPA

POMPE MULTIPLE

Magnum

Multiple pumps

Le pompe MAGNUM possono essere combinate in unita multiple tenendo presente che I'assorbimento
di potenza di ogni unita deve essere maggiore o uguale di quello della successiva. Le caratteristiche
e le prestazioni di ogni pompa sono le stesse delle singole corrispondenti, tuttavia bisogna tenere conto
dei seguenti limiti:

Le pressioni sono limitate dalla coppia trasmissibile dall’albero di trascinamento della prima pompa
e dall’albero che collega le singole pompe tra loro e possono essere determinate caso per caso con
la formula riportata sotto.

La velocita max di rotazione e determinata dalla pompa che ha velocita minore.
E’ offerta la possibilita di pompe doppie con una sola bocca di aspirazione in comune ai due elementi.
Nell' accoppiamento MAGNUM + KAPPA e MAGNUM + serie C & standard la soluzione a stadi
separati.

MAGNUM pumps can be coupled together in combination. Where imput power requirement of each
element varies, that with the greater requirement must be at the drive shaft end, and progressively
smaller to the rear.

Features and performances are the same as for the corresponding single pumps, but pressures
must be limited by the transmissible torque of the drive shaft and connecting shafts. To have appropriate
data, use the formulae below.

The maximum rotational speed is that of the lowest rated speed of the single units incorporated.
We offer the possibility to have pumps with only one inlet port for the two elements. Combination
MAGNUM + KAPPA series and MAGNUM + C series are standard the elements sealed internally one
from another.

M [Nm] Coppia Torque
\% [cm3/giro] - [cm3/rev] Cilindrata Displacement
Ap [bar] Pressione Pressure

Rendimento meccanico

Nm=1m (V.ap, n) (= 0,90) Mechanical efficiency

M= Ap.V (Nm]

62,8¢MNm

N.B.: La coppia assorbita dall'albero della prima pompa € data dalla somma delle coppie dei singoli
stadi. Il valore cosi ottenuto non deve superare quello massimo ammesso per il tipo di albero prescelto
per la prima pompa.

N.B.: The torque absorbed from the shaft of the first pump results from the sum of the torques due to
all single stages. The achieved value must not exceed the maximum torque limit given for the shaft of
the first pump.

036-010



4 CASAPPA

Magnum

COPPIA ASSORBITA

M [Nm]

M [Nm]

Absorbed torque

1//] 7

o0 e,
/

- IS 3

” V98
/

/
. V)

Va4

ol
A

-

300

p loor]

KP20-Gr2sr.C | 3

90

p lbor]

HDP 30 2

M [Nm]
3

™
~
o

S,
2

™~
6 ™~
o
N
>
N

210
/

N

NN

NN
NN
NS

N

3

NN

\\
O\
WX

o /
11/

\\
\
A

/
60 7 I}}// V4 //V/
/
z
0 50 100 150 200 25 300

p lbor]

SCELTA DELL’ALBERO DI TRASCINAMENTO

Prendiamo in esame una pompa doppia HDP3580+
HDP30e27. Supponendo di dover lavorare con la prima
pompa ad una pressione di 200 bar e con la seconda ad
una pressione di 150 bar, dal grafico 1 troviamo che la
coppia assorbita dalla HDP35e80 e di 284 Nm e dal grafico
2 che la HDP30e27 assorbe una coppia di 70 Nm (valore
accettabile perché non supera la coppia massima trasmis-
sibile dal manicotto di collegamento fissata a 170 Nm, vedi
pag. 1.40 - 1.41). La coppia che dovra quindi trasmettere
I'albero della prima pompa sara di 284+70= 354 Nm,
valore che non deve superare quello limite ammesso
dall'albero.

DRIVE SHAFT SELECTION

Let us consider a double pump HDP35e80 + HDP30e27.
If we suppose that we have to work with the first pump at
a pressure of 200 bar and the second pump at a pressure
of 150 bar, the graph 1 shows that the torque absorbed by
HDP35e80 is 284 Nm and the graph 2 shows that the
torque absorbed by HDP30e27 is 70 Nm (acceptable value
because it does not exceed the maximum connecting shaft
torque that is 170 Nm, see page 1.40 - 1.41). The torque
to be transmitted by the first drive shaft will thus be

036-010



g CASAPPA Magnum

DIMENSIONI POMPE MULTIPLE
Multiple pumps dimensions

[
)
:J

o |
|

-
*
&

(s

é | JGASARIPA —7" 3
I

J
3 (r‘
NS/
&
N
.
_—
(o
4
-
1
S
e
Sa

‘ TN T T ‘\_k o _ I
% I i 6 H H H -
<
N P13 L
8 R T 0 o
o A 2 3 A
° 70 NTFRIORF \NTFPMFQ\ POSTFRIORF |
a Front Inlermediale Rear

Pompa tipo A B C D E F G H | L M N (0]
Pump type
mm mm mm mm mm mm mm mm mm mm mm mm mm
HDP 30+HDP 30 |115+H | 70+H | 70+H | 54,5 | 24,5 [23,45| 80 g’:gibseolgc’v 70 | 755 | 150 [133,5| 155
HDP 35+HDP 35 |139+H | 82+H | 82+H | 60,5 | 26,5 |27,35| 98 | Ye9/50U0 | g5 | 915 | 175 |162,4 | 175
Pompa tipo H Pompa tipo H
Pump type Pump type
mm mm
HDP 30e17 23 HDP 3550 38
HDP 3022 26 HDP 3563 44
HDP 30e27 29 HDP 3571 48
HDP 3034 34 HDP 3580 52
HDP 3043 40 HDP 3590 57
HDP 30e51 45 HDP 35100 61
HDP 30e61 51 HDP 35112 67
HDP 3073 59 HDP 35125 73
HDP 3082 64

036-010



4 CASAPPA

DIMENSIONI POMPE MULTIPLE HDP 35 + HDP 30

Magnum

HDP 35 + HDP 30 multiple pumps dimensions

57 280 Nm

46.5 32.5

27.35

133.5

S —n
& @13 98 c 82 75.5
o
é 70
Pompa tipo A B
Pump type
mm mm
HDP 35+HDP 30 |139+C | 76+D
Pompa tipo C Pompa tipo D
Pump type Pump type
mm mm
HDP 3550 38 HDP 30e17 23
HDP 3563 44 HDP 30e22 26
HDP 3571 48 HDP 30e27 29
HDP 3580 52 HDP 30e34 34
HDP 3590 57 HDP 30e43 40
HDP 35100 61 HDP 30e51 45
HDP 35112 67 HDP 30e61 51
HDP 35125 73 HDP 30e73 59
HDP 3082 64

036-010



g CASAPPA Magnum

DIMENSIONI POMPE MULTIPLE HDP 30 + KP 20

HDP 30 + KP 20 multiple pumps dimensions

Le caratteristiche di funzionamento delle pompe serie KAPPA sono illustrate sul catalogo tecnico K.
The general data of KAPPA series pumps are explained on K technical catalogue.

Pompa tipo A Pompa tipo B C
Pump type Pump type
mm mm mm

HDP 30017 138 KP 20e4 139
HDP 30e22 141 KP 2006,3 141,5 275
HDP 30e27 144 KP 2008 144
HDP 30e34 149 KP 20e11,2 147,5
HDP 30043 155 KP 20014 146
HDP 3051 160 KP 20e16 151,5 33
HDP 30e61 166 KP 20020 158
HDP 30e73 174 KP 20025 151
HDP 30e82 179 KP 20e31,5 161 *

036-010



4 CASAPPA

Magnum
DIMENSIONI POMPE MULTIPLE HDP + Gr. 2 SERIE C
HDP + C series Gr.2 multiple pumps dimensions
%50 Nm
A B c D
T~—m
. T_‘%__ m¥% @ '
T @% O
S @—@/ ‘
N
E
@f 280 Nm
Le caratteristiche di funzionamento delle pompe serie C sono illustrate sul catalogo tecnico CP.
The general data of C series pumps are explaned on CP technical catalogue.
Pompa tipo A B C D E F G H
Pump type
mm mm mm mm mm mm mm mm
Vedi sotto Vedi sotto Vedi sotto
HDP 30 + Gr. 2 115+E 35 See below See below See below 23,45 7,55 155
Vedi sotto Vedi sotto Vedi sotto
HDP 35 + Gr. 2 139+E 41 See below See below See below 27,35 11,55 | 175
Pompa tipo c D Pompa tipo E Pompa tipo E
Pump type Pump type Pump type
mm mm mm mm
CPL 4,8 HDP 30e17 23 HDP 3550 38
CPL 6,2 47,5 57 HDP 3022 26 HDP 3563 44
CPL9 HDP 30e27 29 HDP 3571 48
CPL 13 HDP 30034 34 HDP 3580 52
CPL 16 56 65,5 HDP 3043 40 HDP 3590 57
CPL 20 HDP 3051 45 HDP 35100 61
CPL 26 63,5 67 HDP 30661 51 HDP 35112 67
HDP 3073 59 HDP 35125 73
HDP 3082 64

036-010



4 CASAPPA

VERSIONI

Magnum

Versions

-

[

DO 10-D11/0594

0

Versione per impie-
ghi senza carichi ra-
diali e assiali sull'al-
bero.

Version for applica-
tions without radial
and axial load on the
drive shaft.

10-D12/0594

DO

S
i)
7

e

1

Versione per impie-
ghi con limitati carichi
radiali e senza carichi
assiali sull'albero.

Version for applica-
tions with low radial
load and without axial
load on the drive
shaft.

DO 10-D13/0594

2

Versione speciale
con albero indipen-
dente per impieghi
senza carichi radiali e
assiali sull'albero.

Special version with
independent shatft for
applications without
radial and axial load
on the drive shaft.

DO10-D14/0594

4

Versione per impie-
ghi con carichi radiali
e assiali sull'albero.

Version for applica-
tions with radial and
axial load on the drive
shaft.

036-010



4 CASAPPA

Magnum
ESTREMITA’ ALBERI DI TRASCINAMENTO
End drive shafts
04 o 32 PIANO DI MONTAGGIO
& PIANO DI MONTAGGIO MOUNTING FACE
©o MOUNTING FACE 1.2
SAE B scanalato f SAE B cilindrico 33.3 6.4x6.4x25.4
13 denti - 16/32 DP S ‘
radice piana centraggio § -
sui fianchi. SAE B keyed oo iy 4‘& a
ISO22-4 ~ o
&
N 23.9 -
o~
SAE B splined S
13 teeth - 16/32 DP
flat root side fit.
SAE J 498 b o *
MAX 300 Nm MAX 200 Nm
05 ° 33 PIANO DI MONTAGGIO
N PIANO DI MONTAGGIO MOUNTING FACE
oo MOUNTING FACE 46
(o>}
SAE BB scanalato < SAE BB cilindrico 38. 1 6.4x6.4x31.8
15 denti - 16/32 DP S
radice piana centraggio o< §
sui fianchi. SAE BB keyed o —q— ‘—-& |
ISO25-4 T o o
2 23.9 - N
SAE BB splined =
15 teeth - 16/32 DP
flat root side fit. *
SAE J498 b MAX 450 Nm* MAX 280 Nm
06 PIANO DI MONTAGGIO
PIANO DI MONTAGGIO 34 MOUNTING FACE
MOUNTING FACE 5.6
SAE C scanalato SAE C cilindrico 47.6 7.9x7.9x31.8
14 denti - 12/24 DP \
radice piana centraggio _ ] 3 ®
sui fianchi. SAE C keyed 3 IN ‘ ég 2
1ISO32-4 902 ‘ “’T
= 35.1 -~
el
SAE C splined =
14 teeth - 12/24 DP
flat root side fit. HD. 30 MAX 170 Nm* HD. 30 MAX 170 Nm*
SAE J 498D HD. 35 MAX 900 Nm* HD. 35 MAX 600 Nm*

* Per qualsiasi estremita d’albero in caso di versione "2" e "4" HD.30 Mmax= 170 Nm - HD.35 Mmax= 350 Nm.
* For "2" and "4" version whichever end shaft HD.30 Mmax= 170 Nm - HD.35 Mmax= 350 Nm.

036-010



g CASAPPA Magnum

FLANGE DI MONTAGGIO E TABELLA DI COMPATIBILITA’
Mounting flanges and table of compatibility

SAE A 2 FORI
SAE A 2 Holes 80
8
e
S1 o
o T _
St = =
6.4
130

ALBERI DI TRASCINAMENTO VEDI PAG. 1.31
Drive shafts see page 1.31
Shuee VersoM e s | w2 [ o | s | os | s
0 | [ ] . .
HD.30 1 . o . .
2 ] | | ° . ° °

B COMBINAZIONE STANDARD - Standard combination
e COMBINAZIONE DISPONIBILE - Available combination

SAE B 2-4 FORI 80 90
SAE B 2-4 Holes 0 .
(o}
oo 7
JLO o
S3 e e 0t S 2 5
e S -
E24 BN :
=
9.7
==
146
174.5
ALBERI DI TRASCINAMENTO VEDI PAG. 1.31
Drive shafts see page 1.31
GRUPPO |VERSIONI VEDI PAG.1.30
Group Versions see page 1.30 04 32 05 33 06 34
0 ] | | ° .
1 ] | | ° .
HD.30
2 ] ] . ° . °
4 ] ] . . . °

B COMBINAZIONE STANDARD - Standard combination
e COMBINAZIONE DISPONIBILE - Available combination

036-010



4 CASAPPA

FLANGE DI MONTAGGIO E TABELLA DI COMPATIBILITA’

Magnum

Mounting flanges and table of compatibility

SAE C 2-4 FORI A 114.5
SAE C 2-4 Holes
n
S
S8 i
i~ B nl ]
= | o
-
GRUPPO
Group A B 12.7 S
HD.30 80 | 167,9
HD.35 98 | 182,8
ALBERI DI TRASCINAMENTO VEDI PAG. 1.31
Drive shafts see page 1.31
GRUPPO |VERSIONI VEDI PAG.1.30
Group Versions see page 1.30 04 32 05 33 06 34
2 ° ° ° . | | ]
HD.30
4 . ° . . | | |
0 ] |
1 ] [ |
HD.35
2 ° ° ° ° | | | |
4 ° ° ° ° | | | |
B COMBINAZIONE STANDARD - Standard combination
e COMBINAZIONE DISPONIBILE - Available combination
SAE B 4 FORI 98 %
SAE B 4 Holes R
o
o9
84 I 0
5| 1 T =l s
=
9.7
ALBERI DI TRASCINAMENTO VEDI PAG. 1.31
Drive shafts see page 1.31
GRUPPO |VERSIONI VEDI PAG.1.30
Group Versions see page 1.30 04 32 05 33 06 34
0 L] L]
1 . °
HD.35
2 | ] ] . . ° .
4 | ] ] . . ° .

B COMBINAZIONE STANDARD - Standard combination

e COMBINAZIONE DISPONIBILE - Available combination

036-010



4 CASAPPA

Magnum
FLANGE DI MONTAGGIO E TABELLA DI COMPATIBILITA’
Mounting flanges and table of compatibility
SAE B 2 FORI
SAE B 2 Holes 98 146
3
S5 o5 ‘ 2

= 10 0l d (A

o

= 3 %

9.7

174.5
ALBERI DI TRASCINAMENTO VEDI PAG. 1.31
Drive shafts see page 1.31
GRUPPO |VERSIONI VEDI PAG.1.30
Group Versions see page 1.30 04 32 05 33 06 34
0 L] L]
HD.35 = * *

2 | | | | ° ° ° °
4 | | | ° ° . °

B COMBINAZIONE STANDARD - Standard combination
e COMBINAZIONE DISPONIBILE - Available combination

036-010



4 CASAPPA

BOCCHE

Magnum

—

[ ) ]

Ports

_E_

BOCCHE LATERALI
SIDE PORTS

BOCCHE POSTERIORI
REAR PORTS

BOCCHE

PORTS

SSS

SSM

BSPP

OoDT

BSPP

oDT

POMPA TIPO
PUMP TYPE

ouT

ouT

ouT

ouT

ouT

ouT

MOTORE TIPO
MOTOR TYPE

ouT

ouT

ouT

ouT

ouT

ouT IN

HD.

30017

HD.

30622

SC

HD.

30627

HD.

30634

SB

MC

MB

GF

GE

OF

oD

GE

GE

oD

oD

HD.

30043

HD.

30651

SD

SC

MD

MC

HD.

30661

HD.

30e73

SE

HD.

30e82

SD

ME

MD

GG

GF

oG

OF

GF

GE

HD.

35650

HD.

35663

SE

HD.

35e71

HD.

35680

SD

ME

MD

GH

GG

OG

OF

HD.

35690

HD.

356100

SF

HD.

356112

HD.

350125

SE

MF

ME

GL

GH

OH

OoG

GG*

GF

OF

oD

* NON DISPONIBILE PER POMPE E MOTORI REVERSIBILI CON DRENAGGIO ESTERNO.

* Not available for reversible pumps and motors with external drain.

036-010



g CASAPPA Magnum

BOCCHE PER DRENAGGIO ESTERNO HD.30 - HD.35

HD.30 - HD.35 external drain ports

)

F &

1=

G 3/8"

Le pompe e i motori reversibili tipo (R) hanno il drenaggio esterno.

The reversible pumps and motors (R) type have the external drain.

BOCCHE PER POMPE MULTIPLE
Ports for multiple pumps

—

L

L'aspirazione e la mandata mantengono le stesse dimensioni delle bocche
‘ |: I: L laterali delle pompe singole (vedi pag. 1.36).
Inlet and outlet ports are the same as side ports of single pumps (see page 1.36).

..EJ
,.EJ

BOCCHE
4 sss SSM BSPP oDT
I PORTS
L POMPA TIPO
|_ L:D:E PUMP TYPE IN IN IN IN
1 |
‘—i—‘ HDP 30 SE ME GG 0G
HDP 35 SF MF GL OH

La mandata mantiene le stesse dimensioni delle bocche di mandata laterali delle
pompe singole (vedi pag. 1.36).

Outlet ports are the same as outlet side ports of single pumps (see page 1.36).

Per altre combinazioni consultare il nostro servizio tecnico commerciale.
For other combinations please consult our sales departement.

036-010



4 CASAPPA

DIMENSIONI BOCCHE

Magnum

Port sizes

BOCCHE FLANGIATE SAE CON FILETTATURA UNC (SSS)
SAE FLANGED PORTS UNC THREADED (SSS)

m

CODICE | DIMENSIONE A B C D
NOMINALE E
CODE NOMINAL SIZE | mm mm mm mm
SA 1/2" 12,5 38,1 17,5 24 5/16"-18 UNC-2B
SB 3/4" 19 47,6 | 22,2
22 3/8"-16 UNC-2B
SC 1" 25,4 52,4 26,2
SD 1"1/4 30,5 | 58,7 | 30,2 | 28,5 7/16"-14 UNC-2B
SE 1"1/2 39,3 | 69,8 | 35,7
27 1/2"-13 UNC-2B
SF 2" 51 77,8 | 42,9

BOCCHE FLANGIATE SAE CON FILETTATURA METRICA (SSM)
SAE FLANGED PORTS METRIC THREAD (SSM)

CODICE | DIMENSIONE A B C D E
NOMINALE

CODE NOMINAL SIZE | mm mm mm mm
MA 1/2" 12,5 | 38,1 | 17,5 M 8
MB 3/4 19 47,6 | 22,2 2
MC 1" 25,4 | 52,4 | 26,2 M 10
MD 1"1/4 30,5 | 58,7 | 30,2
ME 1"1/2 39,3 | 69,8 | 35,7

27 M12

MF 2" 51 77,8 | 42,9

BOCCHE FILETTATE (BSPP)
BRITISH STANDARD PIPE PARALLEL (BSPP)
CODICE | DIMENSIONE A B C

NOMINALE
CODE | NOMINAL SIZE mm mm
GD 1/2" G1/2 18 19
GE 3/4" G3/4 20 24,5
GF 1" G1 22 30,5
GG 1"1/4 G11/4 | 24 39,3
GH 1"1/2 G11/2 | 26 45
GL 2" G2 32 56

i
N

o | o
.
c
E D PROF .FILETT.
[ Thread depth

D PROF .FILETT.
/[ Thread depth

036-010



4 CASAPPA

Magnum
DIMENSIONI BOCCHE
Port sizes
BOCCHE FILETTATE SAE (ODT)
SAE STRAIGHT THREAD (ODT) c
CODICE | DIMENSIONE A B C D E A
NOMINALE )
CODE NOMINAL SIZE mm mm mm mm i .
OB 1/2" 3/4"-16 UNF-2B 15 32 2,5 ‘ % w| ®
oD 3/4" 1"-1/16-12 UN-2B 42 O 1T 1 %
" " 0,5 ‘
OF 1 1"-5/16-12 UN-2B 20 50 3.3
oG 1"1/4 1"-5/8-12 UN-2B 60
OH 1"1/2 1"-7/8-12 UN-2B 70
VERSIONI COPERCHIO POSTERIORE
Rear cover versions
Tutte le pompe multiple con piu di due sezioni sono fornite con staffa di fissaggio 8 0 9.
All multiple pumps with more than two sections are available with bracket 8 or 9 version.
Senza staffa di fissaggio Con staffa di fissaggio
Without bracket With bracket
S 4
So | |
T
o
]
= 0 9
O
oo
NG | |
FE &
=3
26
v
=Neo)
e r*\ ——
8o l
0.E
c
 E
55 | ]
28
: 1

036-010



4 CASAPPA

FLANGE INTERMEDIE E ALBERI DI COLLEGAMENTO

Magnum

Shafts and intermediate flanges for connection

Flange d’ accoppiamento
Connecting flanges

FO E[Eif %
] I

j—|

HD. 35 + HD. 35

Flangia d’ accoppiamento
Connecting flange

I

& LI

q £ Sy

1| AL [lig)

—

i

Flangia d’ accoppiamento
Connecting flange

10 :[Ei [fj;@

Flangia d’ accoppiamento
Connecting flange

4

[
11 qum

110 Nm

s
7
Albero di
60 | collegamento
Connecting shaft
HD. 35 + HD. 30
it
.9
2%
——
Albero di
61 | collegamento
Connecting shaft
HD.35+ Gr.2 Sr. C
Albero di collegamento
stadi separati
63 Separate stages

connecting shaft

H =
>on =7

62

Albero di
collegamento
Connecting shaft

036-010



4 CASAPPA

Magnum

FLANGE INTERMEDIE E ALBERI DI COLLEGAMENTO

Flange d’ accoppiamento
Connecting flanges

L

—

i

MO E{Ei [f

i 1

i=l

Shafts and intermediate flanges for connection

HDP 30+ HDP 30

3

L9

Flangia d’ accoppiamento
Connecting flange

=]

[%o] I

Albero di collegamento
65 Connecting shaft
HDP 30+ KP 20
Albero di collegamento
stadi separati
68 Separate stages
connecting shaft

Flangia d’ accoppiamento
Connecting flange

N1

e

-
ﬂ*

? _
4
T

Flangia d' accoppiamento
Connecting flange

JHI T

PO

Flangia d’ accoppiamento
Connecting flange

X

L)

P1

Albero di collegamento
73 Connecting shaft
HDP 30+ Gr.2Sr. C
Albero di collegamento
stadi separati
110 Nm 67 | Separate stages
connecting shaft
— !
— =
P =B e
xdR/ SR
P ==
Albero di collegamento
66 Connecting shaft

036-010



g CASAPPA Magnum

INSTALLAZIONE

Pompa
Assicurarsi, nel caso di pompe unidirezionali, che il senso di rotazione sia coerente con quello dell’albero
dal quale deriva il moto. Assicurarsi che la flangia di montaggio realizzi un buon allineamento fra I'albero
di trasmissione e I'albero della pompa, il collegamento non deve indurre carichi radiali o assiali sull'albero
della pompa nel caso di utilizzo delle versioni 0, 1, 2.

Motore
Assicurarsi, nel caso di motori unidirezionali, che il senso di rotazione sia coerente con i collegamenti del
circuito. Assicurarsi che la flangia di montaggio realizzi un buon allineamento fra I'albero dell'utilizzo e

I'albero del motore, il collegamento non deve indurre carichi radiali o assiali sull’albero del motore nel caso
di utilizzo delle versioni 0, 1, 2.

SERBATOIO

La capacita del serbatoio deve essere in accordo con le condizioni d’esercizio dell’ impianto (~ 3 volte I'olio
in circolazione), per evitare surriscaldamenti del fluido, se necessario installare uno scambiatore. Nel
serbatoio le condotte di ritorno e aspirazione devono essere distanziate (interponendo una paratia verticale)
per evitare che l'olio di ritorno venga subito riaspirato.

TUBAZIONI

Le tubazioni devono avere un diametro nominale non inferiore a quello delle bocche della pompa o del
motore ed essere perfettamente a tenuta. Per limitare le perdite di carico, realizzare il percorso delle
tubazioni piu corto possibile riducendo al minimo il numero delle resistenze idrauliche (gomiti, strozzamenti,
saracinesche). E’ consigliabile interporre sulle tubazioni un tratto di tubo flessibile, per ridurre la trasmis-
sione di vibrazioni. Tutte le tubazioni di ritorno devono finire al di sotto del livello minimo dell’olio, per evitare
formazioni di schiuma. Prima di collegare le tubazioni togliere eventuali tappi di chiusura e assicurarsi che
siano perfettamente pulite.

FILTRAZIONE

Noi consigliamo una filtrazione su tutta la portata dell'impianto, i filtri devono essere montati rispettando le
indicazioni riportate nelle prime pagine del catalogo, sull’aspirazione delle pompe sono consentiti solo se
grossolani.

FLUIDO IDRAULICO

Impiegare fluidi idraulici conformi alle tabelle riportate nelle prime pagine del catalogo. Evitare miscele di
oli diversi che potrebbero dare origine a una decomposizione dell'olio e ridurre il suo potere lubrificante.

MESSA IN FUNZIONE

Assicurarsi che tutti i collegamenti del circuito siano esatti e che I'impianto sia in condizioni di assoluta
pulizia. Immettere I'olio nel serbatoio servendosi sempre di un filtro. Sfiatare il circuito per favorire il
riempimento dell'impianto. Tarare le valvole limitatrici di pressione al valore piu basso possibile. Avviare
I'impianto per qualche istante alla minima velocita quindi sfiatare ulteriormente il circuito e verificare il livello
dell’'olio nel serbatoio. Se la differenza di temperatura tra la pompa o il motore e quella del fluido supera i
10 °C, avviare e arrestare I'impianto per brevi periodi in modo da realizzare un riscaldamento progressivo.
Aumentare infine gradatamente la pressione e la velocita di rotazione fino a raggiungere i valori di esercizio
previsti che devono mantenersi entro i limiti dati a catalogo.

CONTROLLI PERIODICI - MANUTENZIONE

Mantenere la superficie esterna pulita soprattutto nella zona della tenuta dell’albero di trascinamento, la
polvere abrasiva puo infatti accelerare I'usura della tenuta stessa e causare perdite. Sostituire il filtro con
regolarita per mantenere il fluido pulito. Il livello dell'olio deve essere controllato e sostituito periodicamente
a seconda delle condizioni di lavoro dell'impianto.

036-010



g CASAPPA Magnum

INSTALLATION
Pump

The direction of rotation of single-rotation pumps must be the same as that of the drive shaft. Check that
the coupling flange correctly aligns the transmission shaft and the pump shaft, the connection do not
generate an axial or radial load on the pump shaft in the applications of 0, 1, 2 versions.

Motor

The direction of rotation of single-acting motors must match circuit connections. Check that the coupling
flange correctly aligns the user shaft and the motor shaft, the connection do not generate an axial or
radial load on the motor shaft in the applications of 0, 1, 2 versions.

TANK

Tank capacity must be sufficient for the system’s operating conditions (3 times the amount of oil in
circulation) to avoid overheating of the fluid. A heat exchanger should be installed if necessary. The
intake and return lines in the tank must be spaced apart (by inserting a vertical divider) to prevent the
return-line oil from being taken up again immediately.

LINES

The lines must have a major diameter which is at least as large as the diameter of motor or pump ports,
and must be perfectly sealed. To reduce loss of power, the lines should be as short as possible, reducing
the sources of hydraulic resistance (elbow, throttling, gate valves, etc.) to a minimum. A length of flexible
tubing is recommended to reduce the transmission of vibrations. All return lines must end below the
minimum oil level, to prevent foaming. Before connecting the lines, remove any plugs and make sure
that the lines are perfectly clean.

FILTERS

We recommend filtering the entire system flow. Filters should be fitted as indicated in the first pages of
the catalogue. Only coarse filters are recommended for pump intake.

HYDRAULIC FLUID

Use hydraulic fluid conforming to the table as specified in the first pages of the catalogue. Avoid using
mixtures of different oils which could result in decomposition and reduction of the oil’s lubricating power.

STARTING UP

Check that all circuit connections are tight and that the entire system is completely clean. Insert the oil
in the tank, using a filter. Bleed the circuit to assist in filling. Set the pressure relief valves to the lowest
possible setting. Turn on the system for a few moments at minimum speed, then bleed the circuit again
and check the level of oil in the tank. If the difference between pump or motor temperature and fluid
temperature exceeds 10 °C, rapidly switch the system on and off to heat it up gradually. Then gradually
increase the pressure and speed of rotation until the pre-set operating levels as specified in the catalogue
are attained.

PERIODICAL CHECKS - MAINTENANCE

Keep the outside surface clean especially in the area of the drive shaft seal. In fact, abrasive powder
can accelerate wear on the seal and cause leakage. Replace filters regularly to keep the fluid clean. The
oil level must be checked and oil replaced periodically depending on the system’s operating conditions.

036-010



g CASAPPA Magnum

Come ordinare una unita singola
How to order single unit

Prima di ordinare consultare la tabella di compatibilita albero flangia e versione alle pagine 1.32 - 1.33 - 1.34
Before ordering consult shaft flange and version table compatibility at pages 1.32 - 1.33 - 1.34

HDP 30034 | | s || 0 |-[04||s3|-| L ||mc|/|mMB|-| N |

Guarnizione N -V - V-Bz
vedi pag. 1.3
SealN -V -V-Bz
see page 1.4

Pompa tipo - Motore tipo
vedipag. 1.6 - 1.14 Codice bocca di uscita (OUT)
Pump type - Motor type vedi pag. 1.36 - 1.37 - 1.38 - 1.39
see page 1.6-1.14 Outlet port code (OUT)
see pages 1.36-1.37-1.38-1.39

Rotazione: S=sinistra - D=destra

R=reversibile - B=reversibile drenaggio interno Codice bocca di ingresso (IN)
Rotation: S=left - D=right ) vedi pag. 1.36 - 1.37 - 1.38 - 1.39
R=reversible - B=reversible internal drain Inlet port code (IN)

see pages 1.36 - 1.37 - 1.38 - 1.39

Versione: 0-1 -2 - 4 vedi pag. 1.30 Codice posizione bocche L - P - H - K vedi pag. 1.36
Version: 0- 1 -2 -4 see page 1.30 Port position code L - P - H - K see page 1.36

Codice flangia di montaggio S1-S3-S4-S5-S8

vedipag. 1.32 - 1.34
Codice albero di trascinamento 04-05-06-32-33-34 vedi pag. 1.31 Mounting flange code S1-S3-S4-S5-S8
Drive shaft code 04-05-06-32-33-34 see page 1.31 see pages 1.32 - 1.34

036-010



4 CASAPPA

Magnum

Come ordinare una unita multipla

How to order multiple units

Prima di ordinare consultare la tabella di compatibilita albero flangia e versione alle pagine 1.32 - 1.33 - 1.34
Before ordering consult shaft flange and version table compatibility at pages 1.32-1.33-1.34

| HDP 3580 || s || 0 |-[o6|[s8|-| L |[sE|/|sD|-|61] |Go|-|N|[A]
| HDP | 30043 | | s | -l L ||splr|sc]-|65] [mo|-| N || 1]
\ —
| HDP [ 30634 | | s | L |[scli|sB]- miol-[ N |[ P
A=anteriore
Pompa t A=front
ompa tipo I=intermedia
vedi pag. 1.6 . .
P I=intermediate
ump typel 6 P=posteriore
see page 1. Perear
Rotazione: -
S=sinistra - D=destra Guarnizione N -_V -V-Bz
Rotation: vedi pag. 1.3
S=left - D=right SealN-V-V-Bz
see page 1.4
Versione: 0-1 - 2 - 4 vedi pag. 1.30 . . .
Version: 0-1-2 - 4 see p;fgegl.?,o Coperchio posteriore vedi pag. 1.39
Rear cover see page 1.39

Codice albero di trascinamento
04-05-06-32-33-34 vedi pag. 1.31
Drive shaft code 04-05-06-32-33-34 see page 1.31

Codice flangia di montaggio S1-S3-S4- S5-S8
vedi pag. 1.32-1.34
Mounting flange code S1-S3-S4-S5-S8 see pages 1.32 - 1.34

Codice posizione bocche L - P - H - K vedi pag. 1.36
Port position code L - P - H - K see page 1.36

Codice bocca di ingresso (IN) vedi pag. 1.36 - 1.37 - 1.38 - 1.39
Inlet port code (IN) see pages 1.36 - 1.37 - 1.38 - 1.39

Codice flangia sezione precedente
Connecting flange code of the pre-
vious section

Flangia d’ accoppiamento
vedi pag. 1.40 - 1.41
Connecting flange see pages 1.40 -1.41

Albero di collegamento vedi pag. 1.40 - 1.41
Connecting shaft see pages 1.40 - 1.41

Codice bocca di uscita (OUT)

vedi pag. 1.36 - 1.37 - 1.38 - 1.39
Outlet port code (OUT)

see pages 1.36 - 1.37 - 1.38 - 1.39

Codice da tralasciare solo nell'ordine di unita assemblate.
Omit code only if ordering complete multiple assembly.

Come ordinare una unita multipla MAGNUM + KP 20 o serie C

How to order multiple units MAGNUM + KP 20 or C series

|68 ][N0 |/|KP 2004 || D || N |

Sezione anteriore vedi codifica
unita multiple (vedi sopra)
Front section see how to order
multiple unit (see above)

Albero di collegamento vedi pag. 1.40 - 1.41
Connecting shaft see page 1.40 - 1.41

Flangia d’ accoppiamento vedi pag. 1.40 - 1.41
Connecting flange see page 1.40-1.41

Guarnizione
Seal
N=buna - V=viton

Rotazione: S=sinistra - D=destra
Rotation: S=left - D=right

Pompa tipo vedi pag. 1.28 - 1.29
Pump type see pages 1.28 - 1.29

Per maggiori informazioni su pompe serie KAPPA e serie C, consultare i rispettivi cataloghi tecnici.
For more information on KAPPA and C series, consult the respective technical catalogues.

036-010



g CASAPPA Magnum

ESEMPI DI ORDINAZIONE

Order example

Esempio d’'ordine di una sezione anteriore
Order example for front section

HDP 3580 S0-06 S8-L SE/SD-61 GO-N A

Esempio d’ordine di una sezione intermedia
Order example for intermediate section

HDP 30643 S-L SD/SC-65 MO-N |

Esempio di ordinazione di una sezione posteriore
Order example for rear section

HDP 30e34 S-L SC/SB-M9-N P

Esempio di ordinazione di una unita tripla assemblata
Order example for assembled triple unit

HDP 3580 S0-06 S8-L SE/SD-61 G0+30e43 L SD/SC-65 M0+30e34 L SC/SB-M9-N

La nostra politica € orientata verso il miglioramento continuo dei prodotti pertanto le caratteristiche degli stessi pos-
sono cambiare senza preavviso.

Our policy is one of continuous improvement in product. Specification of items may, therefore, be changed without
notice.

036-010



AO3TIE

POMPE A INGRANAGGI

SERIE APL

GEAR PUMPS

APL SERIES

"~ CASAPPA

FLUID POWER DESIGN

038-010



QUESTO CATALOGO SOSTITUISCE AGGIORNAMENTI
This catalogue Replace Revisions
Codice Edizione Codice Edizione Novita pagina Modifiche pagina
Code Edition Code Edition News page Review page
1.6-1.7-1.8-1.9-1.10-1.11-
AO3TIE 07.1995 AO2TIE 10.1992 1.12-1.13-1.14

038-010



;j CASAPPA Indice/ Index

INDICE
Index
ARGOMENTO DA PAG A PAG.
Section From page to page
CARATTERISTICHE GENERALI
Features . . . . . . . e 1.2 ....13

POMPE A INGRANAGGI SERIE APL VERSIONE 43 TO
Hdraulic gear pumps APL seriesversin 43TO. . . . . . . . . . .. .. .. ... .... 14 ....14

POMPE A INGRANAGGI SERIE APL VERSIONE 19 T1
Hdraulic gear pumps APLseriesversin 19T1. . . . . . . . . ... ... ... ..... 15....15

POMPE A INGRANAGGI SERIE APL VERSIONE 13 T1
CouplingsHdraulic gear pumps APL series versin13T1. . . . . . . .. .. ... ... 16 ....16

SUPPORTI PER POMPE VERSIONE 43 TO
Supports for pumps version 43 TO . . . . . . . . . L 1.7 ....19

SUPPORTI PER POMPE VERSIONE 13 T1
Supports for pumps version 13 T1 . . . . . . . . . . 1.10. ... 111

SUPPORTI PER POMPE VERSIONE 19 T1
Supports for pumps version 19 T1 . . . . . . . . . . 112. ... 114

MANICOTTI PER POMPE VERSIONE 43 TO
Couplings forpumps version 43 TO . . . . . . . . . e 1.15. . . . 1.15

DESCRIZIONE DEL PRODOTTO
Description of the product

Le pompe della SERIE APL, con corpo in ghisa e rasamenti compensati idraulicamente, sono state proget-
tate per ottenere un’ elevata cilindrata in relazione alle ridotte dimensioni di ingombro e un buon funziona-
mento anche alle basse velocita. Per queste loro caratteristiche sono particolarmente impiegate per applica
zioni su macchine agricole e veicoli industriali.

The gear pumps APL SERIES presented in this catalogue are in cast iron construction with balanced thrust
plates and have a particularly high flow capacity in relation to phisical size and weight. They have been suc -
cesfully developed to attain high performance characteristics at both normal and low speed. For these rea-
sons they have wide application in agricultural and mobile machinery.

038-010



Z| c‘s Am Caratteristiche/Features
CARATTERISTICHE GENERALI

Features
Costruzione Pompe ad ingranaggi esterni
Tipo di fissaggio A flangia: triangolare (Italiana)
Collegamentotubi Raccordi filettati

Senso di rotazione (definito guardandol’albero conduttore) Reversibile (B) con drenaggio interno

Campopressione di alimentazione per pompe 0,7 + 3 bar (ass.)

Temperatura fluido Da -15 a +80 °C

Fluidi idraulici a base di oli minerali, secondo le norme

Fluido idraulico ISO/DIN. Per altri fluidiconsultare il nostro servizio tecnico
commerciale.

Da 12 a 100 mmzls.(cSt) consigliato

Campodiviscosita - 2 -
Fino a 750 mm*“/s (cSt)consentito

Filtrazione consigliata 20+ 25 mm

Construction External gear type pumps
Mounting Triangular (Italian) flange
Line connections Screw

Direction of rotation (looking on drive shaft) Reversible (B) internal drain
Inlet pressure range for pumps 0,7 + 3 bar (abs.)

Fluid temperature range From -15 to +80 °C

Mineral oil based hydraulic fluids to ISO/DIN.
Fluid For other fluids please consult our sales department.

12 upto 100 mm?/s (cSt) recommended

Viscosity range 2 -
Up to 750 mm “/s (cSt) permitted

Filtering requirement 20 + 25 mm

038-010



~ CASAPPA

Caratteristichegenerali / Features

PARAMETRI DI FUNZIONAMENTO

General data

Pressionemax. Velocita max. intermittente Velocita min.
Cilindrata Max pressure Intermittent max. speed Min. speed
Pompa tipo .
Displacement A press. p2 A vuoto A press. p2
Pump type P1 p2 p3 At pz ;r)éessu- Withoutload At P2 Peressw
cm®/giro bar Y
cu infrev psi min
60,97 180 200 230
APL 61 3.72 2610 2900 | 3300 1750 2000
81,29 160 180 220
APL 82 4.96 2320 2610 3190
350
99,43 160 180 210
APL 100 6.06 2320 2610 | 3040 1500 1750
APL 125 124,81 140 160 200
1.99 2030 2320 2900

_ Pressione max. continua
P1= Max. continuous pressure

_ Pressione max. intermittente

DETERMINAZIONE DI UNA POMPA
Design calculations for pumps

_ Pressione max. di punta
Max. intermittent pressure P3= Max. peak pressure

Q [I/min] Portata Delivery

M [Nm] Coppia Torque

P [kw] Potenza Power

Vi [em3giro] - [cm/rev] Cilindrata Displacement
n [min-1] Velocita Speed
Dp [bar] Pressione Pressure

hv=nv (V,pp, n)

('0,98)

Rendimento volumetrico

Volumtric efficiency

hm=nm (V,pp, n) (' 0,90)

Rendimento meccanico

Mechanical efficiency

ht

('0,88)

Rendimento totale

Overall efficiency

Q= Venene102 [I/min]

ApV

Me — 2oV
62,8m

[(Nm]

ApeVen
612¢1000nt

038-010



~1CASAPPA

APL

43 TO

POMPE AD INGRANAGGI UNIFICAZIONE ITALIANA
HYDRAULIC GEAR PUMPS ITALIAN STANDARD

"A" SERIES Pompe singole/Single pumps

Come ordinare (How to order)

APL 61 B0-43TO-LGF/GF-N

A
B 12 15
<O
T
o0 _© UU s _
+ + >
S 2
=
? \*'j N - e}
4 f &
: 1
)
§ 25 -
g c ¢
©
8
e Coppia max. 160 Nm
~m Max. torque 160 Nm
o0
OvD |
[} I
N
S w
= — g
A 6x6x25 t
TNl RANZ-AQ. T
UNI 6604-69 18
Rotazione reversibile con drenaggiointerno.
Reversible rotationwithinternaldrain.
Massa
Pompa tipo A B c Mass
Pump type
mm mm kg
APL 61 178,5 116,5 G1 10,7
APL 82 B 0-43 TO-L GF/GF-N | 1915 1225 G1 11
APL 100 218 136 G1 11,5
APL 125 B 0-43 TO-L GG/GG-N 234 152 G1l1/4 12,3

038-010



~ CASAPPA

"A" SERIES Pompe singole/Single pumps

POMPE AD INGRANAGGI UNIFICAZIONE ITALIANA
HYDRAULIC GEAR PUMPS ITALIAN STANDARD
A
B 12 15
1] i
‘ ‘N - |
) O : e
\Nf/ - \{f/ =
4 Il [l “
15 ‘ 16 C C
UNI 8953-6X21X25 S
(21 UNI 221)
3
2 g
8
Rotazione reversibile con drenaggio interno.
Reversible rotationwith internal drain.
Massa
Pompa tipo A B c Mass
Pump type
mm mm kg
APL 61 178,5 116,5 G1 10,7
APL 82 B 0-19 T1-L GF/GF-N 191,5 122,5 G1 11
APL 100 218 136 G1 11,5
APL 125 B 0-19 T1-L GG/GG-N 234 152 G11/4 12,3

Come ordinare (How to order)

APL61B0-19T1-L GHGF-N

038-010



i/j CASAm "A" SERIES Pompe singole/Single pumps
APL 13 T1

POMPE AD INGRANAGGI UNIFICAZIONE ITALIANA
HYDRAULIC GEAR PUMPS ITALIAN STANDARD

-0.100

¢5Z -0.220

148
\
)
73
e
ﬂ :
l
L

i
i

§

16 G 1 G |

|

I
< L
o
- o
o o
S ™
o L
o
® L
o |
=S \
[a]
Rotazione reversibile con drenaggiointerno.
Reversible rotation withinternal drain.

Massa
Pompa tipo A B Mass
Pump type
mm mm kg
APL 61 178,5 116,5 10,7
—— BO0-13T1-L GF/GF-N
APL 82 191,5 122,5 11
Come ordinare (How to order) APL 61B0-13T1-L GF/GF-N

038-010



~ CASAPPA

SML

06892200

SUPPORTI PER POMPE VERSIONE 43 TO
SUPPORTS FOR PUMPS VERSION 43 TO

Supporti/Supports

D028-D12/069%

038-010



~|CASAPPA

SFL 06890200

SUPPORTI PER POMPE VERSIONE 43 TO
SUPPORTS FOR PUMPS VERSION 43 TO

Supporti/Supports

DC28-D04/0695

2 DIN 3511

|

74

038-010



.~ CASAPPA

SFL P 06890900

SUPPORTI PER POMPE VERSIONE 43 TO
SUPPORTS FOR PUMPS VERSION 43 TO

Supporti/Supports

D028-DQ%/069%

N NN

359

038-010



/;i’ CASA Supporti/Supports

SFL 7/3 06891100

SUPPORTI PER POMPE VERSIONE 13 T1
SUPPORTS FOR PUMPS VERSION 13 T1

N CET

- o 24
- MIG-°3 A 1207 ‘
- -
$ T i~ <3
AN -
(o)
~
n
o
g _
g ] B 2219 DN 3482
g 16,40 5 2

038-010



; CASAPM Supporti/ Supports
SFL 7/3P 06891050

SUPPORTI PER POMPE VERSIONE 13 T1
SUPPORTS FOR PUMPS 13 T1

2 LIN G5

175

110

D028-D09 /0695

038-010



//Tf,
Kaw

CASAPPA

Supporti/Supports

SML 4 06892300

SUPPORTI PER POMPE VERSIONE 19 T1-13T1

SUPPORTS FORPUMPS VERSION 19T1-13T1

DO28-D13/0695

2 DIN 2511

13

1

LN 22

MA6x21x25 UNI 8953 06951400

MABx21x25 UNI 8953/ 06950600

A 22x19 DIN 5482

MANICOTTO PER SUPPORTOSML 4-19T1
COUPLING FOR SUPPORT SML 4-19T1

MANICOTTO PER SUPPORTO SML 4-13T1
COUPLING FOR SUPPORTSML 4 -13T1

D028-D29/090 1

UNI 8953 6x21x25

{21 UNI 221) \

~

$35

31

Do28-D28/0795

A 22715 DN S8z PR ERR AN 2 Vi

\ \ “%' NI 22T

'
Y <

50

<1

038-010



; CASAPM Supporti/Supports
SFL 7/4 06891120

SUPPORTI PER POMPE VERSIONE 19 T1
SUPPORTS FOR PUMPS VERSION 19 T1

DIN G611

G- 3 A C0° 116

2]

1°3/8

B4z

- L

D028-D10/0695

MA6x21x25 UNI 8953 06951400

MANICOTTO PER SUPPORTO SFL 7/4
COUPLING FOR SUPPORTSFL 7/4

UNI 8953 6x21x25

(21 UNI 221} \

NN

@35

D028-D29 /090 1

31

038-010



/;i’ CASAm Supporti/Supports
SFL 7/4P 06891060

SUPPORTI PER POMPE VERSIONE 19 T1
SUPPORTS FOR PUMPS VERSION 19 T1

17378 I 961

g LNI 89535-8.21/25 &
o ) NN
S 6740 50| 2
a T
MA6x21x25 UNI 8953 06951400

MANICOTTO PER SUPPORTO SFL 7/4P
COUPLING FOR SUPPORT SFL 7/4P

UNI 8953 6x2 1x25

Zt unr 221y )\

NN

#35

D028-D29/090 1

31

038-010



Vo
— CASAPPA

MO22-1 DIN 9611

06900000

MANICOTTO PER POMPE VERSIONE 43 TO
COUPLING FOR PUMPS VERSION 43 TO

Supporti/Supports

D028-D24/0695

ME ¥ 25

1738

DIN 95 11

MA22-1 DIN 9611

06900520

MANICOTTO PER POMPE VERSIONE 43 TO
COUPLING FOR PUMPS VERSION 43 TO

0028-D25/0695

3125

1

278 BIN 95

.

747

MAZ22-1 DIN 9611 P

06900580

MANICOTTO PER POMPE VERSIONE 43 TO
COUPLING FOR PUMPS VERSION 43 TO

D028-D26/069%

12,83 01 G611

038-010



Bestellnr.

050-010-01100

050-010-01150

050-010-01200

050-010-01400

050-010-1



Bestellnr.

050-010-01250

050-010-01300

050-010-01350

050-010-01400

Pumpe doppeltwirkend
fur Tankeinbau

050-010-2



Abmessungen (mm) Gewicht
Bestellnr. Artikelnr. Tankinhalt (1)

A|lB|D|E |G kg
050-010-01450 | PM00220001 1 120 2,0
050-010-01500 | PM00220002 2 90 ([ 120|150 | 100| 180 2,2
050-010-01550 | PM00220003 3 247 25
050-010-01600 | PMD0220005 5 200 4,5
050-010-01650 | PM00220007 7 90 | 195|175 | 175 | 269 5,4
050-010-01700 |PMO00220010 10 376 6,8

Montage: 4 Lécher, Bohrung @ 8,5 mm

050-010-3



Bestellnr.

050-010-01000

050-010-01050

050-010-01400

Pumpe fur Rohrleitungseinbau

050-010-4



Variable displacement axial piston pumps,

for open circuit.

DISPLACEMENTS MAX. SPEED

From 29 cm®irev ;

To 73 cm/rev 3000 min”

APPLICATION
PRESSURE . .
Medium, high pressure

Max. continuous 280 bar

Max. intermittent 315 bar SECTOR

Max. peak 350 bar Mobil / Industrial

® Energy savings. PLATA pumps meet these requirements in every way.
The variable displacement axial piston pump is the op-
timal solution for open circuit applications. PLATA
® Operational flexibility. pumps are available with a wide range of control op-
tions. The pump is designed for both radial and axial lo-
ads, and supports full torque transmission in multiple
® Drive shaft bearing suitable for body configurations.
radial and axial loads.

® Low noise emission.

® Short response time.

060-010



4 CASAPPA

GENERAL INFORMATIONS / INSTRUCTIONS

ol e
"‘ ’\u.u\'-\'-\""‘"

INSTALLATION

Check that the maximum coupling eccentricity stays wit-
hin 0,25 mm to reduce shaft loads due to misalignment.
Itis advised to use a flexible coupling suitable to absorb
eventual water hammer. For applications with axial and
radial loads exceeding published standards, consult our
sales department. The direction of rotation of the pump
must agree with the prime mover rotation. Before instal-
lation, the case of the pump must be filled with fluid. Be-
fore start-up and during the operation, check that the
pumpis full of hydraulic oil for at least 3/4 of the volume.

LINES

The lines must have a major diameter which is at least as
large as the diameter of pump ports, and must be per-
fectly sealed. To keep the oil velocity low and increase
atmospheric pressure at the pump inlet, the suction lines
should be as short as possible. Sources of hydraulic re-
sistance such as elbow, throttilng, gate valves, ect. sho-
uld also be kept to a minimum. A length of flexible tubing
is recommended to reduce the transmission of vibra-
tions. Before connecting the lines, remove any plugs and
make sure that the lines are perfectly clean. Check that
the drain line is dimensioned in a way to guarantee a
case pressure lower than 1,5 bar absolute. The drain line
must be connected directly (no filter, no valves, no oil co-
oler) to the tank and must terminate below the oil level.
Check that the dimensions of the suction line guarantees
a pressure equal or superior to 0,8 bar. Inlet pressure in-
ferior to 0,8 bar could cause an increase of noise emis-
sion, decreasing pum p performance and a reduction of
its life expectancy.

1 - Pump body

2 - Swash plate

3 - Piston

4 - Cylinders block

5 - Cover

6 - Retaining plate

7 - Counterbalancing spring

8 - Piston guide plate

MOUNTING POSITION

The pump can be mounted in a horizontal or vertical
(shaft upwards) position, provided that the location of
the drain port assures the required filling of the case.
The pump can be located above the oil level if the ab-
solute pressure at the inlet port stays within the stated
limits. To reduce noise emission, we recommend that
the pump be mounted below the oil level, and avoid
suction lines with sharp restrictions.

STARTING UP

Check that all connections are secure and that the en-
tire system is completely clean. Add oil to the tank al-
ways using a filter. Bleed the air from the circuit to help
the filing. Turn on the system for a few moments at mi-
nimum speed, then bleed the circuit again and check
the level of oil in the tank. Gradually increase the pres-
sure and speed of rotation up to the pre-set operating
levels, which must stay within the stated limits as spe-
cified in the catalogue.

060-010



TECHNICAL DATA

Technical data (with HL or HLP mineral oil based hydraulic fluid to DIN 51524)

Pump type
Max. displacement (theor.) Vimax [cm®/rev] 29 46 73
Max. inlet pressure [bar abs.] min. 0.8
) P ) max. 25
cont. 280
Max. outlet pressure [bar] int. 315
peak 350
Max. drain line pressure [bar abs.] 1,5
Max. speed Nmax [min™"] @ Vmax (1) 3000 2600 2200
. 87 119,6 160,6
Max. delivery (theor.) [I/min] @ Nnax -
@ 1500 min 43,5 69 109,5
Max. power (theor.) @ Nmax 39,8 54,7 73,5
( Ap= 280 bar) [l in”!
@ 1500 min 19,9 31,6 50,1
Ap = 280 bar 129,3 205,1 325,5
Max. torque (theor.) [Nm]
Ap = 100 bar 46,2 73,2 116,2
Moment of inertia [kgm? 0,0020 0,0030 0,0080
Max. permissible loading IN] Fax 1000 1500 2000
on drive shaft F rag 1500 1500 3000
Fill capacity [ 0,7 0,9 1,5
Mass (without oil) [kg] 18 24 33
Seals N= Buna - V= Viton
. with Buna seals -25 + +90
Operating temperature [°C] - -
with Viton seals -10 + +90
cont. = continuous Fax = Axial force Frog o
int. = intermittent Fraa = Radial force " e
(1) = with an inlet pressure of 1 bar abs. Fox 2
For different working conditions, please consult our sales department. External load position 3
g
. e o . . L2 L/2
Technical data restrictions (with fire resistant fluid) ’
L
o prsare e spued | Speratng,
Seals bearing
Type Fluid composition cont. | int. |peak | LVP 30 |LVP 48 | LVP 75 [°C]
Water - glycol . : o
HFC (35 + 55 % of water) 170 | 185 | 200 2100 2000 1700 0+ +90 N-V 75 %
HFD Phosphate ester 200 | 220 | 240 2100 2000 1700 -10 + +50 \ 90 %

DIRECTION OF ROTATION
Clockwise or anti-clockwise defined looking at the drive shaft.

FLUID VISCOSITY

The fluid viscosity range for optimal use of PLATA pump is between

15 and 35 mm?/s (cSt). Limit functional conditions are:
1500 mm?/s at start up at -25 °C

Q [/min] Delivery 10mm?/s at maximum temperature of 90 °C.
M [Nm] Torque FILTERS
For a maximum pump life, we recommend the use of filtration
P [kW] Power systems suitable to contain the hydraulic fluid contamination in the
Vv 3 Displ t class 16/13 conforming to ISO 4406. Satisfactory operation is obtai-
[em/rev] Isplacemen ned also with contamination class 19/15 conforming to ISO 4406 or
n [min’1] Speed with cleanliness grade 9 conforming to class NAS 1638.
-3 .
Ap [bar] Pressure Q= Ven,ene10 [I/min]
Mv=1v (V,ap, N) Volumetric efficiency Ap *+V
M = [Nm]
Nm=Nm (V,ap, N) Mechanical efficiency 62,83 * Mm
_ o AD*V en
Nt =MNv® Mm Overall efficiency - P [kW]

600 « 1000 1t

060-010



OPERATING CURVES / TECHNICAL DATA

Delivery / power (max. displacement)

Each curve has been obtained at 50 °C, using oil with viscosity 36 mm?s at 40 °C and at these speed:

(1) a 1500 min™' (5) a 2200 min-'

(2) a 1800 min™'

(3) a 3000 min™’
(4) a 2600 min™

LVP 30

LVP 48

— ‘WOO) (50’ — 120 75
= (26.4 67) = = (31.7) (100.5) ==
£ o —1 =
%‘90) // (45)% é (4) — =
23.8 60.3
= 3] / 28 oo ,/ 60
= 80 40 = = (26 4) 7 (80.4) =
L1211 / 53.6) = v =
= 70 / 3% o = 2) / a
g 8.9 > el E (Z?OH < < (6353) I
£ £ .
= o 2 Sl 2 nd—9/ ad I
o (15.9) " 7 ~ |wo2 o S, T
50 W P 25 60 / \\ T = 30
ujoz) Wl o, 7 (3205) (15.9) » ,\l/// (40.2)
> 7 AN
(10.8) / D 7L (26.8) 0 ‘///\ s
30 / s 15 (10.6) Z (20.1)
o (7.9) s (207 1) o
g %) /ﬁ/ (134) S
5.3 13.4 3
Q z S 15.3) 0
o 10 5 {
~  (2.6) (6.7) ™~
2] [se)
o o
a 0 0 a 0
0 100 200 300 o 100 200 300
(1450) 12900) (4350) (1450} (2900) (4350)
p loar] - [(psi)] p lbar] - [(psi)]
LVP 75
180 100
= @79 (134) = DETERMINATION OF INLET PRESSURE AND
S (5) = FLOW REDUCTION FOR SPEED INCREASING
L 150 I — 7 80
= (39.6) // 1o7.2) =
X
— (2) Z %)# o Inlet Displacement %
e 120 ~ V. 60 | pressure
= 7 7
=6 (1) < ///» 180.4) | |larabs)| 65 70 80 90 | 100
< 4
o ///;/ % 0,8 120 | 115 | 105 | 97 | 90 .
23.8) A 53.6) 0,9 120 | 120 | 110 | 103 | 95 )
7177 £
60 é/ 20 1,0 120 | 120 | 115 | 107 | 100 8
L P9 26.8) 1,2 120 | 120 | 120 | 113 | 106 5
> e
3 £
S 5 . 1,4 120 | 120 | 120 | 120 | 112 3
8 (7.9 1,6 120 | 120 | 120 | 120 | 117 2
‘ )
i 2,0 120 | 120 | 120 | 120 | 120
S o
0 100 200 300
(1450} 12900} 14350}
p loar] - [lpsill E
xample 1 Example 2

Speed increasing: 120 %
Inlet pressure: 1,4 bar abs.

Displacement: 80 %

Speed increasing: 113 %
Inlet pressure: 1,2 bar abs.

Displacement: 90 %




NOISE LEVEL CURVES

[dBIA] LO3 179070199 [dB(A]]

DO37-D92/0799

75

73

69

67

65

63

59

57

55

84

80

7%

72

68

64

60

For each curve the sound pressure has been measured in
a semi-anechoic chamber at 50 °C, using oil with viscosity
46 mm?s at 40 °C.
Distance from microphone to pump = 1m
Measuring error =+ 2 dB (A)

A -~
Gsﬁ -
| ﬁi‘@/
’/
7 o
©
e,
7 ad
7 7
—
7
7
ya
/
100 200 300
(1450) (2900) (4350)
p lbar] - [lpsi)]
LVP 75
L
o -
nﬁ‘o 7
W
7
/
yd J | —
7 _-
7 N _ - B
R
| L
7 -
7 ol
7
7
100 200 300
(1450) (2900) (4350)
p lbar] - [lpsil]

[dBIA]]

D037-D91/0799

78

76

74

T2

70

68

66

64

62

60

58

LVP 48

// -
- | - —
O ““ Z —
w7 =
7 -
/‘ ) T
o -
— 7 &
L 77 <
7]
7
Z
ya
100 200 300
(1450) (2900) (4350)
p loar] - [lpsi)]

060-010



VERSION WITH SIDE PORTS - DIMENSIONS

213 . 106 E 5
(8.386) ‘ 0.417) 7 7/~ 4
'
— ~ —
S 1 = w8
u’; o
P
©|Q
| ~|<
&= ®le
116.2 NF 7
(4.575) "
183 PORTS
(7.205) IN ouT
38.3 SAE 3000 SAE 6000
(1.508) Nominal size
1" 1/4 3/4"
D1, D2: Drain port
8 ol? o2 Dimensions on page 12
=2 ™MD < |~
3 e e
[m] H .
L Optional:
§ E: Max. displacement limiter (®)
F: Min. displacement limiter (®)
170 (®) One turn of screw change
6.693) pump displacement of 1,5 cm®/rev.
VERSION WITH REAR PORTS - DIMENSIONS LVP 30
193.7 L 30 E 5
(7.704) ‘ ‘ (g1~ 4
L - _
\
i 9
— D D\ /o o —
=g 4 | , , 2
= Yola/!l \o]e =
38.3 41 116,2
| = 4
(1.508) (1.614) (4.575)
38.3
(1.508)
N
D2 o —f |
» - PORTS
| - G
P | N I T T e “E oo T~ IN OUT
o3 e ¢ & s} ’s)
% = « = = SAE 3000 SAE 6000
2 Optional: >— 1 Nominal size
© E: Max. displacement limiter (®)
P . . . 1" 1/4 3/4"
g F: Min. displacement limiter (®)
(®) One turn of screw change3 170 D1, D2: Drain port
pump displacement of 1,5 cm™/rev. (6.693)

Dimensions on page 12

060-010



SHAFTS / MOUNTING FLANGES

SAE “B” SPLINE

Available with flange code S5

41.2
(1.622)

@22 ©-10
(0.866)
(0.862)

1/4-20UNC-2B

D0O37-102/0799

6/

(0.630)
MAX. 190 Nm
(1283 Ibf in)

-

‘ 33,4
"(1.315)

ANSI B 92.1a-1976

- L class 5 - 13 teeth
16/32 D.P. - ang=30°

/ flaat root - side fit

SAE “B” STRAIGHT

Available with flange code S5

S
°9 @ 41.2 +0.03
—_— O -
NEE 2 (1.622) 635 0
NoZ (0.251)
g ST 0.250)
o
< —
5 |
? =
s kS
g 6/ P
(0.630] =
MAX. 145 Nm 33,4 6. 3546, 35425.4
(1283 Iof in) (1.315) 0.25x0.25x 1)
STRAIGHT @ 22 | e |

Available with flange code Z1

™M
o8 46 o
29 == (1.811) g 0036
NI
NS (0.236)
o [SESS] (0.235)
3
S & i
o / _
. wlQ
g 6/ N
(0.630) -
MAX. 170 Nm 36 6x6x32
(1505 Ibf in) (1.417)  (0.236x0.236x1.260)

‘ SAE “B” 2 HOLES

SAE J744 Jul88

146
(5.748)
w|Z
<@
N >
—P—{— —E =%
‘ ‘ ©
8
o PR
=
? 174
i (6.850)
[a)
olT
o
ke
=4

(4.000)
(3.998)
ISO 3019/2 Feb88
140
5.512)
|
w2
<o
|2 m
"
=8
\_/ l
. .
S
o 1
®
? 174
<
9 (6.850])
a
b
(o2 Ksp]
=)

0
10070 9%

(3.937)

(3.935)

060-010



VERSION WITH SIDE PORTS - DIMENSIONS

242 ‘ 6 E 7
19.528) ‘ 9.528)" g 4
/ = 0 S
(3 =3
L — D =1
j% cls L
@ ¢ ©|8
© .
01%} = ‘e
139.5 \ 14
(5.492) 7/
206 PORTS
(8.110) IN ouT
SAE 3000 SAE 6000
39.5 . .
e Nominal size
1" 1/2 1™
2 D1, D2: Drain port
e © _|o Dimensions on page 12
S =8 ol ! pag
- — e IS 8N
a) e} ©
© - Optional:
a Q»\L — E: Max. displacement limiter (®)
F: Min. displacement limiter (®)
194 (®) One turn of screw change
(7.638) pump displacement of 2,2 cm®/rev.
VERSION WITH REAR PORTS - DIMENSIONS LVP 48
218 3 E Fu
(8.898) IR ik
- a; g
— o
a|— = — — =)
2~ _ =
- D
R
m%} g \g
o F o
(1.535) " (1.693) (5.512) 4
T PORTS
® 28g8 IN out
2 i« o e SAE 3000 | SAE 6000
g Optional: Q“\L >— Nominal size
g E: Max. displacement limiter (®) — 112 1
 F: Min. displacement limiter (®)
S (®) One turn of screw change 194 D1, D2: Drain port
pump displacement of 2,2 cmrev. (7.638)

Dimensions on page 12

060-010



SHAFTS / MOUNTING FLANGES

SAE “BB” SPLINE

Available with flange code S5

° 8 46
oo !
(&)
NS S z (1.811)
R
g Sees ANSI B 92.12-1976
5 I class 5 - 15 teeth
> z=]| 16/32 D.P. - ang=30°
o flaat root - side fit
,L
g 6/
(0.630)
MAX. 330 Nm 38, 1
(2921 Ibf in) (1.500)

SAE “BB” STRAIGHT

Available with flange code S5

Of $ 46 +0 03
“sm 2 (1.811) 6.35 °
65883 (0.251)

s Sz e i [ (0.250)
g -—
3 =
o _
L — o
E 16/ g7
(0.630) -

MAX. 230 Nm 38. 1 6.35x6.35x31.8

(2036 Iof in] (15001 (0.25v0.251.252)

STRAIGHT @ 25 | 60 |

Available with flange code Z1

[iaX¢e]
38 52 0
oo (2.047) g0 0%
IR
glee (0.315)
> ce g (0.314)
3
a 1
: e
2 19 / NIT
(0.748) -
MAX. 220 Nm 42 8x7x36
(1947 Iof in) (1.654) (0.315%0.276x1.417)

| SAE “B” 2 HOLES

SAE J744 Jul88

146

14,5
(0.571)

(5.748)

174

195
(7.677)

D037-D19/0799

(6.850)

9.5

(0.374)

"o

$101.67°-%3
(4.000)
(3.998)
1ISO @ 100
I1ISO 3019/2 Feb88
140
(5.512)

14,5
(0.571)

174

195
(7 677)

D037-D20/0799

(6.850)

(0.354)

(3.937)
(3.935)

060-010



VERSION WITH SIDE PORTS - DIMENSIONS

276 . E g7
(10.866) / 77— 5
33‘ )
2N
o =
88—
P
2|
B=— 7|
e M T
F" 5
(6.220) PORTS
235
IN ouT
(9.252)
" SAE 3000 SAE 6000
] (1.732) Nominal size
2" 1" 1/4
D1, D2: Drain port
=~ Dimensions on page 12
o = <O O
2 oN =&
2 ©c |e
N Optional:
2 F > E: Max. displacement limiter (®)
% F: Min. displacement limiter (®)
° 217 (®) One turn of screw change
H 3
18.543) pump displacement of 3,9 cm°/rev.
VERSION WITH REAR PORTS - DIMENSIONS LVP 75
243 E &
19.567) / 7/~ 5
%
['e]
& %éé
41.5 49.5 15 \M 1
(1.634) "(1.949) —
(6.220)
. 44
(1.732)
PORTS
o IN ouT
| P@% NS SAE 3000 | SAE 6000
o S ——— | I I . ) F=d i . .
2 Optional: / e © | Nominal size
= ] —
5 E:Max. displacement limiter (®) - . 2" 1" 14
& F: Min. displacement limiter (®) F = _
E (®) One turn of screw change D1, D2: Drain port
o pump displacement of 3,9 cm®/rev. 217 Dimensions on page 12
(8.543)

060-010



SHAFTS / MOUNTING FLANGES

SAE “C” SPLINE

Available with flange code S7

o5 g 55.4
e — 2 (2.181)
EEEE
o~ - N
L St hlasito)

. 3
o |
S ==
2
: /
5
g 9 / i
(0 748)
MAX. 620 Nm 47,6
(5488 Ibf in) (1.874)

ANSI B 92.1a-1976

] class 5 - 14 teeth

"7 12/24 D.P. - ang=30°
flaat root - side fit

SAE “C” STRAIGHT

Available with flange code S7

8 @ 55,4
oo L') | —— +0.03
©las 35 (z.181) 7,94 °
MNeSs o
SRS T (0.314)
s== 2 (0.313)
hid N
3 s
. 7 5
= L 7|
g 9 / =
(0.748)
MAX. 490 Nm 47.6 7.94x7.94x38. |
(4337 Ibf in) (1.874)  (0.313x0.313x1.500)

STRAIGHT @ 32

Available with flange code Z2

53 0
55 == (2.362) I0,8 036

3188 (0.394]

—=2 (0.392)
2 .
g e ’
a / =
5 8|
o 1 -—
e 20 / =
(0.787)

MAX. 450 Nm 50 10x8x45
(3983 Ibf in) (1.969)  (0.394x0.315x1.772)

| SAE “C” 2 HOLES

SAE J744 Jul88

180
(7.087)
«|3
~|©
e
R B
— N 0O
NES
x
|
o _1
5 213
5 (8.386)
o
a
© \ _
E] — ~|8
o~
‘ (=]
l
[

0

¢|27—0.05
(5.000)
(4.998)
1ISO @ 125
ISO 3019/2 Feb88
180

(7.087)

g

/?ﬁ
N/

=\

225
(8.858)

D037-D22/0799

(8.386)

9
(0.354)

0
-0.05

$125

(4.921)
(4.919)

060-010



PORT DIMENSIONS

¢ < o) O
: S5
5
" X
8
INLET PORT - IN DRAIN LOAD SENSING
(SAE 3000) PORT D1 PORT
SAE FLANGED PORTS METRIC THREAD (SSM) BRITISH STANDARD BSPP
CODE Nominal A B ¢ D E X
size mm mm mm Thread
(in) (in) (in) Depth mm (in) Thread Thread
14 32 58,7 30,2 M 10
(1.260) | (2.311) | (1.189) 28 (1.102) 112
12 38,1 69,9 35,7 M 12 G 1/
(1.500) | (2.752) | (1.406) 26 (1.024)
. 50,8 77.8 42,9 M 12
2 (2.000) | (3.063) | (1.689) 25 (0.984) G 3/4
SAE FLANGED PORTS UNC THREAD (SSS) SAE STRAIGHT THREAD (ODT)
CODE Nominal A B ¢ ThD g E X
size mm mm mm rea
(in) (in) (in) Depth mm (in) Thread Thread
. 32 58,7 30,2 | 7/16-14 UNC-2B
17174 (1.260) | (2.311) | (1.189) 28 (1.102) 8/4-16 UNF-28
" 38,1 69,9 35,7 | 1/2-13 UNC-2B
17112 ' ’ ' 7/16-20 UNF-2B
(1.500) | (2.752) | (1.406) 26 (1.024) 1514 UNF-25
o 50,8 77,8 42,9 | 1/2-13 UNC-2B
(2.000) | (3.063) | (1.689) 25 (0.984)

OUTLET PORT - OUT DRAIN LOAD SENSING
(SAE 6000) PORT D2 PORT
SAE FLANGED PORTS METRIC THREAD (SSM) BRITISH STANDARD BSPP
Nomi A B C D E X
CODE omlnal mm mm mm Thread
size
(in) (in) (in) Depth mm (in) Thread Thread
" 19 50,8 23,8 M 10
QB 34 (0.748) | (2.000) | (0.937) 24 (0.945) G112
Qc o 25,4 57,2 27,8 M 10 G 1/8
(1.000) | (2.252) | (1.094) 24 (0.945)
N 32 66,7 31,8 M 14
Qb 1”14 (1.260) | (2.626) | (1.252) 23 (0.906) G 3/4
SAE FLANGED PORTS UNC THREAD (SSS) SAE STRAIGHT THREAD (ODT)
) A B (o D E X
CODE Nommal - p
size mm mm mm rea
(in) (in) (in) Depth mm (in) Thread Thread
w 19 50,8 23,8 3/8-16 UNC-2B
3/4 (0.748) | (2.000) | (0.937) 24 (0.945) 8/4-16 UNF-2B
" 25,4 57,2 27,8 | 7/16-14 UNC-2B
1 (1.000) | (2.252) | (1.094) 20 (0.787) 7/8-14 UNF-28 7/16-20 UNF-28
1 14 32 66,7 31,8 1/2-13 UNC-2B
(1.260) | (2.626) | (1.252) 23 (0.906)

060-010



4 CASAPPA

H B B0 B0 O O Om

shaft

Rotation ‘_ ‘

‘ Pump type

flange

Ports

Drive Mounting Ports
- IN/OUT

position

‘_ ‘ Seals ‘_ ‘Regulators - ‘ Addi?ional ‘ Fluid ‘
options

MD/QB -

1 |Pump type (max displacement)
in3/rev cm®/rev

1.74 29

2.76 46

4.38 73

Rotation

Anti-clockwise
Clockwise

Drive shaft
SAE “B” spline (13 teeth)
SAE “B” straight

straight g 22

SAE “BB” spline (15teeth)
SAE “BB” straight

Straight & 25

SAE “C” spline (14 teeth)
SAE “C” straight

Straight & 32

Mounting flange
SAE “B” 2 holes

1ISO & 100
SAE “C” 2 holes
1ISO & 125

Ports position

Inlet/outlet ports CODE

SAE FLANGED PORTS METRIC THREAD (SSM)

Nominal size
Pump type Inlet IN Outlet OUT
SAE 3000 SAE 6000
LVP 30 1"1/4 3/4" MD/QB
LVP 48 1"1/2 1" ME/QC
LVP 75 2" 1"1/4 MF/QD

SAE FLANGED PORTS UNC THREAD (SSS)

Nominal size

Pump type Inlet IN Outlet OUT
SAE 3000 SAE 6000
LVP 30 1"1/4 3/4" SD/VB
LVP 48 1"1/2 1" SE/VC
LVP 75 2" 1"1/4 SF/VD

Buna (standard)
Viton

Regulators
Pressure compensator
setting range 20 - 350 bar (a)

Flow compensator (b)

Flow compensator for remote control (b)
Flow compensator for internal control (b)
Torque limiter - standard

Torque limiter - internal pilot
Proportional flow servocontrol (c)
Proportional flow servocontrol with inte-
gral electronics (c)

Proportional flow servocontrol with inte-
gral electronics and seq. module RES (c)

Additional options (d)
Unloading valve (e)
Max. displacement limiter (f)

Min. displacement limiter (f)
Min. and max. displacement limiter (f)

Mineral oil (no CODE)
HF fluid (please consult our sales
department)

a) Standard setting 280 bar.

b) Differential pressure standard setting 14 bar
(setting range 10 - 40 bar).

C) For more informations, please consult our
sales department.

d) For additional options, please consult our
sales department.

e) For voltages availability please see page 20.

f)  Max. up to 50% of the displacement.

060-010



4 CASAPPA

ORDER EXAMPLE

| SINGLE PUMPS

CIENGELC R BV P 30 S=04 S5 MD/QB-N-LS2

LOTAWIGEDLEVEIRCENI GO SRV P30 S-04 S5 MD/QB-N-LS2-E ' H

ASSEMBLED MULTIPLE PUMPS

CENCEIG R U EY L VP 30-04"S5-L MID/QB-RP0-ASS5 04 /'30-04 S5-L MD/QB-N-LS2 S
DT CY TG RGO IV ET R EEHT CER VP 75-06°S 7= MF/QD=-RPO-E H-ASS5 04 / 30-04 S5-L MD/QB-N-LS2 S

il LVP 30-04 S5-L MD/QB-RPO-E-AS1 03 / PLP20.4-03 S1-L EA/EA-N S

pumps

INDIVIDUAL SECTIONS

O CL I EVP 30°S-04'S5-LMD/QB-N-RP0-ASS5 04

LEEREEVTL VP 30°S=04 S5-L MID/QB-N=LS2

060-010



Variable displacement axial piston pumps,

for open circuit.

DISPLACEMENTS MAX. SPEED

From 29 cm®irev ;

To 73 cm/rev 3000 min”

APPLICATION
PRESSURE . .
Medium, high pressure

Max. continuous 280 bar

Max. intermittent 315 bar SECTOR

Max. peak 350 bar Mobil / Industrial

® Energy savings. PLATA pumps meet these requirements in every way.
The variable displacement axial piston pump is the op-
timal solution for open circuit applications. PLATA
® Operational flexibility. pumps are available with a wide range of control op-
tions. The pump is designed for both radial and axial lo-
ads, and supports full torque transmission in multiple
® Drive shaft bearing suitable for body configurations.
radial and axial loads.

® Low noise emission.

® Short response time.

060-050



MULTIPLE PUMPS

Through drive

PLATA 3000 through drive axial piston pumps offer the flexibility to obtain different groups able to supply several hydrau-
lic systems. The operating characteristics of each assembled pumps are the same as the corresponding single pumps
according to the following conditions:

1) Do not exceed the maximum transmissible torque.

2) The maximum rotational speed is that of the lowest rated speed of the single unit incorporated.

M [Nm] Torque
Vv [cm®rev] Displacement
Ap [bar] Pressure

Nm=Nm (V,ap, N)

Mechanical efficiency

Ap*V

[Nm]
62,83+ nm

Notes: The torque absorbed from the shaft of the first pump results from the sum of the torques due to all single stages.
The achieved value must not exceed the maximum torque limit given for the shaft of the first pump.

DO37-DO7/0799

—

B

i

D E
A B C D E
Pump
type mm mm Flanged mm mm mm
(in) (in) for Code (in) (in) (in)
145 77 SAE A AS1 213 183 222
(5.709) | (3.031) SAE B AS5 (8.386) (7.205) (8.740)
169 82 SAE A AS1 242 206 251
(6.654) | (3.228) SAE B AS5 (9.528) (8.110) (9.882)
99 SAE A AS1 291
192 (3.898) SAE B AS5 276 235 (11.445)
(7.559) 104 (10.866) (9.252) 296
(4.004) | SAEC AST (11.654)

Overall dimensions: the same as the single pumps.
Ports dimensions on page 12. - Screws are supplied with the first pump.

060-050



INTERMEDIATE FLANGES

SAE “A” 2 HOLES

SAE J744 Jul8s

106. 4

(4.189)

M10
Depth
1

5
(0.591)

D037-D42/0196

(3.366)

(3.445)

8.3
(0.327)

OR-2325

(0.276)
7
(3.031)

COUPLINGS

SAE “A” SPLINE

Available with flange code AS1

© § 34.2

Bt .

‘& .
o = (1.346)
° ANSI B 92.1a-1976
> —F 1+ class 6 - 9 teeth
8 16/32 D.P. - ang=30°
[ flat root - side fit
8 62,4

(2.457)

MAX 100 Nm (885 Ibf in)

Second pump side

SAE “A” STRAIGHT

Available with flange code AS1

oo
¥

88
3.97

17,84
(0.706)
(0.702)

DO37-D56/0196

>

(0.161)
(0.159)

+0.05
15,8700

—— -

(0.627)
(0.626)

MAX 60 Nm (531 Ibf in)

34.2

1
(1.220)

=

62.4
(2.457)

(1.346)

SAE “A” Straight

Second pump side

060-050



INTERMEDIATE FLANGES

SAE “B” 2 HOLES | Ass |

SAE J744 Jul88

146 8.3
(5.748) (0.327)
i OR-3400
©, O\ 2B ;
Mi2 Bl 8
Depth r\ - 90'\ .
5 Lo <
.50 [ A €| —t — 188
\—/ SFE
& o
5 o3
< ©n
3 o
P
n 1
[m]
170 11
(6.693) (0.433)
I
(3 031)
COUPLINGS

SAE “B" SPLINE | 04 |

Available with flange code AS5

©
g 34.2

° - (1.346)
2 ANSI B 92.1a-1976
N "JF ] class 6 - 13 teeth
2 16/32 D.P. - ang=30°
L flat root - side fit
"
8 62.4

(2.457) Second pump side

MAX 135 Nm (1195 Ibf in)

SAE “B” STRAIGHT | 32 |

Available with flange code AS5

+0.13

6. 35+0 o7 \

oo
34.2
(1.346)

@35
(1.378)

(0.993)
(0.989)

(0.255)
(0.253)

o B

25,11

DO37-D58/0196

(0.877) (2.457)
(0.876)

MAX 145 Nm (1283 Ibf in)

- i
+0.05
22,22°0-0° 62.4 SAE “B” Straight

Second pump side

060-050



INTERMEDIATE FLANGES

SAE “A” 2 HOLES

SAE J744 Jul88

106, 4 8.3
(4. !89) (0.327)
—
0R-2325
[O)— @\ =R
Sl
M10 ‘ o
)
0.591) T - : Q- —
. S T g8
3 D ' ' D | 8.
L
g 1 L
167 7
(6.575) (0.276)
82
(3.228)
COUPLINGS

SAE “A” SPLINE

Available with flange code AS1

B 36.8

o< .

= (1.449]
©
2 4 ANSI B 92.1a-1976
S 777}7,7, class 6 - 9 teeth
2 3 16/32 D.P. - ang=30°
< ? flat root - side fit
©
8 65.5

(2.579) Second pump side

MAX 135 Nm (1195 Ibf in)

SAE “A” STRAIGHT

Available with flange code AS1

; 8.8
== 3,977 =
38 (0.161) é" 3.8
e Flss | (0.159) = (1.449)
s I
4 =" ]
S 474} - %,,
3 N
n +0.05
o +
° | mer? 65,5 SAE “A" Straight
627 57
{8226} (2.519) Second pump side

MAX 60 Nm (531 Ibf in)

060-050



INTERMEDIATE FLANGES

SAE “B” 2 HOLES

SAE J744 Jul88

146 8.3
(5.748) 0.327)
: N
0OR-3400
2 f
M12 |2 g
oo
. ~l23
(0.591) — s|88
==
= ol
5l
O
5
2 1 L
167 1
(6.575) (0.433)
82
(3.228)
COUPLINGS

SAE “B” SPLINE

Available with flange code AS5
e 42
o < L
= (1.654)
©
2 z | ANSI B 92.1a-1976
§ - class 6 - 13 teeth
Q N 16/32 D.P. - ang=30°
o flat root - side fit
2]
8 65,5 S
(2.579) Second pump side

MAX 250 Nm (2213 Ibf in)

SAE “B” STRAIGHT

Available with flange code AS

;o +0.13

oz 6.35°°7

=2 (0.255)

o 2= (0.253)

§ -

N ,

2

5 +0.05

g 22
(0.877)
(0.876)

MAX 145 Nm (1283 Ibf in)

5
g
2= 41.3
= (1.626)
65.5
2.579)

SAE “B” Straight

Second pump side

‘ SAE “BB” SPLINE

Available with flange code AS5

al= 40,8

D < .

= (1.606]
©
2 ANSI B 92.12-1976
> - — class 6 - 15 teeth
© 16/32 D.P. - ang=30°
W flat root - side fit
®
8 65.5

(2.579) Second pump side

MAX 250 Nm (2213 Ibf in)

‘ SAE “BB” STRAIGHT

Available with flange code AS5

- +0.13

BT 6.35°%  Sle
o= = 0.255) S° A1.3
Nl== (0.253) = (1.626)

8 H

o

0

‘g 1 +0.05

2 25,4993 65.5

- (1.002) (2.579)
(1.001)

MAX 240 Nm (2124 Ibf in)

SAE “BB” Straight

Second pump side

060-050



INTERMEDIATE FLANGES

SAE “A” 2 HOLES

SAE J744 Jul88

8.3
(0.327)
— OR-2325
o~
S\~
M10 =
Depth
15 ——
(0 591) TN
_ NN
oo
g%
5 s
g
S
8 I
5
g 174 7
(6.850) (0.276)
99
(3.898)
COUPLINGS

SAE “A” SPLINE

Available with flange code AS1

#36
(1.417)

44

D0O37-D68/ 1097

82

(3.228)

MAX 135 Nm (1195 Ibf in)

(1.732)
ANSI B 92.1a-1976
class 6 - 9 teeth
16/32 D.P. - ang=30°
flat root - side fit

Second pump side

SAE “A” STRAIGHT

Available with flange code AS1

17,84
(0.706)
(0.702)

+0.13
3'97+0.07

D037-D69/1097

j}

15,87

(0.161)
(0.159)

+0.05
+0.03

(0.627)
(0.626)

MAX 60 Nm (531 Ibf in)

?36
(1.417)

44

82

(3.228)

(1.732)

SAE “A” Straight

Second pump side

060-050



INTERMEDIATE FLANGES

SAE “B” 2 HOLES

SAE J744 Jul8s

(4.213)

(4.291)

Mi12
Depth
15

(0.591) —
~
(&)
o
3
8 174 ‘
[ 1
Iy (6.850)
o
[

8.3
(0.327)

+0.05

$101.7°

(4.006)
(4.004)

(0.433)
99
(3 898)

OR-3400

COUPLINGS

SAE “B” SPLINE

Available with flange code AS5

43

@39
(1.417)

(1.693)

DO37-D70/1097

82

(3.228)

MAX 330 Nm (2921 Ibf in)

ANSI B 92.1a-1976
class 6 - 13 teeth
16/32 D.P. - ang=30°
flat root - side fit

Second pump side

SAE “B” STRAIGHT

Available with flange code AS5

;o +0.13
85 . 6,357 7
-2 (0.255)
Nge (0.253)

-

3 ‘

S %'7”

N

°

> +0.05

g L2

(0.877)
(0.876)

MAX 145 Nm (1283 Ibf in)

ASS

43
(1.693)

(1.693)

N2

82
(3.228)

SAE “B” Straight

Second pump side

‘ SAE “BB” SPLINE

Available with flange code AS5

D

=
al= 44
= (1.732)
>
o
B
5 K777,
5
8 82
(3.228)

MAX 400 Nm (3540 Ibf in)

ANSI B 92.1a-1976
class 6 - 15 teeth
16/32 D.P. - ang=30°
flat root - side fit

Second pump side

‘ SAE “BB” STRAIGHT

Available with flange code AS5

+0.13

(0.255) S
(0.253)
i

0
28.3 °
(1.118)
(1.114)

6. 35+O o7 m\

44

(1.693)

(1.732)

D0O37-D73/1097
HH

(1.001)

MAX 240 Nm (2124 Ibf in)

82
(3.228)

SAE “BB” Straight

Second pump side

060-050



INTERMEDIATE FLANGES

SAE “C” 2 HOLES AS7

SAE J744 Jul88

181 ‘ 8.3
17.126) | (0.327)
I —_—
\ OR-2500
=
5l
< 'e)
M16 = S
Depth INNNNNNNNNY 90_ —_—
22 REEESS
(0.866) —| 4+ ——H XNE8
—— w2
2/3
N =
3
5 \_V
3
3 217 ‘ 13
(8.543) ‘ (0.512)
104
(4.094)
COUPLINGS LVP 75

SAE “C” SPLINE

Available with flange code AS7

=)
I § 49

— (1.929)
> =S ANSI B 92.1a-1976
e I | S B class 6 - 14 teeth
N I N 12/24 D.P. - ang=30°
5 N, flat root - side fit
-
o
=} 87 -

Second pump side
(3.425) pump

MAX 440 Nm (3894 Ibf in)

SAE “C” STRAIGHT

Available with flange code AS7

- +0.13
°° Iz3 7,040 =g
© I . i=3
=33 038 g 9
N = (1.929)
== 0.315)
. i
| © ==
5 N1
> +0 07
8 . 31,7509 87
(1.253) (3.425)
(1.251)

MAX 495 Nm (4381 Ibf in)

SAE “C” Straight

Second pump side

060-050



I3 B0 50 B O B0 mE

Addit.
options

Interm.
flange

Ports
IN/OUT

Regula-
tors

Pump Rota-
type tion

Drive Mounting Ports
~| shaft flange |~ | position

Fluid ‘—

Cou- ‘_

‘_ ‘ Seals X
pling

LVP30 s* - L MD/QB - N# - RPO

Front section

in%/rev Buna (standard)

1.74 29 Viton

2.76 46

4.38 73 Regulators

Pressure compensator
setting range 20 - 350 bar (b)

Flow compensator (c)

Flow compensator for remote control (c)
Flow compensator for internal control (b)
Torque limiter - standard

Torque limiter - internal pilot
Proportional flow servocontrol (d)
Proportional flow servocontrol with inte-
gral electronics (d)

Proportional flow servocontrol with inte-
gral electronics and seq. module RES (d)

Rotation

Anti-clockwise
[ Clockwise

Drive shaft
SAE “B” spline (13 teeth)
SAE “B” straight

straight @ 22

SAE “BB” spline (15 teeth)
SAE “BB” straight

Straight & 25

SAE “C” spline (14 teeth)
SAE “C” straight

Straight & 32

Additional options (e)
Unloading valve (f)
Max. displacement limiter (g-h)

Min. displacement limiter (g-h)
Min. and max. displacement limiter (g-h)

Mounting flange
SAE “B” 2 holes

ISO @ 100
SAE “C” 2 holes Mineral oil (no CODE)
1ISO & 125 HF fluid (please consult our sales

department)

Ports position

Side Intermediate flange
| Rear (a) SAE “A” 2 holes
SAE “B” 2 holes
6 Inlet/outlet ports SAE “C” 2 holes

SAE FLANGED PORTS METRIC THREAD (SSM) Coupling

Nominal size “p” :
Pump type Inlet IN Outlet OUT gﬁg “ﬁ” SP'")eh(9 teeth)
SAE 3000 SAE 6000 A Str?lg t
LVP 30 1"1/4 3/4" MD/QB SAE “B” spline (13 teeth)
LVP 48 1"1/2 1 ME/QC SAE "B’ straight
LVP 75 2" 1'1/4 MF/QD SAE "BB” spline (15 teeth)

SAE “BB” straight
SAE “C” spline (14 teeth)
SAE “C” straight

SAE FLANGED PORTS UNC THREAD (SSS)

Nominal size

Pump type énlet IN OSutIet ouT
AE 3000 AE 6000 . ) )
LVP 30 1"1/4 3/4" SDIVB c) Differential pressure standard setting 14 bar
LVP 48 112 T SEIVC (setting range 10 -.40 bar).
LVP 75 2" 114 SFVD d) z:l;?ggilanéz:znattlons, please consult our
e) For additional options, please consult our
* : . sales department.
For assembled multiple pumps, the rotation code letter f)  For voltages availability please see page 20.
is added at the end of the complete ordering code. g) Max. up to 50% of the displacement.
# Omit cogie only if orderlng _assembled multlple pumps. h) LVP30 with ﬂange AS5 and LVP75 with flange AS7
a) Not available for front sections. are not available.
b) Standard setting 280 bar.

060-050



ORDER EXAMPLE

| SINGLE PUMPS

CIENCEC T EVP 30 S=04 S5-L MD/QB-N-LS2

T AVHOELEVEIR CEHTCENS VP300S =04 S5-1 MD/QB=-N-LS2-E 'H

ASSEMBLED MULTIPLE PUMPS

CIENGETC R LU EY T R LV P 30-04 S5-L MD/QB-RP0-ASS 04/ 30-04 S5-L MD/QB-N-LS2'S
LI EY I BRI RSV EIRCENTIEC VP 75206 S 7= MF/QD-RPO-E"H-ASS5 04"/ 30-04 S5-L MD/QB-N-ES2'S

Double Plata pump with diffe’e"‘psuenfj;: LVP 30-04 S5-L MD/QB-RP0-E-AS1 03 / PLP20.4-03 S1-L EA/EA-N S

INDIVIDUAL SECTIONS

OIS LI VP 30°S:04 S5-1LMD/QB-N-RP0-ASS5 04

GEELERT L I VPES0°S-04 S5-L MD/QB-N-LS2

060-050



Variable displacement axial piston pumps,

for open circuit.

DISPLACEMENTS MAX. SPEED

From 29 cm®irev ;

To 73 cm/rev 3000 min”

APPLICATION
PRESSURE . .
Medium, high pressure

Max. continuous 280 bar

Max. intermittent 315 bar SECTOR

Max. peak 350 bar Mobil / Industrial

® Energy savings. PLATA pumps meet these requirements in every way.
The variable displacement axial piston pump is the op-
timal solution for open circuit applications. PLATA
® Operational flexibility. pumps are available with a wide range of control op-
tions. The pump is designed for both radial and axial lo-
ads, and supports full torque transmission in multiple
® Drive shaft bearing suitable for body configurations.
radial and axial loads.

® Low noise emission.

® Short response time.

060-080



PRESSURE COMPENSATOR

Regulates the pump displacement automatically to
equal the flow requirement of the system while maintai-
ning the pre-adjusted pressure.

Pressure
X Standard
Compensator setting setting
type range
bar bar
20 + 350 280

For remote control please consult our sales department.

OPERATING CURVES

Curves have been obtained at the speed of
1500 min"and oil temperature 50 °C.

Max. 4 bar

(58 psi)

[(US gpm)]

l
l

Q [I/min]

280
(4060)

p loar] - [(psil]

350
(5075)

\

250
(3625) \

150
(2175)

p lbar] - [lpsi)]

50
(725)

0

of Max

Swashplate
angle

of Min

U

12

T [ms]

D037-D39/0396

D0O37-D40/0396

r -
>i<
!
RESPONSE TIME
Pump t ts
type ms ms
31 19
44 20
50 25

N037-N45/0196

060-080



MOUNTING POSITIONS AND DIMENSIONS (pressure compensator) “

Side ports ‘

Anti-clockwise rotation Clockwise rotation

(] o
o o
~ ~
o o
~ N
~ ©
[N o
a a
i i
~ ~
2] ™
o o
a a
Rear ports
Anti-clockwise rotation Clockwise rotation
<C
o o
(el o
~ ~
(<] [e]
< N
(ol 1)
o )
? 2
~ ~
2] el
o o
a [m]

NOTES: For different mounting positions, please consult our sales department.

060-080



FLOW COMPENSATOR (Load-sensing)

| LSO - LS2 Hydraulic circuits |

Regulates the pump displacement to maintain a constant
(load independent) pressure drop across a flow metering

device. In the standard version the flow compensator is
combined with pressure compensator.
Differential
Flow pressure Standard
compensator Pressure setting setting
type compensator range
bar bar
RPO 10 =+ 40 14
RPO 10 + 40 14
RPO 10 + 40 14
>
* . (o]
: For remote control Y is plugged. 2
« : For internal control and remote pressure control. g
Pilot flow ~ 1,3+ 1,5 [l/min] =
o
In standard setting conditions (14 bar) the stand-by pressure is °
16" % bar.

OPERATING CURVES ‘
This curve has been obtained at the speed of |
1500 min'and oil temperature 50 °C. ‘

Max. 4 bar e ‘

(58 psi) ‘

> | | | =4 ] !
» 1 1 1 |

= \ \ ! |

‘ | |

- | | 5 | | |

[sa)
= - SlalE
[fe) | ~
S 5 e \ AT -
280 = P2
0 oy (4060) 8 \ ‘ fa
p loar] - [lpsi)] i ‘ =
[l
—_— e [a]
(]

Curve at variable speed

TECHNICAL DATA

é [ O‘ Pump AQ max
3 [ —_— = type I/min
= —_— ] 0,9
s | L ; 5
N 2 _
£ S
8 2,5
< o0 f ’
o
"
o
(=]

n [min'] - [{rpm)]

060-080



MOUNTING POSITIONS AND DIMENSIONS (flow compensator)

Side ports ‘
Anti-clockwise rotation Clockwise rotation
110, 4 110,4
(4.346) (4.346)
38,9 38.9
(1.531) (1.531)
L o
T il
D —H @ F
X < < X
[aa] [aa]
5 o » 5 e\ {@
= S
[m] [m)
L L
[30] ™
8 8
Rear ports
Anti-clockwise rotation Clockwise rotation
110.4 110,4
(4.346) (4 346)
38.9 L 38,9
(1.531) (1.531)
[ = =t I
| |
AL | [y
th e He i
—
<t 1 X X <
m [2a]
o - o
S g
> N
2l (s8]
[m] [m]
: :
S * L 4 S ¥ *
Pump A B
type mm mm
(in) (in)
144 100
(5.669) (3.937)
153 109
(6.024) (4.291)
165 122
(6.496) (4.803)
X: Load sensing port. Dimension on page 12
NOTES: For different mounting positions, please consult our sales department.

060-080



TORQUE LIMITER m

Regulates the pump displacement according to the system ‘ JLD - SRk ‘

pressure, to maintain the pre-adjusted torque value and
protect the prime mover from overload.

To have the best torque limiter regulation, the minimum
working pressure should be at least 80 bar.

In the order of the torque limiter please specify the reque-
sted value of power:
(eg. 10 KW at 1500 min™)

é
g
g
OPERATING CURVES
This curve has been obtained at the speed of §
1500 min"and oil temperature 50 °C. ©

100 ‘v\

J N

\ Theoretical power

50 ‘o=
\\\\
25 N

%0 [I/min] - [(US gpm]]

N
N
\

p loar] - [(psi)]

N037-N53/0396

060-080



MOUNTING POSITIONS AND DIMENSIONS (torque limiter) m

Side ports ‘

Anti-clockwise rotation Clockwise rotation

110.4 c c 110, 4
(4.346) (4.346)
38,9 38.9
(1.531) (1.531)
i I
| 1
1 e e [

D037-D35/0799
D037-D34/0799

A B C D
Pump
type mm mm mm mm
(in) (in) (in) (in)
144 100 104 211
(5.669) (3.937) (4.094) (8.307)
153 109 111 235
(6.024) (4.291) (4.370) (9.252)
165 122 120 258
(6.496) (4.803) (4.724) (10.157)

X: Load sensing port. Dimension on page 12

NOTES: For different mounting positions, please consult our sales department.

060-080



MOUNTING POSITIONS AND DIMENSIONS (torque limiter)

Rear ports

Anti-clockwise rotation

110, 4
(4.346)
38.9
(1.531)
T
Il
AL T
e N
- |
[aa}
* ‘ $
c
&
o
S
a
L
S
a

Clockwise rotation

110, 4
4.346)
38,9
(1.531)
Rl
[ i J
=p /} b

A B C D
Pump
type mm mm mm mm
(in) (in) (in) (in)
144 100 104 211
(5.669) (3.937) (4.094) (8.307)
153 109 111 235
(6.024) (4.291) (4.370) (9.252)
165 122 120 258
(6.496) (4.803) (4.724) (10.157)

X: Load sensing port. Dimension on page 12

D0O37-D36/0799

NOTES: For different mounting positions, please consult our sales department.

060-080



UNLOADING VALVE “

‘ NC (normally closed) ‘ ‘ NA (normally open) ‘

5 >
= S T S
lgﬂ © | ~
bi¢ o bi¢ &
L I L
3 [ : ]
. — P . — [a]
L1 Ll
With the valve NC type (normally closed), energi- With the valve NA type (normally open), energizing
zing the solenoid valve the displacement is reset the solenoid valve the pump is sent to the maximum
and the pump is unloaded. displacement.

Notes

Unloading valve can be supplied only with
pressure compensator RP..

Voltages value availability

Re?;gztor Arrangement Volt
NC 12 Vv D.C.
NC 24V D.C.
NC 24 V A.C.
NC 110 V A.C.
NC 220 V A.C.
NA 12V D.C.
NA 24V D.C.
NA 24 V A.C.
NA 110 V A.C.
NA 220 V A.C.

060-080



ELECTROHYDRAULIC SERVOCONTROLS “

04/10.99

‘ S - SE Hydraulic circuits

In this line of servocontrols, the displacement variation is
regulated by a proportional system in double closed loop
with a feedback transducer on the swash plate and a feed-
back transducer on the proportional valve: in this way high
performances and high dynamics can be reached.

The regulated displacement have a linear relation with the
electronic control signal 0 + 10 Volt DC (see diagram be-
low). The electronic driver can be separated, Eurocard
type or integral on the pump.

S Proportional flow servocontrol.

SE  Proportional flow servocontrol with integral electro-
nics, single 7-pins connector for electric supply and
reference signals.

SER As above with sequence module RES to grant a mi-
nimum piloting pressure (18 bar) when the actual
pressure of the system can fall under that value.
This version can be used for the combined control of
pressure and flow coupled with an electronic regula-
tor in Eurocard format and with a pressure transdu-
cer which can be integral or separated.

D037-D96/ 1099

Note: The minimum pressure to grant a correct functioning
of the servocontrol in S and SE versions cannot be under
18 bar.

Pumps with servocontrols type S and SE must be protec-
ted for safety with an external relief valve against pressure
peaks. This is not necessary for version SER because the
sequence module RES includes the maximum pressure
protection.

100

[(US gpm)]

%0 [I/min]

DO37-101/1099

D037-D97/1099

[Volt DC]

Technical data (only for pumps with servocontrols type S and SE)

Coil resistance R at 20 °C 3+ 3,3Q for standard 12 Volt (DC) coil
Relative duty factor Countinuous rating (ED= 100 %)

Max. solenoid current 2,6 A for standard 12 Volt (DC) coil
Max. power 35W

For different mounting positions, please consult our sales department.

060-080



MOUNTING POSITIONS AND DIMENSIONS (electrohydraulic servocontrols)

Anti-clockwise rotation (side ports)

D0O37-D98/ 1099

Clockwise rotation (side ports)

D037-D93/ 1099

D

(in)

mm

(in)

103,5
(4.075)

167,8
(6.606)

176,8
(6.961)

189,3
(7.453)

NOTES: For different mounting positions, please consult our sales department.

04/10.99

060-080



MOUNTING POSITIONS AND DIMENSIONS (electrohydraulic servocontrols)

Anti-clockwise rotation (side ports)

DDDDDi

[t
et

p—h——

D037-D99/ 1099

ST B

.

&y %)
[CZS

HOINY

(=]
o “
o
o
— (&)
3
(03
[a)]
;
132
8
A
B
A B C D
Pump
type mm mm mm mm
(in) (in) (in) (in)
146,3 167,8
(5.760) (6.606)
153 160 103,5 176,8
(6.024) (6.299) (4.075) (6.961)
161,5 189,3
(6.358) (7.453)

NOTES: For different mounting positions, please consult our sales department.

060-080



MOUNTING POSITIONS AND DIMENSIONS (electrohydraulic servocontrols)

DO37-100/1099

DO37-D95/ 1099

‘ Anti-clockwise rotation (side ports)

Clockwise rotation (side ports)

\V )

Sl

o
| @ L
(&]
B
E
B (o3 D E
mm mm mm mm
(in) (in) (in) (in)
167,8 199,5
(6.606) (7.854)
160 103,5 176,8 219
(6.299) (4.075) (6.961) (8.622)
189,3 226
(7.453) (8.898)

NOTES: For different mounting positions, please consult our sales department.

060-080



H B B0 B0 E O oo

‘ Pump type

Rotation ‘_ ‘

Drive
shaft

Mounting
flange

‘_ ‘ position

Ports
IN/OUT

‘_‘ Seals ‘_ ‘Regulators _‘Addlflonal ‘ Fluid ‘
options

MD/QB -

type (max displacement)

in/rev cm®/rev
1.74 29
2.76 46
4.38 73

Rotation

Anti-clockwise

Clockwise

Drive shaft

SAE “B” spline (13 teeth)

SAE “B” straight

straight @ 22

SAE “BB” spline (15teeth)

SAE “BB” straight

Straight @ 25

SAE “C” spline (14 teeth)

SAE “C” straight

Straight @ 32

SAE “B” 2 holes

Mounting flange

1ISO & 100

SAE “C” 2 holes

1ISO & 125

Ports position

Inlet/outlet ports

CODE

SAE FLANGED PORTS METRIC THREAD (SSM)

Nominal size

Pump type Inlet IN Qutlet OUT
SAE 3000 SAE 6000
LVP 30 1"1/4 3/4"
LVP 48 1"1/2 1"
LVP 75 2" 1"1/4

MD/QB
ME/QC
MF/QD

SAE FLANGED PORTS UNC THREAD (SSS)

Nominal size

Pump type Inlet IN Outlet OUT
SAE 3000 SAE 6000
LVP 30 1"1/4 3/4"
LVP 48 1"1/2 1"
LVP 75 2" 1"1/4

SD/VB
SE/VC
SF/VD

Buna (standard)
Viton

Regulators
Pressure compensator
setting range 20 - 350 bar (a)
Flow compensator (b)
Flow compensator for remote control (b)
Flow compensator for internal control (b)
Torque limiter - standard
Torque limiter - internal pilot
Proportional flow servocontrol (c)
Proportional flow servocontrol with inte-
gral electronics (c)
Proportional flow servocontrol with inte-
gral electronics and seq. module RES (c)

Additional options (d)
Unloading valve (e)
Max. displacement limiter (f)

Min. displacement limiter (f)
Min. and max. displacement limiter (f)

Mineral oil (no CODE)
HF fluid (please consult our sales
department)

a) Standard setting 280 bar.

b) Differential pressure standard setting 14 bar
(setting range 10 - 40 bar).

C) For more informations, please consult our
sales department.

d) For additional options, please consult our
sales department.

e) For voltages availability please see page 20.

f)  Max. up to 50% of the displacement.

060-080



ORDER EXAMPLE

| SINGLE PUMPS

CIENGETG L VP 30 S=04 S5-L MD/QB-N-LS2

LRV O RS EIREETCC PP 30 S04 S5-1MD/QB-N-LS2-E H

ASSEMBLED MULTIPLE PUMPS

SENLEICE LTI E S D EVP 30-04'S 5= MD/QB=RP0-ASS5 04/30-04 S5-L MD/QB=-N-LS2'S
RUTLVER T AVIGIEREEREETTECE VP 75-06 S 7-E MF/QD-RPO-E H-AS5 04"/ 30-04 S5-L MD/QB-N-LS2'S

e R L L tbodll LVP 30-04 S5-L MD/QB-RP0-E-AS1 03 / PLP20.4-03 S1-L EA/EA-N S

pumps

INDIVIDUAL SECTIONS

CHUEEN LI EVP 30°S:04 S5-L VID/QB-N-RP0-ASS5 04

HEELELT LI EVPI30°S=04 S5-1 MD/QB=N-LS2

060-080



MVP

Variable displacement axial piston pumps,

for open circuit

DISPLACEMENTS
From 2.75 in%frev
(45 cm®frev)
. To 5.12 infrev

(84 cm3/rev)

PRESSURE
Max. continuous

Max. intermittent

Max. peak

4060 psi
(280 bar)
4568 psi
(315 bar)
5075 psi
(350 bar)

D

MAX SPEED
3000 min™

2

APPLICATION
Medium, high pressure

Compact design SECTOR

Longer service life Mobile / Industrial

Low noise emission

Max. and min. displacement
limiter

Drive shaft bearing suitable for
radial and axial loads.

Variable displacement axial piston pumps swash plate design ideally suited for medium and high pressure open
circuit applications. The compact design allows to be mounted directly on engine motors.

060-110



GENERAL INFORMATIONS / INSTRUCTIONS

11 10 9 8 7

DIRECTION OF ROTATION
Clockwise or anti-clockwise defined looking at the drive shaft.

HYDRAULIC FLUID

Mineral oil based hydraulic fluid HL or HLP type conforming to
DIN 51524 and fire resistant fluids HF type according to the
technical data shown in the tables on page 4. The system sho-
uld be designed to prevent aeration of the hydraulic fluid.

FLUID VISCOSITY

The fluid viscosity range for optimal use of MVP pump is betwe-

en 77 and 163 SSU (15 and 35 cSt).

Functional limit conditions are:

max.: 6818 SSU (1500 cSt) at start up at -13 °F (-25 °C) with
straight and short inlet line.

min.: 58 SSU (10 cSt) at maximum temperature of 194 °F
(90 °C)

FILTRATION

To ensure the optimal performance and the maximum life to the
pump, the hydraulic fluid must have and maintain a fluid conta-
mination within the values shown in the table below.

Working pressure Ap<2030 | 2030<Ap<3045 | Ap>3045
psi (bar) (140) | (140) (210) | (210)
Contamination

class NAS 1638 9 8 7
Contamination

class 1SO 4406-1999 | 20/18/15 19/17/14 18/16/13
Achieved with filter

B10 () =75 according | 10 um 10 um 10 um
to 1ISO 16889

Casappa recommends to use its own
production filters:

1 - Pump body

2 - Swash plate

3 - Cylinders block

4 - Counterbalancing spring

5 -Plug

6 - Max. displacement limiter
7 - Cover

8 - Valve plate

9 - Min. displacement limiter
10 - Piston

11 - Piston guide plate

INSTALLATION

Check that the maximum coupling eccentricity stays within
0.0098 in (0,25 mm) to reduce shaft loads due to misalignment.
It is advised to use a flexible coupling suitable to absorb even-
tual rotational shock. For applications with axial and radial loads
exceeding published standards, consult our sales department.
The direction of rotation of the pump must agree with the prime
mover rotation. Before installation, the case of the pump must
be filled with fluid.

LINES

The lines must have a major diameter which is at least as large
as the diameter of pump ports, and must be perfectly sealed. To
reduce loss of power, the lines should be as short as possible,
reducing the sources of hydraulic resistance (elbow, throttling,
gate valves, etc.) to a minimum. A length of flexible tubing is re-
commended to reduce the transmission of vibrations.

Before connecting the lines, remove any plugs and make sure
that the lines are perfectly clean.

Check that the drain line is dimensioned in a way to guarantee a
case pressure lower than 22 psi (1,5 bar) absolute.

The drain line must be connected directly (no filter, no valves,
no oil cooler) to the tank and must terminate below the oil level.
Check that the dimensions of the suction line guarantee a pres-
sure equal or superior to 24 in Hg (0,8 bar). Inlet pressure less
than 24 in Hg (0,8 bar) could cause an increase of noise emis-
sion, decreasing pump performance and a reduction of its life
expectancy.

STARTING UP

Check that all connections are secure and that the entire
systemis completely clean. Add oil to the tank always using a fil-
ter. Bleed the air from the circuit to help the filing. Turn on the
system for a few moments at minimum speed, then bleed the
circuit again and check the level of oil in the tank. Gradually in-
crease the pressure and speed of rotation up to the pre-set ope-
rating levels, which must stay within the stated limits as speci-
fied in the catalogue.

060-110



MOUNTING POSITIONS

Standard pump is available with the D1 drain hole open and D2,
D3, D4 plugged.

Before installation fill the pump with hydraulic oil for at least 3/4
of the volume keeping it in horizzontal position.

The pump can be mounted in a horizontal or vertical position.
The highest of the case drain ports must be used to keep the re-
quired filling oil.

The pump can be located above the oil level if the absolute pres-
sure at the inlet port stays within the stated limits.

With exception of pump mounted below the oil level, we recom-
mend to interpose a baffle plate between inlet and drain line.
To reduce further noise emission, we recommend that the
pump be mounted below the oil level and avoid suction lines
with sharp restrictions.

HORIZONTAL MOUNTING

VERTICAL MOUNTING

Arrangement inside the tank.

Minimum oil level equal or above the
pump mounting face.

A >7.874 in (200 mm)

Arrangement inside the tank.

Minimum oil level equal or above the
pump mounting face.

A>7.874 in (200 mm)

Arrangement inside the tank.

Minimum oil level below the pump
mounting face.

Min. inlet pressure= 24 in Hg

(0,8 bar abs.)
B <31.4961 in (800 mm)
C =7.874in (200 mm)

Arrangement inside the tank.

Minimum oil level below the pump
mounting face.

Min. inlet pressure= 24 in Hg
(0,8 bar abs.)

B < 31.4961 in (800 mm)
C = 7.874 in (200 mm)

Arrangement outside the tank
above oil level.

Min. inlet pressure= 24 in Hg

(0,8 bar abs.)
B <31.4961 in (800 mm)
C =7.874in (200 mm)

Arrangement outside the tank

D1 above oil level.
Min. inlet pressure= 24 in Hg
(0,8 bar abs.)
B <31.4961 in (800 mm)
T C =7.874 in (200 mm)

Arrangement outside the tank
below oil level.

C = 7.874 in (200 mm)

IN= inlet line - D1= drain line - A= min. distance between the line - B+C= permissible suction height - C= line immersion depth

060-110



TECHNICAL DATA

Technical data with mineral oil

HL or HLP mineral oil based hydraulic fluid to DIN 51524

Pump type MVP
Max. displacement in¥rev 2.75 3.23 3.66 4.39 5.12
(theor.) Vimax (cm®/rev) (45) (53) (60) (72) (84)
inHg . 24
(bar abs.) min. (0.8)
Inlet pressure -
psi max 363
(bar abs.) : (25)
i 4060 3625 4060 4060 3625
continuous (280) (250) (280) (280) (250)
Max. outlet psi termittent 4568 4060 4568 4568 4060
Pressure Pmax (bar) intermitten (315) (280) (315) (315) (280)
‘ 5075 4568 5075 5075 4568
pea (350) (315) (350) (350) (315)
Max. drain line psi 22
pressure (barabs.) (1.5)
Max. speed Nmax [min™] @ Vinax (1) 3000 2800 2700 2500 2500
@n 35.7 39.2 42.8 47.6 55.5
max (135) (148,4) (162) (180) (210)
Max. delivery USgpm 4 21.4 25.2 28.5 34.2 39.9
(theor.) (I/min) @ 1800 min (81) (95,4) (108) (129,6) (151,2)
. 17.8 21.0 23.8 28.5 33.3
@ 1500 min (67.5) (79.5) (90) (108) (126)
@n 84.4 82.8 101.3 112.6 117.3
max (63) (61,8) (75,8) (84,0) (87,5)
?{'ﬁé‘ér?)c’wer HP @ 1800 min” 50.7 53.3 67.5 81.0 84.4
(AP = Doy CONL) (kW) (37,8) (39,8) (50,4) (60,5) (63,0)
4 42.2 44.4 56.3 67.5 70.4
@ 1500 min (31,5) (33,1) (42,0) (50,4) (52,%)
@ Py cON 1775 1867 2367 2840 2958
Max. torque Ibfin max COME- (200,5) (210,9) (267,4) (320,9) (334,2)
(theor.) (Nm) @ 1450 psi 634 747 845 1014 1183
(100 bar) (71,6) (84,4) (95,5) (114.,6) (133,7)
M t of inert 2 Ibs 0.07 0.07 0.19 0.19 0.19
oment of inertia (kgm?) (0,003) (0,003) (0,008) (0,008) (0,008)
Fill capacit US gallons 0.26 0.26 0.34 0.34 0.34
pacily ) (1) (1) (1.3) (1,3) (1,3)
. . Ibs 41.9 41.9 48.5 48.5 48.5
Mass (without oil) (kg) (19) (19) (22) (22) (22)
Seals N= Buna V= Viton
. -13 14
min. (-25) (-10)
Operating °F max. cont 176 230
temperature (°C) ’ : (+80) (110)
‘ 212 257
max. pea (+100) (125)

(1) = with an inlet pressure of 14.5 psi (1 bar abs).
Reducing the displacement or increasing the inlet pressure the max. speed change. See table at page 6.
For different working conditions, please consult our sales department.

060-110



TECHNICAL DATA

Technical data restrictions with fire resistant fluid

Water - glycol (35 + 55 % of water) - HFC ‘

Pump type MVP 4845 4853 6060 60072 6084
. 2465
continuous (170)
Max. outlet psi int ittemt 2683
Pressure Prax (bar) intermittem (185)
K 2900
pea (200)

Max. speed Npmax [min'1] @ Vmax (1) 2000 2000 1700 1700 1700

Seals N= Buna - V= Viton
. min. 0

Operating °F 194
temperature (°C) max. (90)
Life bearing % 75 %

Phosphate ester - HFD ‘

Pump type MVP 4845 4853 60060 60072 6084
. 2900
continuous (200)
Max. outlet psi int ittemt 3190
Pressure Prax (bar) intermittem (220)
K 3480
pea (240)
Max. speed Npmax [min'1] @ Vmax (1) 2000 2000 1700 1700 1700
Seals V= Viton
min 14
Operating °F ' (-10)
temperature (°C) 122
max. (50)
Life bearing % 90 %

060-110



TECHNICAL DATA

Design calculations for pump

Q US gpm (I/min) Flow
M Ibf in (Nm) Torque
P HP (kW) Power Q= Venoene10®  [I/min]
' in*/rev (cm*/rev) | Displacement D eV
n min' Speed M= P [Nm]
62,83 -
Ap psi (bar) Pressure Mm
e Ap eV en
nv="nv (V,Ap, n) Volumetric efficiency P= ——————  [kW]
- — 600 * 1000° n;
Nm=Nm (V,Ap, ) Mechanical efficiency
Nt=Mv® Nm Overall efficiency
Max. permissible loading on drive shaft
. . . MVP MVP MVP MVP MVP
Max. permissible loading on drive shaft 48445 48453 60060 60072 60e84
Frad ©
F., Axial force __L § Ibf 337 337 450 450 450
Fox <ol L2 (N) | (1500) (1500) (2000) (2000) (2000)
[a)]
. L/z2 L/2 Ibf 337 337 675 675 675
Fras Radial force \ @Lz )y | (1500) (1500) (3000) (3000) | (3000)

% Variation of the max. speed in relation of the inlet pressure and/or displacement reduction

pr(lensI:ltjre Displacement %
psi (bar abs.) 65 70 80 90 100
12 (0,8) 120 115 105 97 90
13 (0,9) 120 120 110 103 95 §
14.5 (1,0) 120 120 115 107 100 §%
17 (1,2) 120 120 120 113 106 gé
20 (1,4) 120 120 120 120 112 ;:::
23 (1,6) 120 120 120 120 117 ‘S
29 (2,0) 120 120 120 120 120
Example 1 Example 2

Displacement: 100 %

Speed: 100 %

Inlet pressure: 14.5 psi (1,0 bar abs.)

Displacement: 80 %
Inlet pressure: 14.5 psi (1,0 bar abs.)
Speed: 115 %

060-110



OPERATING CURVES MVP 48

Delivery / power (max. displacement)

Each curve has been obtained at 122 °F (50 °C), using oil with viscosity 210 SSU (46 cSt) at 104 °F (40 °C) and at these speed:
(1) 1500 min™ (3) 3000 min™

(2) 1800 min™ (4) 2800 min™'

MVP48e45 MVP48¢53

150 80 160 0
= (39.6) (107.2) = £ 42.3) (120.6) 5
S / = = 4) =
(3) 7 — 140 5
3 4 ' B (37.0) (100.5)
= 120 7 60 = = D =
v (31.7) NVZ (80.4) == | 120 / 60 =<
= By a —= (31.7) 7 (80.4) o
€ /’ | = / I
= = 100 . i 45
= % QT 20 = (26.4) (2) . g (60.3) |
= = e 80 1/ Ay 30
m.v //’ (21.1) 7 ,',' (40.2)
g =z 2o 60 P 15
A\
(15.9) P (26.8) (15.9) ~ T\ (20.1)
/
© S 40
o o 0
8 30 0 g (10.6)
S (7.9 N
o Q 20
! 2 (53)
[ce) [ee)
<~ <
o o
la) 0 o 0
0 100 200 300 0 100 200 300
(1450) (2900) (4350) (1450) (2900) (4350)
p [bor] - [lpsi)] p lbor] - [(psil]

060-110



OPERATING CURVES

Delivery / power (max. displacement)
Each curve has been obtained at 122 °F (50 °C), using oil with viscosity 210 SSU (46 cSt) at 104 °F (40 °C) and at these speed:
(5) 2700 min™
(6) 2500 min™

(1) 1500 min™
(2) 1800 min™

MVP6060

= (4'7806) (lzgoos)_
€ / =
S 160 (5) N s =
g z.3) 7; (100.5)
140 4 60 =
! 37.0) / O g0.4) =
a-
€ 120 o L s,
= 617 2) 7 P \\ (60.3)
T 26 v == 40°2) !
: PR (1) )
80 P 15
21.1) (20.1)
60
(15.9) 0
-
3 40
S 110.6)
52l
8 20
o 15.3)
©
o
S 0
0 100 200 300
(1450) (2900) (4350)
p [bar] - [lpsill
MVP6084
= (525|05) — ( g;sm_
—_— . — | . —_—
g (6) —— x
(=23 —_—
o 180 p, 100 '
= (47.6) Q7 (134.0) —
= S =
' L =
— 150 2) / 75 o
= (39.6) — (100.5)
= () 7 W7~ |
o 120 Ll - so |
(31.7) s T 67.0)
////\\\
90 N 25
(23.8) = (33°5)
60
5 (15.9) 0
©
: 30
9]
g8 (7.9
]
S
S o
o 100 200 300
(1450) (2900) (4350)
p [bar] - [lpsi)]

0 [I/min] - [(US gpm]]

D048-D04/0607

MVP60e72

( I780) — ( |857)
47.6 140.
(6) —
(4'2603) 7 ( nzgoo 6)
. 7 .
%

140 » N
(37 0) 2) P G [000.5)
120 = < 60
(31.7) 7 7 | 7 |180.4)

(n s A
100 —— 45
(26.4) P //\/ (60.3)
80 A TN 30
@21.1) ‘z 140.2)
60 “ 15
(15.9) (20 1)
40
(10 6) 0
20
(5.3)
0
0 100 200 300
(1450) (2900} 14350)
p [bor] - [lpsill

— — P [kw] - [(HP)]

060-110



DIMENSIONS

189

[7.L409]

E
- <
o~ ~
E s
[}
3 o e2.75 99 F
[1.3386] [1.6831] [3.8976]
v %
g 123.75
:w v [4.872]
b=t [1.4567]
:q
A E Do R -
F———— e — — — — - o 0 o o —
\ AN
| Anti-clockwise rotation | ! E -8 R
! ! = T =
I ouT IN | P ;
} N } <= ()
==
[ \ =]
| | D1
I \ 93
} } [3.6614
| |
| |
[ [
| |
\ \
| |
| |
E: Max. displacement limiter
F: Min. displacement limiter
Screws tightening torque Nm (Ibf in) PORTS
v V1 IN | ouT D1
10 *' (80 = 97) 130 *'3 (1036 + 1266) Nominal size )
Drain port
1" 1/2 1"

Dimensions at page 16

060-110



MULTIPLE PUMPS DIMENSIONS

MVP 48/KP20

A
% %
— E
— D
ooy
TN —— [ ‘ )
| D \D
— [+ ﬂﬁ'
. o
99 F % IN
[3.8976] \%
184
(73]
Screws tightening torque Nm (Ibf in)
203
(8] \' V1 V2
123.75 1 13 7
[4.872] 10 ~ 130 © 70 ©
37 . . .
_ (80 + 97) |(1036 + 1266)| (558 + 682)
= [1.4567]
= =
3= > o b
9 - -
3 I = 29 =
- : o) f 1 Ha
N\ =2
7\ o)) I =
D1/ 93
[3.6614]
222
[8.7401]
/
; —
_ . . 10 Nm
E: M.ax. c:ilsplacementlllrr'uter 974 Lbf in
F: Min. displacement limiter
S
Qs
PORTS —
IN ouT D1
MVP | MVP | KP20
Nominal size Drain g
12| 1 | e | PO out g
178
Dimensions at page 16 [7.0079]

Mounting

flange

MVP 48 $5

Gear pump KAPPA

204 20¢6,3 208 20011,2 2014 20016 Dimensions

261,5 264 266,5 270 274 280 286 mm
(10.2953) | (10.3937) | (10.4921) | (10.6299) | (10.7874) | (11.0236) | (11.2598) | (in) | A

234 236,5 239 2425 241 2465 253 mm
(9.2126) | (9.3110) | (9.4094) | (9.5472) | (9.4882) | (9.7047) | (9.9606) | (in) A B

060-110



DRIVE SHAFTS / MOUNTING FLANGES

MVP 48

SAE “B” SPLINE

Mounting face refer to flange code S5

DCAT_039_004_47552010

B22.34,

W F [0.8661:3:33%]
2B

NI

190 Nm .~

1682 bf in

174-20 UNC-

PIANC DI MONTAGGIO
MOUNTING FACE

L1.2
[1.6212]

Ext. Involute Spline ANSI B92.1
with major diameter modified
13 teeth - 16/32 Pitch - 30 deg
Flat root - Side fit - Class 5

SAE “BB” SPLINE

Mounting face refer to flange code S5

DCAT_048-008

[1:8:86%]

P25.4 8,

)

330 Nm
2921 1bf in

ZB‘H

1/4-20UN

PIANO DI MONTAGGIO
L6 MOUNTING FACE
(1.8

(0.6299]

29.5

[1.1614]

Ext. Involute Spline ANSI B92.1
with major diameter modified
15 teeth - 16/32 Pitch - 30 deg
Flat root - Side fit - Class 5

SAE “B” 2 HOLES

Conforms to SAE J744

146

[5.748]

9
3
=
[6.8504] =
S
<
(o]
Ot~ ~|H
(o)) (Wal O
dlo ' =
< IS
:). I | ‘tﬂ o
3 T
1
Z
I~ @101.6 .05

B14.540.1
[0.570940.0039] H

[ 6:0:66%)

060-110



DIMENSIONS

IN ouT
85— f
|
\
D
34 45
[1.3] [1.772] [939.898]
g 129
2 (5.0767]
= 37
a [1.457]
Naira (= P ===
7777777777777777 - o 0 o =y Q@
| | AT
‘ \ =[N Zn
| fatl Ca
| |
\ | 5 -
| | €
‘ \
\ | D1 12
} | (4.609]
\
‘ \
‘ [
‘ \
‘ \
‘ \
‘ \
‘ \
‘ \
‘ [
E: Max. displacement limiter
F: Min. displacement limiter Mounting A
flange mm (in)
S5 SAE “B” IPAENCGREIEL))
ST S es N 217 (8.5434)
Screws tightening torque Nm (Ibf in) PORTS
v Vi IN | our D1
10 *' (80 + 97) 130 *'* (1036 + 1266) Nominal size )
Drain port
1z [ e

Dimensions at page 16

060-110



MULTIPLE PUMPS DIMENSIONS

MVP 60/KP20

56

[2.2047]

[5.7]

3 Screws tightening torque Nm (Ibf in)
(8.8] \' V1 V2
129 +1 +13 +7
[5.0787] 10 130 70
37 . - .
_ [71.4567] (80 +97) |(1036 + 1266)| (558 +~ 682)
<
Hly — 7 SHT
: E o) =
g L o o ——
o | (A O I ||
g I\
D1 /:ﬁ 113
[4.4488]
249
[9.8] =
] —
_ o 777110 Nm
E: Max. displacement limiter 974 Lbf in e
F: Min. displacement limiter h 7
‘ | ‘
!
PORTS || |
< \ Ho
IN Ol‘JT D1 g ‘ } £ ‘
MVP MVP KP20 EE :
H \
Nominal size Drain L—LLfJ
port 198
1z o | a2 [7.7953]

Dimensions at page 16

Mounting

flange

MVP 60 S5- 88

Gear pump KAPPA

2006,3 2008 20011,2 20014 20016 P1iL7JIM Dimensions
281,5 284 286,5 290 294 300 306 mm
(11.0827) | (11.1811) | (11.2795) | (11.4173) | (11.5748) | (11.8110) | (12.0472) | (in) | A
254 256,5 259 262,5 261 266,5 273 mm | g
(10.0000) | (10.0984) | (10.1969) | (10.3346) | (10.2756) | (10.4921) | (10.7480) | (in)

060-110



DRIVE SHAFTS / MOUNTING FLANGES

SAE “BB” SPLINE

DCAT_048_008

Mounting face refer to flange code S5

330 Nm

\

2921 Lbf in

-28

1/4-20UNC

PIANO DI MONTAGGIO
L6 MOUNTING FACE
(1.8

[0.6299]
29.5

[1.1614]

Ext. Involute Spline ANSI B92.1
with major diameter modified
15 teeth - 16/32 Pitch - 30 deg
Flat root - Side fit - Class 5

SAE “C” SPLINE

DCAT_048_009

Mounting face refer to flange code S8

PIANO DI MONTAGGIO

e 050 MOUNTING FACE
55.4
12.78]
L
gg o ‘ \

535 g 19

Sl 2 0.748]

S| R 47.6

3= < (1.874]

Ext. Involute Spline ANSI B92.1
with major diameter modified
14 teeth - 12/24 Pitch - 30 deg
Flat root - Side fit - Class 5

| SAE “B” 2 HOLES

Conforms to SAE J744

N
S
o
o
o
il
L)
HE
Sal[¥a)
_ S
5 S
=[O
oo~
o
—
o
[l
(=)
(&)
o
Ol ~|H
(o] (¥ Ol
. o~
dls H=
g S
g l
<
2
2 w
=3
0
e ?101.6.05

[4:5:80%)]

‘ SAE “C” 4 HOLES

Conforms to SAE J744

@16.540.1
[0.5709+£0.0039]

109
[4.3]

197
[7.7765]

[3.465]

88

114.5
[4.5079]

146

[5.989]

[5.748]

[0.57]

14.5

S/
\SE

i@
\J !l @ |

12.740.1

[0.540.0039]

@127 3,05

[5:8:86%]

DCAT_048-010

060-110



PORTS SIZES

INLET / OUTLET PORTS DRAIN PORTs | LOADSENSING | KP20 e

PORTS Split Split SAE Gas | SAE | Gas | SAE | Gas | SAE
TYPE SSM SSS oDT BSPP | oDT (¢)| BSPP |oDT (o) | BSPP | oDT
Pump type IN ouT IN ouT IN ouT D1 D1 X X ouT ouT
MVP 48 YIS MC SE sc OH OF GD oc GE oD GD oc
MVP 60 [YE MC SF sc OH OF GD oc GE oD GD oc

(®) Available only with inlet and outlet ports type Split SSS and SAE ODT.

d Tightening torque for low pressure side port

j Tightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

SAE FLANGED PORTS J518 - Standard pressure series 3000 PSI

Metric thread ISO 60° conforms to ISO/R 262

. A B c D 57 ~
CODE Nominal
size mm mm mm Thread Nm Nm
(in) (in) (in) Depth mm (in) (Ibf in) (Ibf in) Py
4 25,4 52,4 26,2 M 10 35 *2° 3
(1.0000) | (2.0630) | (1.0315) | 17 (0.6693) - (310 + 332) 3
"1 38,1 69,8 35,7 M 12 30 27 S
(1.5000) | (2.7480) | (1.4055) | 20 (0.7874) | (266 + 288) — 8
on 51 77,8 42,9 M 12 30 *2° =
(2.0079) | (3.0630) | (1.6890) | 20 (0.7874) | (266 + 288) - e
SAE FLANGED PORTS J518 - Standard pressure series 3000 PSI SSS
American straight thread UNC-UNF 60° conforms to ANSI B 1.1
. A B c D 57 ~
CODE Nomlnal

size mm mm mm Thread Nm Nm
(in) (in) (in) Depth mm (in) (Ibf in) (Ibf in) 2
4" 25,4 52,4 26,2 |3/8 - 16 UNC-2B 35 "25 S
(1.0000) | (2.0630) | (1.0315) | 17 (0.6693) - (310 + 332) |
112 38,1 69,8 35,7 [1/2-13 UNC-2B| 30 **° 3
(1.5000) | (2.7480) | (1.4055) | 20 (0.7874) | (266 - 288) — 8
on 51 77,8 429 |1/2-13 UNC-2B| 30 *?° =
(2.0079) | (3.0630) | (1.6890) | 20 (0.7874) | (266 = 288) - °

060-110



PORTS SIZES

y Tightening torque for low pressure side port

i Tightening torque for high pressure side port [values obtained at 5075 psi (350 bar)]

‘ SAE STRAIGHT THREAD PORTS J514 oDT B
American straight thread UNC-UNF 60° conforms to ANSI B 1.1 A
x !
o i )
g i
= C
Nominal oB oc D E 6% i
CODE size A mm mm mm mm Nm Nm
(in) (in) (in) (in) (Ibf in) (Ibf in)
" " 9,5 35"
1/4 7/16" - 20 UNF - 2B — (0.3740) — — — (133 + 142)
35 20,5 2 30 *2°
1.3780 0.8071 — 0.0787 = _
5/8" 7/8" - 14 UNF - 28 | ) | ( ) ( ) | (266 = 288) -
34 20,5 17 0,5 70
(1.3386) | (0.8071) | (0.6693) | (0.0197) - (620 + 664)
" " 30,5 20 170 *1°
1 15/16" - 12 UNF - 2B - (1.2008) | (0.7874) - (1505 + 1593)
" " 45 20 100 *°
"2 17/8" - 12 UNF - 2B - (1.7717) | (0.7874) - (885 + 929) -
(X) = Load sensing port
(®) = Drain port
(®) =KP 20 outlet port
GAS STRAIGHT THREAD PORTS BSPP 5
British standard pipe parallel (55°) conforms to UNI - ISO 228 A
E C
Nominal oB gc E éf i
CODE size A mm mm mm mm Nm Nm
(in) (in) (in) (in) (Ibf in) (Ibf in)
" 8,75 12 35"
8 G 18 - (0.3444) (0.4724) - (133 = 142)
30 17 1 20"
. (1.1811) 19 (0.6693) (0.0394) (177 + 186) B
1/2 G 1/2 (0.7480) 20 50 *25
- (0.7874) — (443 + 465)

X) = Load sensing port
= Drain port
= KP 20 outlet port

060-110



EH BB B 0B H I E B §H m;m

Additional
options

‘ Pump type ‘ Rotation

Drive Mounting Ports Ports
shaft flange position IN/OUT

‘—‘ Seals Regulators Fluid ‘

MVP 4845 ME/MC -

p type (max displacement)

3 CODE
cm’/rev

in*rev Buna (standard)

2.75 45 MVP 4845 Viton

3.23 53 MVP 48¢53

3.66 60 MVP 6060 Regulators

4.39 72 MVP 60e72 Pressure compensator - setting range

290 - 5075 psi (20 - 350 bar) (a)
Flow compensator (b)

Flow compensator for remote control (b)
Flow compensator for internal control (b)
Torque limiter - standard

Torque limiter - internal pilot

5.12 84 MVP 6084

Rotation

Anti-clockwise
Clockwise

Drive shaft
SAE “B” spline (13 teeth)
SAE “BB” spline (15teeth)
SAE “C” spline (14 teeth)

Additional options (c)
Without additional options (no code)
Max. displacement limiter (d)

Min. displacement limiter (d)
Min. and max. displacement limiter (d)

Mounting flange
SAE “B” 2 holes
SAE “C” 4 holes

Mineral oil (no code)
HF fire resistant fluid (e)

5 Ports position
a) For standard setting see page 18. o

6 Inlet/outlet ports CODE b) Differential pressure standard setting 203 psi

(14 bar) - Setting range 145 - 580 psi (10 - 40 bar).
SAE FLANGED PORTS METRIC THREAD (SSM)

Nominal size c) For additional options, please consult our sales
Pump type Inlet IN Outlet OUT department.
SAE 3000 SAE 3000 )
MVP 48 1"1/2 2" ME/MC d) Max. up to 50% of the displacement.
MVP 60 2" 1" MF/MC

e) For HF fire resistant fluid please consult our

SAE FLANGED PORTS UNC THREAD (SSS) sales department.
Nominal size
Pump type Inlet IN OQutlet OUT

SAE 3000 SAE 3000

MVP 48 1"1/2 1" SE/SC

MVP 60 2" 1" SF/SC
SAE STRAIGHT THREAD PORTS (ODT)

Nominal size
Pump type Inlet IN Outlet OUT
SAE 3000 SAE 3000

MVP 48 1"1/2 1" OH/OF
MVP 60 1"1/2 1" OH/OF

060-110



EH B0H B A BH &I HE BE B m

Addition.
options

Ports Seals
IN/OUT -

Rota- ‘_‘ Drive ‘Mounting ‘_‘ Ports

‘ Pump type ‘ tion shaft flange position

_ | Regula-
tors

Fluid ‘—

MVP 4853

Front section

KP 20.6,3 (#) “*|GD

Rear section

p type (max dsplacement) OEE
cm’/rev

in*frev Buna (standard)

2.75 45 MVP 4845 Viton

3.23 53 MVP 4853

3.66 60 MVP 6060 Regulators

4.39 72 MVP 60¢72 Pressure compensator - setting range

290 - 5075 psi (20 - 350 bar) (a)
Flow compensator (b)

Flow compensator for remote control (b)
Flow compensator for internal control (b)
Torque limiter - standard

Torque limiter - internal pilot

5.12 84 MVP 60484

Rotation

Anti-clockwise
Clockwise

Drive shaft
SAE “B” spline (13 teeth)
SAE “BB” spline (15teeth)
SAE “C” spline (14 teeth)

Additional options (c)
Without additional options (no code)
Max. displacement limiter (d)

Min. displacement limiter (d)
Min. and max. displacement limiter (d)

Mounting flange
SAE “B’ 2 holes
SAE “C” 4 holes

Mineral oil (no code)
HF fire resistant fluid (e)

5 Ports position

Side a) For standard setting see page 18. O
6 Inlet/outlet ports CODE b) Differential pressure standard setting 203 psi
= (14 bar) - Setting range 145 - 580 psi (10 - 40 bar).
SAE FLANGED PORTS METRIC THREAD (SSM) " .
Nominal size c) For additional options, please consult our sales
Pump type Inlet IN Outlet OUT department.
SAE 3000 SAE 3000
MVP 48 1"1/2 2" ME/MC d) Max. up to 50% of the displacement.
MVP 60 2" 1" MF/MC

e) For HF fire resistant fluid please consult our

SAE FLANGED PORTS UNC THREAD (SSS) sales department.

Nominal size
Pump type Inlet IN Outlet OUT
SAE 3000 SAE 3000

MVP 48 1"1/2 1" SE/SC
MVP 60 2" 1" SF/SC
SAE STRAIGHT THREAD PORTS (ODT)

Nominal size
Pump type Inlet IN Outlet OUT
SAE 3000 SAE 3000

MVP 48 1"1/2 1" OH/OF
MVP 60 1"1/2 1" OH/OF

#: KP 20 Gear pumps:
Displacements: see page 11 and page 14
Ports: see page 16 and page 17
For more informations, please see the respective
technical catalogue.

060-110



MVP

Variable displacement axial piston pumps,

for open circuit

DISPLACEMENTS
From 2.75 in%frev
(45 cm®frev)
. To 5.12 infrev

(84 cm3/rev)

PRESSURE
Max. continuous

Max. intermittent

Max. peak

4060 psi
(280 bar)
4568 psi
(315 bar)
5075 psi
(350 bar)

D

MAX SPEED
3000 min™

2

APPLICATION
Medium, high pressure

Compact design SECTOR

Longer service life Mobile / Industrial

Low noise emission

Max. and min. displacement
limiter

Drive shaft bearing suitable for
radial and axial loads.

Variable displacement axial piston pumps swash plate design ideally suited for medium and high pressure open
circuit applications. The compact design allows to be mounted directly on engine motors.

060-180



PRESSURE COMPENSATOR

Regulates the pump displacement automatically to equal the flow
requirement of the system while maintaining the pre-adjusted

MVP 60e72

pressure.

Pressure Standard

Compensator Pump setting range setting

type type

psi (bar) psi (bar)
MVP 48e45 4060 (280)
MVP 4853 3625 (250)
MVP 60s60 | 220 7 5075 | 4060 (280)

(20 + 350)

(280)
(250)

MVP 60e84

OPERATING CURVES

Curves have been obtained at the speed of

1500 min"'and oil temperature 122 °F (50 °C).

Max. 4 bar
(58 psi)
z T
: .
= \ | g
‘ 3
= | | 3
E [m)]
= ~
— 2]
> 2
0 (4060)
p loor] - [lpsi)]

060-180



MOUNTING POSITIONS AND DIMENSIONS (pressure compensator)

Position for clockwise and anti-clockwise rotation ‘

64.5
[2.5394]

DCAT_048_017

Pump Mounting A
type flange Enn‘;
in
222

S$ (8.7402)
227

S5 (8.9370)
231

S8 (9.0945)

060-180



FLOW COMPENSATOR (Load-sensing)

Regulates the pump displacement to maintain a constant (load in-
dependent) pressure drop across a flow metering device. In the
standard version the flow compensator is combined with pressure
compensator.

D;f:;::::' Standard
Flow Pressure . setting
compensator setting range
type compensator
psi psi
(bar) (bar)
RPO
145 + 580 203
RPO
(10 + 40) (14)
RPO

(#®): For remote control Y is plugged.
(®): For internal control and remote pressure control.

Pilot flow ~ 0.34 <+ 0.40 US gpm (1,3 =+ 1,5 I/min)

In standard setting conditions 203 psi (14 bar) the stand-by pres-
sure is 218 %° psi (152 bar).
o

OPERATING CURVES

Curves have been obtained at the speed of
1500 min~'and oil temperature 122 °F (50 °C).

Max. 4 bar

58 psi) ||
€ ! l \
= | | 1 (]
1) 1 1 =
=}
- \ \ I
= | S
[se)
£ S
< o0 5
0 (4080) 2
p loor] - [(psi)] °©
Curve at variable speed
E /.
o
> [«
s — =
=
= S
= S
> ~N
= b
< 0 ?
<
0 - 3
n [min'] - [{rpm)] g

| LSO - LS2 Hydraulic circuits

TECHNICAL DATA

Pump

AQ max

type

US gpm
(I/min)

060-180



MOUNTING POSITIONS AND DIMENSIONS (flow compensator)

Position for clockwise and anti-clockwise rotation

6L.5 . A
[2.539]
Ll X B
| [1.7323] \
) =N
+©
~ o
% QA o ]
N
© ON—
DBt
g I
S N ——~— g
s ==
N\
Pump Mounting A B
type flange mm mm
(in) (in)
ss 222 151,5
(8.7402) (5.9646)
227 157
S5 (8.9370) (6.1811)
ss 231 161
(9.0945) (6.3386)

X: Load sensing port. Dimensions at page 16

060-180



TORQUE LIMITER m

Regulates the pump displacement according to the system pres- ‘ RNO - Standard
sure, to maintain the pre-adjusted torque value and protect the pri-
me mover from overload. To have the best torque limiter regula-
tion, the pre-adjusted absorbed torque has to be higher than the
value shown in the following table.

Pump type MVP 48 MVP 60
Min. torque Ibf in 602 956
(Nm) (68) (108) o
Min. power HP 14.3 22.8
(at 1500 min™") (kW) (10,7) 17)

For lower torque setting values, the regulator limits the maximum
working pressure to a value lower than the standard setting for the
pressure regulator [4060 psi (280 bar)].

When ordering the torque limiter please specify the requested
value of torque [eg. 620 Ibf in (70 Nm)] or the requested power
[eg. 13.4 HP (10 kW) at 1500 min™].

OPERATING CURVES

This curve has been obtained at the speed of 1500 min™
and oil temperature 122 °F (50 °C).

— 100
= i\
ﬁ \
o1 \
= \ Tehoretical power
£ \
. \
= 50 Q‘/
N
\ .
25 \\ 2
X 5
N | ¢
0 8

p [bar] - [(psi)]

060-180



MOUNTING POSITIONS AND DIMENSIONS (torque limiter) m

Position for clockwise and anti-clockwise rotation

A
:‘_)‘ CJ
by
~ O X
ol = T
i N
g ! I
< - =
2 1|l S
2 E ==o=Zx
S 93 i 8
[3.6614]
109 ¢
[4.2913]
Pump Mounting A B c
type flange mm mm mm
(in) (in) (in)
S5 68,9 37,95 103,4
(2.7126) (1.4921) (4.0709)
S5 79,5 48,5 114
s8 (3.1299) (1.9094) (4.4882)

X: Load sensing port. Dimensions at page 16

060-180



H B B B BH @I EHE B H I

B ‘ Additional

Drive Mounting | Ports Ports
options

‘ Pump type ‘ Rotation ‘_ ‘ shaft flange position IN/OUT ‘— ‘ Seals ‘— ‘ Regulators

Fluid ‘

MVP 4845 ME/MC -

p type (max displacement)

in*frev cm’lrev Soe Buna (standard)

2.75 45 MVP 48+45 Viton

3.23 53 MVP 48453

3.66 60 MVP 6060 Regulators

Pressure compensator - setting range
290 - 5075 psi (20 - 350 bar) (a)
Flow compensator (b)

Flow compensator for remote control (b)
Flow compensator for internal control (b)
Torque limiter - standard

Torque limiter - internal pilot

4.39 72 MVP 60¢72
5.12 84 MVP 6084

Rotation

Anti-clockwise
Clockwise

Drive shaft
SAE “B” spline (13 teeth)
SAE “BB” spline (15teeth)
SAE “C” spline (14 teeth)

Additional options (c)
Without additional options (no code)
Max. displacement limiter (d)

Min. displacement limiter (d)
Min. and max. displacement limiter (d)

Mounting flange
SAE “B” 2 holes
SAE “C’ 4 holes

Mineral oil (no code)
HF fire resistant fluid (e)

5 Ports position
a) For standard setting see page 18. ©O

6 Inlet/outlet ports CODE b) Differential pressure standard setting 203 psi
= (14 bar) - Setting range 145 - 580 psi (10 - 40 bar).

SAE FLANGED PORTS METRIC THREAD (SSM) » .
c) For additional options, please consult our sales

Nominal size
Pump type Inlet IN Outlet OUT department.
SAE 3000 SAE 3000 )
MVP 48 1"1/2 2" d) Max. up to 50% of the displacement.
MVP 60 2" 1" MF/MC ) . .
e) For HF fire resistant fluid please consult our
SAE FLANGED PORTS UNC THREAD (SSS) sales department.
Nominal size
Pump type Inlet IN Outlet OUT
SAE 3000 SAE 3000
MVP 48 1"1/2 1" SEISC
MVP 60 2" 1" SFISC

SAE STRAIGHT THREAD PORTS (ODT)

Nominal size
Pump type Inlet IN Outlet OUT
SAE 3000 SAE 3000

MVP 48 1"1/2 1" OH/OF
MVP 60 1"1/2 1" OH/OF

060-180



BH B0H B A B O §H B B3I

Addition.
options

Ports
IN/OUT

tors

Rota- Drive Mounting | _ Ports
tion - shaft flange position

_ ‘ Regula-

‘ Pump type ‘ ‘—‘ Seals Fluid ‘—

MVP 4853

Front section

KP 20.6,3 (#) - L **|GD

Rear section

p type (max displacement)

in*frev cm’lrev SRR Buna (standard)

2.75 45 MVP 4845 Viton

3.23 53 MVP 4853

3.66 60 MVP 60460 Regulators

4.39 72 MVP 6072 Pressure compensator - setting range
512 84 MVP 60484 290 - 5075 psi (20 - 350 bar) (a)

Flow compensator (b)

Flow compensator for remote control (b)
Flow compensator for internal control (b)
Torque limiter - standard

Torque limiter - internal pilot

Rotation

Anti-clockwise
| Clockwise

Drive shaft
“B” spline (13 teeth)
SAE “BB” spline (15teeth)
SAE “C” spline (14 teeth)

Additional options (c)
Without additional options (no code)
Max. displacement limiter (d)

Min. displacement limiter (d)
Min. and max. displacement limiter (d)

Mounting flange
SAE “B” 2 holes
| SAE “C” 4 holes

Mineral oil (no code)
HF fire resistant fluid (e)

5 Ports position

a) For standard setting see page 18. O

6 Inlet/outlet ports CODE b) Differential pressure standard setting 203 psi
£ (14 bar) - Setting range 145 - 580 psi (10 - 40 bar).

SAE FLANGED PORTS METRIC THREAD (SSM) . .
c) For additional options, please consult our sales

Nominal size
Pump type Inlet IN Outlet OUT department.
SAE 3000 SAE 3000 i
MVP 48 1"1/2 2" d) Max. up to 50% of the displacement.
MVP 60 2" 1" MF/MC ) . .
e) For HF fire resistant fluid please consult our
SAE FLANGED PORTS UNC THREAD (SSS) sales department.
Nominal size
Pump type Inlet IN Outlet OUT
SAE 3000 SAE 3000

MVP 48 1"1/2 1" SE/SC
MVP 60 2" 1" SF/SC
SAE STRAIGHT THREAD PORTS (ODT)

Nominal size
Pump type Inlet IN Outlet OUT
SAE 3000 SAE 3000

MVP 48 1"1/2 1 OH/OF
MVP 60 1"1/2 1" OH/OF

#: KP 20 Gear pumps:
Displacements: see page 11 and page 14
Ports: see page 16 and page 17
For more informations, please see the respective
technical catalogue.

060-180



NEU

auf Lager

\

Axialkolben-Konstantpumpe

flr Direktmontage an Nebenantrieben (PTO) von Fahrzeugen

Qualitatsprodukt aus Europa — Niedriger Gerauschpegel — Wellendichtring aus Viton

Forder- Dreh- Dauerdruck/ Nmax Nmax
Bestellbezeichnung menge richtun Spitzendruck | (U/min) (U/min)
(cem/U) 9 (bar) bei Pmax | Drucklos
BAP32-40-D0-16Z0-PGF/GE-N Rechts 350
409 1850 | 2950
BAP32-40-S0-16Z0-PGF/GE-N Links 400
BAP32-50-D0-16Z0-PGF/GE-N Rechts 350
50,1 1700 | 2750
BAP32-50-S0-16Z0-PGF/GE-N Links 400
BAP32-63-D0-16Z0-PGF/GE-N Rechts 350 .
63,0 - 400 1600 2450 Bestellbezeichnung
e et Links SGN40HR16 Saugstutzen 0° - 1“BSP - NW40
BAP32-71-D0-1620-PGF/GE-N Rechts | 315 SGNAOHR1645K | Saugstutzen 45°— 1BSP —NW40 | _ ("
71,6 1300 | 2250 BAP32
BAP32-71-50-16Z0-PGF/GE-N Links 350 SGN4OHR1690K |  Saugstutzen 90° - 1 BSP — NW40
EECEOURGADA OO OER| | Rechs 315 1300 | 2000 || SGNSOHRI6 Saugstutzen 0° - 1¢BSP - NW50
BAP32-80-50-1620-PGF/GE-N Links 350 SGNSOHR1645K | Saugstutzen 45° - 1°BSP - NWS0 | - /1‘;,;2
BAP37-80-D0-16Z0-PGG/GF-N Rechts 350 SGN50HR1690K Saugstutzen 90° - 1 BSP — NW50
79,1 1300 | 2500
-80-S0-1670- ] : i 400
ERPED G 0 TEAD FEEHER Links SGNSOHR20 | Saugstutzen 0°— 11 BSP — NW50
BAPG7-110-D0-1620-PGG/GF-N | | Rechis | 300 o0 | as0p || SCNEOHRRO4SK. | Saugstuzen 45"~ 114" BSP - NWS0 | o A{l;’r37
BAP37-110-50-16Z0-PGG/GF-N ’ Links 350 SGN50HR2090K | Saugstutzen 90° — 1% BSP - NW50

062-010



NEU

auf Lager

Drehrichtungswechsel durch

I [
: 180° Drehung des Enddeckels : \ 30 Nm 185" 50055 —
| | 266 Lbf in [0.0728:0:0000 &
| \ | on
| | ==
o 1022 —
[ [ —
| - | o 4 - —
| | — =
| m [
I \ }
I [
I [
[ Vv [ 28 15.2
I [ 1.1 [0.598]
Verzahnte Welle W 8x32x36 DIN-ISO 14 E 55
k [2.2]
80 6.8 |
[3.1496] [1.449]
3 B3.9:3% 16 _ 858,
[0.51181> — [1.376:35% (0.6299) L[ 0.334663:38%]
S e
o -
i - - 1 R —
gl A
T l 2
o &8
so| 2
[0.3189:8:88% S|
[c ol =
*+ I s
A B © D E F G H v Gewicht
Typbezeichnung -IN- | -OuT- ool
(mm) (Nm) (Nm) (mm) (mm) (mm) (mm) (mm) (Nm) (kg)
BAP32-40 | S/D | 0-16 Z0-P GF/GE-N 229 70+ 90+ 115 245 91 109 173 45 45 10
BAP32-50 | S/D | 0-16 Z0-P GF/GE-N 229 70+ 90+ 115 245 91 109 173 45 45 10
BAP32-63 | S/D | 0-16 Z0-P GF/GE-N 229 70 90+ 115 245 91 109 173 45 45 10
BAP32-71 | S/D | 0-16 Z0-P GF/GE-N 229 70 90+ 115 245 91 109 173 45 45 10
BAP32-80 | S/D | 0-16 Z0-P GF/GE-N 229 70+ 90+ 115 245 91 109 173 45 #45 16
BAP37-80 | S/D | 0-16 Z0-P GG/GF-N 251 110+10 | 150+ 127 268 108 128 202 75 75 16
BAP37-110 | S/D | 0-16 Z0-P GG/GF-N 251 110+10 | 150+ 127 268 108 128 202 75 %75 17
Olviskositat von 10 ¢St bis 400 ¢St - Filterfeinheit 10 mic

062-010



Replaces: STNO1TA

O Modification from former edition

Edition: 01/04.2007

Fixed displacement bent axis piston pumps

DISPLACEMENTS
From 2.49 in¥/rev
(40,9 cm®/rev)
To 6.71 in%/rev

(110 cm3/rev)

PRESSURE
Max. continuous 5075 psi (350 bar)
Max. peak 5800 psi (400 bar)

for truck applications

® | ow noise level

® Direct mounting on the PTOs

® Compact design

APPLICATION
High pressure

SECTOR

Mobil hydraulic

MAX. SPEED

2950 min™'

® High volumetric, mechanical and overall efficiency

end cover 180°

® Standard ISO with Viton shaft seal

® Clockwise or anti-clockwise rotation turning the

® High speed

Pump type (oY BAP32¢40 BAP32e50 BAP32+63 BAP32¢71 BAP32080 BAP37¢80 BAP37¢110
- in%/rev 2.49 3.06 3.8 71.6 4.78 4.83 6.71
Displacement (cm*/rev) (40,9) (50,1) (63) (4,37) (78,3) (79,1) (110)
contivous 5075 5075 5075 4568 4568 5075 4350
Max. pressure psi (350) (350) (350) (315) (315) (350) (300)
Prmax (bar) oak 5800 5800 5800 5075 5075 5800 5075
p (400) (400) (400) (350) (350) (400) (350)
Max. speed @ Pmax cont. | 1850 1700 1600 1300 1300 1300 1300

Inlet pressure 14.5 psi min”"

(1 bar abs.) O without load | 2950 2750 2450 2250 2200 2500 2300
22.05 22.05 22.05 22.05 22.05 35.28 37.49
Mass Ibs (ko) (10) (10) (10) (10) (10) (16) (17)

Fill with oil before start-up

Direction of rotation (looking on drive shaft)

Clockwise or anti-clockwise rotation

Inlet pressure range

25 in Hg (0.85 bar abs.) + 29 psi (2 bar abs.)

Operating temperature

176 °F (80 °C)

Fluid

Mineral oil based hydraulic fluids to DIN 51524

Viscosity range

From 58 SSU (10 cSt) to 1819 SUS (400 cSt) recommended

4546 SSU (1000 cSt) tolerated for cold starting

Filtering requirement

Cleanliness grade 8 according to class NAS 1638

062-010



Strada 3000

HYDRAULIC PISTON PUMPS ISO STANDARD m

,,,,,,,,,,,,,,, A
| ! 7
. [
| To change pump rotation turn 0.1
| the end cover 180° } \ 30 Nm 1850 B
| ‘ 266 Lbf \ﬂ (0072838 5
: \ ] t \ %
| | © Y == <
| } s t R = c
‘ N — I+ <= | 5
| | N — JA— — E
‘ ()
| : © %)
| |
‘ ! v 28 15.2 3
| I [1.1] [0.598] ©
! ‘ S
[ )
[ | e
Ext. Spline W 8x32x36 DIN-ISO 14
with major diameter modified E 55
k [2.2]
80 36.8
[3.1496] [1.449]
@13 B36.9%% 16 8.5.8
(051181 1 | g/ [1:376:88853] 10.6299] [0.33t6:4.35%9]
S
o
-
ol
[c o] i - ©
= !
§ = = =g
) [0-3189°355%] g
* I S
Pump type V Bolts tightening torque Ibf in (Nm)
BAP 32 358 + 438 (45 %)
BAP 37 597 + 730 (75 ")
A B (IN) C (ouT) D E F G H
Pump type BSPP BSPP
o in Ibf in Ibf in in in in in in
(mm) (Nm) (Nm) (mm) (mm) (mm) (mm) (mm)
BAP 3240
N~
BAP 32450 S
G1 G 3/4 N
9.0157 4.5276 | 9.6457 | 3.5827 | 4.2913 | 6.8110 -
BAP 32¢63 . 0-16 Z0-P GF/GE-N TN (229) 6(2700+§56)4 7?970+§54§1 (115) | (245) (1) (109) | (173) §
BAP 3271 p
D °
BAP 3280
BAP 3780 G11/4 G1
0-16 Z0-P GGIGF-N TN| Jav;y | 9741062 |1328:1460| T po7 | 1000 2| 42520 1 90834 | 79525
BAP 37110 (251) 1710 +10) | (1m0 15y | (127) | (268) | (108) | (128) | (202)
Rotation: S=anti-clockwise - D=clockwise
How to order BAP 3240 S0 -16 Z0 - P GF/GE -N TN

062-010



Replaces: STN 01 TA

0 01/04.2007

Strada 3000

HYDRAULIC PISTON PUMPS ITALIAN STANDARD

To change pump rotation turn
the end cover 180°

HOoRs

UNI 8953 6x21x25 S

MAX. TORQUE 360
(3186 Lbf in]

Nm

[0.4724]

12

S
S
o
2
<
-
<
S
=

0
2.3622
B

\30 Nm

266 Lbf in

[ -

1 -

18
[0.7087]

3
[0.1181]

[2.0672:8:9%9]

B52:8:5

15
[0.6]

[0.6299]

19 T1

Pump type V Bolts tightening torque Ibf in (Nm)
BAP 32 358 + 438 (45 )
A B (IN) C (ouT) D E F G H
Pump type BSPP BSPP
o in Ibf in Ibf in in in in in in
(mm) (Nm) (Nm) (mm) (mm) (mm) (mm) (mm)
BAP 3240
BAP 3250
S 9.8031 G 1 G 3/4 | 45276 | 10.3937 | 3.5827 | 4.2913 | 6.8110
BAP 32463 - 0-19 T1-P GF/GE-N TN (249) 6(2700+§56)4 7?970@511 (115) | (264) (91) (109) | (173)
BAP 3271
BAP 3280

Rotation: S=anti-clockwise - D=clockwise

How to order

BAP 32040 S0-19T1-P GF/GE-N TN

062-010



Strada 3000

GAS BSPP THREADED PORT CONNECTORS

Elbow 45°

Connector
type

FE4-GF/N112-N
FE4-GF/N200-N

FE4-GG/N200-N
FE4-GG/N212-N

Inlet
Brass elbow 45°. They are supplied complete with O-Ring and hose clamp.
A \'
: Pump type
Tubing Chey Ibf in (Nm)
nominal size
1"1/2 41 354 + 443 (45 *%)
" = BAP 32
2 41 354 + 443 (45 7)
2" 50 398 + 487 (50 *%)
" 5 BAP 37
2" 1/2 50 398 + 487 (50 7°)

Brass elbow 90°. They are supplied complete with O-Ring and hose clamp.
Connector A v Pump type
type Tubing )
< nominal size Chey Ibf in (Nm)

FG4-GF/N112-N 1"1/2 41 354 + 443 (45 *°)

FG4-GF/N134-N 1" 3/4 41 354 + 443 (45 is) BAP 32

FG4-GF/N200-N 2" 41 354 + 443 (45 i5)

FG4-GG/N200-N 2" 50 398 + 487 (50 *°) BAP 37

Elbow 90°
Outlet - max. 5075 psi (350 bar)
Steel straight port connector
vs/ | FD2
Connector A oB v Pump
type Tubing . . type
@) nominal size in (mm) Chey Ibf in (Nm)
<| — e o
| l © FD2-GE/MG34 G 3/4" 0.669 (17) 32 797 (90) [®] BAP 32
\[/ FD2-GF/MG1 G1" 0.906 (23) 41 1328 (150) [@] BAP 37
[®] Tightening torque tolerance to be applied to the values shown in the table: +10 %
Straight

CASAPPAS.p.A. - Parma - Italy - Tel.: + 39 0521 304111 - Fax: + 39 0521 804600
CASAPPA Corp. - Batavia, IL 60510 U.S.A. - Phone: 630 761-0041 - Fax: 630 761-0048
CASAPPA GmbH - Pliderhausen - Germany - Tel.: + 49 (0)7181 989830 - Fax: + 49 (0)7181 989831

CASAPPA SARL - La Rochelle - France - Tel.: + 33 (0)5 46372433 - Fax: + 33 (0)5 46423907
www.casappa.com - e-mail: info@casappa.com

062-010

01/04.2007



Vorsatzlager

- fur Pumpen BG 1

- Eingangszentrierbund @ 25,4 mm

- Lochabstand 72 x 53 mm

- Ausgang konische Welle 1:8 - @ 17,5 mm
- Ausgangszentrierbund @ 50,8 mm

Front bearing

- for gr. 1 pumps

- inlet centering @ 25,4 mm

- mounting 72 x 53 mm

- tapered shaft 1:8 - @ 17,5 mm
- outlet centering @ 50,8 mm

Bestell-Nr. Typ
code type

608-010-01000 25401

608-010




Vorsatzlager

- fur Pumpen BG 1

- Eingangszentrierbund @ 25,4 mm

- Lochabstand 72 x 53 mm

- Ausgang zylindrische Welle - @ 18 mm
- Ausgangszentrierbund @ 50,8 mm

Front bearing

- for gr. 1 pumps

- inlet centering @ 25,4 mm
- mounting 72 x 53 mm

- parallel shaft - @ 18 mm

- outlet centering @ 50,8 mm

Bestell-Nr. Typ
code type

608-030-01000 25601

608-030




Vorsatzlager

- fur Pumpen BG 2 - Standard

- Eingangszentrierbund @ 36,5 mm

- Lochabstand 96 x 71,4 mm

- Ausgang konische Welle 1:8 - @ 17,5 mm
- Ausgangszentrierbund @ 36,5 mm

Front bearing

- for gr. 2 pumps - standard

- inlet centering @ 36,5 mm

- mounting 96 x 71,4 mm

- tapered shaft 1:8 - @ 17,5 mm
- outlet centering @ 36,5 mm

Bestell-Nr. Typ
code type

608-050-01000 25402

608-050




Vorsatzlager

- fur Pumpen BG 2 - Standard

- Eingangszentrierbund @ 36,5 mm

- Lochabstand 96 x 71,4 mm

- Ausgang zylindrische Welle - @ 18 mm
- Ausgangszentrierbund @ 36,5 mm

Front bearing

- for gr. 2 pumps - standard
- inlet centering @ 36,5 mm
- mounting 96 x 71,4 mm

- parallel shaft - @ 18 mm

- outlet centering @ 36,5 mm

Bestell-Nr. Typ
code type

608-070-01000 25602

608-070




Vorsatzlager

- fur Pumpen BG 2 - verstarkte Version

- Eingangszentrierbund @ 36,5 mm

- Lochabstand 96 x 71,4 mm

- Ausgang konische Welle 1:8 - @ 17,5 mm
- Ausgangszentrierbund @ 50,8 mm

Front bearing

- for gr. 2 pumps -
reinforced version
- inlet centering @ 36,5 mm
- mounting 96 x 71,4 mm
- tapered shaft 1:8 - @ 17,5 mm
- outlet centering @ 50,8 mm

Bestell-Nr. Typ
code type

608-080-01000 25403.1

608-080




Vorsatzlager

- fur Pumpen BG 2 - verstarkte Version
- Eingangszentrierbund @ 36,5 mm

- Lochabstand 96 x 71,4 mm

- Ausgang zylindrische Welle - @ 22 mm
- Ausgangszentrierbund @ 50,8 mm

Front bearing

- for gr. 2 pumps -
reinforced version

- inlet centering @ 36,5 mm

- mounting 96 x 71,4 mm

- parallel shaft - @ 22 mm

- outlet centering @ 50,8 mm

Bestell-Nr. Typ
code type

608-100-01000 25603.1

608-100




Vorsatzlager

- fur Pumpen deutscher Standard ZF.2

- Eingangszentrierbund @ 52 mm

- Lochabstand 100 x 72 mm

- Ausgang konische Welle 1:5 - @ 20 mm
- Ausgangszentrierbund @ 80 mm

Front bearing

- for german standardized
ZF.2 pumps

- inlet centering @ 52 mm

- mounting 100 x 72 mm

- tapered shaft 1:5 - @ 20 mm

- outlet centering @ 80 mm

Bestell-Nr. Typ
code type
608-120-01000 25408

Auch mit verstarktem Wellendichtring erhaltlich.

608-120




Vorsatzlager

- fur Pumpen deutscher Standard ZF.2
- Eingangszentrierbund @ 80 mm

- Lochabstand 100 x 72 mm

- Ausgang zylindrische Welle @ 22 mm
- Ausgangszentrierbund @ 80 mm

Front bearing

- for german standardized
ZF.2 pumps

- inlet centering @ 80 mm

- mounting 100 x 72 mm

- parallel shaft @ 22 mm

- outlet centering @ 80 mm

Bestell-Nr. Typ
code type

608-140-01000 25606

608-140




Vorsatzlager

- fur Pumpen deutscher Standard ZF.2

- Eingangszentrierbund @ 80 mm

- Lochabstand 100 x 72 mm

- Ausgang konische Welle 1:5 - @ 20 mm
- Ausgangszentrierbund @ 80 mm

Front bearing

- for german standardized
ZF.2 pumps

- inlet centering @ 80 mm

- mounting 100 x 72 mm

- tapered shaft 1:5 - @ 20 mm

- outlet centering @ 80 mm

Bestell-Nr. Typ
code type

608-160-01000 25406

608-160




Vorsatzlager

- fur deutsche Pumpen BG 2 -HY
mit verzahnter Welle 17 x 14 - DIN 5482 - 79
- Eingangszentrierbund @ 50 mm
- Lochabstand 60 x 60 mm
- Ausgang konische Welle 1:5- @ 17 mm
- Ausgangszentrierbund @ 50 mm

Front bearing

- for german gr. 2 -HY pumps
with splined shaft
17 x 14 - DIN 5482 - 729
- inlet centering @ 50 mm
- mounting 60 x 60 mm
- tapered shaft 1:5 - @ 17 mm
- outlet centering @ 50 mm

Bestell-Nr. Typ
code type
608-170-01000 25409

608-170




Vorsatzlager

- fur Pumpen BG 3 - Standard

- Eingangszentrierbund @ 50,8 mm

- Lochabstand 128 x 98 mm

- Ausgang konische Welle 1:8 - @ 21,59 mm
- Ausgangszentrierbund @ 50,8 mm

Front bearing

- for gr. 3 pumps - standard

- inlet centering @ 50,8 mm

- mounting 128 x 98 mm

- tapered shaft 1:8 - @ 21,59 mm
- outlet centering @ 50,8 mm

Bestell-Nr. Typ
code type
608-180-01000 25404/6

608-180




Vorsatzlager

- fur Pumpen BG 3 - Standard

- Eingangszentrierbund @ 50,8 mm

- Lochabstand 128 x 98 mm

- Ausgang zylindrische Welle - @ 24 mm
- Ausgangszentrierbund @ 50,8 mm

Front bearing

- for gr. 3 pumps - standard
- inlet centering @ 50,8 mm
- mounting 128 x 98 mm

- parallel shaft - @ 24 mm

- outlet centering @ 50,8 mm

Bestell-Nr. Typ
code type

608-200-01000 25604/6

608-200




Vorsatzlager fur Stahlgusspumpen

- fur Pumpen BG 3

- Eingangszentrierbund @ 50,8 mm

- Lochabstand 128 x 98 mm

- Ausgang zylindrische Welle - @ 24 mm
- Ausgangszentrierbund @ 50,8 mm

Front bearing for cast
steel pumps

- for gr. 3 pumps

- inlet centering @ 50,8 mm
- mounting 128 x 98 mm

- parallel shaft - @ 24 mm

- outlet centering @ 50,8 mm

Bestell-Nr. Typ
code type

608-260-01000 25610/24

608-260




Vorsatzlager fur Stahlgusspumpen

- fur Pumpen BG 3

- Eingangszentrierbund @ 50,8 mm

- Lochabstand 128 x 98 mm

- Ausgang zylindrische Welle - @ 40 mm
- Ausgangszentrierbund @ 50,8 mm

Front bearing for cast
steel pumps

- for gr. 3 pumps

- inlet centering @ 50,8 mm
- mounting 128 x 98 mm

- parallel shaft - @ 40 mm

- outlet centering @ 50,8 mm

Bestell-Nr. Typ
code type

608-280-01000 25610/40

608-280




Vorsatzlager

- fur Pumpen deutscher Standard ZF.3

- Eingangszentrierbund @ 105 mm

- Lochabstand 145 x 102 mm

- Ausgang konische Welle 1:5 - @ 24,6 mm
- Ausgangszentrierbund @ 105 mm

Front bearing

- for german standardized
ZF.3 pumps
- inlet centering @ 105 mm
- mounting 145 x 102 mm
- tapered shaft 1:5 - @ 24,6 mm
- outlet centering @ 105 mm

Bestell-Nr. Typ
code type

608-300-01000 25407

608-300




Vorsatzlager

- fur Pumpen BG 3

- Eingangszentrierbund @ 50,8 mm

- Lochabstand 128 x 98 mm

- Ausgang zylindrische Welle - @ 25,4 mm

- Ausgangszentrierbund @ 82,5 mm - SAE ,A*

Front bearing

- for gr. 3 pumps
- inlet centering @ 50,75 mm
- mounting 128 x 98 mm
- parallel shaft - @ 25,4 mm
- outlet centering

@ 82,5 mm - SAE A"

Bestell-Nr. Typ
code type

608-320-01000 25607

608-320




Vorsatzlager

- fur Pumpen BG 3

- Eingangszentrierbund @ 50,75 mm

- Lochabstand 128 x 98 mm

- Ausgang zylindrische Welle - @ 22,2 mm

- Ausgangszentrierbund @ 101,6 mm - SAE ,B*
- Lochabstand Ausgang 128 x 98 mm

Front bearing

- for gr. 3 pumps
- inlet centering @ 50,75 mm
- mounting 128 x 98 mm (inlet)
- parallel shaft - @ 22,2 mm
- outlet centering
@ 101,6 mm - SAE ,B*
- mounting 128 x 98 mm (outlet)

Bestell-Nr. Typ
code type

608-340-01000 25608

608-340




Vorsatzlager

- fur Pumpen BG 3,5

- Eingangszentrierbund @ 60,3 mm

- Lochabstand 149,3 x 114,3 mm

- Ausgang konische Welle 1:8 - @ 26 mm
- Ausgangszentrierbund @ 60,3 mm

Front bearing

- for gr. 3.5 pumps

- inlet centering @ 60,3 mm

- mounting 149,3 x 114,3 mm
- tapered shaft 1:8 - @ 26 mm
- outlet centering @ 60,3 mm

Bestell-Nr. Typ
code type

608-360-01000 25405

608-360




Vorsatzlager

- fur Pumpen BG 3,5

- Eingangszentrierbund @ 60,3 mm

- Lochabstand 149,3 x 114,3 mm

- Ausgang zylindrische Welle 1:8 - @ 28 mm
- Ausgangszentrierbund @ 60,3 mm

Front bearing

- for gr. 3.5 pumps

- inlet centering @ 60,3 mm

- mounting 149,3 x 114,3 mm
- parallel shaft 1:8 - @ 28 mm
- outlet centering @ 60,3 mm

Bestell-Nr. Typ
code type

608-380-01000 25605

608-380




Universal-Vorsatzlager

- fir verschiedene Pumpen

- Eingangszentrierbund @ 145 mm

- Ausgang zylindrische Welle @ 42 mm
- Ausgangszentrierbund @ 85 mm

- for different pumps

- inlet centering @ 145 mm
- parallel shaft - @ 42 mm
- outlet centering @ 85 mm

Universal-
front bearing

Bestell-Nr. Typ
code type

608-400-01000 25609

608-400



Flansche fur Universal-Vorsatzlager

Flanges for

universal-front bearin

128

Oummy: |
i Ros -
= | — P =
: ) L2
N A S
0 -2
2 I
P I \3 (B
o [1n )
S N TN
r© | 8.9 R
$63,5 $603
4P 30403 3,5P 30402
3P 30401
127 162
I mM12 PN
‘ X
/ SRR A L
w\ T b )
9 e
M1§ "J
1016 | 127
SAE B 2-4 fori SAE C 2-4 fori

30421 - 30422

30431 - 30432

Beit:c;LNL ;%Z BG
508-400-02000 30403 4
508-400-02050 30401 3
508-400-02100 30402 3,5
508-400-02150 30417 Bosch ZG3
508-400-02200 30421 SAE B 2 Loch
508-400-02250 30422 SAE B 4 Loch
508-400-02300 30431 SAE C 2 Loch
508-400-02350 30432 SAE C 4 Loch
508-400-02400 30461 ISO 2 Linde & Guldner PF 20-35
508-400-02450 30462 Linde & Guldner PF 50
508-400-02500 30463 Linde & Guldner PF 75

g
.

©
7y
g )

160

Linde Guldner PF 20-35-50
30461 - 30462

Linde Guidner PF 75
30463

608-400



3L-Winkelflansch RG

- Material; Stahl

Elbow coupling RG

- material: steel

| B L
)
L
\ Ut <
A I
O N . 0]
l T ‘g | r/
| F
D
Bestell-Nr. Typ DR (DI rl?r?he-n Schrauben : O-Ring
code type max. Eraerssure A B © D F G H L ho:.]es screws O-Ring GroRe
670-010-01000 RG26-38 300 3/8" 26 55 130,5(11,5| 18 9,5 27 3 M5 x 20 2056 | 14,00 x 1,78
670-010-01050 RG26-12 300 1/2¢ 26 55 130,5(11,5| 18 9,5 27 3 M5 x 20 2056 | 14,00 x 1,78
670-010-01100 RG30-38 300 3/8" 30 6,5 |130,5( 11,5 18 9,5 27 3 M6 x 20 121 15,88 x 2,62
670-010-01150 RG30-12 300 1/2¢ 30 6,5 |130,5( 11,5 18 9,5 27 3 M6 x 20 121 15,88 x 2,62
670-010-01200 RG40-38 300 3/8" 40 8,5 | 40 20 21 [ 10,5| 38 3 M8 x 25 132 [ 23,81x2,62
670-010-01250 RG40-12 300 1/2¢ 40 8,5 40 20 21 (10,5 | 38 3 M8 x 25 2100 | 25,12x 1,78
670-010-01300 RG40-34 300 3/4¢ 40 8,5 40 20 21 | 105 38 3 M8 x 25 2100 |25,12x1,78
670-010-01350 RG51-34 300 3/4" 51 [10,5] 45 25 27 | 13,5 | 47 3 M10 x 30 3125 | 31,42x 2,62
670-010-01400 RG51-100 300 1 51 [10,5] 45 25 27 | 13,5 | 47 3 M10 x 30 3125 | 31,42x 2,62
670-010-01450 RG56-34 300 3/4* 56 [10,5] 45 34 27 | 13,5 | 47 3 M10 x 30 3150 | 37,77 x 2,62
670-010-01500 RG56-100 300 1 56 [10,5] 45 34 27 | 13,5 | 47 3 M10 x 30 3150 | 37,77 x 2,62
670-010-01550 | RG62-100-M10 300 1 62 | 10,5 60 36 36 19 56 3 M10 x 35 4150 | 37,69 x 3,53
670-010-01600 | RG62-114-M10 300 11/4“1 62 |10,5| 60 36 36 19 56 3 M10 x 35 4150 | 37,69 x 3,53
670-010-01650 | RG62-100-M12 300 1 62 | 125 60 36 36 19 56 3 M12 x 35 4150 | 37,69 x 3,53
670-010-01700 | RG62-114-M12 300 11/4°1 62 |12,5| 60 36 36 19 56 3 M12 x 35 4150 | 37,69 x 3,53
670-010-01750 RG72,5-112 300 11/2¢1725 1125 | 62 38 38 16 58 3 M12 x 35 4187 | 47,22 x 3,53

670-010




3L-Winkelflansch RGAD

- Material: Stahl

Elbow coupling RGAD

- material: steel

| e

|

T g | |

]

— F
A
Bestell-Nr. Typ EES DI Boh- o hrauben ) O-Ring
code type max. pressure A 8 c £ ¢ H L T |rungen screws O-Ring GroRe
bar holes

670-020-01000 | RGAD26-T10 300 M16x1,5| 26 55 | 115 18 9,5 27 | T10 3 M5 x 20 2056 |14,00x 1,78
670-020-01050 | RGAD26-T12 300 M18x1,5| 26 55 | 115 18 9,5 27 | T12 3 M5 x 20 2056 |14,00x 1,78
670-020-01100 | RGAD26-T15 200 M22x1,5| 26 55 | 115 18 9,5 27 | T15 3 M5 x 20 2056 |14,00x 1,78
670-020-01150 | RGAD26-T16 300 M24x1,5| 26 55 | 115 18 9,5 27 | T16 3 M5 x 20 2056 |14,00x 1,78
670-020-01200 | RGAD30-T10 300 M16x1,5| 30 6,5 | 11,5 18 9,5 27 | T10 3 M6 x 20 121 |15,88x 2,62
670-020-01250 | RGAD30-T12 300 M18x1,5| 30 6,5 [115]| 18 9,5 27 | T12 3 M6 x 20 121 |15,88x 2,62
670-020-01300 | RGAD30-T15 200 M22x1,5| 30 6,5 [115] 18 9,5 27 | T15 3 M6 x 20 121 | 15,88 x 2,62
670-020-01350 | RGAD30-T16 300 M24x1,5| 30 6,5 [115]| 18 9,5 27 | T16 3 M6 x 20 121 |15,88 x 2,62
670-020-01400 | RGAD40-T15 200 M22x1,5| 40 8,5 20 21 |105| 38 | T15 3 M8 x 25 132 |23,81x2,62
670-020-01450 | RGAD40-T18 100 M26x1,5| 40 8,5 20 21 |105| 38 | T18 3 M8 x 25 132 |23,81x2,62
670-020-01500 | RGAD40-T20 200 M30x2 40 8,5 20 21 |105| 38 | T20 3 M8 x 25 132 |23,81x2,62
670-020-01550 | RGAD40-T22 100 M30x2 40 8,5 20 21 (105 38 | T22 3 M8 x 25 132 |23,81x2,62

670-020




- Material: Stahl

41 -Winkelflansch RGB

Elbow coupling RGB

- material: steel

I
o 7 Z,
- “
i
—_ ] —_— I
I
| | /: o
)4 T |
I I I
A
I
- F
|
D
Bestell-Nr. Typ R [PITIES Boh- o hrauben ) O-Ring
max. pressure A B © D F G H L [rungen O-Ring .
code type screws Grole
bar holes
670-030-10000 | RGB30-38 300 3/8¢ 30 | 65| 34| 12| 19| 11 | 41 4 M6 x 20
121 |[15,88 x 2,62
670-030-10050 | RGB30-12 300 1/2 30 | 65|34 | 12 | 19| 11 | 41 4 M6 x 35
670-030-10100 | RGB35-38 300 3/8¢ 35 | 65 | 32 |135| 18 | 11 | 40 4 M6 x 20
3075 |18,72 x 2,62
670-030-10150 | RGB35-12 300 1/2 35 | 65 | 32 |135| 18 | 11 | 40 4 M6 x 35
670-030-10200 | RGB40-12 300 1/2" 40 | 65 | 35 | 20 | 24 | 10 | 45 4 M6 x 25
132 |23,81x2,62
670-030-10250 RGB40-34 300 3/4¢ 40 | 65 | 35 | 20 | 24 | 10 | 45 4 M6 x 45
670-030-10300 | RGB55-34 300 3/4¢ 55 | 85| 46 | 25 | 35 | 13 | 54 4 M8 x 25
4118 29,74 x 3,53
670-030-10350 | RGB55-100 300 1 55 | 85| 46 | 25 | 35 | 13 | 54 4 M8 x 60

670-030




41 -Winkelflansch RTA

- Material: Stahl

Elbow coupling RTA

- material: steel

<
| (a\]
o ! & 7
| |
T { |
- | 2 |
-
]
F
Bestell-Nr. Typ TESS, [PILEL Boh- | o hrauben : O-Ring
max. pressure A B © F G H L T [rungen O-Ring .
code type screws Grofle
bar holes
670-040-10000 | RTA30-T10 300 M16x15| 30 [ 65 | 12 | 19 | 12 | 41 | 10 4
670-040-10050 | RTA30-T12 300 M18x15| 30 [ 65 | 12 | 19 | 11 | 41 | 12 4 M6 x 20
121 | 15,88 x 2,62
670-040-10100 | RTA30-T15 250 M22x1,5| 30 | 65 | 12 | 19 | 11 | 41 | 15 4 M6 x 35
670-040-10150 | RTA30-T16 300 M24x15| 30 [ 65 | 12 | 19 | 12 | 41 | 16 4
670-040-10200 | RTA35-T10 300 M16x15| 35 | 65 [135] 18 | 12 | 40 | 10 4
670-040-10250 | RTA35-T12 300 M18x15| 35 | 65 [135] 18 | 11 | 40 | 12 4 M6 x 20
3075 |18,72 x 2,62
670-040-10300 | RTA35-T15 250 M22x1,5| 35 | 6,5 |135| 18 | 11 | 40 | 15 4 M6 x 35
670-040-10350 | RTA35-T16 300 M24x15| 35 | 65 [135] 18 | 12 | 40 | 16 4
670-040-10400 | RTA40-T15 100 M22x15| 40 [ 65| 20 | 24 | 10 | 45 | 15 4
670-040-10450 | RTA40-T18 100 M26x15| 40 [ 65| 20 | 24 | 10 | 45 | 18 4
670-040-10500 | RTA40-T20 250 M30x2 | 40 | 65 | 20 | 24 | 10 | 45 | 20 | 4 mg X ig 132 |23.81x2,62
670-040-10550 | RTA40-T22 100 M30x2 | 40 | 65| 20| 24 | 10 | 45 | 22 4
670-040-10600 | RTA40-T28 100 M36x2 | 40 | 65 | 20 | 24 | 10 | 45 | 28 4
670-040-10650 | RTA55-T20 250 M30x2 | 55 | 85 | 25 | 35 | 13 | 54 | 20 4
670-040-10700 | RTA55-T25 250 M36x2 | 55 | 85 | 25 | 35 | 13 | 54 | 25 4 mg i gg 4118 |29,74 x 3,53
670-040-10750 | RTA55-T30 250 M42x2 | 55 | 85 | 25 | 35 | 13 | 54 | 30 4

670-040




4L-Flansch RF gerade

- Material: Stahl

Straight connectors RF

- material: steel

A N\

RF
Bestell-Nr. Typ RS DTS Boh- | o chrauben ) O-Ring
code type i piEssLie | 8 c P F G H rangen screws O-Ring GroRe
bar holes

670-050-10800 RF30-38 250 3/8" 30 6,5 | 45 15 - 13 4 M6 x 20 2075 | 18,77 x 1,78
670-050-01000 RF35-38 250 3/8* 35 6,5 50 15 - 13 4 M6 x 20 2075 | 18,77 x 1,78
670-050-01050 RF35-12 250 1/2¢ 35 6,5 50 15 - 25 4 M6 x 30 3075 | 18,72 x 2,62
670-050-01100 RF40-12 250 1/2¢ 40 8,5 60 19 - 15 4 M8 x 25 2100 | 25,12x 1,78
670-050-01150 RF40-34 250 3/4 40 6,5 60 19 - 27 4 M6 x 30 132 23,81 x 2,62
670-050-01200 RF51-34 250 3/4* 51 [105] 75 24 - 17 4 M10 x 30 3125 | 31,42 x 2,62
670-050-01250 RF51-100 250 1“ 51 [105] 75 24 - 29 4 M10 x 35 3125 | 31,42 x 2,62
670-050-01300 RF56-34 250 3/4 56 [10,5] 80 20 - 18 4 M10 x 35 3150 | 37,77 x 2,62
670-050-01350 RF56-100 250 1¢ 56 [10,5] 80 30 - 29 4 M10 x 35 3150 | 37,77 x 2,62
670-050-01400 | RF62-114-M10 180 11/4“| 62 |10,5| 80 33 - 39 4 M10 x 40 4150 | 37,69 x 3,53
670-050-01450 RF72,5-112 180 11/2¢ 725|125 | 92 42 - 43 4 M12 x 45 153 49,21 x 3,53

670-050




	00
	010-010BG1
	010-060BG1
	010-070BG1
	010-160BG1
	010-180BG1
	010-240BG2
	010-250BG2
	010-50 BG1
	012-020BG2
	012-040BG2
	012-060BG2
	012-070BG2
	012-100BG2
	014-020BG3
	014-030BG3
	030-000
	030-005
	030-010
	030-020
	030-030
	032-020
	032-030
	034-000
	034-020
	034-030
	034-040
	036-010
	038-010
	050-010
	060-010
	060-050
	060-080
	060-110
	060-180
	062-010
	062-010_original Casappa
	608-010
	608-030
	608-050
	608-070
	608-080
	608-100
	608-120
	608-140
	608-160
	608-170
	608-180
	608-200
	608-260
	608-280
	608-300
	608-320
	608-340
	608-360
	608-380
	608-400
	670-010
	670-020
	670-030
	670-040
	670-050

